EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Parts Pricing Schedule

EV TECHNICAL SERVICES
COLUMBIA PARTS PRICING LIST

Part #

98604-09 *

Opt:

Opt:

Opt:

Opt:

Opt:
CVv1017339
CV1017354
CVGO9FILT
CvG1007001
CvG1007002
CvG1007003
CvG1007004
CvG1007007
CVG1007007R
CvG1007008
CvG1007009
CvG1007010
CvG1007011
CvG1007012
CvG1007013
CvG1007014
CvG1007015
CvG1007017
CvG1007018
CvG1007019
CvG1007020
CvG1007021
CvG1007022
CvG1007023
CvG1007024
CvG1007025
CvG1007026
CvG1007029
CvG1007032
CvG1007033
CvG1007034
CvG1007035

Page 1 of 194

o m O @ >

Description

QUART OF PAINT, REDUCER, ACTIVATOR

COLOR CODE A (NOTE COLOR)

COLOR CODE B (NOTE COLOR)

COLOR CODE C (NOTE COLOR)

COLOR CODE E (NOTE COLOR)

COLOR CODE D (NOTE COLOR)
CANOPY (PEARL WHITE)
STOP LAMP CVR,CNTR HIGH MNT,RED
FRONTEND FILLHOSE/2.5G GRAVITY TAN
BOLT. HEX CAP. M6X30. STAINLESS
WASHER. LOCK 6
WASHER. FLAT 6
TERMINAL INSULATION CAP
CONTROLLER 48V. GE. 262 AMP
CONTROLLER. 48V. GE. 262 AMP-REMANF
WIRE. BATTERY. POSITIVE INPUT. 2008
WIRE. BATTERY. NEGATIVE INPUT. 2008
MOTOR WIRE. Al. 2008
MOTOR WIRE. A2. 2008
FIELD WIRE F1. MOTOR. 2008
FIELD WIRE F2. MOTOR. 2008
WIRING HARNESS. CONTROLLER. E2
TOW/RUN SWITCH
SEAL COVER. CONTROLLER
ACCELERATOR ASSEMBLY W/ 1017102 SEN
BOLT. HEX FLANGE M8X25
NUT. SELF-LOCKING. M8
BOLT. HEX-HEAD FLANGE M8X20
SCREW. PHILLIPS TRUSS-HEAD M4X13
WASHER. FLAT 4
SOLENOID. 2008
FUSE 10 AMP
FUSE (380V/10A) HOLDER
AXLE SHAFT. PASSENGER
BRAKE DRUM. E2. 2007
CAP. BRAKE DRUM. DRIVER
CAP. BRAKE DRUM. PASSENGER
REAR BRAKE SHOE KIT. SMALL DRUM. E2

List Price
$141.08
$0.00
$16.40
$31.16
$40.88
$49.52
$1,200.00
$28.28
$58.00
$1.00
$1.00
$1.00
$1.00
$660.00
$663.60
$42.20
$24.68
$35.40
$33.76
$4.88
$4.88
$52.50
$11.94
$3.08
$292.14
$1.00
$1.00
$1.00
$1.00
$1.00
$162.80
$26.84
$20.40
$110.16
$96.25
$88.84
$88.84
$50.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Parts Pricing Schedule

Service Disabled Veteran Owned Business

Part #

CVvG1007036
CvG1007037
CvG1007042
CVG1007044
CvG1007052
CVG1007053
CVG1007054
CVG1007057
CVG1007058
CVG1007059
CvG1007060
CVG1007061
CvG1007062
CVG1007063
CVG1007064
CVG1007065
CVG1007066
CVG1007067
CVG1007068
CVG1007069
CvG1007070
CVG1007071
CvG1007072
CVG1007073
CVG1007074
CVG1007075
CVG1007076
CVG1007077
CVvG1007078
CVG1007079
CVG1007080
CVG1007081
CVG1007082
CvG1007083
CVG1007084
CvG1007085
CVG1007086
CvG1007088
CvG1007089
CvG1007090
CvG1007092
CVG1007094
CVG1007096
CvG1007097

Page 2 of 194

Description
FIXED PLATE. BRAKE CABLE. DRIVER
FIXED PLATE. BRAKE CABLE (PASSENGER
REGULATOR ROD
WHEEL CYLINDER. SMALL DRUM. E2. 200
SEALED RUBBER SLEEVE
ANCHOR PIN. BRAKE DISC. E2
ANCHOR SPRING. BRAKE DISC. E2
MOUNTING BOARD. BEARING
BEARING 6206
MOUNTING SLEEVE. BEARING AXLE SHAFT
OIL SEAL. AXLE SHAFT
DIFFERENTIAL CASE
BOTTOM CAP. DIFFERENTIAL CASE
BASIN-SHAPED GEAR KIT
DRIVING DIFFERENTIAL GEAR. LARGE
BEARING 6008
PRESSURE BLOCK. BEARING
DRIVING SHAFT
DRIVING DIFFERENTIAL GEAR. SMALL
SPACER. BEARING
BEARING 6303RS
OUTPUT SHAFT
BEARING 6005RZ
MOUNTING FLANGE. AXLE
OIL SEAL. TRANSMISSION SHAFT
CAP. OIL FILLER
OIL DRAINING BOLT
COPPER PACKING
SEALED RUBBER CAP..
ADJUSTABLE WASHER
LUG NUTS. CHROME. M12X1.25
HEX BOLT M8X30
WASHER. LOCK 8
NUT. HEX. M8
HEX BOLT M10X25
WASHER. LOCK 10
CIRCLIP. BIG
STUD BOLT M8X60
HEX BOLT M6X15
HEX BOLT M8X20
WASHER
WASHER. LOCK 5
ACCESS PANEL. FLOORBOARD
RUBBER SCREW A0031

List Price
$22.00
$22.00

$5.88
$89.40
$16.20
$3.84
$3.20
$12.80
$44.90
$31.48
$9.05
$372.00
$25.84
$192.00
$125.52
$9.20
$18.24
$125.52
$121.84
$8.32
$10.08
$299.67
$10.08
$31.48
$22.92
$9.60
$9.60
$3.20
$14.40
$3.20
$2.40
$1.00
$1.00
$1.56
$1.00
$1.00
$1.00
$2.04
$1.00
$1.00
$1.00
$1.00
$109.84
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1007098
CVG1007099
CvG1007100
CvG1007101
CvG1007102
CVG1007103
CVG1007104
CVG1007105
CVG1007106
CVG1007107
CvG1007108
CVG1007109
CvG1007110
CvG1007111
CvG1007112
CVG1007113
CvG1007114
CVG1007115
CVG1007116
CVvG1007117
CvG1007118
CVG1007119
CvG1007120
CVvG1007121
CvG1007122
CVG1007123
CVG1007124
CVG1007126
CvG1007127
CVG1007128
CVvG1007133
CVG1007134
CVG1007135
CVG1007136
CvG1007137
CVG1007138
CVvG1007139
CVG1007140
CvG1007141
CVG1007142
CvG1007143
CVvG1007144
CvG1007145
CvG1007147

Page 3 of 194

Description
CLEVIS. FRONT BUMPER (DRIVER SIDE)

CLEVIS. FRONT BUMPER (PASSENGER SID

BASEBOARD. BATTERY
HOLD DOWN. BATTERY
BUMPER. FRONT
BUMPER. REAR

SUPPORTING RACK REAR BUMPER (BLACK)

SCREW PHILLIPS FLAT-HEAD M6X20
STUD BOLT

WASHER. BIG FLAT 6

NUT. SELF-LOCKING. M6

NUT. ANTI-SLIP. M6

BOLT. HEX-HEAD FLANGE M10X20
BOLT. HEX FLANGE M10X1.25X25

NUT. SELF-LOCKING. M10X1.25
BUMPER KIT. FRONT

BUMPER KIT. REAR

SHOCK ABSORBER. FRONT. 2008. BLUE S
SHOCK ABSORBER. REAR

REAR SWING FRAME. DRIVER

REAR SWING FRAME. PASSENGER
BUFFERING SLEEVE. REAR SWING FRAME
EQUALIZER (BLACK)

BUFFERING GASKET. EQUALIZER

FIXING BOLT. REAR SWING FRAME
BOLT. HEX-HEAD FLANGE M10X60X1.25
NUT. SELF-LOCKING. M12X1.25

BOLT. HEX-HEAD FLANGE M10X1.25X55
UPPER SWING ARM. FRONT AXLE. 2007
LOWER SWING ARM . FRONT AXLE. 2008
INNER SPACER. SPINDLE

INNER BUSHING. SPINDLE. TOP

INNER BUSHING. SPINDLE. BOTTOM
COVER. OIL SEAL

CONNECTING PLATE. FRONT WHEEL
CONNECTING PLATE BEARING

CLEVIS. UPPER SWING ARM. E2. 2007
CLEVIS. LOWER SWING ARM. E2. 2007
DUSTPROOF COVER

INNER GASKET. SWING ARM

NYLON GASKET. SWING ARM

DUST COVER. SWING ARM

GREASE JET

SPINDLE PLUG COTTER PIN 3.2*32

Parts Pricing Schedule

List Price

$11.36
$11.36
$30.84
$12.31

$106.20

$55.35
$74.36
$1.00
$2.04
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00

$131.70
$152.69

$72.80
$36.40
$40.00
$77.70
$25.60
$22.40
$7.28
$3.52
$1.00
$1.00
$1.00
$28.16
$53.88
$20.00
$17.38
$17.43
$1.00
$97.35
$35.00
$2.80
$2.80
$9.38
$1.00
$1.00
$1.00
$1.00
$5.36

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1007148
CvG1007149
CvG1007150
CVG1007151
CvG1007152
CVG1007153
CVG1007154
CVG1007155
CVG1007156
CVG1007157
CVG1007158
CVG1007159
CvG1007160
CVG1007161
CvG1007163
CVG1007164
CVG1007165
CVG1007166
CvG1007167
CVG1007168
CvG1007169
CVG1007170
CvG1007171
CVG1007172
CVG1007176
CVG1007177
CVvG1007178
CVG1007179
CvG1007180
CVG1007182
CVG1007184
CVG1007185
CVG1007186
CVG1007187

CVG1007187-CAP

CVG1007188
CvG1007189
CVG1007190
CvG1007191
CVG1007192
CvG1007193
CVG1007194
CvG1007197
CvG1007198

Page 4 of 194

Description
SCREW. CONNECTING PLATE M12X1.25X25
RUBBER BUSHING
NUT. SLOTTED. SPINDLE M24
NUT. SLOTTED HEX M16X1.5
BOLT. HEX-HEAD FLANGE M10X75X1.25
PIN. COTTER 3.2X32
TIE ROD. SHORT. 2008
TIE ROD END KIT. DRIVER. 2008
TIE ROD END KIT. PASSENGER. 2008
STEERING WHEEL KIT
COVER. STEERING
STEERING WHEEL (350MM) BLACK
ASSEMBLY. STEERING GEAR BOX. OLDER
STEERING SHAFT - SE
STEERING SHAFT BEARING 61904-27
INNER CIRCLIP. STEERING SHAFT BEARI
OUTER CIRCLIP. STEERING SHAFT BEARI
FIXED SEAT. STEERING COLUMN. DRIVER
FIXED SEAT. STEERING COLUMN. PASSEN
COMPOUND STEERING JOINT. 2007-2008
BOLT. HEX-HEAD FLANGE M8X45
BOLT. HEX-HEAD FLANGE M10X150X1.25
FLANGE BOLT M10X1.25X30
BOLT. HEX-HEAD. INSIDE M8X25
WHEEL. 2007-2008
CENTER CAP. 2007-2008
VALVE STEM
BRAKE PEDAL ASSEMBLY
RUBBER COVER. PEDAL
FIXED SEAT. HANDLE ASSEMBLY FOR MAN
BRAKE CALIPER. DRIVER
BRAKE CALIPER. PASSENGER
BRAKE DISC
RESERVOIR. BRAKE FLUID
CAP. FLUID RESERVOIR
TEE
OIL PIPELINE (600MM)
MAIN CABLE. MANUAL BRAKE. E2
CABLE. AXLE. MANUAL BRAKE. E2 2007
BRAKE LINE. MASTER CYLINDER. STEEL.
BRAKE LINE. MASTER CYLINDER. STEEL.
STEEL BRAKE LINE. REAR DRIVER
BOLT. HEX-HEAD FLANGE M10X1.25X45
BOLT. HEX-HEAD FLANGE M10X35X1.25

Parts Pricing Schedule

List Price

$1.00
$1.00
$1.00
$1.20
$1.00
$1.00
§77.12
$21.00
$21.00
§73.13
$20.90
$56.00
$204.60
$47.04
$13.00
$1.72
$1.72
$36.48
$36.48
$60.97
$1.00
$1.00
$1.00
$1.00
$196.92
$63.00
$7.20
$90.00
$5.60
$41.40
$121.44
$81.44
$54.00
$21.32
$20.96
$22.44
$17.00
$103.32
$85.36
$14.40
$15.53
$20.70
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1007199
CvG1007200
CvG1007201
CVG1007202
CvG1007203
CVG1007204
CvG1007205
CVG1007206
CvG1007207
CVG1007208
CvG1007209
CVvG1007210
CvG1007211
CVG1007212
CvG1007213
CVG1007215
CVvG1007216
CVG1007217
CvG1007218
CVG1007221
CVvG1007222
CVG1007223
CVG1007224
CVG1007225
CVG1007226
CVG1007227
CvG1007229
CVG1007230
CvG1007231
CVG1007232
CVvG1007233
CVG1007234
CVvG1007235
CVG1007236
CvG1007237
CVG1007238
CvG1007239
CVG1007241
CvG1007242
CVG1007243
CVG1007244
CvG1007245
CVG1007246
CvG1007248

Page 5 of 194

Description
CONNECTING BOLT. DISC BRAKE..BOLT.
COVER. DECORATIVE. MANUAL BRAKE
BOLT. HEX-HEAD FLANGE M10X65X1.25
STEEL BRAKE LINE. REAR. PASSENGER
OIL CUP CLIP
CLIP. BRAKE LINE
SCREW PHILLIPS FLAT-HEAD M6*13..
WASHER. BIG FLAT 6. STAINLESS
BRAKE LINE. STEEL. FRONT. DRIVER
BRAKE LINE. STEEL. FRONT. PASSENGER
NUT. HEX. M16X1.5
BOLT. HEX-HEAD INSIDE M8X20
WASHER. FLAT 8
FRONT BRAKE PAD KIT. DRIVER AND PAS
DECAL. GRILL
BATTERY CABLE. SHORT
BATTERY CABLE. LONG
BATTERY POWER LEVEL INDICATOR
SWITCH. FORWARD/REVERSE
HORN
DC CONVERTER. 2007-2008 MAY BE CONV
BRAKE SWITCH
WIRING HARNESS. MAIN
WIRING/CHARGER RECEPTACLE. RED
WIRING/CHARGER RECEPTACLE. BLACK
CHARGER RECEPTACLE..SAME PART AS PA
BUZZER. REVERSE
SPEEDOMETER. 2007
SCREW PHILLIPS FLAT-HEAD M5X16 (STA
BOLT. HEX-HEAD FLANGE M6X20
LOCKING WASHER INNER SAW TOOTH 5
SELF-TAPPING SCREW ST3.9X45
SELF-TAPPING SCREW ST3.9X20
LARGE INSULATION BOOT (RED)
LARGE INSULATION BOOT (BLACK)
SMALL INSULATION BOOT (RED)
SMALL INSULATION BOOT (BLACK)
NUT. HEX. M5. COPPER
WASHER. FLAT 5
HEADLIGHT ASSEMBLY. DRIVER. 2007
HEADLIGHT ASSEMBLY. PASSENGER. 2007
TAIL LIGHT ASSEMBLY. DRIVER. 2008
TAIL LIGHT ASSEMBLY. PASSENGER. 200
CENTER HIGH MOUNT STOP LAMP ASM. RE

Parts Pricing Schedule

List Price

$4.80
$34.88
$1.00
$14.40
$1.80
$1.16
$1.00
$1.00
$14.40
$14.40
$1.00
$1.00
$1.00
$84.00
$7.56
$10.04
$25.10
§73.76
$21.51
$20.00

$120.00

$20.90

$111.60

$21.64
$21.60
$31.48
$25.84
$70.00
$1.00
$1.00
$1.00
$1.20
$1.20
$1.00
$1.00
$1.00
$4.00
$1.00
$1.00
$59.92
$59.92

$100.80
$100.80

$45.54

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1007250
CvG1007251
CvG1007252
CVG1007253
CVG1007254
CVG1007255
CVG1007256
CVG1007257
CVvG1007258
CVG1007259
CvG1007260
CVG1007261
CvG1007263
CVG1007264
CVG1007265
CVG1007267
CVG1007268
CVG1007270
CvG1007271
CVG1007272
CvG1007273
CVG1007274
CVG1007276
CVG1007277
CVvG1007278
CVG1007279
CvG1007280
CVG1007281
CVG1007282
CVG1007283
CVG1007284
CVG1007285
CvG1007287
CVG1007290
CvG1007291
CVG1007292
CVvG1007293
CVG1007294
CVG1007295
CVG1007296
CvG1007298
CvG1007299
CvG1007300
CvG1007301

Page 6 of 194

Description
CENTER HIGH MOUNT STOP LAMP ASM. BL
TURN SIGNAL FLASHER. 2007-2008(WHIT
WIRES. CENTER HIGH MOUNT STOP LAMP.
CLIP ADHESIVE BACKED
CONTACTOR. CONVERTER
SELF-TAPPING SCREW ST6.3X20
BOLT. PHILLIPS TRUSS-HEAD M4X12 (ST
WASHER. LOCK 4
COVER. CONTACTOR. CONVERTER
MULTIFUNCTIONAL RECEPTACLE
CAP. MULTIFUNCTIONAL RECEPTACLE
SCREW. PHILLIPS TRUSS-HEAD M5X10
BULB. HEAD LIGHT. 12V 35W/35V
BULB. TURNING. AMBER (10W/12V)
DIODE. 2008
DECAL. CHROME E-MERGE
DECAL. WARNING. DASH
DECAL. TOMBERLIN BRAND. STEERING WH
DECAL. PVC WARNING. STEERING WHEEL
DECAL. 4 WHEEL BRAKE
DECAL. BATTERY WARNING
DECAL. WARNING. DO NOT SIT OR STAND
DECAL. BATTERY MAINTENANCE INFORMAT
DECAL. EMISSIONS INFORMATION
DECAL. KEY SWITCH. 2008
DECAL. ELECTRICAL DEVICES WARNING
DECAL. SPEED WARNING
DECAL. TOW/RUN
DECAL. CARB COMPLIANCE
REFLECTORS. FRONT. SIDE
REFLECTORS. REAR. SIDE
REFLECTOR. REAR. BACK
FRONT BODY. GREEN
GROMMET FRONT BODY
DASHBOARD
CUP HOLDER, BLACK
BACK PLATE. INSTRUMENT SWITCH
CAPPED EDGE. DASHBOARD. DRIVER
CAPPED EDGE. DASHBOARD. PASSENGER
BOOT. STEERING COLUMN
BOLT. HEX BIG FLAT-HEAD INSIDE M8X3
SELF-TAPPING SCREW ST4.2*9.5 (STAIN
SCREW. PHILLIPS FLAT-HEAD M6X16
INSTRUMENT PANEL (ONLY)

Parts Pricing Schedule

List Price

$45.54
$27.68
$22.16

$1.00

$131.76

$1.00
$1.00
$1.00
$21.24
$5.92
$3.76
$1.00
$10.32
$9.36
$2.80
$8.00
$5.37
$3.96
$1.04
$1.00
$1.00
$1.00
$1.00
$1.24
$1.00
$1.00
$1.00
$2.25
$1.00
$1.00
$1.00
$1.00

$168.08

$5.08

$156.66

$27.00
$8.24
$12.69
$12.69
$1.76
$1.00
$1.00
$1.00
$89.36

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1007302
CvG1007303
CVG1007304
CVG1007309
CvG1007310
CVG1007311
CvG1007312
CVG1007313
CvG1007314
CVG1007315
CVG1007316
CVG1007317
CVvG1007318
CVG1007322
CVG1007326
CVG1007327
CvG1007328
CVG1007331
CVG1007336
CVG1007337
CVG1007338
CVG1007339
CVG1007340
CVG1007342
CVvG1007343
CVG1007344
CVG1007345
CVG1007346
CVG1007348
CVG1007349
CVG1007350
CVG1007351
CVG1007352
CvG1007353
CVG1007354
CvG1007355
CVG1007356
CvG1007357
CVG1007358
CvG1007359
CvG1007360
CvG1007361
CVvG1007362
CvG1007363

Page 7 of 194

Description
FIXED SEAT. MULTIFUNCTIONAL RECEPTA
BODY SIDE TRIM. DRIVER. E2
BODY SIDE TRIM. PASSENGER. E2
ACCESS PANEL. MOTOR
BAGWELL PROTECTOR
INNER FENDER. DRIVER
INNER FENDER. PASSENGER
VENT. BODY. DRIVER
VENT. BODY. PASSENGER
LATCH. TRUNK LOCK. REAR BODY
REAR TRUNK LANYARD
HINGE. SEAT
GROMMETS REAR BODY
TRUNK. RED
UPPER BRACKET. REAR TRUNK
LOWER BRACKET. REAR TRUNK
SCREW PHILLIPS FLAT-HEAD M6X12
DECORATIVE COVER. TRUNK BRACKET
HANDLE. CANOPY
DECORATIVE HANDLE CAP. CANOPY
SMALL RUBBER WASHER
NUT. CAP. M8 (STAINLESS)
NUT. CAP. M6 (STAINLESS)
BOLT. PHILLIPS TRUSS-HEAD M6X55 (ST
WASHER. BIG FLAT 8
WASHER. LOCK 8. STAINLESS
WASHER. FLAT 8. STAINLESS
WASHER. LOCK 6. STAINLESS
CLAMP. WATER DRAIN
HEX BOLT M8X50 (STAINLESS)
WINDSHIELD FRAME. NON-LIGHTED MIRRO
PILLAR. REAR. DRIVER
PILLAR. REAR. PASSENGER
PILLAR SUPPORT. DRIVER
PILLAR SUPPORT (PASSENGER)
SEATBACK SUPPORT (BLACK)
RUBBER STOP. CANOPY SUPPORT
FLANGE BOLT M8X45 (STAINLESS)
HEX BOLT M6X40 (STAINLESS)
HEX BOLT M8X55 (STAINLESS)
WASHER. FLAT 6. STAINLESS
NUT. NYLON LOCK M6 (STAINLESS)
BRACKET. REAR CANOPY. DRIVER
BRACKET. REAR CANOPY (PASSENGER)

Parts Pricing Schedule

List Price

$10.20
$60.76
$60.76
$19.72
$84.24
$35.12
$62.40

$5.68

$5.68
$21.24
$15.93
$10.60

$3.48

$396.00

$12.00
$19.20
$1.00
$12.96
$26.56
$1.60
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00

$161.64
$109.68
$109.68

$41.06
$39.40
$28.28
$1.24
$1.00
$1.00
$1.00
$1.00
$1.00
$44.37
$41.88

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1007364
CVG1007365
CVG1007366
CVG1007367
CvG1007369
CVG1007370
CvG1007371
CVG1007372
CvG1007373
CVG1007374
CVvG1007375
CVG1007376
CvG1007377
CVG1007378
CvG1007379
CVG1007380
CVG1007380A
CVG1007380B
CvG1007381
CVG1007382
CVG1007383
CVG1007384
CVG1007385
CVG1007386
CVG1007387
CVG1007388
CVG1007389
CVG1007391
CVG1007392
CVG1007393
CVG1007394
CVG1007395
CVG1007396
CvG1007397
CVG1007399
CVG1007401
CvG1007402
CvG1007407
CvG1007408
CvG1007409
CvG1007410
CvG1007414
CvG1007415
CvG1007416

Page 8 of 194

Description

CONNECTING INSERT. CANOPY BRACKET

SEAT BOTTOM

SUPPORT. SEAT BOTTOM

PLATE. SEAT HINGE

ARMREST OF SEAT (SET OF 2)
BRACKET. ARMREST

SEAT BACK

SUPPORTING BOARD. SEAT BACK
BASEBOARD. SEAT BACK

BOLT. HEX BIG FLAT-HEAD INSIDE M8X3
BOLT. HEX-HEAD FLANGE M8X40
FLANGE BOLT M8X35

WINDSHIELD KIT

REAR VIEW MIRROR KIT. DRIVER

REAR VIEW MIRROR KIT. PASSENGER
SEAT BELT KIT (REAR)

SEAT BELT (LH).. REAR

SEAT BELT (RH).. REAR

INNER MIRROR KIT. 2007

REAR VIEW MIRROR. DRIVER

REAR VIEW MIRROR. PASSENGER

SEAT BELT. DRIVER/PASSENGER KIT..DO
INNER MIRROR. 2007

BRACKET. REAR VIEW MIRROR. DRIVER

BRACKET. REAR VIEW MIRROR. PASSENGE

TAPE

SCREW. PHILLIPS TRUSS-HEAD M6X14 (S
SCREW. PHILLIPS TRUSS-HEAD M5X14
BOLT. HEX-HEAD FLANGE M8X30
BUSHING

WASHER. FLAT 10. STAINLESS
WASHER. LOCK 10. STAINLESS

NUT. CAP. M10

BOLT. HEX-HEAD FLANGE M10X25
WINDSHIELD ACRYLIC DOT

WASHER. NORD-LOCK

CHANNEL. WINDSHIELD. UPPER
WINDSHIELD WIPER ARM & BLADE
WIRES. WINDSHIELD WIPER. E2. 2007
COVER. WINDSHIELD WIPER MOTOR
TOW HOOK ON THE BACK

FIXING HOLDER. BAG

BANDING. BAG

FIXING CLAMP. SAND RAKE

Parts Pricing Schedule

List Price

$23.46
$217.00
$146.96
$8.76
$57.24
$26.04
$93.36
$32.00
$25.84
$1.00
$1.00
$1.00
$583.33
$37.32
$46.41
$122.92
$130.59
$130.59
$71.64
$25.70
$25.70
$97.97
$23.84
$23.70
$20.10
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$3.20
$1.00
$451.92
$21.40
$8.84
$21.71
$22.00
$31.80
$89.72
$51.76
$43.20
$10.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1007417
CvG1007418
CvG1007419
CVG1007420
CvG1007421
CVG1007422
CvG1007423

CVG1007424-0

CvG1007429
CVG1007434
CvG1007435
CVG1007436
CvG1007437
CVG1007438
CvG1007439
CVG1007444
CVG1007445
CVG1007446
CvG1007447
CVG1007448
CvG1007449
CVG1007450
CvG1007451
CVG1007452
CvG1007453
CVG1007454
CVvG1007455
CVG1007456
CvG1007457
CVG1007458
CVvG1007459
CVG1007460
CVG1007464
CvG1007465
CVvG1007468
CvG1007473
CvG1007474
CvG1007475
CvG1007476
CvG1007478
CvG1007479
CvG1007480
CvG1007481
CvG1007482

Page 9 of 194

Description
BRACKET. GOLF BAG ATTACHMENT
BOLT. HEX BIG FLAT-HEAD INSIDE M6X1
HEX BOLT M6X40 (STAINLESS)
NUT. NYLON LOCK M8 (STAINLESS)
HEX. BOLT M8X90
HEX. BOLT M6X12 (STAINLESS)
SCORECARD HOLDER
REAR FACING SEAT KIT
FRONT SEATBACK SUPPORT. DRIVER
REAR FOOTREST
SAFE HANDRAIL. REAR
FLANGE BOLT M10X20
FLANGE BOLT M10X85
WASHER. FLAT 10
BOLT. HEX-HEAD FLANGE M10X75X1.25
TAIL LIGHT. REAR FACING SEAT
DASHBOARD KIT. WOOD GRAIN
DASHBOARD. WOOD GRAIN
CUP HOLDER, WOOD GRAIN, LE DASH
BASEBOARD. SEAT BACK. WOOD GRAIN
FIXED SEAT. MULTIFUNCTIONAL RECEPTA
DECAL. PROGRAMMING SWITCH
REFLECTOR ON THE PLATE OF THE HAND
DECAL. WARNING. HAND REST PLATE
BOLT. PHILLIPS TRUSS-HEAD M6X40
HEX BOLT M8X40 (STAINLESS)
RUBBER BUSHING
DOUBLE SIDE ADHESIVE CIRCLE
RUBBER SCREW A0015
WASHER. LOCK 8
WASHER. LOCK 10
WASHER. LOCK 6
COTTER PIN
STROBE WARNING LIGHT KIT
SELF-TAPPING SCREW ST6.3X25
BOLT. HEX-HEAD FLANGE M10X1.25X40
SHOCK ABSORBER. REAR
SEAT BELT. REAR FACING SEAT. 2 POIN
FLANGE BOLT M8X15
HEX BOLT M8X20 (STAINLESS)
FRONT SEATBACK SUPPORT (PASSENGER)
MOUNTING HOLDER. REAR SEAT SUPPORT
SCREW. PHILLIPS TRUSS-HEAD M6X16
SELF-TAPPING SCREW ST3.5X13

Parts Pricing Schedule

List Price
$7.44
$1.00
$1.00
$1.68
$2.04
$2.52
$9.92

$1,980.00
$70.16
$102.24
$119.04
$1.00
$1.00
$1.00
$1.00
$41.40
$263.88
$313.08
$56.70
$31.28
$13.36
$1.08
$1.00
$1.00
$1.00
$1.00
$1.00
$4.92
$1.00
$1.00
$1.00
$1.00
$1.00
$44.40
$1.00
$1.00
$81.90
$45.00
$1.00
$1.00
$70.16
$39.32
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1007483
CvG1007485
CVG1007486
CvG1007487
CvG1007488
CVG1007489
CvG1007490
CVG1007493
CVG1007494
CVG1007495
CVG1007496
CVG1007497
CVvG1007498
CVG1007500
CvG1007501
CVG1007502
CvG1007503
CVG1007505
CVG1007505R
CVG1007507
CVG1007508
CVG1007509
CvG1007511
CVG1007525
CVG1007526
CVG1007528
CVG1007534
CVG1007535
CVG1007536
CVG1007542
CVvG1007543
CVG1007545
CvG1007550
CVG1007551
CVG1007552
CvG1007553
CVG1007554
CVvG1007555
CVG1007556
CVG1007558
CVG1007559
CvG1007560
CvG1007561
CVG1007562

Page 10 of 194

Description
FOAM TRIM. TRUNK COVER
E4 WHEEL CYLINDER. LARGE DRUM
CANOPY. E4. WHITE
FLANGE BOLT M8X25
WATER DRAIN. CANOPY
BACK PLATE. INSTRUMENT SWITCH
FLOOR MAT. E2
E2 EXTENDED CANOPY KIT. WHITE
CLAMPING PIECE NUT
TRUNK. WHITE
CENTER HIGH MOUNT STOP LAMP ASM. WH
FRONT BODY. WHITE
CANOPY. E2. WHITE
CONTROLLER ASSEMBLY 48V. GE. 400 AM
SEALED COVER. CONTROLLER
SOLENOID. 400AMP
FUSE HOLDER. BLADE
CONTROLLER 48V. GE. 400 AMP
CONTROLLER. 48V. GE 400 AMP
RUBBER TRIM. SEAT BASEBOARD (SET OF
SHOCK ABSORBER. FRONT. E4
SHOCK ABSORBER. REAR. E4
CABLE. MANUAL BRAKE ASSEMBLY. E4
NUT
WIRING HARNESS. MAIN. E4
NEUTRAL PILLAR (PASSENGER)
REAR AXLE ASSEMBLY. E4 & E2. 2008-2
BASEBOARD. BATTERY. E4 FRONT
OIL PIPELINE (600MM)
AXLE SHAFT. DRIVER
AXLE SHAFT. PASSENGER
FLOOR MAT. E4
NUT. CAP. M10X1.25
PAN HEAD SHOULDER BOLT M6X10
CLAMP. BRAKE CABLE
BRAKE DRUM. E2 & E4. 2008-2010
CAP. BRAKE DRUM. DRIVER
CAP. BRAKE DRUM. PASSENGER
REAR BRAKE SHOE KIT. LARGE DRUM - .
PUSH ROD
ADJUSTABLE PUSH ROD
STEEL BRAKE LINE (REAR OF MASTER CY
E4 REAR BODY SIDE TRIM. DRIVER
E4 REAR BODY SIDE TRIM (PASSENGER)

Parts Pricing Schedule

List Price
$1.00
$92.40
$896.64
$1.00
$2.88
$12.36
$136.20
$1,061.84
$1.00
$396.00
$45.54
$686.51
$210.00
$1,386.04
$16.40
$157.80
$20.40
$1,140.00
$1,140.00
$2.64
$36.40
$36.40
$96.00
$1.00
$134.87
$96.12
$1,650.00
$25.80
$5.52
$130.60
$130.60
$193.06
$3.00
$1.00
$9.72
$96.25
$88.84
$88.84
$116.80
$18.48
$18.48
$23.70
$24.16
$24.16

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG1007565
CVG1007566
CvG1007567
CVG1007568
CvG1007569
CVG1007570
CvG1007571
CVG1007572
CvG1007573
CVG1007574
CVG1007575
CVG1007576
CVG1007578
CVG1007579
CVvG1007580
CVG1007581
CVG1007582
CVG1007583
CVG1007584
CVG1007586
CVG1007589
CVG1007592
CVG1007593
CVG1007595
CVG1007596
CVG1007597
CvG1007603
CVG1007638
CvG1007800
CVG1007801
CVG1007804
CVG1007805
CVG1007806
CvG1007808
CvG1007813
CVG1007814
CvG1007815
CVG1007817
CvG1007818
CVG1007819
CvG1007820
CvG1007821

CvG1007821-2
CvG1007821-4

Page 11 of 194

Description
SLEEVE. SHAFT. DRIVER
SLEEVE. SHAFT. PASSENGER
RETURN SPRING. PARKING ARM
PARKING ARM. DRIVER
PARKING ARM (PASSENGER)
ADJUST PIECE. BRAKE SHOES. DRIVER
ADJUST PIECE. BRAKE SHOES (PASSENGE
LOCATING SHAFT. ADJUST PIECE
SPLINE WASHER
ANCHOR PIN. BRAKE DISC. E4
ANCHOR SPRING BRAKE DISC
MOUNTING BOARD. BEARING
SPRING (SHORT). BRAKE SHOES
SPRING (LONG). BRAKE SHOES
SMALL CIRCLIP 4
COTTER PIN
BRAKE DRUM KIT. DRIVER
BRAKE DRUM KIT. PASSENGER
FUSE. 400A BATTERY LOAD FUSE
CONTROLLER ASSEMBLY WITH WIRING 48V
E4 FRONT SEAT BASE. GREEN
E4 FRONT BODY SIDE TRIM. DRIVER
E4 FRONT BODY SIDE TRIM (PASSENGER)
RUBBER STRIP. FRONT SEAT BASE
SMALL DECORATIVE CAP
RUBBER WASHER. FRONT SEAT BASE
NUT. HEX FLANGE. 5/8-18 UNF. ZC
NUT. HEX #10-32
STEERING WHEEL KIT. WOOD GRAIN LE
STEERING WHEEL. WOOD GRAIN
HANDLES. UNDERSEAT STORAGE TRAY
UPPER COVER. WINDSHIELD WIPER MOTOR
BELOW COVER. WINDSHIELD WIPER MOTOR
BOX. CHARGER PLUG
REAR SWING FRAME. DRIVER
U-A2 BOLT (EQUAL)
U-A2 BOLT (RAISE)
UPPER SWING ARM. FRONT AXLE. DRIVER
SPINDLE ASSEMBLY. FRONT AXLE. DRIVE
SPINDLE ASSEMBLY. FRONT AXLE. PASSE
CLEVIS. UPPER SWING ARM (DRIV & PAS
CLEVIS. UPPER SWING ARM. PASSENGER
CLEVIS. UPPER SWING ARM. PASSENGER.
CLEVIS. UPPER SWING ARM. PASSENGER.

Parts Pricing Schedule

List Price
$145.80
$144.16

$3.20
$18.48
$18.48
$13.64
$13.64
$44.76
$2.40
$4.32
$6.40
$10.58
$3.20
$3.20
$2.40
$1.00
$138.95
$138.95
$65.60
$1,439.60
$239.76
$18.80
$26.56
$25.96
$1.00
$1.00
$3.88
$1.00
$220.60
$139.50
$3.64
$20.00
$20.00
$28.56
$40.00
$8.20
$15.48
$34.80
$192.56
$188.15
$16.50
$6.00
$3.08
$3.08

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Parts Pricing Schedule

Part # Description List Price

CVG1007822 CLEVIS. LOWER SWING ARM (DRIV & PAS $21.78
CVG1007823 CLEVIS. LOWER SWING ARM. PASSENGER $21.53
CVG1007824 UPPER SWING ARM. FRONT AXLE. PASSEN $34.80
CVG1007825 PROTECTIVE SLEEVE FOR WIRING HARNES $24.96
CVG1007827 BRAKE LINE. MASTER CYLINDER. STEEL. $15.53
CVG1007828 WIRING HARNESS. MAIN. E2/SS. 2008 $111.60
CVG1007830 WIRES. CENTER HIGH MOUNT STOP LAMP. $39.76
CVG1007831 DECAL. 4+ WHEEL BRAKE $1.00
CVG1007833 CHANNEL. WINDSHIELD. PASSENGER $40.89
CVG1007834 CHANNEL. WINDSHIELD. DRIVER $40.89
CVG1007835 HEX. BOLT M8X120 $13.80
CVG1007836 LONG EXTENSION TUBE. 15MM X 40MM $11.16
CVG1007837 SHOCK ABSORBER. FRONT. HEAVY DUTY $36.40
CVG1007838 CONTROLLER ASSEMBLY 48V. GE. 403 AM $167.72
CVG1007840 BRAKE MASTER CYLINDER ASSEMBLY $128.80
CVG1007841 BLADE FUSE. 250A $48.56
CVG1007844 LOWER SWING ARM. FRONT AXLE $39.05
CVG1007853 REAR BODY. WHITE $295.08
CVG1007854 JACKET TUBE $37.76
CVG1007859 FUSE BOX $44.00
CVG1007862 BULB. HEAD LIGHT. 12V 25W/25W $9.36
CVG1007863 BULB. HEAD LIGHT. 12V 25W/35V $10.32
CVG1007864 NUT. THICK. M10X1.25 $1.00
CVG1007865 WASHER. FLAT 10 $1.00
CVG1007866 SPINDLE ASM. FRONT AXLE. DRIVER. 20 $153.36
CVG1007867 SPINDLE ASM. FRONT AXLE. PASSENGER. $191.70
CVG1007868 SPINDLE. FRONT AXLE. DRIVER $168.00
CVG1007869 SPINDLE. FRONT AXLE (PASSENGER) $171.12
CVG1007870 CALIPER FOR DISC BRAKE. DRIVER $114.30
CVG1007871 CALIPER FOR DISC BRAKE. PASSENGER $114.30
CVG1007872 WINDSHIELD, GLASS - TOMBERLIN $530.16
CVG1007874 RUBBER SCREW $1.00
CVG1007875 TIRE. KENDA 205/50-10 $151.20
CVG1007876 OIL PIPELINE. 1100MM $27.64
CVG1007877 SPEEDOMETER. 2008 $117.00
CVG1007878 STUD BOLT - BATTERY TIE DOWN BOLT $9.27
CVG1007879 WASHER. BIG FLAT 10 $1.00
CVG1007880 HEX BOLT M6X35 (STAINLESS) $1.00
CVG1007881 BOLT, PHILLIPS HEAD M6.55 (STAINLES $1.00
CVG1007882 SELF-TAPPING SCREW ST4.2X16 (STAINL $1.00
CVG1007883 SCREW PHILLIPS FLAT-HEAD M5*16 $1.00
CVG1007884 SELF-TAPPING SCREW ST6.3X16 $1.00
CVG1007885 PIN. COTTER 3.2X32 $1.00
CVG1007886 HEAT SINK COMPOUND $21.10
Page 12 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Parts Pricing Schedule

Part # Description List Price

CVG1007890 HEX. BOLT M8X90 (STAINLESS) $9.36
CVG1007891 HEX BOLT M6*16 $1.00
CVG1007892 PHILLIPS. FLAT-HEAD SCREW 6X20 $1.00
CVG1007898 BOLT. HEX FLANGE M6X28X2.0 $1.00
CVG1007899 SCREW. PHILLIPS TRUSS-HEAD M4X8 $1.00
CVG1007901 BODY SIDE TRIM KIT. E4 2008 $161.52
CVG1007905 FAN. CONTROLLER $53.00
CVG1007911 HEAT SINK KIT $161.20
CVG1007919 WIRING HARNESS. HIGH MOUNT LAMP & W $28.64
CVG1007923 WIRING HARNESS. CONTROLLER. E4 $29.24
CVG1007947 SHOCK ABSORBER. FRONT. ADJUSTABLE $43.16
CVG1007948 REAR SHOCK ABSORBER(318MM E2 SE. LE $43.16
CVG1007949 CABLE. MANUAL BRAKE ASSEMBLY. E4. 2 $37.00
CVG1007953 WIRING HARNESS. MAIN. E4. 2010 $139.50
CVG1007956 FUSE KIT $5.92
CVG1007957 SUPPORT BAR. FRONT SEAT BASE. DRIVE $9.52
CVG1007958 SUPPORT BAR. FRONT SEAT BASE. PASSE $77.56
CVG1007959 BRACKET.REAR CANOPY(BLACK)(ON PASS' $41.76
CVG1007960 BRACKET.REAR CANOPY(BLACK)(ON DRIVE $41.76
CVG1007961 SUPPORTING RACK. FRONT SEATBACK(BLA $73.20
CVG1007962 PILLAR. NEUTRAL MODULE(DRIVE SIDE) $67.32
CVG1007963 THE NEUTRAL PILLAR MODULE(PASSENGER $67.32
CVG1008000 CIRCUIT BOARD. ACCELERATOR $90.40
CVG1008001 COVER. SEAT BOTTOM $120.00
CVG1008002 COVER. SEAT BACK $60.00
CVG1008003 BRAKE LINE. FLEXIBLE. REAR $15.57
CVG1008004 DASH. RUBBER TRIM OF THE BASEBOARD $10.16
CVG1008005 RUBBER SCREW A0025 $1.00
CVG1008006 CONNECTING PIN. MASTER CYLINDER $1.00
CVG1008007 MOTOR SENSOR KIT; DC DRIVE REPLACES $162.00
CVG1008009 HANDLE ASSEMBLY. MANUAL BRAKE $74.75
CVG1008010 PARKING BRAKE SWITCH $29.30
CVG1008012 CABLE. MANUAL BRAKE ASSEMBLY $71.17
CVG1008015 CANOPY. E2. BLACK $443.70
CVG1008023 TRUNK KIT $698.44
CVG1008024 REAR BODY KIT $698.44
CVG1008026 HANDLE KIT. CANOPY $89.24
CVG1008027 AXLE BEARING SPACER $1.80
CVG1008029 CLAMPING RING. REAR SEAT $1.92
CVG1008030 TAIL LIGHT ASSEMBLY. CLEAR. DRIVER. $57.60
CVG1008031 TAIL LIGHT ASSEMBLY. CLEAR. PASSENG $86.40
CVG1008033 WIRES. CENTER HIGH MOUNT STOP LAMP $33.88
CVG1008035 CONTROLLER ASSEMBLY WITH WIRING 48V $1,286.08
CVG1008041 WINDSHIELD FRAME $125.64
Page 13 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1008042
CvG1008043
CvG1008044
CVG1008045
CvG1008049
CvG10080498B
CvG1008050
CVG1008051
CvG1008052
CVG1008053
CvVG1008054
CVG1008056
CVG1008056A
CVG1008056B
CVvG1008057
CVG1008057A
CVG1008066
CVG1008067
CvVG1008068
CVG1008069
CvG1008071
CVG1008072
CVG1008074
CVG1008075
CVG1008076
CVG1008084
CVG1008085
CVG1008096
CvG1008100
CVG1008101
CvG1008102
CVG1008103
CvG1008104
CVG1008105
CVG1008106
CVG1008107
CvG1008112
CVG1008113
CvG1008114
CVG1008115
CVG1008116
CvG1008117
CvG1008118
CvG1008119

Page 14 of 194

Description
INNER MIRROR WITH DOME LIGHT. 2008
MOUNTING BRACKET. INNER MIRROR (BLA
NUT. SELF-LOCKING. M8
TIRE. SS (215/35-12)
SEAT BOTTOM. SS. BLACK W/ RED PIPIN
BACKREST-(RED PIPING)
SEAT BACK. SS. BLACK/RED W/ SINGLE
DECAL. 48SS. LARGE (SET OF 2)(RED)
DECAL. 48SS. SMALL(RED)
DECAL. 48SS. FRONT BODY. DRIVER(BLA
DECAL. 48SS. FRONT BODY. PASSENGER(
SEAT BOTTOM (BLACK W/RED PIPING) SE
BACKREST (BLACK W/RED PIPING) SE
SEAT COVERS - BUCKET
SEAT BOTTOM (BLACK W/ WHITE PIPING)
BACKREST (BLACK W/ WHITE PIPING) SE
PROTECTIVE SLEEVE. OIL SEAL
BACK PLATE. INSTRUMENT SWITCH. 2008
BULB. INDICATING LIGHT. SPEEDOMETER
BULB. PARKING BRAKE INDICATING LIGH
CANOPY. WHITE E2. W/ PAINT
CANOPY. WHITE E4. W/ PAINT
DECAL. TOMBERLIN BRAND. SIDE BOARD
DECAL. TOMBERLIN BRAND LOGO
BLANK KEYS - SET OF 2
LUG NUT. CHROME
THROTTLE ASSEMBLY MICRO SWITCH
CENTER HIGH MOUNT STOP LAMP ASM. CH
ASSEMBLY. STEERING GEAR BOX
COMPOUND STEERING JOINT. 2010
DC CONVERTER
WIRING HARNESS. MAIN
HEADLIGHT ASSEMBLY. DRIVER
HEADLIGHT ASSEMBLY. PASSENGER
TAIL LIGHT ASSEMBLY. DRIVER. 2010
TAIL LIGHT ASSEMBLY. PASSENGER. 201
CENTER HIGH MOUNT STOP LAMP ASM. WH
CENTER HIGH MOUNT STOP LAMP ASM. YE
CENTER HIGH MOUNT STOP LAMP ASM. CH
CONTROLLER ASSEMBLY 48V. CURTIS. 50
SEALED COVER. CONTROLLER 2010
FIELD WIRE F1. MOTOR. 2010
FIELD WIRE F2. MOTOR. 2010
MOTOR WIRE. Al. 2010

Parts Pricing Schedule

List Price
$47.76
$28.40

$1.00
$226.52
$173.60
$698.44
$93.36
$39.35
$12.30
$11.30
$11.70
$331.68
$331.68
$331.68
$331.68
$331.68
$9.60
$13.92
$4.32
$4.20
$443.70
$1,108.60
$12.98
$22.40
$11.21
$2.40
$18.01
$45.54
$157.40
$61.05
$150.00
$170.84
$60.90
$60.90
$37.65
$37.65
$45.54
$45.54
$45.54
$1,888.00
$40.76
$22.08
$22.08
$35.40

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Parts Pricing Schedule

Part # Description List Price

CvG1008120 MOTOR WIRE. A2. 2010 $35.40
CvG1008121 WIRE. BATTERY. POSITIVE INPUT. 2010 $33.76
CvG1008122 WIRE. BATTERY. NEGATIVE INPUT. 201 $24.68
CvG1008123 TURN SIGNAL STALK. 2009 AND NEWER ( $100.80
CvG1008124 SWITCH. HEADLIGHT $15.78
CvG1008125 SWITCH. EMERGENCY LIGHT $19.70
CvG1008126 SPEEDOMETER. BLACK PLUG ON END $118.32
CvG1008127 TURN SIGNAL FLASHER. 2010 AND UP (B $34.60
CvG1008128 WIRES. CENTER HIGH MOUNT STOP LAMP. $41.84
CvG1008130 SPINDLE ASM. FRONT AXLE. DRIVER. 20 $213.95
CvG1008131 LOWER SWING ARM. FRONT AXLE (DRIV & $39.05
CVG1008131-A LOWER SWING ARM. FRONT AXLE $19.55
CvG1008132 UPPER SWING ARM. FRONT AXLE (DRIV & $39.10
CVG1008132-A UPPER SWING ARM $34.80
CvG1008133 UPPER SWING ARM. FRONT AXLE. PASSEN $34.80
CVG1008133-A UPPER SWING ARM. FRONT AXLE. PASSEN $34.80
CvG1008134 SPINDLE ASM. FRONT AXLE. 2010. PASS $213.95
CVG1008135 SHOCK ABSORBER. FRONT. E2 (285MM) $71.61
CvG1008136 SPEEDOMETER(2016/2017)(LE&SS) $55.32
CvG1008137 INNER MIRROR W/ DOME LIGHT. 2010.. $52.29
CvG1008138 BACK PLATE. INSTRUMENT SWITCH. 2010 $18.04
CvG1008139 FRONT BODY KIT $840.40
CvG1008140 BODYSIDE TRIM KIT $84.12
CvG1008141 DECAL. KEY SWITCH. 2010 $1.00
CvG1008142 ALUMINUM WHEEL. 2010 $166.65
CvG1008143 WHEEL CENTER CAP. TOMBERLIN BADGE. $26.64
CvG1008147 SEAT BOTTOM. LE $248.52
CvG1008148 SEAT BACK. LE $93.36
CvG1008149 SOLENOID. 2009 & UP (BLACK) $136.20
CvG1008150 REAR FACING SEAT KIT. LE $1,312.60
CvG1008150-MD REAR FACING SEAT KIT. FLIP $1,950.00
CvVG1008151 DOME LIGHT BULB $5.20
CvG1008155 SPINDLE. FRONT AXLE. DRIVER. 2010 $140.15
CvG1008156 SPINDLE. FRONT AXLE. PASSENGER. 201 $140.15
CvG1008157 BLADE FUSE. 400A $68.48
CvG1008158 CONTROLLER 48V. CURTIS. 500 AMP DC $1,794.80
CVG1008158R REMAN. CONTROLLER 48V. CURTIS 500A $1,210.40
CvG1008159 FUSE. (380V/10A) REPLACES 1007025 $5.92
CvG1008160 FUSE (380V/20A) $7.48
CvG1008161 SCREW PHILLIPS FLAT-HEAD M6*30 $1.00
CvG1008162 COVER. GLOVE BOX. DRIVER $27.17
CvG1008163 COVER. GLOVE BOX. PASSENGER $28.14
CvG1008164 LOCK. GLOVE BOX. SINGLE $37.31
CvG1008165 DECAL. 500 $8.16
Page 15 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CvG1008166
CvG1008168
CvG1008169
CvG1008170
CvG1008171
CvG1008172
CvG1008177
CvG1008178
CvG1008179
CvG1008181
CvG1008182
CvG1008183
CvG1008184
CvG1008186
CvG1008189
CvG1008190
CvG1008195
CvG1008198
CvG1008199
CvG1008203
CvG1008204
CvG1008205
CVvG1008220
CvG1008221
CvG1008222
CvG1008223
CvG1008224
CvG1008234
CvG1008240
CvG1008241
CvG1008242
CvG1008244
CvG1008245
CvG1008249
CvG1008250
CvG1008251
CvG1008252
CvG1008253
CvG1008253-1
CvG1008253-3
CvG1008253-B
CvG1008254
CvG1008255
CvG1008255-P

Page 16 of 194

Description
PAN HEAD SCREW WITH FLAT WASHER
HIGH METALLIC BRAKE PAD KIT
DECAL. 2010 PVC WARNING. STEERING W
FRONT BRAKE PADS KIT (LEFT)
FRONT BRAKE PADS KIT (RIGHT)
FRONT BRAKE PADS(INSIDE)
WINDSHIELD WIPER KIT
INNER MIRROR WITH DOME LIGHT KIT. 2
DASHBOARD KIT
ALUMINUM PLATE. 2010
WIRING HARNESS. CONTROLLER
HEX BOLT M8X50 (STAINLESS)
FLANGE BOLT M10X1.25X35
SELF-TAPPING SCREW. PHILLIPS TRUSS-
SEAT BELT. RECEIVERS.DRIVER
SEAT BELT. RECEIVER. PASSENGER
"CENTER CAP. TOMBERLIN ""T"". SS 20
TAIL LIGHT ASSEMBLY. CLEAR. DRIVER
TAIL LIGHT ASSEMBLY. CLEAR. PASSENG
DECAL. 500 LE
CENTER HIGH MOUNT STOP LAMP ASM. OR
CENTER HIGH MOUNT STOP LAMP ASM. LO
MOTOR. E4 AC DRIVE
CONTROLLER. E4 AC DRIVE
CABLE ADAPTER. MOTOR. E4 AC DRIVE
EXTENDED CANOPY RAIL KIT
DELTA-Q PROGRAMMING KIT
BULB. PARKING BRAKE LIGHT. SPEEDOME
BRAKE CALIPER MOUNTING BRACKET. DRI
BRAKE CALIPER MOUNTING BRACKET. PAS
E4 MAIN CABLE. MANUAL BRAKE
BRAKE CALIPER MOUNTING BRACKET. DRI
BRAKE CALIPER MOUNTING BRACKET. PAS
CONNECTOR. 2008 TO 2010
BRAKE CALIPER WITHOUT MOUNTING BRAC
BRAKE CALIPER WITH MOUNTING BRACKET
GASKET. CENTER HIGH MOUNT STOP LAMP
BRUSHES. MOTOR. ZQ548-38B-T1
BRUSH. MOTOR GB9-4001
MOTOR. BRUSH DC. PIGTAIL-
BRUSH HOLDER FOR TOMBERLIN MOTOR
MOTOR. MODEL GB9-4001..
MOTOR KIT. MODEL GB9-4001. 2010-201
RUBBER PLUG FOR 1008255 MOTOR

Parts Pricing Schedule

List Price
$1.00
$42.60
$1.00
$160.00
$160.00
$160.00
$123.50
$71.64
$209.80
$97.44
$135.24
$1.00
$1.00
$1.00
$46.92
$43.96
$12.64
$86.40
$86.40
$3.52
$45.54
$45.54
$2,206.64
$2,484.00
$386.40
$123.36
$207.00
$3.80
$19.40
$19.40
$108.36
$19.40
$19.40
$5.16
$122.16
$76.20
$9.00
$128.57
$193.08
$115.12
$199.92
$2,503.92
$2,452.16
$2.36

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG1008256
CVG1008257
CvG1008258
CVG1008259
CvG1008260
CVG1008263
CVvG1008265
CVG1008266
CvG1008270
CvG1008271
CvG1008272
CVG1008278
CvG1008279
CVG1008280
CvG1008283
CVG1008284
CVG1008285
CVG1008286
CvG1008293
CVG1008296
CVG1008306
CVG1008307
CVG1008308
CVG1008309
CvG1008310
CVG1008311
CVG1008312
CVG1008313
CVG1008322
CVG1008323
CVG1008324
CVG1008325
CVG1008326
CVG1008328
CvG1008329
CvG1008330
CvVG1008331
CvG1008389
CVG1008399
CVG1008429
CvG1008430
CvG1008433
CvG1008437
CvG1008447

Page 17 of 194

Description
BATTERY SEPARATOR
BRAKE HOSE. FRONT
FRONT BODY PAINTED PER CUSTOMER COL
REAR BODY PAINTED PER CUSTOMER COLO
HARDWARE KIT FOR E-2 FINAL ASSEMBLY
ADAPTOR PLATE. AC DRIVE. E4
TIRE. RADIAL. E2/LE. 2010
TIRE. RADIAL. SS
LOCK ASSEMBLY. TRUNK
PAN HEAD SCREW (WITH FLAT WASHER)
DECAL. WARNING. INNER MIRROR
LATCH. TRUNK LOCK. REAR BODY
CENTER CAP. LILLY
LATCH. TRUNK LOCK. KEY LOCK
KEY KIT (IGNITION & TRUNK W/ 2 KEYS
HALL EFFECT SENSOR W/ CIRCUIT BOARD
ACCELERATOR ASSEMBLY
DECAL. 400
BOOT. STEERING RACK ENDS OF THE RAC
WIRING HARNESS. MAIN WITH 100~RESIS
"LILLY PULITZER 9.1"" SCRIPT DECAL.
"LILLY PULITZER 9.1"" SCRIPT DECAL.
"LILLY PULITZER 4"" SCRIPT DECAL. W
"LILLY PULITZER 4"" SCRIPT DECA. GR
DECAL. FRONT BODY. LILLY PULITZER.
DECAL. FRONT BODY. LILLY PULITZER (
DECAL. LILLY PULITZER FOLLOW THE SU
DECAL. LILLY PULITZER FOLLOW THE SU
BATTERY FILLING TANK
BATTERY FILLING SYSTEM. E2
BATTERY FILLING SYSTEM. E4
WIRE. BATTERY. NEGATIVE INPUT. E4.
FRONT SEAT BACK SUPPORT PASSENGER
HANDRAIL, REAR SEAT DRIVER
HANDRAIL, REAR SEAT PASSENGER
FRONT SEATBACK SUPPORT(DRIVER SIDE)
MTG HOLD FOR REAR SEAT SUPT
DECAL. ELLE
WIRING HARNESS. MAIN. EEC
RECEIVER. SEAT BELT. E4 FRONT
RECEIVER. SEAT BELT. E4 FRONT (PASS
BOOT. STEERING RACK ENDS OF THE RAC
CONTROLLER HARNESS. SHELBY
DECAL. GT 500. SHELBY BLUE

Parts Pricing Schedule

List Price

$6.84
$20.52

$720.80
$811.47
$132.96
$186.32
$161.92
$227.92

$21.24

$1.00

$5.60
$21.24
$26.64
$21.24
$38.25
$82.52

$306.25

$11.32
$11.90

$158.16

$22.20
$22.20
$15.00
$15.00
$42.24
$42.24
$42.24
$42.60

$113.43
$329.80
$329.80

$24.68
$84.00

$273.00
$273.00

$84.00
$5.96
$23.72

$111.60

$7.40
$7.40
$20.68
$98.96
$35.52

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1008459
CVvG1008464
CvG1008465
CVG1008486
CvG1008487
CVG1008489
CvG1008490
CVG1008510
CvG1008513
CVG1008514
CvG1008519
CVG1008521
CVG1008524
CVG1008525
CVG1008526
CVG1008527
CvG1008540
CVG1008544
CVG1008545
CVG1008546
CVG1008557
CVG1008560
CVG1008562
CVG1008582
CVG1008591
CVG1008592
CVG1008593
CVG1008601
CVG1008612
CVG1008613
CVG1008614
CVG1008615
CVG1008616
CVG1008617
CvG1008618
CVG1008619
CvG1008620
CVG1008621
CVG1008622
CVG1008623
CVG1008624
CVG1008625
CVG1008626
CvG1008627

Page 18 of 194

Description
TERMINAL BLOCK. AC DRIVE
MEDALLION. SHELBY. COBRA BADGE
WIRE. MOTOR SENSOR. SHELBY; AC DRIV
DECAL. GT 500. SHELBY CHARCOAL
DECAL. GT 500. SHELBY MAROON
DECAL. GT 500. SHELBY RED
DECAL. GT 500. SHELBY SILVER
PARKING BRAKE BULB SOCKET
WINDSHIELD. CLEAR HINGED. GS
TAG LIGHT KIT
SWITCH BOX. STEERING COLUMN
OIL PIPELINE (900MM)
DECAL. 48SS LARGE. BLACK
DECAL. 48SS. SMALL. BLACK
DECAL. 48SS. FRONT BODY. DRIVER. RE
DECAL. 48SS. FRONT BODY. PASSENGER.
WHEEL STUD. REAR XRLE
WIRING HARNESS. MAIN. 2012
WIRING HARNESS. MAIN. E2. LE/SS. 20
SEAT BELT. E2 FRONT/E4 REAR. ASM
PLUG. BATTERY TRAY
WIRING HARNESS. MAIN. E4. 2012
REMOTE LED CABLE
WIRING HARNESS. MAIN. E4. EEC
TIE ROD END KIT
BOOT. COMPOUND STEERING JOINT
LILLY. PINK/WHITE SEATS
MOTOR. AX 5 KW
BATTERY POSITIVE INPUT WIRE
REAR AXLE ASSEMBLY.12:25:1
SLEEVE. SHAFT (PASSENGER)
SLEEVE. SHAFT (DRIVER)
BACKING PLATE BRAKE (DRIVER)
BACKING PLATE BRAKE (PASSENGER)
BRAKE DRUM AC NKL
HEX HEAD SCREW M10*1.25*35..
HEX HEAD SCREW M8*1.25*25..
SERRATED LOCK NUT M8..
BRAKE SHOE
BRAKE CABLE CLIP
GEAR CASE R.H
GEAR CASE L.H
PLANET GEAR ASSEMBLY 70T
HELICAL GEAR AND SHAFT 15T

Parts Pricing Schedule

List Price

$37.32
$33.12
$86.12
$35.52
$35.52
$35.52
$35.52
$18.40
$352.00
$45.12
$186.60
$27.64
$14.00
$9.84
$6.00
$6.00
$5.20
$73.44
$80.52
$36.12
$4.20
$80.52
$48.88
$111.60
$32.50
$8.00
$380.00
$1,412.40
$44.48
$1,690.72
$698.44
$698.44
$698.44
$698.44
$240.00
$698.44
$698.44
$698.44
$116.80
$698.44
$698.44
$698.44
$698.44
$698.44

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1008628
CVG1008629
CVG1008630
CVG1008631
CVG1008632
CVG1008633
CVG1008634
CVG1008635
CVG1008636
CVG1008637
CVG1008638
CVG1008639
CvG1008640
CVG1008641
CvVG1008642
CVG1008643
CVG1008644
CVG1008645
CVG1008646
CVG1008647
CVG1008648
CVG1008649
CVG1008650
CVG1008651
CVG1008652
CVG1008653
CVG1008655
CVG1008657
CVG1008667
CVG1008702
CvG1008703
CVG1008706
CvG1008707
CvG1008708
CvG1008709
CVG1008710
CvG1008711
CVG1008712
CvG1008714
CVG1008715
CvG1008719
CvG1008720
CvG1008721
CvG1008722

Page 19 of 194

Description
HELICAL GEAR 42T
INPUT SHAFT AND GEAR 16T
BEARING-NO.6207
BEARING-NO.6303
BEARING-NO.6203
BEARING-NO.6205
GASKET-F61 * F69 * 1.5T (S)
GASKET-F36 * F44 * 1.5T (S)
GASKET-F32 * F40 * 1.0T (S)
GASKET-F45 * F51 * 1.5T (S)
GASKET-F8.2 * F16 * 2.0T (W)
GASKET-F14.5 * F22 * 1.0T (W)
SEAL-TCF28 * F55 * 9H
SEAL-TCF25 * F47 * 6H
HEX HEAD SCREW-M8 *1.25 *100
HEX HEAD SCREW-M8 *1.25 *90
HEX HEAD SCREW-M8 *1.25 *12
FILL PLUG-M14 * 1.25
HEX NUT-M8%1.25
POSITIONING BUSHING-F8.2 * F10 * 12
PARALLEL KEY
C-TYPE BUCKLE - SHAFT 32
EXPANSION BELLOWS
FRAME ASSELMBLY (BLACK)
HOLDER Il. BATTERY
HOLDER I. BATTERY
PRESSING PLATE 1.BATTERY
PRESSING PLATE 2. BATTERY
DECAL-E2-AC
CHARGER PIGTAIL
CHARGER WIRE
STUD. BATTERY HOLD-DOWN
WIRE CLAMP. CONTROLLER
COPPER CONNECTED BOARD
CONTROLLER HARNESS. SEVCON AC SE
CONTROLLER (450A/48V)
CONNECTED WIRE MOTOR SE
BRACKET. CHARGE PLUG..
CHARGER. SUMMIT SERIES 48V WITH REM
BEARING. MOTOR MAIN GB9-4001
LETRIKA 5KW MOTOR W/ E-BRAKE
WHEEL CYLINDER FOR NKL AXLE
CABLE. BRAKE. IND PARK. MAIN FOR E-
AUXILIARY BATTERY (LIFEP04) &..AUXI

Parts Pricing Schedule

List Price
$698.44
$142.00
$698.44

$11.24
$17.00
$698.44
$698.44
$698.44
$698.44
$698.44
$698.44
$4.16
$698.44
$698.44
$698.44
$698.44
$698.44
$3.84
$698.44
$698.44
$698.44
$698.44
$15.00
$1,078.60
$32.32
$47.32
$20.96
$20.96
$6.66
$698.44
$698.44
$2.76
$1.88
$20.32
$104.84
$1,360.00
$29.76
$20.08
$707.20
$90.64
$1,862.00
$89.40
$71.60
$305.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Parts Pricing Schedule

Service Disabled Veteran Owned Business

Part #

CvG1008723
CVG1008725
CVG1008726
CVG1009002R
CvG1009011
CVG1009011R
CVG1009012R
CVG1009013R
CvG1009015
CVG1009019R
CVG1009020
CVG1009021
CvG1009023
CVG1009024
CVG1009025
CVG1011497
CvG1011498
CVG1012085
CvG1012143
CVG1012547
CvG1015911
CVG1016000
CVG1016001
CVG1016002
CVG1016003
CVG1016004
CVG1016005
CVG1016006
CVG1016007
CVG1016008
CVG1016009
CVG1016010
CvG1016011
CVG1016016
CvG1016017
CVG1016017B
CvG1017000
CVG1017001
CvG1017002
CVG1017003
CVG1017004
CvG1017005
CVG1017006
CvG1017007

Page 20 of 194

Description
BATTERY BOX. AUXILIARY..
CONTROLLER (275A 48V)
REAR AXLE IMPROVEMENT KIT FOR 2010-
RECOVERED: PREMIUM TOMBERLIN ASSEMB
PREMIUM CONTOUR WITH BENCH BACK AND
REUPHOLSTERED: BLACK W/ RED WAVE
REUPHOLSTERED: BLACK W/ YELLOW WAVE
REHOLSTERED BLACK W/ WHITE WAVE
TOMBERLIN LUXURY SEATS W/ INTIGRATE
REUPHOLSTERED SEATS:COAL & SLATE
TOMBERLIN LUXURY SEAT BACK W/ INTIG
SEATS. STANDARD SE
SS SEAT SET SLATE W/ DIAMOND STITCH
BRIAR BRONZE DIAMOND. LE. CUSHIONS
COAL-CHARCOAL DIAMOND. LE. CUSH
TAILLIGHT BEZEL
OVAL TAILLIGHT (1017035)
80 AMP RECT FUSE
FUSE LENS
RUBBER STRIP
CHARGER RELAY (36V)
DIFFERENTIAL GEARBOX(NKL)
STICKER. KEY INGITION
H/L SPEED SWITCH
MAIN HARNESS
TYCO CONTACTOR
CALIPER FOR DISC BRAKE(DRIVER SIDE)
CALIPER FOR DISC BRAKE(PASSENGER Sl
FRONT SHOCK(2015)
FRONT SHOCKS(285MM)
DECAL. LE-AC
REMOTE. DISPLAY. 10/BOXM SUMMIT PAN
3RD LED BRAKE LIGHT CABLE
160Z CLEAR BATTERY PROTECTORS
SEAT BOTTOM. BLACK WITH BLUE PIPING
SEAT BACKS. BLACK W/ BLUE PIPING
CONTROLLER WIRE HARNESS. SEVCON AC.
BRACKET. SOLENOID
CABLE. CONTROLLER TO MOTOR (1000MM)
CABLE. CONTROLLER TO MOTOR (900MM)
CONNECTED WIRE MOTOR(800MM)
SCREW. PHILLIPS TRUSS-HEAD M5%*12
CIRCUIT BOARD. ACCELERATOR
WIRE CLAMP

List Price

$4.00

$1,100.00
$698.44
$380.00
$900.00
$380.00
$380.00
$380.00
$1,280.00
$380.00
$1,424.00
$644.00
$1,251.60
$1,041.60
$1,041.60

$7.92
$23.68
$12.80
$2.40
$32.80
$48.60

$840.00

$1.00
$8.28

$126.40
$130.24

$76.20
$76.20
$61.92
$52.08

$698.44

$60.00
$1.20
$27.48

$331.68
$105.72
$131.00

$2.44
$25.80
$25.80
$25.80
$1.00
$28.08
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1017008
CvG1017009
CvG1017010
CvG1017011
CvG1017012
CvG1017013
CvG1017014
CVG1017015
CVvG1017016
CvG1017017
CvG1017018
CvG1017019
CvG1017020
CvG1017021
CvG1017022
CvG1017023
CVG1017024
CVG1017025
CVG1017026
CvVG1017027
CvG1017028
CVG1017029
CVG1017030
CVG1017031
CVvG1017032
CVG1017033
CVG1017034
CVG1017035
CVG1017036
CVG1017037
CVG1017038
CVG1017039
CvG1017040
CVG1017041
CvG1017042
CVG1017043
CVG1017044
CVG1017045
CVG1017046
CVG1017049
CVG1017054
CVG1017064
CVG1017065
CVG1017066

Page 21 of 194

Description
WARNING LABLE. ELECTRICAL
HUB CAP. DECAL. SS
GEAR BOX
FLANGE NUT M8
STUD BOLT (275MM)
DECAL. SWITCH INSTRUCTION
PLATE BOARD. SN (SILVER
PLATE BOARD. VIN (BLACK)
DECAL .PVC WARNING ON STEERING WHEE
SCREW M4*6
SCREW M4*10
RETURN BOARD
COVER. STEERING STEM(LOWER)
SCREW M6*16
RUBBER. LOCK HOLE
COVER. STEERING STEM (UPPER)
SELF-TAPPING SCREW ST4.2X9.5
STEERING SHAFT BEARING(20* 35-8)
FLAT WASHER 12
TIRE 215/ 35 - R12 (INNOVA)
"WHEEL. ALUMINUM. 12"" X 7. TOM LE
PEDAL. BRAKE
PRESSURED BOARD
PUSHROD
OIL TUPE (1100*?13.5%?7.5)
FRONT FLEXIBLE BRAKE LINE
HOLDER. BRAKE PEDAL
SPRING. BRAKE PEDAL
SPACER. BRAKE PEDAL
BATTERY CABLE (SHORT 230MM)
HOLDER. SWITCH
SWITCH. HIGH/LOW SPEED
TURN SIGNAL STALK NEW LE
POWER LOCK
DECAL. POWER LOCK
PLUG. AUXILARY POWER
DECAL. WIRING. CHARGER SIGNAL
CENTER HIGH MOUNT STOP LAMP ASSEMBL
CENTER HIGH MOUNT STOP LAMP ASSEMBL
CENTER HIGH MOUNT STOP LAMP ASSEMBL
PLUG. AUXILARY POWER
DECAL. LE-AC
SCUTCHEON. SN
RIVET

Parts Pricing Schedule

List Price
$1.00
$5.80

$700.00
$1.00
$4.32
$1.80
$1.00
$1.00
$1.00
$1.00
$1.00
$3.96
$50.52
$1.00
$1.00
$50.52
$1.00
$7.88
$1.00
$126.40
$134.40
$23.04
$1.00
$7.48
$7.24
$9.72
$28.40
$3.12
$3.88
$24.31
$12.96
$7.48
$97.29
$43.52
$1.00
$3.76
$1.00
$19.60
$19.60
$19.60
$2.60
$3.60
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1017067
CvG1017077
CVG1017086
CVG1017095
CVG1017096
CVG1017097
CVvG1017098
CVG1017099
CvG1017100
CvG1017101
CvG1017102
CvG1017103
CVG1017104
CVG1017105
CvG10171059
CVG1017106
CvG1017107
CVG1017108
CvG1017109
CVvG1017110
CvG1017111
CvG1017112
CvG1017113
CvG1017114
CvG1017115
CVG1017116
CvG1017117
CVG1017118
CvG1017119
CVG1017120
CvG1017121
CVG1017122
CvG1017123
CVG1017125
CVG1017126
CVG1017127
CvG1017128
CVG1017129
CvG1017130
CVG1017131
CvG1017132
CvG1017133
CVvG1017134
CvG1017135

Page 22 of 194

Description
SCUTCHEON. VIN
TRUNK. BLACK
WARNING LABEL. SWITCH
MOTOR. WINDSHIPER WIPER
OPERATORS'S MANUAL BOX
OPERATOR'S MANUAL
UTILITY BOX-EMERGE
BRUSH GUARD- EMERGE
CARGO BOX-E-MERGE ALUM BLACK
REAR SHOCK ABSORBER(318MM E4)(2016/
HALL EFFECT (2016 & NEWER) SEVCON
STEERING WHEEL
CUPHOLDER, CARBON FIBER
SPEEDOMETER (2016 & UP SE VEHICLES)
TRUNK LOCK W/ KEY(E2-LE/SS & E4-LE)
DC TO DC CONVERTER 2016 LE
DC TO DC CONVERTER 2016 SE
WIRING HARNESS 2016 SE
WIRING HARNESS 2016 LE
SPEEDOMETER(2016 & UP E4-LE/E2-LE/E
EMERGENCY SWITCH 2016 & UP
HEADLIGHT SWITCH 2016 & UP
SCREW M5*10
NUT M5
WIRING STICKER. CHARGE SIGNAL
POWER.LOCK
HARNESS. CENTER HIGH MOUNT STOP LAM
BACK PLATE. INSTRUMENT (2) SWITCH
DECAL. SIDE STICKER E2-AC
HARNESS. CONTROLLER WIRE (SE)
STEERING SHAFT LE & SS
JACKET TUBE
SEATS. BLACK WITH BLACK PIPING(SE)
CHARGER PIGTAIL(CHARGER TO MARINCO
SOLENOID (BROWN/METAL)
COPPER CONNECTED BOARD SE
BATTERY NEGATIVE INPUT WIRE SE
ALUMUNUM PLATE. CONTROLLER 275AMP S
CONNECTED WIRE MOTOR
CONNECTED WIRE MOTOR
FRAME KIT. E4
E4. NAME PLATE
FRONT SHOCK ABSORBER
REAR SHOCK ABSORBER

Parts Pricing Schedule

List Price
$1.00
$102.20
$1.00
$47.40
$11.64
$15.00
$950.00
$528.75
$1,008.00
$57.12
$82.52
$146.80
$77.68
$78.88
$28.40
$140.56
$107.68
$119.72
$158.04
$78.88
$7.48
$5.96
$28.40
$28.40
$1.00
$62.88
$28.40
$28.40
S4.48
$104.84
$28.40
$28.40
$217.00
$32.00
$126.24
$4.88
$29.48
$33.28
$37.28
$37.28
$1,622.32
$28.40
$56.43
$58.36

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG1017136
CvG1017137
CvG1017138
CVvG1017139
CvG1017140
CvG1017141
CvG1017151
CVG1017152
CvG1017153
CVG1017154
CvG1017155
CVG1017156
CvG1017157
CVG1017158
CvG1017159
CVG1017160
CvG1017161
CvVG1017162
CvG1017163
CVG1017164
CVG1017165
CVG1017166
CvG1017167
CVG1017168
CvG1017169
CVG1017170
CvG1017171
CVG1017172
CvG1017173
CVG1017174
CVvG1017175
CVG1017176
CvG1017177
CVG1017178
CvG1017179
CVG1017180
CvG1017181
CVG1017182
CvG1017183
CVG1017184
CvG1017185
CvG1017186
CvG1017187
CvG1017188

Page 23 of 194

Description
HARNESS-MAIN WIRING. E4 LE
RESERVOIR HOSE (600MM) E4
BATTERY CABLE(LONG) E4
CENTER HIGH MOUNT STOP LAMP. ASSEMB
WIRES FOR CENTER HIGH MOUNT STOP LA
FRONT BODY. BLUE BLACK.E4
SEAT BELT(FRONT LEFT E4)
SEAT BELT (FRONT RIGHT E4)
SEAT BELT( LEFT)
SEAT BELT(RIGHT)
BOLT. HEX-HEAD FLANGE M10X60X1.25
KNOB. WINDSHEILD WIPER
SELF TAPPING SCREW ST4.2X13
SEAT BACK. BLACK W/ BLACK PIPING
HEAD LIGHT REPLACEMENT BULB (LED HS
DECAL. GLOVE BOX
DECAL.48SS SALOON(SMALL WHITE)..48S
DECAL. 48SS SALOON(LARGE WHITE)
RFSK. SPECIAL EDITION ..WHITE SEATS
"WHEEL 14"" X 7"
MAIN HARNESS (SUIT FOR NEW FWD//REV
DC CONVERTER (ADDING EPS FUNCTION).
CENTER HIGH MOUNT STOP LAMP ASSEMBL
FRONT BODY..
REAR BODY (LOLLIPOP RED)
TRUNK (LOLLIPOP RED)
CANOPY (LOLLIPOP RED)
PAINTING. LOWER SWING ARM. FRONT AX
WARNING LABEL. STEERING WHEEL
SS COUPE (SMALL DECAL)
FRONT COVER DECAL. LH (WHITE)
FRONT COVER DECAL RH (WHITE)
SS COUPE DECAL (LARGE WHITE)
SWITCH. FORWARD/REVERSE (FWD IS ON
FRONT SHOCK ABSORBER SS COUPE (LENG
"TIRE (14"" INNOVA 205/40R14)"
BOLT M8%*16
BOLT. M8%*30
BOLT M10*1.25*60
BOLT M10*1.25..
BOLT
HEADLIGHT BULB
"SPORTS STEERING WHEEL (ALLOY 14"")
BOLT M5*12

Parts Pricing Schedule

List Price
$170.84
$5.24
$49.36
$21.28
$28.64
$225.20
$87.92
$43.96
$43.96
$43.96
$1.04
$1.00
$1.00
$151.71
$30.48
$1.00
$10.84
$22.16
$1,479.76
$168.24
$159.08
$149.92
$27.16
$220.24
$552.66
$117.64
$617.86
$19.00
$1.24
$10.84
$4.56
$4.52
$7.70
$7.68
$52.00
$174.40
$1.00
$1.00
$2.08
$1.00
$1.00
$10.16
$89.16
$28.40

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1017189
CvG1017190
CvG1017191
CvG1017192
CvG1017193
CVG1017194
CVvG1017195
CVG1017196
CvG1017199
CVG1017200
CvG1017201
CVG1017202
CvG1017203
CVG1017204
CVvG1017205
CVG1017206
CvG1017207
CVG1017208
CvG1017209
CVG1017210
CvG1017211
CVG1017212
CvG1017213
CVG1017214
CvG1017215
CVG1017216
CvG1017217
CVG1017218
CvG1017219
CVG1017220
CvG1017221
CVG1017222
CvG1017223
CVG1017224
CVvG1017225
CVG1017226
CvG1017227
CVG1017228
CvG1017229
CVG1017230
CvG1017231
CvG1017232
CvG1017233
CVG1017234

Page 24 of 194

Description
FIXING PLATE. STEERING
FIXING SLEEVE. STEERING WHEEL
EPS MOTOR
EPS ECU
EPS CONNECTING CABLE SS COUPE
LOWER JOINT. EPS
UPPER JOINT. EPS
WHITE SEAT. WHITE PIPING
CRYSTAL STICKER. STEERING
EPS STICKER
CENTER COVER (LOLLIPOP RED) SALOON
MAIN HARNESS (SUIT FOR NEW FWB//REV
FRONT SHOCK ABSORBER (E4 300MM ADJU
EPS CONNECTING CABLE (SALOON)
BOLT.HEX-HEAD FLANGE M8*20..
FLAT WASHER F8 ..
LOCK WASHER F8 ..
BOLT.HEX-HEAD M6*12 WITH SPRING WAS
TOMBERLIN POWER-STEERING ACCESSORY
E2. NAME PLATE. LSV..
E2. NAME PLATE. PTV....
WINCH W/SYNTHETIC ROPE 3500LB. (BLA
BOLT. CALIPER (BRAKE LINE)
COPPER FLAT WASHER
REAR SHOCK ABSORBER(328 MM E4 SALOON
EQUALIZER(BLACK E4 SALOON)..
UTV CARRIER
"STEEL BELTED RADIAL TIRE 12"" 215/
"STEEL BELTED RADIAL TIRE 14"" 205/
BATTERY 48V54AH HIGH RATE LIFEPO4
WHEEL/TIRE ASSEMBLY(215/35-R12)
KEY BLANK (SET OF 2) FOR LE/SS 2017
MOTOR BODY..
E-BRAKE DEVICE..
SPEED SENSOR..
SCREW. PHILLIPS TRUSS-HEAD M5*10..
SCREW. PHILLIPS TRUSS-HEAD M5%*13...
SCREW. PHILLIPS TRUSS-HEAD M6*25..
BATTERY NEGATIVE INPUT WIRE(650MM).
ALUMINUM PLATE(345*270*8MM)..
SHAFT (PASSENGER)..
SHAFT (DRIVER)..
SCREW PHILLIPS FLAT-HEAD M6X13..
BUFFERING GASKET.EQUALIZER..

Parts Pricing Schedule

List Price
$26.72
$61.20

$437.48
$28.40
$33.68
$32.00
$32.00
$281.04
$1.20
$1.00
$327.00
$174.52
$52.00
$49.72
$1.00
$1.00
$1.00
$1.00
$698.44
$1.00
$1.00
$435.00
$1.00
$2.00
$305.28
$131.40
$600.00
$146.56
$150.68
$2,240.00
$142.26
$28.40
$28.40
$28.40
$28.40
$28.40
$28.40
$28.40
$28.40
$28.40
$28.40
$28.40
$28.40
$28.40

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1017235
CvG1017238
CvG1017239
CVG1017240
CvG1017241
CVG1017242
CvG1017243
CVG1017244
CvG1017245
CVG1017246
CVvG1017247
CVG1017248
CvG1017249
CVG1017252
CVG1017255
CVG1017261
CVG1017262
CVG1017265
CVvG1017267
CVG1017268
CvG1017269
CVG1017270
CvG1017271
CVG1017272
CvG1017273
CVG1017274
CVG1017275
CVG1017276
CVvG1017277
CVG1017278
CvG1017279
CVG1017280
CvG1017281
CVG1017282
CvG1017283
CVG1017284
CvG1017285
CVG1017286
CvG1017287
CVG1017288
CvG1017289
CvG1017290
CvG1017291
CVG1017294

Page 25 of 194

Description
SELF-LOCKING NUT M13X1.25..
SCREW PHILLIPS FLAT-HEAD M6*12..
HEADLIGHT ASSEMBLY(ON PASSENGER'S S
SCUTCHEON.SN..
FRONT BODY KIT....
INSTRUMENT PANEL KIT
RIVET..
BODYSIDE TRIM(ON DRIVER'S SIDE)(REA
BODYSIDE TRIM(ON PASSENGER'S SIDE)(
ANTI-SLIP PEDAL..
P&A KIT, ELECTRIC POWER STEERING
E4 FRONT RECEIVERS-
CURVED STUD BOLT
TMB - REAR FACING SEAT KIT NO SEATS
TIRE/WHEEL KENDA 205/50-10
HEADLIGHT, LED, RH
HEADLIGHT, LED, LH
FRONT SHOCK ABSORBER
BRAKE CALIPER ASSY-P (R)
BRAKE CALIPER ASSY-D (L)
HUB & BRAKE ROTOR ASSY
BLACK WHEEL STEERING(14")
RED WHEEL STEERING(14")
WHITE WHEEL STEERING(14")
RED (POWER STEERING DECAL)
STEERING HUB
WASHER, DIFF OIL
BOLT, DIFF OIL
REAR VIEW DISPLAY (HD 5")
REAR VIEW CAMERA (HD)
REAR VIEW CAMERA ASSY.
FRONT SEAT BEAT (CHAMPAIGN)
CURVED STUD BOLT M6 (300MM) E4
STEERING WHEEL, BLACK (14")
STEERING WHEEL, WHITE (14")
DECAL, RED POWER STEERING
FIXING BRACKET, REAR VIEW DISPLAY
FIXING BRACKET, REAR VIEW CAMERA E2
HIGH POSITION BRAKE LAMP HARNESS
FIXING BRACKET, REAR VIEW CAMERA E4
WASHER, FLAT
WASHER, SPRING, SS
NUT, CAP M5
HIGH POSITION BRAKE LAMP HARNESS E4

Parts Pricing Schedule

List Price

$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$955.10
$611.88
$6.04
$1,137.64
$251.08
$56.88
$56.88
$61.80
$82.56
$82.56
$82.56
$95.32
$95.32
$95.32
$1.00
$65.44
$4.20
$3.84
$72.84
$25.00
$262.32
$320.80
$19.04
$95.32
$95.32
$1.00
$7.04
$6.08
$48.20
$7.88
$1.00
$1.00
$1.00
$101.88

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVvG1017295
CVG1017296
CvG1017297
CVG1017298
CvG1017299
CVG1017300
CvG1017302
CVG1017303
CVG1017304
CVG1017305
CVG1017306
CVG1017307
CVG1017308
CVG1017309
CvG1017310
CvG1017311
CvG1017312
CVG1017313
CvG1017314
CVG1017315
CVG1017316
CVG1017317
CvG1017318
CVG1017319
CVvG1017320
CvG1017321
CVG1017324
CVG1017325
CVG1017326
CVG1017327
CVvG1017328
CVG1017329
CVvG1017330
CVG1017331
CVG1017332
CVG1017333
CVG1017334
CVG1017335
CVG1017336
CVG1017337
CVG1017338
CvG1017339
CVvG1017340
CvG1017341

Page 26 of 194

Description
DECAL, REVENGE
WIRE, CONVERT CONNECTING
SCREW, PHILLIPS FLAT-HEAD M5*14 E2
WASHER, RUBBER E4
SCREW, PHILLIPS FLAT-HEAD M5*16 E4
REARVIEW CAMERA KIT
E2 LSV PLATES(10",12" WHEELS)
E2 PTV PLATES(14" WHEELS)
E2 LSV PLATES(14" WHEELS)
E4 PTV PLATES(10",12" WHEEL
E4 LSV PLATES(10",12" WHEELS)
E4 PTV PLATES(14" WHEELS)
E4 LSV PLATES(14" WHEELS)

CONNECTING WIRE, CAMERA DISPLAY E4

HARNESS, HOUR METER

WHEEL,10" BRANDED - REVENGE
DECAL, SS COUPE (SMALL RED)
DECAL, SS COUPE (BIG RED)

DECAL, SS SALOON (SMALL RED)
DECAL, SS SALOON(BIG RED)

GOLF BAG ATTACHMENT

TIRE & RIM ASSY 23*10-14" BLACK RIM
TIRE & RIM ASSY 23*10-14 BLACK RIM
RIM, 14" BLACK

CENTER CAPS, 70MM BLACK

LUG NUTS, BLACK

BACKREST, BLK W/ BLK PIPING
CONNECTED WIRE MOTOR

MOTOR, EPS

SHAFT (DRIVER)

GEAR BOX

SHAFT (PASSENGER)

FRAME ASSEMBLY, REVENGE 36V
SHOCK ABSORBER, SS COUPE FRONT
SHOCK ABSORBER, E2 FRONT

SHOCK ABSORBER, SS SALOON FRONT
CENTER CAP 09 70MM

WHEEL, ALUMINUM 14*7?

WHEEL, ALUMINUM 12*7"

WHEEL, ALUMINUM 10%*7"

TIRE R14" (205/35)

CANOPY (PEARL WHITE)

BOLT, BRAKE LINE

WASHER, COPPER

Parts Pricing Schedule

List Price
$5.52
$6.52
$1.00
$1.00
$1.00

$293.52
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$48.08
$30.80
$117.24
$11.48
$23.48
$11.48
$23.48
$179.28
$361.20
$361.20
$186.92
$10.52
$2.12
$120.96
$39.60
$568.80
$894.92
$1,905.48
$821.76
$1,434.80
$54.08
$53.28
$54.08
$13.52
$218.76
$170.64
$171.04
$238.64
$1,217.00
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG1017342
CvG1017343
CVG1017344
CVG1017345
CVG1017346
CVG1017347
CVG1017348
CVG1017349
CVvG1017350
CVG1017351
CvG1017352
CVG1017353
CVvG1017355
CVG1017356
CVvG1017357
CVG1017358
CVvG1017359
CVG1017360
CvG1017361
CVG1017362
CvG1017363
CVG1017364
CVG1017365
CVG1017366
CVG1017367
CVG1017368
CVG1017369
CVG1017370
CvG1017371
CVG1017372
CvG1017373
CVG1017374
CVG1017375
CVG1017376
CvG1017377
CVG1017378
CvG1017379
CVG1017380
CvG1017381
CVG1017382
CvG1017383
CvG1017384
CVvG1017385
CVG1017386

Page 27 of 194

Description
RESERVOIR HOSE, E4
BRAKE LINE, STEEL (DRIVER'S SIDE)
Brake line, steel E2 (rear of master cylinder)
BRAKE LINE, STEEL
HOSE, E2 RESERVOIR
HEADLIGHT ASSY., DRIVE SIDE NO BULB
BULB, HEAD LIGHT REPLACEMENT LED
HEADLIGHT ASSY.,(PASS SIDE) NO BULB
STOP LAMP CVR,CNTR HIGH MNT,BL BLK
STOP LAMP CVR,CNTR HIGH MNT, BLU
STOP LAMP CVR,CNTR HIGH MNT,GUNSMOK
STOP LAMP CVR,CNTR HIGH MNT,RED
STOP LAMP CVR,CNTR HIGH MNT,SILVER
STOP LAMP CVR,CNTR HIGH MNT,CHAMPGN
STOP LAMP CVR,CNTR HIGH MNT,YELLOW
STOP LAMP CVR,CNTR HIGH MNT,DRK BLK
STOP LAMP CVR,CNTR HIGH MNT,PEARL
STOP LAMP, CNTR HIGH MINT
WIRE HARNESS (REAR VIEW STATUS), E2
WIRE HARNESS, E2
WIRE HRNSS,FWD/REV SWTCH/REAR VW E4
WIRE HARNESS, (REAR VIEW STATUS) E4
STEERING STEM, COVER(LOWER)
STICKER, ASSORTED
STICKER, INSTRUCTION
STICKER (OUTSIDE)
DECAL,4-WHL BRAKE AND E-PARK SILVER
DECAL,4-WHL BRAKE AND E-PARK (WHT)
CRYSTAL STICKER,SS COUPE (SML WHT)
CRYSTAL STICKER,SS SALOON (SML WHT)
BODY, FRONT(PEARL WHITE)
BODY, FRONT(CHAMPAGNE
EQUALIZER, E2 & E4
SEAT BASE, E4 FRONT (GUNSMOKE GREY)
SEAT BASE, E4 FRONT (SILVER)
SEAT BASE, E4 FRONT (YELLOW)
SEAT BASE, E4 FRONT (DARK BLACK)
SEAT BASE, E4 FRONT(PEARL WHITE)
DECORATIVE RUBBER STRIP (1.5M)
DECORATIVE RUBBER STRIP ?1.37M?
REAR BODY (SILVER)
REAR BODY (DARK BLACK)
REAR BODY (PEARL WHITE)
KEY KIT

Parts Pricing Schedule

List Price
$5.60
$7.92
$9.52
$9.52

$11.12
$45.24
$10.56
$45.24
$28.28
$28.28
$28.28
$28.28
$28.28
$28.28
$28.28
$28.28
$28.28
$28.28
$172.04
$219.56
$242.84
$242.84
$77.56
$2.32
$1.00
$1.12
$1.00
$1.00
$11.24
$11.24
$286.36
$286.36
$25.28
$425.12
$425.12
$425.12
$425.12
$425.12
$4.80
$4.36
$718.56
$718.56
$718.56
$66.84

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG1017387
CvG1017388
CvG1017389
CVG1017390
CvG1017391
CVG1017392
CvG1017393
CVG1017394
CVvG1017395
CVG1017396
CvG1017397
CVG1017398
CvG1017399
CVG1017400
CvG1017401
CVG1017402
CvG1017403
CVG1017404
CVvG1017405
CVG1017406
CvG1017407
CVG1017408
CvG1017409
CVG1017410
CvG1017411
CVG1017412
CvG1017413
CVG1017414
CvG1017415
CVG1017416
CvG1017417
CVG1017418
CvG1017419
CVG1017420
CvG1018285
CVG1019010A
CvG10190108B
CvG1019010C
CvG1019010D
CVG1019010E
CVG1019010F
CvG1019010G
CVG1019010H
CvG1019010J

Page 28 of 194

Parts Pricing Schedule
Description
TRUNK (GUNSMOKE)
TRUNK (DARK BLACK)
TRUNK (PEARL WHITE)
TRUNK (SILVER)

WNDSHLD FRAME(BLK)(REAR VW STATUS)
CANOPY (DRK BLK) PAINT BOTH SIDES
CANOPY (PEARL WHT) PAINT BOTH SIDES
CANOPY (SILVER)

CANOPY (CHAMPAGNE)

CANOPY (BLUE)

CANOPY (YELLOW)

CANOPY (DARK BLACK)

TOMBERLIN SS HONEY W/ HONEY DIAMOND
SEAT (NEW BLK SEAT W BLK PIPING)
SEAT BELT (FRONT LEFT)

SCREW, SELF-TAPPING

DECAL, 4-WHEEL BRAKE DECAL

BOLT, HEX-HEAD
GB/T70.2-M5*16-A2-70

BOLT, HEX BIG FLAT-HEAD INSIDE
SCREW, PHILLIPS HEAD

GREASE JET (AMERICA STANDARD)

CAP, CONTROLLER COVER

WINDSHIELD (NO LOGO)

EMERGE FOLDING WINDSHIELD AS4 DOT
SPRING WASHER

FLAT WASHER

BOLT, FIXING SIDE MIRROR

SPRING, FIXING SIDE MIRROR

NUT, FIXING SIDE MIRROR

RUBBER CUSHION

ROBER COVER

FRONT RIGHT RECEIVER, E4

FRONT LEFT RECEIVER, E4

48V 20 AMP POWER REL

REARFLIP BLK/RED WVE / RED PIP & ST
REARFLIP BLK/LS WVE / LS PIP / SIL
REARFLIP BLK/LS WVE / ORG PIP & ST
REARFLIP BLK/GRN WVE / GRN PIP & ST
REARFLIP BLK/RKT WVE / RKT PIP /BLK
REARFLIP BLK/LS WVE / WHT PIP & ST
REARFLIP BLK/FS WVE / FS PIP & ST
REARFLIP BLK/BRZ WVE / BRZ PIP /SIL
REARFLIP BLK/YEL WVE / YEL PIP & ST

List Price
$152.96
$152.96
$152.96
$152.96

$82.16
$803.32
$803.32
$1,217.00
$1,217.00
$1,217.00
$1,217.00
$1,217.00
$1,192.00
$338.76
$51.72
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.20
$194.84
$571.20
$1.00
$1.00
$2.08
$1.00
$1.84
$1.00
$1.00
$9.68
$9.68
$54.00
$516.00
$516.00
$516.00
$516.00
$516.00
$516.00
$516.00
$516.00
$516.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVG1019017A
CVG1019018A
CVG1019019A
CVG1019022A
CVG1019023A
CVG1019025A
CVG103020 *

Opt: 0

Opt: 8

Opt: 1

Opt: 442

Opt: 1002

Opt: 218

Opt: 1101

Opt: 26
CVG103923 *

Opt: 20
CVG104517 *

Opt: 1

Opt: 47
CVG104518 *

Opt: 1

Opt: 1031

Opt: 47

Opt: 1101
CVG106336 *

Opt: 20
CvG106886
CvG10689
CVG106942 *

Opt: 8
CvG10780
CVG109796 *

Opt: 1

Opt: 8

Opt: 442

Opt: 390

Opt: 1316
CVG109800 *

Opt: 0

Opt: 1

Opt: 445

Opt: 1101

Opt: 1090

Page 29 of 194

Description

REARFLIP COA W/BUCK V TUK / COA PIP
REARFLIP SLT W/BUCK VEL TUCK / GRAY
REARFLIP COA W/SLATE VEL TUCK / BLK
CRFS. CUSHIONS. EMERGE. HONEY
CRFS CUSHIONS. EMERGE. SLATE. SS
CRFS COAL-CHARCOAL DIAMOND LE CUSH
SEAT, CUSHION BACK C6E

NO COVER

FLINT (GRAY)

BLACK (SEWN)

TAUPE (SAND)

GUNMETAL GRAY (SEWN)

PARCHMENT (SEWN)

COCONUT BARK VINYL

WHITE
SEAT BACK CUSHION (IS-11)

BLACK
BACK CUSHION (EX-21)

BLACK

SANDSTONE
SEAT, BOTTOM (EX/TE)

BLACK

COASTAL SAND

SANDSTONE

COCONUT BARK VINYL
KNEE PAD - CR-10

BLACK
SEAT, BOTTOM, FRONT - 535
FUSE ASSEMBLY
BACK CUSHION(JAG,RVR.)

BLACK VINYL
STORAGE COVER DARK SAND
BUCKET SEAT, NO ARMS,NO TRACK, LOGO

BLACK

FLINT (GRAY)

TAUPE (SAND)

DARK GREY FAUX LEATHER

BLACK SEA/ QUICKSILVER
L.H. ARMREST W/MOUNTING HRDWR.

UNUPHOLSTERED

BLACK VINYL

SLATE GRAY WEAVE

COCONUT BARK VINYL

MIDNIGHT SURF VINYL

Parts Pricing Schedule

List Price
$680.00
$680.00
$680.00
$760.00
$760.00
$676.00
$141.72

$0.00
$55.48
$62.48
$63.04
$86.88
$88.76
$103.36
$159.24
$71.72
$0.00
$80.00
$0.00
$27.08
$116.32
$0.00
$35.44
$36.96
$52.64
$51.24
$0.00
$175.60
$20.40
$101.64
$0.00
$151.92
$210.44
$0.00
$3.36
$9.48
$16.84
$102.04
$20.00
$0.00
$11.08
$24.32
$25.20
$29.96

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:
CVG109800RU *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CvG11118
CVG112110*

Opt:
CVG112110A *

Opt:
CvG1130
CvG114114
CvG11423
CvG11445
CvG1165
CvG11743
CvG11805
CvG11816
CvG12020
CvG12301
CVvG1306S
CvG1307
CvG1313B
CVvG1313S
CvG13412
CVvG1345
CVvG1349
CVG1358
CvG1360)

Page 30 of 194

1145
1312

1240
1285
1187
448

426

1101
1249
c™M

1278
1031
416

1090
1145
1060
1025

Description
SANDPOINTE VINYL
SAFFRON YELLOW
R.H. ARMREST W/MOUNTING HRDWR.
UNUPHOLSTERED
BLACK VINYL
BLACK SEA VINYL
QUICK SILVER
PACIFIC MIST VINYL
SANDSTONE WEAVE
SUNSET RED VINYL
COCONUT BARK VINYL
VALENTINE RED VINYL
CUSTOM MATERIAL
HAWAIIAN VINYL
COASTAL SAND VINYL
DEEP SUNTAN VINYL
MIDNIGHT SURF VINYL
SANDPOINTE VINYL
MOONMISTY VINYL
CARNIVAL VINYL
O-RING ELEC.DIFF.2IN
1110 EVC COMP,TRK,UL SUSP, NO ARMS
BLACK
1110 EVC COMP, TR, UL SUSP, ARMS
BLACK
48V SOLENOID 6 TERMINAL
CVG 907-NO ARMS, BLK,TRKS,LOGO
RUBBER ISOLATOR FOR
GROMMET 1.312 DIA.
24V 6P SOLENOID
MAGNET. 1/2" ODX14"T.G35.NEODYMIUN
SPRING. ACCL. 89 THRU PRESENT
PEDAL CLUSTER SPRING
SEAL - 16128 HUB
BODY FORM SEAL MIDDL
1755013 SBR MACH SILVER
MICRO SWITCH
CASINO BLK MACH TIRE & WHEEL ASSEMB
CASINO SLV MACH TIRE & WHEEL ASSEMB
UPPER WINDSHIELD CLIP(PAIR)
DRIVE BELT - CC '88
MOTOR DRIVE BELT (92
STARTER BELT(7/16"X30-5/8") 96-04
"TIRE & MACHINE BLACK MAG WHEEL..17

Parts Pricing Schedule

List Price
$29.96
$43.52
$20.00

$0.00
$11.08
$20.96
$22.40
$22.52
$22.52
$23.84
$25.20
$26.04
$26.80
$27.00
$27.20
$27.20
$29.96
$29.96
$33.04
$37.48
$1.00
$465.24
$0.00
$513.48
$0.00
$223.24
$224.28
$2.80
$1.00
$257.92
$2.88
$48.48
$16.64
$26.36
$3.16
$517.92
$15.80
$494.00
$494.00
$52.84
$52.00
$46.80
$54.00
$503.88

1/20/2019



EV Technical Services, LLC

[ = Parts Pricing Schedule
Part # Description List Price
CVG136CA "TIRE & CHROME W/RED MAG..175/50 R1 $707.84
CVG143993 * CUSHION, BOTTOM REAR FACING P4/Cé6 $139.84
Opt: 0 NO COVER $0.00
Opt: 1 BLACK VINYL (SEWN) $53.28
Opt: 8 FLINT (GRAY) $66.00
Opt: 442 TAUPE (SAND) $72.56
Opt: 218 PARCHMENT VINYL (SEWN) $74.76
Opt: 1002 GUNMETAL GRAY VINYL $83.40
Opt: 114 GRAY ASCOT $86.32
Opt: 1240 BLACK SEA $88.80
Opt: 1025 CARNIVAL RED VINYL $93.96
Opt: 390 DARK GREY FAUX LEATHER $95.40
Opt: 47 SANDSTONE (HUSKY) $96.04
Opt: 1101 COCONUT BARK VINYL $97.40
Opt: 416 DEEP SUNTAN $98.44
Opt: 26 WHITE $106.64
Opt: 1060 MOON MISTY VINYL $118.36
Opt: 1145 SANDPOINTE $119.76
Opt: 1031 COASTAL SAND $120.04
Opt: 1236 BLACK SEA / PACIFIC MIST $126.80
Opt: CcM CUSTOM FABRIC $128.80
Opt: 1176 CARNIVAL RED / PACIFIC MIST $131.96
Opt: 1237 BLACK SEA / /SANDPOINT $143.40
Opt: 1156 PACIFIC MIST / MIDNIGHT SURF $148.28
Opt: 1238 DEEP SUNTAN / BLACK SEA $154.44
Opt: 1180 MIDNIGHT SURF / PACIFIC MIST VINYL $157.76
Opt: 1028 COCONUT BARK / DEEP SUNTAN $172.96
Opt: 1141 COCONUT BARK / SANDPOINTE VINYL $172.96
Opt: 1045 MIDNIGHT SURF / MOON MISTY $173.28
Opt: 1150 SANDPOINTE / COASTAL SAND $174.36
CVG145693 * CUSHION, BOTTOM UTILITY $229.48
Opt: 8 FLINT GRAY $0.00
Opt: 218 PARCHMENT $9.04
Opt: 26 WHITE $38.48
Opt: 1002 GUNMETAL GRAY $56.04
Opt: 20 BLACK $57.00
CVG145694 * BACK CUSHION, UTILITY $223.08
Opt: 8 FLINT GRAY $0.00
Opt: 218 PARCHMENT $10.44
Opt: 20 BLACK $57.20
Opt: 1002 GUNMETAL GRAY $59.48
CVG149596 * SEAT, BUCKET, W/ SWITCH , NO ARM $295.72
Opt: 1 BLACK $0.00
Opt: 8 FLINT (GRAY) $24.12

Page 31 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt: 442
CVG149596A
CVG149596LA *

Opt: 20

Opt: 5

Opt:

Opt: 47

Opt: 398

Opt: 442

Opt: 26
CVG177295 *

Opt: 1

Opt: 8

Opt: 442
CVG177295A
CVG177295LANS *

Opt: 1

Opt: 8

Opt: 218

Opt: 1304

Opt: 442

Opt: 26

Opt: 1002

Opt: 1101

Opt: 1067
CVG177295RA *

Opt: 20

Opt: 8

Opt: 218

Opt: 47

Opt: 398

Opt: 426

Opt: 1304

Opt: 442

Opt: 26

Opt: 1002

Opt: 1101

Opt: 1067
CVG178987 *

Opt: 0

Opt: 8

Opt: 390

Opt: 1

Opt: 442

Page 32 of 194

Description
SAND (TAUPE)
CVG 907-18"-W/ARMS-SW, BLACK
SEAT, BUCKET, W/ SWITCH , W/ LH ARM
BLACK
CHARCOAL GRAY
FLINT (GRAY)
SANDSTONE (HUSKY)
ULTRA WHITE
TAUPE (SAND)
WHITE
SEAT, BUCKET, NO SWITCH, NO ARM
BLACK
FLINT (GRAY)
TAUPE (SAND)
CVG 907-18"- ARMS, BLACK
BUCKET SEAT W/L.ARM(NO SWITCH)
BLACK VINYL
FLINT (GRAY)
PARCHMENT VINYL
PEBBLE BEACH; WINDSONG
TAUPE (SAND)
WHITE
GUNMETAL GRAY VINYL
COCONUT BARK VINYL
SEA FROST
SEAT, BUCKET, W/O SWITCH, W/ RH ARM
BLACK

FLINT (GRAY)

PARCHMENT

SANDSTONE (HUSKY)
ULTRA WHITE

SUNSET RED / SUNSET RED
PEBBLE BEACH; WINDSONG
TAUPE (SAND)

WHITE

GUNMETAL GRAY
COCONUT BARK VINYL
SEA FROST

DELUXE BUCKET SEAT(NO ARMS)
UNUPHOLSTERED
FLINT (GRAY)
DARK GREY FAUX LEATHER
BLACK VINYL
TAUPE (SAND)

Parts Pricing Schedule

List Price
$102.64
$441.16
$337.24
$0.00
$2.92
$22.76
$50.72
$59.64
$101.28
$104.96
$211.32
$0.00
$24.08
$102.64
$284.40
$253.92
$0.00
$24.12
$41.40
$102.64
$102.64
$103.60
$109.28
$120.60
$122.16
$253.88
$0.00
$24.08
$41.40
$50.60
$59.60
$80.24
$102.60
$102.60
$103.56
$109.24
$120.60
$122.12
$252.28
$0.00
$177.84
$196.32
$202.04
$204.84

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
CVG178987LA *
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 33 of 194

1025
445
446
448
218
1101
1060

1139
1336

1107
1183
1225
1093
1116
1152

1240
358

390

1105
1206
1158
1047
1187
1168
1022
442

1171
1323
1280
1202
1176
1136
1149
1316
c™M

1025
1104
1210
1123
1120

Description

CARNIVAL RED VINYL
SLATE GRAY WEAVE
CLASSIC BLUE WEAVE
SANDSTONE WEAVE
PARCHMENT VINYL
COCONUT BARK VINYL
MOONMISTY VINYL

DELUXE BUCKET SEAT, DRIVER
UNUPHOLSTERED
BLACK / CARNIVAL RED
BLACK / HARBOR GREY
FLINT (GRAY)
BLACK / SUNSET RED
FLINT / BLACK VINYL
BLACK / VALENTINE
BLACK / DEEP SUNTAN VINYL
BLACK / FLINT
BLACK / PACIFIC MIST VINYL
BLACK VINYL
BLACK SEA
BLACK/YELLOW VINYL
DARK GREY FAUX LEATHER
BLACK / TAUPE
PACIFIC MIST / MOONMISTY VINYL
BLACK / SANDPOINTE VINYL
BLACK / MOONMISTY VINYL
PACIFIC MIST VINYL
BLACK / COCONUT BARK
FLINT / PACIFIC MIST
TAUPE (SAND)
BLACK / COASTAL SAND
GUN METAL GRAY / BLACK
BLACK SEA/OVERDRIVE CHARCOAL
PACIFIC MIST / BLACK
CARNIVAL / PACIFIC MIST
TAUPE / BLACK
PACIFIC MIST / CARNIVAL RED
BLACK SEA / QUICKSILVER
CUSTOM FABRIC
CARNIVAL RED VINYL
CARNIVAL RED / BLACK
SUNSET RED / PACIFIC MIST
CARNIVAL RED / FLINT
TAUPE / CARNIVAL RED

Parts Pricing Schedule

List Price
$214.68
$240.84
$240.84
$245.04
$262.04
$263.68
$274.16

$278.88
$0.00
$190.76
$192.40
$193.04
$197.00
$198.64
$202.28
$204.88
$205.00
$206.84
$209.12
$210.28
$211.40
$213.40
$214.44
$216.04
$221.76
$223.32
$224.44
$227.20
$227.24
$227.72
$228.44
$230.96
$232.72
$236.00
$237.12
$239.68
$241.20
$241.64
$242.80
$248.16
$250.60
$250.72
$252.40
$252.76

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 34 of 194

1156
1315
1313
4009
1186
1099
1129
1249
1080
1211
445

446

1024
1258
448

1065
1304
1203
1055
327

1135
1173
326

1151
1243
1237
1178
1175
329

1180
1205
1236
1141
1103
1207
1002
398

1154
1086
1098
322

1179
1159
1101

Parts Pricing Schedule

Description
PACIFIC MIST / MIDNIGHT SURF VINYL
CARBON FIBER BLACK
QUICK SILVER
YELLOW / ULTRA WHITE VINYL
YELLOW / SEA FROST GREEN
ISLANDER YELLOW / MIDNIGHT SURF
TAUPE / COCONUT BARK
VALENTINE RED VINYL
MOONMISTY / BLACK VINYL
COASTAL SAND / COCONUT BROWN
SLATE GRAY WEAVE
CLASSIC BLUE WEAVE
PACIFIC MIST / ULTRA WHITE
SUNSET RED / SANDPOINTE
SANDSTONE WEAVE
MOONMISTY / CARNIVAL RED VINYL
PEBBLE BEACH
BLACK / GUNMETAL GRAY
ULTRA WHITE / MIDNIGHT SURF VINYL
CARNIVAL RED / MOONMISTY VINYL
CARNIVAL RED / DEEP SUNTAN
CARNIVAL RED / SANDPOINTE VINYL
CARNIVAL / ULTRA WHITE
COCONUT BARK / COASTAL SAND
SUNSET RED / COASTAL SAND VINYL
BLACK SEA / SANDPOINTE VINYL
MIDNIGHT SURF / COASTAL SAND VINYL
GUN METAL GRAY / MOONMISTY VINYL
BLACK / ULTRA WHITE
MIDNIGHT SURF / PACIFIC MIST VINYL
SEA FROST GREEN / PACIFIC MIST
BLACK SEA / PACIFIC MIST VINYL
COCONUT BARK / SANDPOINTE VINYL
SEA FROST / TAUPE
SEAFROST GREEN / CARNIVAL RED
GUNMETAL GRAY
ULTA WHITE VINYL
COCONUT BARK/ CARNIVAL RED VINYL
SEA FROST / MOONMISTY
COCONUT BARK / TAUPE
SEA FROST GREEN / ULTRA WHITE VINYL
DEEP SUNTAN / SANDPOINTE VINYL
SEA FROST GREEN / SANDPOINTE VINYL
COCONUT BARK VINYL

List Price
$254.80
$255.60
$256.64
$256.72
$257.04
$257.08
$257.80
$259.40
$260.04
$260.72
$261.12
$261.12
$263.72
$264.52
$265.32
$265.44
$265.64
$267.12
$267.40
$268.88
$269.76
$269.76
$269.76
$271.36
$272.36
$273.80
$273.96
$274.08
$275.60
$277.52
$277.80
$278.72
$279.80
$280.08
$280.12
$280.36
$280.52
$280.80
$281.72
$282.36
$282.80
$283.44
$283.60
$284.84

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 35 of 194

1201
1283
1227
1248
1057
1192
426

1087
218

1028
1067
416

1031
1286
323

1051
1090
1124
319

1188
1059
1145
1160
1193
1177
1335
1150
1241
1185
1282
328

1060
1284
1223
1174
1085
1045
1130
1309
1056
1092
1048
1216
1170

Parts Pricing Schedule

Description
DEEP SUNTAN / SAND VINYL
PACIFIC MIST / BLACK SEA
DARK SUNTAN / VALENTINE
VALENTINE RED / DEEP SUNTAN VINYL
ULTRA WHITE / SUN SET RED
GRAY / MOON MISTY
SUNSET RED
MIDNIGHT SURF / YELLOW VINYL
PARCHMENT VINYL
COCONUT BARK / DEEP SUNTAN VINYL
SEA FROST GREEN VINYL
DEEP SUNTAN
COASTAL SAND VINYL
QUICK SILVER / CARBON FIBER BLACK
SEA FROST / DARK SUNTAN
MOONMISTY / MIDNIGHT SURF VINYL
MIDNIGHT SURF VINYL
SUNSET RED / DEEP SUNTAN VINYL
SUNSET RED / ULTRA WHITE VINYL
SANDPOINTE / COCONUT BARK VINYL
DEEP SUNTAN / COCONUT BARK VINYL
SANDPOINTE
SANDPOINTE VINYL
DEEP SUNTAN / COASTAL SAND VINYL
COASTAL SAND / SANDPOINT VINYL
HAWAIIAN / PACIFIC MIST
SANDPOINTE / COASTAL SAND VINYL
SANDPOINTE/COASTAL SAND VINYL
MIDNIGHT SURF / SANDPOINTE VINYL
SANDPOINT / ULTRA WHITE
MIDNIGHT SURF / ULTRA WHITE VINYL
MOONMISTY VINYL
GUNMETAL GRAY/CARNIVAL RED
VALENTINE / ULTRA WHITE
CARNIVAL / COASTAL SAND
SEA FROST / ISLANDER YELLOW
MIDNIGHT SURF / MOONMISTY VINYL
DEEP SUNTAN / BLACK VINYL
SAFFRON YELLOW / CARBON FIBER BLACK
ULTRA WHITE / CARNIVAL RED
COCONUT BARK / PARCHMENT
SEA FROST / COCONUT BARK
AQUA SPRAY
SEA FROST GREEN / COASTAL SAND

List Price
$285.32
$285.64
$286.68
$286.76
$287.28
$287.28
$289.28
$289.48
$290.12
$290.52
$292.68
$292.68
$292.88
$293.16
$294.08
$294.96
$295.48
$295.92
$295.92
$297.00
$298.44
$298.60
$298.60
$299.28
$299.32
$301.08
$301.92
$301.92
$302.12
$302.12
$302.12
$303.20
$307.96
$308.88
$316.92
$323.36
$325.12
$327.48
$331.44
$332.16
$334.76
$334.92
$335.68
$336.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
CVG178987RA *
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 36 of 194

1250
1218
1274
1041
1195
1049
1134
1321
1172
1213
1318
1208

1139
1336

1107
1183
1225
1093
1116
1152

1240
390

1105
1351
1206
1158
1047
1187
1168
1022
442

1298
1171
1323
1280
1316
1202
12901
1148
1176

Description
MIDNIGHT SURF/VALENTINE RED VINYL

SANDPOINTE / VALENTINE RED

MIDNIGHT SURF / QUICK SILVER

SUNSET RED / MOONMISTY VINYL

SUNSET RED / MIDNIGHT SURF VINYL

ULTRA WHITE / AQUA

DEEP SUNTAN / SUNSET RED VINYL

MIDNIGHT SURF / BAJA TAN

SANDPOINTE / DEEP SUNTAN

AQUA / PACIFIC MIST

BAJA TAN / MIDNIGHT SURF

AQUA SPRAY / COASTAL SAND
DELUXE BUCKET SEAT, PASSENGER

UNUPHOLSTERED

BLACK / CARNIVAL RED

BLACK / HARBOR GREY

FLINT (GRAY)

BLACK / SUNSET RED

FLINT / BLACK VINYL

BLACK / VALENTINE

BLACK / DEEP SUNTAN VINYL

BLACK / FLINT

BLACK / PACIFIC MIST VINYL

BLACK VINYL

BLACK SEA

DARK GREY FAUX LEATHER

BLACK / TAUPE

BLACK SEA / BAJA TAN

PACIFIC MIST / MOONMISTY VINYL

BLACK / SANDPOINTE VINYL

BLACK / MOONMISTY VINYL

PACIFIC MIST VINYL

BLACK / COCONUT BARK

FLINT / PACIFIC MIST

TAUPE (SAND)

CLASSIC BLACK / PEBBLE BEACH WIND.

BLACK / COASTAL SAND

GUN METAL GRAY/BLACK

BLACK SEA/ OVERDRIVE CHARCOAL
BLACK SEA / QUICK SILVER

PACIFIC MIST / BLACK

CLASSIC BLACK / HAWAIIAN RED
CARNIVAL / PACIFIC MIST
CARNIVAL / PACIFIC MIST

Parts Pricing Schedule

List Price
$336.60
$336.72
$336.80
$342.16
$343.04
$345.76
$346.44
$347.28
$348.00
$349.44
$360.24
$363.24

$278.64
$0.00
$191.00
$192.64
$193.28
$197.24
$198.44
$202.52
$205.12
$205.24
$207.08
$209.36
$210.52
$213.64
$214.68
$214.68
$216.28
$222.00
$223.56
$224.68
$227.44
$227.48
$227.96
$228.40
$228.68
$231.20
$232.96
$233.32
$236.24
$236.88
$237.36
$237.36

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 37 of 194

1136
1149
1292
1025
1104
1210
1123
1120
c™M

1156
1315
1313
4009
1186
1099
1129
1295
1249
1080
1211
445

446

1314
1297
1024
1258
448

1065
1304
1203
1055
327

1135
1173
326

1151
1243
1237
1178
1175
329

1296
1180
1205

Parts Pricing Schedule

Description
TAUPE / BLACK
PACIFIC MIST / CARNIVAL RED
QUICKSILVER / HAWAIIAN RED
CARNIVAL RED VINYL
CARNIVAL RED / BLACK
SUNSET RED / PACIFIC MIST
CARNIVAL RED / FLINT
TAUPE / CARNIVAL RED
CUSTOM FABRIC
PACIFIC MIST / MIDNIGHT SURF VINYL
CARBON FIBER BLACK
QUICK SILVER VINYL
YELLOW / ULTRA WHITE VINYL
YELLOW / SEA FROST GREEN
ISLANDER YELLOW / MIDNIGHT SURF
TAUPE / COCONUT BARK
CLASSIC BLACK / BAJATAN
VALENTINE RED VINYL
MOONMISTY / BLACK VINYL
COASTAL SAND / COCONUT BROWN
SLATE GRAY WEAVE
CLASSIC BLUE WEAVE
BLACK / OVERDRIVE CHARCOAL
CLASSIC C.F. BLACK / SAFFRON YELLOW
PACIFIC MIST / ULTRA WHITE
SUNSET RED / SANDPOINTE
SANDSTONE WEAVE
MOONMISTY / CARNIVAL RED VINYL
PEBBLE BEACH
BLACK / GUNMETAL GRAY
ULTRA WHITE / MIDNIGHT SURF VINYL
CARNIVAL RED / MOONMISTY VINYL
CARNIVAL RED / DEEP SUNTAN
CARNIVAL RED / SANDPOINTE VINYL
CARNIVAL / ULTRA WHITE
COCONUT BARK / COASTAL SAND
SUNSET RED / COASTAL SAND VINYL
BLACK SEA / SANDPOINTE VINYL
MIDNIGHT SURF / COASTAL SAND VINYL
GN GRAY /MOON MISTY
BLACK / ULTRA WHITE
CLASSIC BLACK / CAJUN SPICE
MIDNIGHT SURF / PACIFIC MIST VINYL
SEA FROST GREEN / PACIFIC MIST

List Price
$239.92
$240.40
$245.08
$248.40
$250.84
$250.96
$252.64
$253.00
$253.40
$255.04
$255.84
$256.88
$256.96
$257.28
$257.32
$258.04
$259.56
$259.64
$260.28
$260.96
$261.36
$261.36
$263.00
$263.88
$263.96
$264.76
$265.56
$265.68
$265.88
$267.36
$267.64
$269.12
$270.00
$270.00
$270.00
$271.60
$272.60
$274.04
$274.20
$274.32
$275.84
$277.00
$277.76
$278.04

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 38 of 194

1290
1287
1236
1141
1103
1207
1002
398

1154
1086
1098
322

1179
1159
1101
1201
1283
1227
1248
1057
1192
1354
426

1087
218

1028
1324
1311
1067
1335
1331
416

1031
1286
323

1289
1051
1090
1124
319

1188
1059
1145
1160

Parts Pricing Schedule

Description

CLASSIC BLACK / PEBBLE BEACH DARK
BLACK SEA / HAWAIIAN RED

BLACK SEA / PACIFIC MIST VINYL
COCONUT BARK / SANDPOINTE VINYL
SEA FROST / TAUPE

SEAFROST GREEN / CARNIVAL RED
GUNMETAL GRAY

ULTRA WHITE VINYL

COCONUT BARK / CARNIVAL RED VINYL
SEA FROST / MOONMISTY

COCONUT BARK / TAUPE

SEA FROST GREEN / ULTRA WHITE VINYL

DEEP SUNTAN / SANDPOINTE VINYL
SEA FROST GREEN / SANDPOINTE VINYL
COCONUT BARK VINYL

DARK SUNTAN / SAND VINYL

PACIFIC MIST / BLACK SEA VINYL
DARK SUNTAN / VALENTINE
VALENTINE RED/DEEP SUNTAN VINYL
ULTRA WHITE / SUNSET RED

GRAY / MOON MISTY

CLASSIC BLACK / CANCUN ORANGE
SUNSET RED

MIDNIGHT SURF / YELLOW VINYL
PARCHMENT VINYL

COCONUT BARK / DEEP SUNTAN VINYL
BLACK SEA / COCONUT BARK

BLACK SEA / MOON MISTY

SEA FROST GREEN VINYL

HAWAIIAN / PACIFIC MIST

BLACK SEA / SUNSET RED

DEEP SUNTAN

COASTAL SAND VINYL

QUICK SILVER / CLASSIC BLACK

SEA FROST / DARK SUNTAN
OVERDRIVE CHARCOAL/QUICK SILVER
MOONMISTY / MIDNIGHT SURF VINYL
MIDNIGHT SURF VINYL

SUNSET RED / DEEP SUNTAN VINYL
SUNSET RED / ULTRA WHITE VINYL
SANDPOINTE / COCONUT BARK VINYL
DEEP SUNTAN / COCONUT BARK VINYL
SANDPOINTE

SANDPOINTE VINYL

List Price
$278.04
$278.92
$278.96
$280.04
$280.32
$280.36
$280.60
$280.76
$281.04
$281.96
$282.60
$283.04
$283.68
$283.84
$285.08
$285.56
$285.88
$286.92
$287.00
$287.52
$287.52
$289.00
$289.52
$289.72
$290.36
$290.76
$291.64
$291.84
$292.48
$292.80
$292.84
$292.92
$293.12
$293.40
$294.32
$295.16
$295.20
$295.72
$296.16
$296.16
$297.24
$298.68
$298.84
$298.84

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG182666 *

Opt:
CVG182666LU
CvG182666U
CvG190402U
CvG190409U

Page 39 of 194

1193
1177
1150
1241
1185
1282
328

1060
1299
1284
1223
1174
1350
1085
1045
1130
1309
1056
1092
1048
1270
1216
1170
1250
1218
1274
1041
1195
1049
1134
1077
1321
1172
1084
1213
1358
1318
1208

1141

Description

DEEP SUNTAN / COASTAL SAND VINYL

COASTAL SAND / SANDPOINT VINYL

SANDPOINTE / COASTAL SAND VINYL

SANDPOINTE/COASTAL SAND VINYL

MIDNIGHT SURF / SANDPOINTE VINYL

SANDPOINTE / ULTRA WHITE

MIDNIGHT SURF / ULTRA WHITE VINYL

MOONMISTY VINYL

HAWAIIAN RED / ULTRA WHITE

GUN METAL GRAY / CARNIVAL RED

VALENTINE / ULTRA WHITE

CARNIVAL / COASTAL SAND

ST THOMAS DUSK / SUNSET RED

SEA FROST / ISLANDER YELLOW

MIDNIGHT SURF / MOONMISTY VINYL

DEEP SUNTAN / BLACK VINYL

SAFFRON YELLOW / CLASSIC BLACK

ULTRA WHITE / CARNIVAL RED

COCONUT BARK / PARCHMENT

SEA FROST / COCONUT BARK

SANDPOINTE/ HAWAIIAN

AQUA SPRAY

SEA FROST GREEN / COASTAL SAND

MIDNIGHT SURF/VALENTINE RED VINYL

SANDPOINTE / VALENTINE RED

MIDNIGHT SURF / QUICK SILVER

SUNSET RED / MOONMISTY VINYL

SUNSET RED / MIDNIGHT SURF VINYL

ULTRA WHITE / AQUA

DEEP SUNTAN / SUNSET RED VINYL

COASTAL SAND / SEA FROST

MIDNIGHT SURF / BAJA TAN

SANDPOINTE / DEEP SUNTAN

MIDNIGHT SURF / SUNSET RED

AQUA SPRAY / PACIFIC MIST

MOON MISTY / ULTRA WHITE

BAJA TAN / MIDNIGHT SURF

AQUA SPRAY / COASTAL SAND
BUCKET SEAT W/TRACK, RIGHT ARM

COCONUT BARK / SANDPOINTE

P&A,1110 EVC COMP, TRK-LH UNATTACHE

BUCKET SEAT W/TRACK & ARMS
F/R SWITCH-CR10, KIT
KNEEPAD KIT, BLACK, CR10

Parts Pricing Schedule

List Price
$299.52
$299.56
$302.16
$302.16
$302.36
$302.36
$302.36
$303.44
$306.56
$308.20
$309.12
$317.16
$317.24
$323.60
$325.36
$327.72
$331.68
$332.40
$335.00
$335.16
$335.84
$335.92
$336.24
$336.84
$336.96
$337.04
$342.40
$343.28
$346.00
$346.68
$346.72
$347.52
$348.24
$349.44
$349.68
$350.16
$360.48
$363.48

$922.40
$0.00
$213.20
$244.40
$438.62
$58.77

1/20/2019



EV Technical Services, LLC

= Parts Pricing Schedule
Part # Description

CVG190436U * EX21 TOOL EXPRESS CONV. KIT

Opt: 20 BLACK CUSHION (VAC)
CVG190451U STEERING WHEEL KIT, EX-21
CVG190467U FRONT BUMPER KIT, EX-21
CVG190468U PINTLE HITCH KIT W/RECVR.(EX-21)
CVG190469U TOW HITCH PLATE, NO BALL, EX-21
CVG190473U KIT,HEADLIGHT(EX-21,ACE +)
CVG190479U * 4-STEP LADDER KIT(IS-12)

Opt: 1 BLACK VINYL
CVG190480U * 6-STEP LADDER KIT(IS-12)

Opt: 1 BLACK VINYL
CVG190483U ENLARGED CARGO DECK(ISRT)
CVG190505U ASM,ISIRIT TRANSFER STAND
CVG190524U P&A KIT, ISRT STD FOLDING SIDES
CVG190526U HITCH KIT,(LESS BALL)IS,IR,IT
CVG190528U ISRT HEAD & TAIL LIGHT KIT
CVG190532U P&A KIT, ISRT BUMPER STRIP
CVG190533U CLIPBOARD HOLDER KIT, IS-11
CVG190535U IS-11 STROBE LIGHT KIT
CVG190536U LADDER MOUNTED STROBE LIGHT(ISIRIT)
CVG190611U P&AKIT, SEAT BELTS, 2-PT, PL
CVG190624U P&A KIT, GRP, BC HITCH MNTING PLATE
CVG190625U PINTLE HITCH, BURDEN CARRIER
CVG190636U KIT AMBER LIGHT,POLE MOUNTED(BC)
CVG190637U FLASHING STROBE LIGHT KIT(CAB)
CVG190690U SEAT BELT KIT, SMT. 2
CVG190709U KIT,FRONT WRAPAROUND BUMPER-P4,SM&U
CVG190715U KIT,UTIL.-L REAR WRAP BUMPER W/REC
CVG190716U REAR DURO BUMPER, KIT
CVG190722U SMT. SIDE VIEW MIRROR, PAIR
CVG190760U WINDSHIELD WIPER KIT(SUMMIT)
CVG190762U FAN DEFOGGER, CAB, SM/SUV
CVG190789U P&A, KIT, FRONT DURO BUMPER - STD
CVG190793U KIT,WINDSHIELD, ACRYLIC-78 DEGREES
CVG190794U WINDSHIELD, HARDCOAT, ONE PIECE
CVG190798U DELUXE HORN KIT
CVG190809U KIT,WINDSHIELD WIPER(SUNTOP)
CVG190863U KIT, RETRACTABLE, SEAT BELT - K1
CVG190911U KIT,FOLDING STEEL RAILS(SHORT,UTL.)
CVG190912U KIT,FOLDING STEEL RAILS(LONG,UTL.)
CVG190918U KIT, 78 DEGREE RAINDRAIN, UTILITIES
CVG190919U KIT, UTIL RAINDRAIN BRIGHT(BENCH)
CVG190920U SUNTORP KIT, UTIL. 78 DEG. 80" TOP
CVG190924U AMBULANCE SUNTOP KIT,115"

Page 40 of 194

List Price
$3,390.80
$0.00
$1,391.20
$140.14
$343.98
$61.40
$93.45
$1,072.28
$0.00
$1,350.32
$0.00
$725.80
$2,676.48
$307.16
$92.19
$274.50
$58.60
$25.68
$283.72
$230.56
$155.84
$120.96
$303.56
$307.10
$253.45
$147.48
$270.18
$203.56
$110.04
$69.52
$551.04
$320.56
$97.84
$363.36
$482.18
$156.68
$606.56
$276.57
$523.68
$687.65
$698.67
$666.52
$1,126.60
$1,793.28

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CvG190926U
CvG190928U
CvG190937U
CvG190940U
CvG190984U
CVG190998U *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CvG191018U
CvG191020U
CvG191022U
CVG191054U *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CvG191055U
CvG191072U

Page 41 of 194

NS

442
26
1025
218
1291
1273
1141
c™M

NS

1145

1270
442
26
218
390
1031
1180
1060
1130
326
c™M
1045
1177
E442
398

Description

P&A KIT, ROUND MIRROR (PAIR, BENCH)

FIVE PANEL MIRROR
SUNTOP MOUNT STROBE LIGHT
WINDSHIELD WIPER KIT
KIT,FRONT ACCESSORY RACK
REAR FACING SEAT KIT,C6
NO CUSHIONS
STANDARD CUSHIONS, NO COVERS
FLINT (GRAY)
BLACK VINYL (SEWN)
TAUPE (SAND)
WHITE
CARNIVAL RED VINYL
PARCHMENT VINYL (SEWN)
CLASSIC BLACK / HAWAIIAN RED
BLACK / QUICK SILVER
COCONUT BARK / SANDPOINTE
CUSTOM MATERIAL
SUNTOP, 80" LONG, C6 BIRCH WHITE
115" SUNTOP KIT, SHUTTLE
P&A KIT, WNDSHLD,FLDNG 40"ACRYLIC
KIT, P4, RFS, STD CUSHION
NO CUSHIONS
UNUPHOLSTERED STANDARD
BLACK (SEWN)
SANDPOINTE / SANDPOINTE
FLINT (GRAY)
SANDPOINTE / HAWAIIAN RED
TAUPE (SAND)
WHITE
PARCHMENT VINYL (SEWN)
DARK GREY FAUX LEATHER
COASTAL SAND
MIDNIGHT SURF / PACIFIC MIST
MOONMISTY VINYL
DEEP SUNTAN / BLACK
CARNIVAL / ULTRA WHITE
CUSTOM FABRIC
MIDNIGHT SURF / MOON MISTY
COASTAL SAND / SANDPOINTE
ELITE SAND VINYL
ULTRA WHITE VINYL
GOLF CAR RETRACT. SEATBELT KIT K1
KIT, P4 RAINDRAIN BLACK (BENCH)

Parts Pricing Schedule

List Price

$54.50
$64.65
$189.56
$513.68
$268.52
$1,769.28
$0.00
$250.48
$481.48
$482.28
$515.20
$523.56
$523.60
$540.24
$588.52
$652.88
$657.52
$720.32
$1,121.24
$1,940.68
$383.52
$1,723.60
$0.00
$250.48
$388.00
$480.24
$481.48
$492.08
$515.20
$523.56
$540.24
$562.96
$568.24
$589.84
$633.80
$659.04
$684.76
$721.84
$735.60
$738.32
$761.80
$829.32
$194.92
$618.56

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG191073U
CvG191077U
CvG191080U
CVG191084U
CvG191085U
CVG191086U
CvG191087U
CVG191123U
CvG191124U
CvG191171U
CvG191173U
CvG191174U
CvG191181U
CVG191190U
CvG191191U
CVG191275U
CvG191282U
CVG191286U
CvG191304U
CVG191305U
CvG191313U
CVG191314U
CvG191392U
CVG191397U
CvG191400U
CVG191404U

CVG191405U *

Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

CVG191406U *

Opt:
Opt:
Opt:

Page 42 of 194

NS

442
218
390
26
1180
1158
326
398
1206

1
8
442

Description

KIT, SUNTOP 63" P4 (WHITE)
KIT,P4 80" WHITE SUNTOP
KIT,WINDSHD,FOLDING-TINTED(78DEG)
HEEL GUARD KIT(P4)
KIT, REAR SCUFF GUARD
KIT, BAGWELL LINER
SUNTOP HANDLE (SET OF 2)
P&A, KIT P4 2-BAGRACK
P&A, KIT P4 2-BAGRACK W/ SWEATER
KIT, B.C HITCH, W/O BALL
OUTBACK BOX (STEEL) W/ SPRINGS
KIT, OUTBACK BOX (ALUM) W/SPRINGS
SPEEDOMETER KIT,(SUMMIT)
VINYL ENCLOSURE, SHUTTLE, 78 DEGREE
115" VINYL ENCLOSURE FOR C6 W/ RFS
WINDSHIELD WIPER KIT, BC
SMT.CAB MOUNTED STROBE
PAIR,SIDE MIRRORS,SMT SUV CAB
P&A HEADLIGHT KIT (SERVICABLE)
AMBER STROBE LIGHT KIT
RUNNING LIGHTS-ROUND TAILLIGHTS
KIT, DELUXE LIGHT(BASIC)
VINYL ENCLOSURE, EAGLE, 78 DEGREE
P&A KIT, SEAT BELTS, RFS
DC/DC CONVERTER KIT, NEV/SM/SUV
SPEED SWITCH KIT
CARGO RFS KIT(P4,5M2)

NO CUSHIONS

UNUPHOLSTERED

BLACK VINYL

FLINT (GRAY)

TAUPE (SAND)

PARCHMENT VINYL

DARK GREY FAUX LEATHER

WHITE

MIDNIGHT SURF / PACIFIC MIST

BLACK / SANDPOINTE

CARNIVAL/ ULTRA WHITE

ULTRA WHITE VINYL

PACIFIC MIST / MOONMISTY VINYL
CARGO RFS KIT(C6,SM4,510)

BLACK

FLINT (GRAY)

TAUPE (SAND)

Parts Pricing Schedule

List Price
$847.85
$1,364.45
$383.80
$19.96
$57.02
$67.14
$68.76
$196.36
$286.00
$200.68
$865.16
$1,203.96
$1,125.60
$2,696.00
$2,696.00
$585.10
$244.60
$128.30
$168.80
$138.27
$446.95
$791.60
$635.00
$190.22
$399.32
$540.68
$2,435.36
$0.00
$228.64
$381.72
$395.44
$414.68
$423.12
$460.40
$467.00
$545.84
$554.96
$612.00
$697.16
$968.64
$3,026.48
$0.00
$13.76
$33.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:

Opt:
CVG191422U
CvG191424U
CVG191427U
CvG191428U
CVG191439U
CvG191443U
CVG191448U
CvG191454U
CVG191467U
CvG191536U
CvG191542U
CvG191544U
CvG191548U
CvG191565U
CvG191623U
CvG191686U
CvG191692U
CvG191697U

CVG191698U *

Opt:

Opt:

Opt:
CvG191701U
CvG191702U
CvG191703U
CvG191704U
CvG191705U
CvG191727U
CVG191728U
CvG191741U
CvG191744U
CvG191786U
CvG191788U
CvG191803U
CvG191815U
CvG191817U
CvG191834U
CvG191836U
CvG191838U
CvG191843U
CvG191844U

Page 43 of 194

390
26
1145

202308
202505
201518

Description
DARK GREY FAUX LEATHER
WHITE
SANDPOINTE VINYL
BULKHEAD KIT, BC
SUMMIT LIFT KIT (2")
KIT, HDWR SUNTOP P4G,P4E
KIT,IMMOBILIZER
KIT, 9" A-ARM BOLT
KIT,UTIL 63" SUNTOP,BLACK (BKT)
KIT,AMBER STROBE LIGHT W/POLE(BKT)
TUBES&HRDWR. KIT, S.E.(BUCKETS)
KIT,AMBER STROBE POLE(EX-21)
KIT,FRONT LICENSE BRKT.
KIT, ALUM CAB FOR UTIL VEHICLE
P&A KIT WINDSHIELD WIPER UTILITY AL
KIT,HARNESS AND POWER KEYSWITCH
FRT LEAF SPRING STABILIZING KIT
MEGA HEATER KIT, P&A
MVP WINDSHIELD WIPER KIT
P&A, GROUP, MVP, HEATER 48V
P&A KIT, PINION BEARINGS & SEAL
P&AKIT,CRATED MVP CAB NO DR
POWDER COAT TEXTURED WHITE
POWDER COAT TEXTURED YELLOW
POWDER COAT TEXTURED ORANGE
KIT, 12.44 GEARSET, BEARINGS & SEAL
KIT, 14.76 GEARSET, BEARINGS & SEAL
KIT, 16.99 GEARSET, BEARINGS & SEAL
WHEEL SPACER, 1" THICK, 4-HOLE
TIRE/WHEEL ASSY, 4.8X8 LRC
DC/DC CONVERTER FOR BC 36/48V
P&A KIT, BC 12V OUTLET
P&A,, GRP, UTL SUNTOP HEATER, 48V
KIT, UTL CARGO EXPRESS - SHORT
KINGPIN KIT, BOLT THRU
FRONT WHEEL BRAKE KIT - 280/2
ROTOR ASSY, FRONT - 280
STEERING WHEEL ASSY, BC
KIT-STEERG WHL ASS'Y-96+
TAPESWITCH BRAKE KIT
BC TURN SIGNAL KIT
KIT, FOR/REV SWITCH
SPEED SWITCH ASSY
KIT, SPEED MODULE W/FUSE HOLDER

Parts Pricing Schedule

List Price
$78.68
$85.28

$114.12
$224.84
$690.15
$320.32
$570.60
$38.64
$848.34
$233.40
$869.64
$287.35
$8.88
$8,975.12
$489.16
$361.08
$14.63
$1,744.72
$461.64
$632.68
$67.00
$2,091.32
$0.00
$6.48
$13.12
$1,073.45
$1,519.51
$1,455.00
$301.32
$65.76
$678.54
$116.00
$965.90
$712.90
$79.92
$2,254.40
$613.68
$57.80
$78.82
$161.84
$211.24
$264.30
$663.56
$574.60

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG191849U
CvG191863U
CvG191868U
CVG191874U
CvG191878U
CVG191884U
CvG191885U
CVG191886U
CVG191909A
CVG191911U
CvG191930U
CVG191992U
CVG191995U
CVG192056U
CvG192068U
CVG192072U
CvG192111U
CVG192184U
CvG192188U
CVG192261U
CVvG192334U
CVG192379U
CvG192383U
CVG192384U
CvG192385U
CVG192402U
CvG192421U
CVG192448U
CvG192451U
CVG192452U
CvG192453U

CVG192454U *

Opt:
CvG192494U

CVG192521U *

Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 44 of 194

cw

NS

1291
1292
1296
1290
1273
1211

Description
SEATBELT, RETRACTABLE (SET, B.C.)
BC SIDE MIRROR KIT, SINGLE
KIT,BALL JOINT REPLCMT
KIT, 4" LIFT ELECTRIC
MID BODY BATTERY SHIELD KIT
MIRROR KIT,SINGLE, UTILITY
CR10 DRUM/HUB W/BEARINGS
HUB BEARING W/ CUP & SEAL
PEDAL GUARD, BC
FOOTREST ASSEMBLY (K1)
SUV 4-WHEEL BRAKE CONVERSION KIT
P&A KIT, GROUP, UTIL CAB HEATER 48V
KIT,SIDE VIEW,VEHICLE W/CAB ENCLO.
P&A KIT, LAD PUSH LINK
P&A KIT, BC/MEGA SIDE MIRRORS
DANA AXLE BRACE, UNIVERSAL, KIT
KIT, YOKE, STEERING SHAFT, END
P&A ASM, SUV- L VAN ENCLOSURE
HUB, FRT & LFT 4 HOLE-23-10 RE
TAIL LIGHT UPGRADE KIT, 1S12
EX21-T FORK KIT, NO SUSPENSION
HEATER/DEFROSTER KIT, SUMMIT
P&A KIT, BC-S STEEL FOLDING SIDES
P&A KIT, BC-L STEEL FOLDING SIDES
P&A KIT, BC-2ND STEEL FOLDING SIDES

P&A, GRP MAT LH BOGIE ASM, LOCKHEED
P&A,GRP, MAT BOGIE-RH ASM, LOCKHEED

P&A KIT,GRP PARK BRK, BC-L, NKL
GROUP, SUV-S DROPSIDES
GROUP, SUV-L RAILS
GROUP, SM4 RAILS
KIT, BC CAB DOORS, STEEL
BRIGHT WHITE
P&A, IS12 LAD CONSOLE MOUNT KIT
P&A KIT, PS5, REAR FACING SEAT
NO SEAT
UNUPHOLSTERED STANDARD
FLINT (GRAY)
CLASSIC BLACK / HAWAIIAN RED
QUICK SILVER / HAWAIIAN RED
CLASSIC BLACK / CAJUN SPICE
CLASSIC BLACK / PEBBLE BEACH DARK
BLACK/QUICK SILVER
COASTAL SAND / COCONUT BROWN

Parts Pricing Schedule

List Price
$314.40
$75.45
$78.12
$464.00
$33.46
$93.47
$256.64
$24.28
$53.88
$364.08
$1,399.56
$737.91
$75.36
$23.00
$109.12
$28.84
$34.65
$5,904.56
$103.04
$129.11
$301.41
$630.24
$615.88
$576.64
$539.68
$17,704.80
$19,421.56
$296.18
$1,117.12
$1,396.94
$1,254.48
$3,950.00
$0.00
$75.32
$1,980.80
$0.00
$177.00
$397.68
$464.28
$475.28
$535.20
$545.08
$546.64
$566.52

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Parts Pricing Schedule

Part # Description List Price

Opt: 1295 CLASSIC BLACK / BAJATAN $566.88
Opt: 1151 COCONUT BARK / COASTAL SAND $566.96
Opt: 1141 COCONUT BARK / SANDPOINTE VINYL $582.68
Opt: 1324 BLACK SEA / COCONUT BARK $587.88
Opt: C™m CUSTOM FABRIC $609.44
CVG192522U P&A, P5 SEATBELTS, BUCKET SEATS $261.40
CVvG192523U KIT, SEAT BELTS RFS, P5 $132.76
CVG192529U P&A, P5 FLDG CLR DOT ACRYL WNSHLD $701.56
CvG192530U P&A, P5 FIXED CLEAR POLY WNDSHLD $641.39
CVG192565U P&A KIT, P5, 5-PANEL MIRROR $46.31
CVvG192574U P&A KIT, ETEK CONTROLLER REPLACEMEN $2,496.80
CVG192575U P&A, GROUP, 12 EXT RAILS SUV-L $1,822.00
CVvG192578U P&A KIT, OVERHEAD RACK SUV-S,L, EXT $2,133.68
CVG192579U P & AKIT, BC REAR INNER FENDERS $68.00
CvG192581U P & AKIT, BC 63" SUNTOP, BRT WHT $1,116.12
CVG192582U P & AKIT, BC 63" SUNTOP, BLK WHT $1,056.52
CvG192583U P & AKIT, BC STEEL SUNTOP $1,057.92
CVG192584U P&A, KIT, OVERHEAD RACK, CAB - BC $2,085.44
CvG192585U P&A, KIT, OVERHEAD RACK/SUNTOP - BC $2,078.84
CVG192586U P&A KIT, GRP OVERHEAD RACK CAB-EU-L $1,308.88
CvG192600U KIT, EX21 POLE AMBER STROBE $238.52
CVG192632U P&A KIT, INNER FENDERS, 1512 $330.21
CvG192635U P&A, KIT, FRNT UTILITY BUMPER-P5 $296.51
CVG192636U P&A, LICENSE LIGHT RETROFIT $27.32
CVG192645U P&A, KIT, SEATBELT, 2-PT, P5 W/O $209.52
CVG192646U P&A KIT, HANDLE, GRAB, COMFORT GRIP $29.04
CvG192654U P&A, KIT LICENSE PLATE, RFS, P5 $54.12
CVG192655U P&A BUMPER STOP $237.04
CvG192656U P&A,PRGRAMMED 760571 CNTRLR $2,779.20
CVG192657U P&A KIT, TNTD, FIXED, WINDSHLD POLY $746.64
CvG192658U PA KIT, WINDSHLD WASHER SYSTEM, P5 $425.92
CVG192659U P&A,OPERATOR VENTILATION SHRT P5 $161.04
CvG192660U P&A,OPERATOR VENTILATION LNG- P5 $161.04
CvG192671U P&A, KIT, MVP ADDITIONAL XFER STAND $1,681.92
CvG192677U P&A KIT, SM4 DROPSIDE $1,852.88
CvG192682U P&A, GROUP MVP SIDE VIEW MIRROR $213.56
CvG192687U P&A KIT, P5 BAGRACK $269.92
CvG192689U P&A KIT, FLOOR MAT, P5 $48.92
CvG192698U P&A,KIT,HIGH OUTPUT CHRGR/BRKTS P5 $1,095.88
CvG192709U P&A KIT, BC BRAKE CONTROLLER S$474.24
CvG192712U P&A, HANDBRAKE INTERLOCK, BC $47.48
CvG192715U P&A KIT, BC-L VAN BODY $6,956.20
CvG192716U P&A KIT, BC-S VAN BODY $5,659.76
CvG192717U P&A, REAR RCVR HITCH BC $139.52
Page 45 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG192719U
CvG192730U
CvG192735U
CVG192736U
CvG192738U
CVG192740U
CvG192749U
CVG192750U
CvG192751U
CVG192752U
CvG192753U
CVG192755U
CvG192756U
CVG192757U
CvG192758U
CVG192760U
CvG192761U
CVG192762U
CvG192764U
CVG192766U
CvG192767U
CVG192768U
CvG192769U
CVG192770U
CvG192771U
CVG192774U
CvG192775U
CVG192776U
CvG192779U
CVG192791U
CvG192792U
CVG192796U
CVvG192798U
CVG192800U

CVG192802U *

Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 46 of 194

NS

1304
1298
1150
12901
1295
1296

Description
P&A, BC FRONT RCVR HITCH
P&A, GRP, 18" STEEL FLDNG SIDE BC-L
P&A, GRP, TRAILER BRK CONTROL, SU5

P&A,KIT,HIGH OUTPUT CHARGER & BRKTS

P&A,BC-2ND STL FOLDNG SIDE RAILS
P&A KIT, BC 5-PANEL MIRROR, TOP
P&A KIT, SMT FRNT BRK CONV - 5 LUG
P&A KIT, FRNT RECEIVER BMPER, SUS-L
P&A, BC OPERATOR TOP, BLK
P&A, BC-L FULL TOP, BLK
P&A, BC-L FULL TOP W/RACK, BLK
P&A KIT, BULKHEAD, BC-L DUMP BOX
P&A KIT, GRP SDRAILS 13"SU5L 2ND ST
P&A, KIT, WORK LIGHT, BC
P&A, BC TOP AMBER STROBE LITE
P&A, SIDE RAILS, 18" SU5-L,2ND SEAT
P&A, KIT, REAR BMPR W/RCVR SU5
P&A, BC-L, OPER TOP W/RACK BLK
P&A, GROUP, SIDE RAILS 13", SU5-L
P&A, KIT ROOF & SUPPORTS, SU5 CAB
P&A,KIT,WINDSHIELD AS1,SU5 CAB,BXD
P&A, KIT REAR PANEL, SU5 CAB
P&A, KIT, RH/LH DOOR SUS5 CAB
P&A, KIT SIDE MIRRORS, SU5 CAB
P&A, HOOD LOCKING LATCH
P&A KIT, GROUP, LADDER RACK, SU5
P&A, KIT FULL LENGTH TOP, SU5
P&A KIT, GROUP, WIPER / WASHER SU5
P&A KIT, GROUP, AMBER STROBE, SU5
P&A KIT, CARGO BED W/BULKHEAD
P&A KIT, GRP, SU5 LED BACK UP LIGHT
P&A, KIT P5, ADJ SIDE VW MIRRORS,
P&A KIT, SPLIT BENCH FRAME, P5
GROUP, FRONT RECEIVR BUMPER, SU5-S
P&A KIT, FLIP-UP RFS FRAME,P5

NO CUSHIONS

UNUPHOLSTERED - NO COVER

BLACK

PEBBLE BEACH/ PEBBLE BEACH

CARBON FIBER BLACK / PEBBLE BEACH

SANDPOINTE / COASTAL SAND

CARBON FIBER BLACK / HAWAIIAN

CARBON FIBER BLACK / BAJA

CARBON FIBER BLACK / CAJUN SPICE

Parts Pricing Schedule

List Price

$168.24
$898.04
$370.56
$1,091.44
$858.60
$57.48
$1,401.92
$520.84
$2,073.92
$2,573.88
$4,586.28
$258.40
$1,184.81
$143.92
$240.40
$1,339.92
$381.24
$3,099.92
$583.68
$2,253.74
$1,985.04
$1,148.12
$4,804.76
$445.14
$68.22
$2,055.16
$1,284.04
$516.47
$164.08
$2,822.00
$100.76
$128.82
$304.92
$502.08
$2,705.12
$0.00
$131.00
$326.72
$331.84
$422.88
$447.44
$455.80
$479.24
$479.24

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:

Opt:

Opt:
CvG192825U
CVG192827U
CvG192831U
CvG192832U
CvG192833U
CvG192838U
CvG192839U
CvVG192840U
CvG192841U
CvG192847U
CvG192853U
CvG192872U
CvG192873U
CvG192874U
CvG192884U
CvG192886U
CvG192888U
CvG192894U
CvG192895U
CvG192896U
CvG192899U
CvG192900U
CvG192902U
CvG192904U
CvG192905U
CvG192906U
CvG192908U
CvG192910U
CvG192911U
CvG192921U
CVG192922U
CvG192923U
CVvG192924U
CvG192940U
CvG192941U
CvG192942U
CvG192943U
CvG192968U
CvG192970U
CvG192979U

Page 47 of 194

1297
1292
1237
1024

Description
CARBON FIBER BLACK / SAFFRON YELLOW
CARBON FIBER QUICKSILVER / HAWAIIAN
BLACK SEA / SANDPOINTE
PACIFIC MIST / ULTRA WHITE
P&A KIT, RFS FOOTREST P5
P&A, KIT, BAG RACK, FLIP-UP RFS, P5
P&A, KIT P512 V POWER OUTLET
P&A KIT, SUNTOP, 2 PASS, BLACK
P&A KIT, SUNTOP, 4 PASS, BLACK
P&A KIT, SUNTOP, 2 PASS, WHITE
P&A KIT, SUNTOP, 4 PASS, WHITE
P&A KIT, SUNTOP, 2 PASS, BLACK
P&A KIT, SUNTOP, 4 PASS, BLACK
P&A, GROUP, HEATER / BLOWER P5
P&A, CHARGER BRKTS, PRO, P5
P&A KIT, SIDE RAILS, 13" SU5-S
P&A, SEAT BELTS, 3-PT SU5
P&A, SEAT BELTS, 2-PT, SU5
P&A, , BULKHEAD, SU5
P&A, SU5 BULKHEAD, FULL
P&A KIT,LADDER RACK,FULL LNGTH TOP
P&A, KIT, (2) GRAB HANDLES, SU5
P&A,KIT,ENCLSR, SFTSIDE,P4E,40"HRDT
P&A, KIT, SU5 4 GRAB HANDLES
P&A 2ND ROW, NO LOCKING, FLIP STBLT
P&A KIT, SEATBELTS, 2-PT,SNTOP,P5
P&A KIT, SEAT BLTS, 2ND SEAT, SU5
P&A KIT, DROP SIDES, SUS -S
P&A KIT, DROP SIDES,60" DECK -SU5-L
P&A KIT, GRP, 48" DECK, SU5-S
P&A KIT, DROP SIDES, 48" DECK SU5-S
P&A, KIT SUV HANDBRAKE INTERLOCK
P&A KIT, DROP SIDE, 72" DECK SU5-L
P&A KIT, BC2 NKL AXLE CONV, 10.37
P&A KIT, BC2 NKL AXLE CONV, 16.77
P&A KIT, BC3 NKL AXLE CONV, 16.77
P&A KIT,GROUP,EXT OVRHD RACK, SU5-L
P&A KIT, BOXED RFS, FTRST W/HNDRL
P&A KIT, MVP CAB DOORS, WHITE
P&A KIT, DC SPEEDOMETER, P5
P&A KIT, NKL SEAL INSTALLATION
P&A KIT, GROUP. VAN, SU5-S 48" DECK
P&A KIT, GROUP, VAN, SU5-L 72" DECK
P&A KIT, SUNTOP BRKTS, P5

Parts Pricing Schedule

List Price
$479.24
$480.60
$486.00
$518.88
$352.80
$178.92
$13.36
$1,045.22
$1,110.40
$324.28
$564.48
$295.68
$468.96
$2,519.15
$43.00
$527.04
$225.24
$167.68
$90.12
$266.36
$1,910.92
$43.56
$2,417.72
$58.64
$1,147.16
$211.96
$146.48
$788.40
$986.67
$1,237.56
$945.44
$75.60
$896.36
$2,758.92
$2,807.76
$4,401.44
$2,269.28
$539.84
$4,047.28
$1,019.32
$7.83
$4,638.64
$6,625.16
$101.12

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Parts Pricing Schedule

Part # Description List Price

CvG192980U P&A KIT, SUNTOP,2 PASS,RFS, P5-WHT $958.04
CvG192981U P&AKIT, SUNTOP, 2 PASS, RFS, P5-BLK $958.04
CvG192982U KIT, FRONT SPRING UPDATE $61.92
CVG192995U BRAKE CONTROL SYSTEM $243.86
CvG193006U P&A KIT, MASTER CYLINDER RETRO FIT $105.48
CvG193010U P&A KIT, P5 YOKE ASSY, BOLT+ WELD $40.48
CvG193011U P&A KIT, DROP SIDES, SU5-S $932.48
CVG193014U P&A KIT, STL GLOVE BOX P5 $85.50
CvG193028U P&A GRP,LDR RCK,60"DECK,SU5-L-2,CRT $1,817.40
CVG193046U P&A KIT, SU5 PRK BRKE RELEASE LEVER $59.31
CvG193048U P&A KIT, EX21 STEERING WHEEL PINION $70.96
CVG193049U P&A KIT, DROP SIDES, 48" DECK SU5-S $1,053.36
CVG193052U P&A KIT, DROPSIDE, 72" DECK SU5-L-2 $1,073.24
CvG193053U P&A, KIT, HARNESS, 12V ACC EX 21 $147.94
CVG193055U P&A KIT, BC PARK BRAKE PLATE $14.31
CVG193072U P&A, KIT, PARKING BRAKE, BCKING PLT $3.32
CvG193077U P&A KIT, DROPSIDES 60" DECK SU5-L-2 $1,088.04
CvG193080U P&A KIT, CARGO TOP, 60" DECK, SU5-L $1,367.64
CvG193086U P&A KIT, GRP ST BELTS, 3-PT, SU5-2 $199.92
CvG193091U BC FRNT BRAKE KIT PRIOR TO 6-1-2016 $2,220.36
CVvG193092U BC FRNT BRAKE KIT, AFTER 6-1-2016 $1,886.60
CvG193093U P&A KIT, SPACER, BRAKE DISC, PLTD $52.92
CvG193116U P&A KIT, GRP, FOOTREST CARGO RFS $423.92
CVG193117U P&A KIT, SU5-2 FOOTREST RFS $422.88
CvG193129U P&A KIT, WINDSHEILD SECURING $32.99
CVG193130U P&A KIT, BC4, MSTR CYLNDR, RR DISC $97.96
CvG193137U KIT, BC CAB LOCKING DOORS, STEEL $2,022.24
CVG193150U P&A KIT, 2" RECEIVER, SU5-2 $125.40
CvG193151U P&A KIT, GROUP, SU5 DOME LIGHT, CAB $116.76
CVG193159U P&A KIT, HEADLIGHT GLASS, SINGLE $65.84
CvG193160U P&A, KIT , REAR BUMPER, SU5-2 $214.34
CVG193170U P&A KIT,TRUNION SPACERS W/HDW,SET/4 $191.72
CvG193171U P&A KIT, WHEEL ASM, MAT $235.20
CvG193172U P&A KIT, BOLT ASM, WHEEL ACLE-539 $7.02
CvG193174U P&A KIT, WILWOOD1" MASTER CYLNDER $232.12
CvG193175U P&A KIT, MASTER CYLINDER, 3/4" $318.78
CvG193177U P&A KIT,WHEEL,STAR,MAG13X5(CAP&LGS) $240.84
CvG193179U P&A KIT,EXECTRIM,HEEL,BAGWELL&SCUFF $130.36
CvG193180U P&A KIT,HNG LIFT-OFF, ASM SMT CABDR $31.43
CvG193181U P&A KIT, STEERING SHAFT, 2001+ $143.40
CvG193182U P&A KIT,BC HEATER KIT, 48V $630.88
CvG193183U P&A KIT, 48V BCKUP LIGHT CONVR KIT $22.64
CvG193184U P&A KIT, EX21 BRK LIGHT SWITCH KIT $148.12
CvG193185U P&A KIT, MOTOR, TRACTION (XP) $1,143.01
Page 48 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG193186U
CvG193187U
CvG193189U
CVG193191U
CvG193192U
CVG193263U
CvG193270U
CVG193271U
CvG193272U
CVG193273U
CvG193274U

CVG193281U *

Opt:

Opt:
CvG193285U
CvG193301U
CVvG193302U
CvG193303U
CvG193311U
CvG193313U

CVG193316U *

Opt:

Opt:
CvG193320U
CVvG193324U
CvG193328U
CVvG193329U
CvG193330U
CvG193351U
CvG193352U
CVvG193356U
CvG193357U
CVvG193377U
CvG193379U
CvG193389U
CvG193412U
CvG193415U
CvG193416U
CvG193417U
CvG193418U
CvG193419U
CvG193420U
CvG193421U
CvG193431U

Page 49 of 194

Description

P&A KIT, ELECT. MOTOR, 48V SEP-EX
P&A KIT, MTR, 48V DIRECT DR W/TACH
P&A KIT, KEYSWITCH REPLACEMENT KIT
P&A, P5 SUNTOP 2 PASSENGERS
P&A, P5 SUNTOP, 4 PASSENGER
KIT, 2ND DC CONVERTER, MVP
P&A KIT, EU/C6 ADJ SDVW MRRRS, PAIR
P&A KIT, A2 FUSE
KIT EXEC. TRIM, HEEL,BAGWELL&SCUFF
P&A, P5 SUNTOP, 2 PASS
P&A, P5 SUNTOP, 4 PASS
P&A KIT, CARGO RFS, W/FOOTREST, SU5

BLACK

FLINT (GRAY)
P&A KIT,LIC PLT BKT/LIGHT,RFS,SU5-2
P&A KIT, MASTER CYLINDER, T-FITTING
P&A KIT, FLR SUPPORT, 2 PASSENGER
P&A KIT, FLR SUPPORT 4-PASSENGER
P&A,HRDWRKIT, P5 FLDING CLR WNDSHLD
SU5 G1, BRK PRSSR SWTCH RELOC KIT
P&A KIT, RFS W/ FOOTREST, SU5

BLACK

FLINT (GRAY)
P&A KIT, FRONT UTL BMPR, JOUNEYMAN
P&A, GROUP, DECK RAILS
P&A KIT, GRP 30" DECKW/SIDES JRNYMN
P&A KIT, CR10 CHARGER, CEC UPDATE
P&A KIT, RFS JOURNEYMAN
P&A KIT, BYPASS SWITCH UPGRADE
P&A KIT, PAYLOADER FIRE EXT, 2.5LBS
P&A, GRP, 4-BAR REAR SUSP. KIT
P&A KIT, 1IS12 FRONT FORK UPFT
P&A, CRATED ASM, MOBILE CART DOCK
P&A KIT, ISRT, HEAD & TAIL LIGHT
P&A KIT, CARGO RFS, EMERGE
P&A, GROUP, LIFT KIT, E-MERGE
P&A KIT, NKL AXLE TUBE SPRT, PL/SU
P&A KIT,GRP, WTHR ENCL, SMK, C6 LGG
P&A KIT, GRP, WTHR ENC, EU 2-PASS
P&A KIT,GRP, WTHR ENCL, BC 4-PASS
P&A KIT, GRP, WTHR ENCL, BC 6-PASS
P&A KIT, MOTOR SPRT, 5KW, ST, PL/SU
P&A KIT, HANDLEBAR EX21, W/PLUG
P&A, STEERING COLUMN SUPPORT

Parts Pricing Schedule

List Price
$996.76
$1,198.96
$42.14
$1,058.80
$1,304.76
$441.32
$83.08
$140.56
$130.36
$1,058.80
$1,304.76
$3,028.24
$0.00
$15.80
$61.48
$10.88
$153.64
$228.11
$53.52
$59.12
$2,151.80
$0.00
$15.84
$153.32
$378.12
$1,561.20
$1,072.40
$1,787.32
$23.84
$187.24
$809.97
$434.44
$2,257.48
$194.52
$575.06
$997.32
$84.30
$4,076.94
$1,989.21
$3,712.44
$4,203.30
$53.32
$164.64
$15.32

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG193437U
CvG193442U
CvG193447U
CVG194
CvG19728
CvG20170220
CvG2101
CVG215-50-13
CVG2156
CVG23698-82
CvG2441
CVG2468
CVG2469
CVG2475
CvG2641
CVG26827-90
CVG26844-98
CVG27288-96
CvG28769
CVG29118-96
CVG29126-96
CVvG29131-71
CvG3001000
CVG3001001
CvG3001003
CVG3001006
CvG3001007
CVG3001009
CvG3001012
CVvG3001014
CVG3001016
CVG3001018
CvG3001021
CVG3001024
CvG3001025
CVG3001026
CvG3001027
CVvG3001034
CvG3001035
CvG3001040
CvG3001041
CvG3001042
CvG3001043
CvG3001044

Page 50 of 194

Description
P&A KIT, MTR SPRT, SCHBMLR, ST, MVP
KIT, SHACKLE SPACER
P&A KIT, CARGO TOP BRKTS & HDW, PL
BULB
12X7 COMET WHEEL
TRANSAXLE WITH BRAKE ASSEMBLED
AIR FILTER CCCOE
SUMITOMO
WHEEL BOLT
SPACER
LICENSE PLATE BRACKE
REFLECTOR AMBER
REFLECTOR RED
BULB HEADLIGHT
SCREW. #10 X 1 PAN HEAD
CHOKE CABLE
GOV. SPRING 16 HP
CHOKE CABLE
TOP SHELF OVERHEAD STORAGE TRAY
WING NUT
O-RING AIR FILTER
OLD STYLE AIR FILTER
SEAL CONTACTOR. DC72V
INPUT CABLE
HIGH PERFORMANCE SWITCH. 72V
TOW SWITCH. 15A/250VAC
CHARGER PLUG
DEFROSTER. 72V600W
CONTROLLER. 72V 550A
FW/RW SWITCH
FLASHER. DC12V 130W
FLAT WASHER M10
FLAT WASHER M12
FLAT WASHER M5
FLAT WASHER M14
FLAT WASHER M12*M5%*1
FLAT WASHER M10
LOCK WASHER M12
LOCK WASHER M5
LOCK WASHER M14
HEX HEAD SCREW M10*40
HEX HEAD SCREW M8*30
HEX HEAD SCREW M10*85
HEX HEAD SCREW M8*40

Parts Pricing Schedule

List Price
$43.16
$68.04

$262.24
$1.56
$212.40
$2,400.00
$14.40
$307.20
$14.08
$10.04
$11.96
$5.76
$5.76
$11.80
$1.00
$63.16
$51.80
$73.28
$134.32
$13.60
$17.12
$35.84
$139.60
$611.88
$6.96
$3.56
$611.88
$611.88
$4,000.00
$611.88
$5.60
$1.04
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG3001046
CvG3001047
CvG3001048
CVG3001049
CVG3001050
CVG3001051
CvG3001052
CVG3001053
CVG3001054
CVG3001055
CVG3001056
CVG3001057
CVG3001058
CVG3001059
CVvG3001060
CVG3001061
CVG3001062
CVG3001063
CVG3001064
CVG3001066
CvG3001067
CVG3001068
CvG3001069
CVG3001070
CvG3001071
CVG3001072
CvG3001073
CVG3001074
CVvG3001075
CVG3001076
CvG3001077
CVG3001078
CvG3001079
CvG3001080
CvG3001081
CVG3001082
CvG3001083
CvG3001084
CvG3001085
CVG3001086
CvG3001087
CvG3001088
CvG3001089
CVvG3001090

Page 51 of 194

Description
HEX HEAD SCREW M10*25
HEX HEAD SCREW M10*90
HEX HEAD SCREW M8*20
HEX HEAD SCREW M6*60
HEX HEAD SCREW M8*35
HEX HEAD SCREW M12*100
HEX HEAD SCREW M8*16
HEX HEAD SCREW M8*20
HEX HEAD SCREW M10*25
HEX HEAD SCREW M6*20
HEX HEAD SCREW M6*25
HEX HEAD SCREW M10*45
HEX HEAD SCREW M10*150
HEX HEAD SCREW M12*155
HEX HEAD SCREW M10*65
HEX HEAD SCREW M10*80
SOCKET HEAD CAP SCREW M8%*50
HEX SOCKET HEAD CAP SCREW M6*60
PHILLIPS HEAD SCREW M6*16
PHILLIPS HEAD SCREW M8%*25
PHILLIPS HEAD SCREW M4*15
BOLT. PHILLIPS TRUSS-HEAD M5*8
BOLT. PHILLIPS TRUSS-HEAD M5*12
BOLT. PHILLIPS TRUSS-HEAD M6*15
BOLT. PHILLIPS TRUSS-HEAD M6*35
BOLT. PHILLIPS TRUSS-HEAD M5%*25
PHILLIPS HEAD SCREW M5%*35
SCREW OBLATE TRUSS-BIG HEAD M6*8
SCREW OBLATE TRUSS-HEAD M6*35
SCREW OBLATE TRUSS-HEAD M6*20
PHILLIPS HEAD SCREW M6*50
RUBBER BOLT M8%*25
RUBBER BOLT M6*25
HEX SOCKET BUTTON HEAD SCREWS M5*50
HEX FLANGE SCREWS M12*20%*1.25
HEX HEAD SCREW M10*30
HEX HEAD SCREW M8*25
HEX HEAD SCREW M10*75
HEX HEAD SCREW M10*60
SELF-TAPPING SCREW. PHILLIPS TRUSS-
SELF-TAPPING SCREW. PHILLIPS TRUSS-
HEX SOCKET BUTTON HEAD SCREWS M8*40
HEX SOCKET BUTTON HEAD SCREWS M5*20
HEX SOCKET BUTTON HEAD SCREWS M8%*20

Parts Pricing Schedule

List Price
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88

$1.00
$1.00
$1.00
$1.00
$1.00
$611.88
$2.00
$1.00
$1.00
$611.88
$2.68
$2.68
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$1.20
$1.20
$611.88
$1.00
$611.88

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG3001092
CvG3001093
CVG3001094
CVG3001095
CvG3001097
CVG3001098
CvG3001100
CvG3001101
CvG3001102
CVG3001103
CVG3001104
CVG3001105
CVG3001106
CVG3001107
CVvG3001108
CVG3001109
CvG3001110
CvG3001111
CvG3001112
CVG3001113
CvG3001114
CVG3001115
CVG3001116
CVvG3001117
CvG3001118
CVG3001120
CvG3001121
CVG3001122
CvG3001123
CVG3001127
CvG3001129
CVG3001134
CVG3001135
CVG3001136
CvG3001137
CVG3001138
CvG3001139
CVG3001140
CvG3001141
CVG3001142
CvG3001143
CvG3001144
CvG3001145
CvG3001147

Page 52 of 194

Description
U-BOLT. L=155MM. 85MM M10

HEX HEAD NUT M4
HEX HEAD NUT M8
HEX HEAD NUT M8
NYLON LOCK HEX NUTS M5
NYLON LOCK HEX NUTS M8
HEX HEAD NUT M8
NYLON LOCK HEX NUTS M6

NYLON LOCK HEX NUTS M16*1.5

NYLON LOCK HEX NUTS M8
THIN HEX NUT M16*1.5
THIN HEX NUT M20*1.5

CAP NUT M8

CAP NUT M10

HEX SLOTTED NUT M14*1.5
HEX SLOTTED NUT M24*1.5
NYLON LOCK HEX NUTS M10
NYLON LOCK HEX NUTS M10
NYLON LOCK HEX NUTS M12
THIN HEX NUT M8

CHROME LUG NUT M12%*1.25

HOLD DOWN. BATTERY #1
HOLD DOWN. BATTERY #2
COPPER CONNECTOR

CUP BRACKET

GREASE FITTING. M8*1
FRONT SEAT (DRIVER SIDE)

FRONT SEAT (PASSENGER SIDE)

LATCH

SHAFT SLEEVE M14*M10*54.5

TAPERED ROLLING BEARING
TORSION SPRING (RIGHT)
ACCELERATOR PEDAL
ACCELERATOR

BRAKE PEDAL ASSEMBLY
RUBBER SCREW M17.5*%23
POP RIVETS M5*15

BIG HEAD RIVET M5*16MM
POP RIVETS M5*20
COTTER PIN 2.5*16
COTTER PIN 3.2*32

AXIS PIN 8*30

AXIS PIN

HANDLE OF TURNING SEAT

Parts Pricing Schedule

List Price

$611.88
$611.88
$611.88
$1.00
$611.88
$1.00
$1.00
$1.00
$611.88
$611.88
$611.88
$611.88
$611.88
$1.00
$611.88
$611.88
$611.88
$1.00
$611.88
$1.00
$611.88
$611.88
$611.88
$611.88
$3.20
$1.00
$611.88
$611.88
$46.60
$611.88
$51.64
$3.24
$611.88
$226.84
$611.88
$1.00
$1.00
$611.88
$611.88
$1.00
$1.00
$611.88
$611.88
$611.88

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG3001148
CvG3001149
CvG3001151
CVG3001153
CVG3001154
CVG3001155
CVvG3001157
CVG3001158
CvG3001159
CVG3001160
CvG3001161
CVG3001162
CvG3001163
CVG3001166
CvG3001168
CVG3001169
CVvG3001170
CVG3001171
CvG3001173
CVG3001175
CvG3001179
CvG3001181
CVG3001182
CVG3001183
CVvG3001188
CVG3001190
CvG3001191
CVG3001192
CVG3001195
CVG3001196
CVG3001197
CVG3001198
CvG3001200
CVG3001202
CvG3001203
CVG3001207
CvG3001211
CVG3001213
CVG3001216
CVG3001218
CvG3001223
CvG3001229
CvG3001230
CvG3001231

Page 53 of 194

Description
OUTSIDE DOOR HANDLE
CENTER CAP
STEERING GEAR BOX ASSEMBLY
ACCELERATOR ROD
CLEVIS. ACCELERATOR ROD (LEFT)
CLEVIS. ACCELERATOR ROD (RIGHT)
JOINT ASSEMBLY. FRONT SWING ARM
REAR SHOCK ABSORBER ASSEMBLY
FRONT SHOCK ABSORBER ASSEMBLY
TURNING BEARING BUSHING M30*M18*19
REAR ARM SLEEVE
ALUMINUM ALLOY WHEEL 16"
E RING
HOSE CLAMP
VALVE STEM
FRONT VENT BOARD
HINGE
J-BOLT
SUN VISOR RIGHT
LEFT PILLAR
HANDLE. FRONT VENT
EMERGENCY SWITCH MOUNTING PLATE
CONTROL PANEL (DRIVER SIDE)
ACCELERATOR COVER
LICENSE PLATE
SOLAR BATTERY BRACKET
HANDLE. LOCATING BAR
L-BOARD
COMPOUND STEERING JOINT
SEAT HINGE. RIGHT
SEAT HINGE. LEFT
BACKREST HINGE. RIGHT
REAL AXLE ASSEMBLY
UPPER A-ARM
LOWER A-ARM
BRAKE HOSE ASSEMBLY L=400 CONNECTIN
FRONT STEEL BRAKE LINE 300MM
MASTER CYLINDER
V LOGO
SPRING
REAR REFLEX REFLECTOR
VENT COVER. SEAT
SIDE VIEW MIRROR LEFT (YELLOW)
SIDE VIEW MIRROR LEFT (ORANGE SINGE

Parts Pricing Schedule

List Price

$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$12.92
$151.12
$151.12
$611.88
$611.88
$209.40
$1.68
$2.48
$611.88
$611.88
$14.28
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$1,580.00
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$1.92
$37.12
$37.12

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVvG3001234
CVG3001235
CVG3001236
CVG3001248
CvG3001249
CVG3001252
CvG3001253
CVG3001254
CVG3001260
CVG3001261
CVG3001264
CVG3001270
CvG3001271
CVG3001280
CvG3001287
CVG3001288
CvG3001289
CVG3001290
CVvG3001293
CVG3001297
CVG3001299
CVG3001301
CVG3001303
CVG3001304
CVG3001306
CVG3001309
CVG3001310
CVG3001311
CVG3001312
CVG3001313
CVG3001316
CVG3001317
CvG3001318
CVG3001319
CVvG3001320
CVG3001321
CVG3001325
CVG3001326
CvG3001327
CVG3001328
CvG3001329
CVvG3001330
CvG3001331
CvG3001333

Page 54 of 194

Description
SIDE VIEW MIRROR RIGHT (YELLOW)

SIDE VIEW MIRROR RIGHT (ORANGE SING

SIDE VIEW MIRROR RIGHT (LOLLIPOP RE
BOTTOM PLATE OF FRONT SEAT
BATTERY TRAY

WIRE LOOM

OIL RESERVOIR PIPE

FLUID RESERVOIR

STEERING WHEEL ASSEMBLY
DEFROSTER VENT

PILLAR UPPER COVER ASSEMBLY
SWITCH ASSEMBLY COVER
WINDSHIELD DECORATIVE STRIP
RIGHT RUNNING BOARD

FRONT REFLECTOR. YELLOW

REAR REFLECTOR. RED

DECAL. FRONT SEAT

WARNING DECAL. MARINCO OUTLET
WARNING DECAL. ELECTRICAL DEVICES
CHROME TOMBERLIN DECAL

DECAL. STEERING WHEEL

DECAL. WHEELS

FRONT FLOOR MAT

REAR FLOOR MAT (DRIVER SIDE)
SEAT BELT. 3 POINT

LOUDHAILER

10A CONTROLLER FUSE

20A CONTROLLER FUSE

FUSE. ZEEMAN-400A DC48V

RELAY. 72V20A

ANTENNA. CD STEREO RECEIVER
LOCK ASSEMBLY. REAR FOLDING SEAT
DOOR LOCK (LEFT & RIGHT)

DOOR LOCK LATCH

OUTSIDE LOCK CORE

OUTSIDE LOCK CORE HOLDER
BATTERY CABLE

CHARGER CABLE

CHARGER CABLE

CONTROLLING CIRCUIT CABLE
ILLUMINATING CABLE

PRE-HIDDEN HARNESS IN CANOPY
KEY SWITCH ASSEMBLY. 10A/250V
HEADLIGHT (DRIVER SIDE). 12V55/60W

Parts Pricing Schedule

List Price

$37.12
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$9.76
$64.20
$2.08
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$3.20
$611.88
$611.88
$611.88
$611.88
$611.88
$611.88
$1.68
$1.68
$1.68
$4.76
$19.84
$611.88
$27.92
$11.60
$167.72
$167.72
$69.80
$97.72
$20.60
$37.00
$167.72
$57.44
$6.84
$111.68

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVvG3001334
CVG3001335
CVG3001336
CVG3001337
CVG3001338
CVG3001339
CvG3001340
CVG3001341
CvG3001342
CVG3001343
CVG3001344
CVG3001346
CvG3001347
CVG3001350
CVG3001352
CVG3001353
CVG3001363
CVG3001368
CVG3001375
CVG3001376
CVG3001377
CVG3001378
CvG3001381
CVG3001382
CVG3001383
CVG3001384
CVG3001385
CVG3001386
CVG3001391
CVG3001398
CvG3001403
CVG3002
CvG301150
CVG30210-77
CVG302680
CVG302841
CvG302842
CvG303044PL
CvG303047
CVG303059PL
CVvG303061
CvG303069
CvG303070
CvG303088

Page 55 of 194

Description
SOLAR BATTERY PANEL KIT
SOLAR BATTERY CABLE
SOLAR CHARGER KIT. 72V2A
CURRENT SENSOR KIT. DC12V600A
HIGH CENTER MOUNT STOP LAMP KIT. LE
LICENSE PLATE LIGHT KIT
HEATED SEAT SWITCH. LED 12V10A
STROBE LIGHT KIT. LTE-1195 12V35W
HAND BRAKE SWITCH KIT. 12V10A
HEADLIGHT (PASSENGER SIDE) 12V55/60
HARNESS IN PILLAR TUBE
TAILLIGHT KIT (PASSENGER SIDE). 12V
CONNECTING CABLE
MOTOR CABLE
REARVIEW MIRROR
HEX-HEAD NUT
SMALL DOOR SEAL. 20*20MM
BLACK SIDE MIRROR. RIGHT
ANTENNA LIGHT
SPINDLE (DRIVER SIDE)
SPINDLE (PASSENGER SIDE)
WHEEL HUB. FRONT
BRAKE DISC. FRONT
BRAKE CALIPER ASM. FRONT (DRIVER SI
BRAKE CALIPER ASM. FRONT (PASSENGER
BRAKE HOSE KIT
B PILLAR UPPER COVER. LEFT. VACUUM
SWITCH ASSEMBLY COVER
B PILLAR UPPER COVER. RIGHT. VACUUM
CABLE HARNESS. ANVIL
GEARS FOR ANVIL
FUEL FILTER
TRACK HANDLE ASSY-9"
FIELD COIL STARTER G
REAR FACING FOOTREST
HANDRAIL, RIGHT (UTILITY)
HANDRAIL, LEFT (UTILITY)
CVG LINK WLDMNT PLTD
PARKING BRAKE PEDAL WLDMNT
CVG KICKOFF SHAFT WLDMNT PLTD
*** HEAD PIPE WLDMT W/FLANGE
CVG HUB FRONT WHEEL WLDMNT
BRAKE PEDAL WELDMENT
KING PIN-WELDMENT

Parts Pricing Schedule

List Price
$87.24
$10.80

$502.52
$34.88
$167.72
$167.72
$14.84
$167.72
$19.84
$111.68
$167.72
$45.36
$2.00
$53.04
$167.72
$1.00
$7.60
$167.72
$167.72
$48.16
$48.16
$167.72
$89.00
$167.72
$59.32
$167.72
$167.72
$30.68
$167.72
$80.00
$167.72
$15.96
$16.44
$273.20
$163.88
$41.88
$43.28
$13.68
$11.20
$22.68
$45.12
$41.40
$58.16
$50.99

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVvG3031
CvG303114
CVG303246
CvG303319
CVG303393TB
CVG303672TB
CVG303673TB
CVvG303969
CVG303970
CvG303971
CVG303992
CvG304166
CVG304212 *

Opt: 0
Opt: 8
Opt: 1
Opt: 26
Opt: 20
Opt: 442
Opt: 1025
Opt: 218
Opt: 390
Opt: 329
Opt: 1031
Opt: 1002
Opt: 1145
Opt: 1101
Opt: 1238
Opt: 1057
Opt: 398
Opt: 1098
Opt: 1090
Opt: 1244
Opt: CcM
Opt: 1211
Opt: 1150
CVG304216 *
Opt: 0
Opt: 1
Opt: 8
Opt: 442
Opt: 1025
Opt: 218
Opt: 1002

Page 56 of 194

Description

STRAP 66 EL NIVEL
**BRAKE PEDAL, BRKT.
HINGE, UTILITY TAILGATE
KING PIN WLDT

HNDRAIL WLDMNT-EXTBED EX21,TXT BLK

SIDE RAIL WLDMNT, TXT BLK
END RAIL WELDMENT, TXT BLK
WELDMENT, SPROCKET UPPER
WELDMENT, SPROCKET LOWER
HUB, UPPER WELDMENT
9" TRACK/HANDLE ASSY.
BUMPER BRACKET WELDMENT
SEAT BOTTOM CUSHION, P4/C6
NO COVER
FLINT (GRAY)
BLACK VINYL (SEWN)
WHITE
BLACK VINYL (VAC FORM)
TAUPE (SAND)
CARNIVAL RED VINYL
PARCHMENT VINYL (SEWN)
DARK GREY FAUXLEATHER
BLACK / ULTRA WHITE
COASTAL SAND
GUNMETAL GRAY VINYL
SANDPOINTE VINYL
COCONUT BARK VINYL
DEEP SUNTAN / BLACK SEA
ULTRA WHITE / SUNSET RED
ULTRA WHITE VINYL
COCONUT BARK / TAUPE
MIDNIGHT SURF VINYL
SANDPOINT / CARNIVAL RED
CUSTOM FABRIC
COASTAL SAND / COCONUT

SANDPOINTE / COASTAL SAND VINYL

P&A BACK ASSY
NO COVER
BLACK VINYL (SEWN)
FLINT (GRAY)
TAUPE (SAND)
CARNIVAL RED VINYL
PARCHMENT VINYL (SEWN)
GUNMETAL GRAY VINYL

Parts Pricing Schedule

List Price

$32.40
$20.30
$51.10
$208.72
$46.84
$319.80
$280.32
$52.80
$227.70
$59.64
$16.88
$115.32
$161.68
$0.00
$130.20
$132.04
$141.36
$148.92
$151.28
$159.20
$170.08
$176.12
$189.24
$189.88
$195.24
$200.48
$202.96
$208.36
$209.16
$209.16
$209.36
$210.32
$211.40
$220.64
$225.56
$226.56
$44.40
$0.00
$49.88
$50.40
$56.72
$56.96
$59.84
$60.32

1/20/2019



EV Technical Services, LLC

[ = Parts Pricing Schedule
Part # Description

Opt: 20 BLACK VINYL (VAC FORM)
Opt: 1031 COASTAL SAND
Opt: 26 WHITE
Opt: 390 DARK GREY FAUX LEATHER
Opt: 47 SANDSTONE (HUSKY)
Opt: 1145 SANDPOINTE
Opt: 1236 BLACK SEA / PACIFIC MIST
Opt: 1180 MIDNIGHT SURF / PACIFIC MIST VINYL
Opt: 1060 MOON MISTY VINYL
Opt: 1090 MIDNIGHT SURF VINYL
Opt: 1101 COCONUT BARK VINYL
Opt: 1176 CARNIVAL RED / PACIFIC MIST
Opt: 329 BLACK / ULTRA WHITE
Opt: 114 GRAY ASCOT
Opt: 1240 BLACK SEA
Opt: 1270 SANDPOINTE / HAWAIIAN RED
Opt: 1296 CLASSIC BLACK / CAJUN SPICE
Opt: 1150 SANDPOINT / COASTAL SAND
Opt: 322 SEA FROST / ULTRA WHITE
Opt: 1141 COCONUT BARK / SANDPOINT VINYL
Opt: 1295 CLASSIC BLACK / BAJATAN
Opt: 1293 OVERDRIVE CHARCOAL/HAWAIIAN RED
Opt: 1280 BLACK SEA / CHARCOAL
Opt: 1316 BLACK SEA / QUICK SILVER
Opt: 1238 DEEP SUNTAN / SEA BLACK VINYL
Opt: 1299 HAWAIIAN RED / ULTRA WHITE
Opt: 1244 SANDPOINT / CARNIVAL RED
Opt: 1332 SEA FROST / GOLDEN DAWN
Opt: 1311 BLACK SEA/MOON MISTY
Opt: 1237 BLACK SEA / SANDPOINTE
Opt: 1331 BLACK SEA/SUNSET RED
Opt: 1156 PACIFIC MIST / MIDNIGHT SURF
Opt: 1274 MIDNIGHT SURF / QUICK SILVER
Opt: 1288 SUNSET RED / OVERDRIVE CHARCOAL
Opt: 1028 COCONUT BARK / DEEP SUNTAN
Opt: 1243 SUNSET RED / COASTAL SAND
Opt: 1057 ULTRA WHITE / SUNSET RED
Opt: 1159 SEA FROST / SANDPOINT
Opt: 1170 SEA FROST/COASTAL SAND
Opt: 1051 MOON MISTY/MIDNIGHT SURF
Opt: CcM CUSTOM FABRIC

CVG304217 * SEAT BACK, SHUTTLE FORESOME
Opt: 1031 COASTAL SAND

CVG304275 FRONT FRAME BACKREST

Page 57 of 194

List Price
$60.80
$63.92
$65.88
$68.16
$68.64
$73.72
$77.92
$79.72
$79.84
$80.68
$81.32
$82.16
$83.52
$84.64
$85.76
$85.96
$94.92
$99.24
$99.24

$106.84
$110.76
$113.96
$114.12
$114.12
$114.76
$117.36
$117.40
$117.40
$125.24
$126.12
$126.12
$126.84
$127.24
$127.24
$130.40
$130.60
$130.64
$130.64
$130.64
$130.68
$146.28
$206.24
$0.00
$88.16

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVvG304284
CVvG304285
CVvG304303
CvG304326
CVvG304450
CvG304466
CVG304516TB
CVG304521
CvG304581TB
CvG304602
CVvG304650TB
CVG304767TB
CvG304817
CvG305110TB
CVG305177TB
CVG305299 *

Opt: 1
Opt: 1187
Opt: 1081
Opt: 242
Opt: 8
Opt: 1002
Opt: 1158
Opt: 442
Opt: 218
Opt: 1152
Opt: 390
Opt: 358
Opt: 1098
Opt: 1335
Opt: 1180
Opt: 1031
Opt: 1141
Opt: CcM
Opt: 1150
Opt: 1092
Opt: 1101
Opt: 1090
Opt: 398
Opt: 1170
CVG30529913661358
CVG3053
CVvG305425
CVG305435

Page 58 of 194

Description

CPC X-BRACE WLDMNT 85003-93
CPC SI PANEL WLDMNT 85002-93
REAR SEATBACK WLDMT. C6
WLDMNT, TOW HITCH PLATE
WLDMT,SPROCKET,LOWER(ISIRIT)
WELDMENT, FRONT FORK (IS-11)
FRAME,BACK (EX-21)
WELDMENT,BRACKET
WLDMNT, TILLAR BAR
WLDMNT, FRONT FORK
EX-21 LGHT POLE WLDMNT, TXT BLK
ERV LIGHT POLE WLDMNT, TXT BLK
BAGHOLDER WELDMENT
LIGHT POLE- IS/IR/IT
UTILITY LIGHT POLE
SEAT COVER, BOLSTERED BOTTOM

BLACK

PACIFIC MIST VINYL

YELLOW / BLACK

YELLOW

FLINT (GRAY)

GUNMETAL GRAY

BLACK / SANDPOINT

TAUPE (SAND)

PARCHMENT

BLACK / PACIFIC MIST VINYL

DARK GREY FAUX LEATHER

BLACK / YELLOW

COCONUT BARK / TAUPE

HAWAIIAN RED / PACIFIC MIST

MIDNIGHT SURF / PACIFIC MIST

COASTAL SAND VINYL

COCONUT BROWN / SANDPOINTE VINYL

CUSTOM FABRIC

SANDPOINTE / COASTAL SAND

COCONUT BARK / PARCHMENT

COCONUT BARK VINYL

MIDNIGHT SURF VINYL

ULTRA WHITE / ULTRA WHITE

SEA FROST GREEN / COASTAL SAND

CC MDNITEBL/MOON MIST HORZ PLTS-S&F

H.D. PLASTIC BUCKLE FOR BAG STRAP
STEERING COLUMN WELDMENT
TOOL EXPRESS LOCKING BAR

Parts Pricing Schedule

List Price
$47.36
$77.44

$107.68
$34.80
$72.56
$144.04
$75.24
$85.25
$125.22
$224.34
$169.16
$93.08
$91.58
$110.12
$51.40
$77.96
$0.00
$5.48
$19.28
$24.64
$27.16
$35.28
$37.56
$40.16
$40.24
$43.32
$44.08
$44.56
$49.00
$54.04
$61.60
$74.12
$74.96
$75.96
$76.76
$87.84
$91.60
$95.08
$95.08
$97.72
$161.19
$12.60
$84.48
$34.80

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVvG305437
CVG305532
CVG305533
CVG3057
CVG305729
CVG305821TB
CVG306014
CVG306016WX
CVvG306017TB
CvG306018TB
CVG306096
CvG306105
CvG306107
CVG306117TB
CVG306125
CvG306164TB
CVvG306438
CvG306478
CVvG306489
CVG306597 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVvG306725
CVvG306921
CVG306922
CvG306941

Page 59 of 194

1187

242
442
1002
218
1101
1158
390
1152
358
1141
1170
1090
c™M
1180
1150
1081
1092

Description

CPC TOOL EXPRESS FRAME
PEDAL,ACCL./BRAKE(IS-11)
IS-11 ACCL. ACTUATOR
TAILLIGHT BULB 12 V
WELDMENT, ACCEL PEDAL
IS11 LIGHT POLE WLDMNT, TXT BLK
TREADLE SUPPORT ASSY
SPINDLE ASSY
TREADLE ASSY-2310
FORK ASSY, FRONT - 539
AXLE BEAM-280, 282
BRACKET ASSY, HAND BRAKE MOUNT
WASHER, ADJUSTOR, CHAIN TENSIO
STEERING COLUMN SUPPORT, ASSY
LEVER ASM-BRAKE PEDAL
STROBE LIGHT POLE(BC)
STEERING SPROCKET
SEATBELT BRKT.
UTILITY HANDRAIL
SEAT COVER, BOLSTERED BACK
PACIFIC MIST VINYL
BLACK
FLINT (GRAY)
YELLOW
TAUPE (SAND)
GUNMETAL GRAY
PARCHMENT
COCONUT BARK VINYL
BLACK / SANDPOINT
DARK GREY FAUX LEATHER
BLACK / PACIFIC MIST VINYL
BLACK / YELLOW
COCONUT BROWN / SANDPOINT VINYL
SEA FROST GREEN / COASTAL SAND
MIDNIGHT SURF VINYL
CUSTOM FABRIC
MIDNIGHT SURF / PACIFIC MIST
SANDPOINTE / COASTAL SAND VINYL
YELLOW / BLACK
COCONUT BARK / PARCHMENT
CVG WELDMNT PEDAL MOUNT
FRNT. RECEIVER HITCH
CVG BALLMOUNT 2" RECEIVER
BASE, BRAKE/ACCL. (1S12)

Parts Pricing Schedule

List Price

$215.16
$93.36
$143.96
$2.80
$38.89
$44.16
$28.98
$86.84
$84.12
$157.68
$169.40
$16.78
$13.70
$29.56
$95.28
$103.20
$166.80
$25.79
$40.92
$36.52
$0.00
$1.84
$5.64
$8.88
$9.56
$9.60
$11.00
$19.92
$20.48
$21.24
$27.44
$27.72
$32.44
$33.28
$36.72
$43.44
$45.44
$48.96
$63.56
$77.68
$56.40
$81.44
$50.04
$196.75

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVG306943TB

CvG306944
CVG306945
CVG306967
CvG307003
CVG307022
CvG307092
CvG307119
CVG307154
CVG307155
CvG307172
CVG307210
CVvG307212
CVG307215
CvG307239
CVG307263

CVvG307288TB
CVG307292TB

CVG307313 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVvG307357

CVG307388TB
CvG307389TB
CVG307419TB

CVvG307438
CvG307449
CVG307450
CvG307451
CVG307452
CvG307462

CVG307463TB

CvG307471
CVG307500

CvG307501TB

CVG307502
CvG307526

Page 60 of 194

26
20
442
218
1249
1002
1090
1150

Description

SEAT BACK WLDMT.(ROVER, IS-12)
PEDAL,BRAKE/ACCL. (1512)
BELL CRANK WELDMENT
STEERING MOUNT WELDMENT
BATTERY TRAY
HITCH-BALL TRAILER WELDMENT
MOUNTING BRKT.(ROPE REEL)
WLDMT, WINDSHIELD WIPER BAR
FRONT LIFT BLOCK (SCOUT)
SHOCK MOUNT WLDMT.(SCOUT)
BRACKET, BRAKE
PEDAL, BRAKE
WELDMENT, BRAKE ARM
WELDMENT, ARM, ACCELERATOR
BC FORD AXLE WLDMNT
MOTOR MOUNT PLATE(B.C.-M18)
COLUMN STEERING EX 21, TXT BLK
WELDM'T STRG COL GUARD-EX21/TE31
SEAT BOTTOM COVER-EAGLE

BLACK (SEWN)

WHITE

BLACK (VAC)

TAUPE (SAND)

PARCHMENT (SEWN)

VALENTINE RED

GUNMETAL GRAY SEWN

MIDNIGHT SURF VINYL

SANDPOINTE / COASTAL SAND VINYL
CVG HEADER S10
WLDMT.,FRONT BRKT,HEADLIGHT/STROBE
RAIL/A, FRONT
BC HITCH PLT, TXT BLK
WLDMT.,COVER BRKT. LIGHT
RH FOLDING SIDE(BC)
LH FOLDING SIDE(BC)
MNTNG. PLATE FOR STEEL SIDES(B.C.)
TAILGATE(B.C.) FOLDING SIDES
BATTERY TRAY B.C.(WIDE)
BATTERY DOOR,B.C.(WIDE)
CHARGER BRKT. DELTA Q, IS-11,EX-21
BATTERY TRAY,EX-21 24V
WELDMENT, CONSOLE
HEAVY DUTY REAR BUMPER(P4)
STIFFENER- SEAT BASE

Parts Pricing Schedule

List Price
$142.70
$81.06
$37.08
$27.76
$68.04
$59.30
$67.56
$82.12
$80.60
$21.77
$20.12
$37.30
$72.32
$56.45
$1,420.28
$89.96
$152.55
$183.24
$80.12
$0.00
$9.32
$16.88
$19.24
$38.04
$45.60
$63.24
$78.32
$94.52
$144.23
$84.20
$85.80
$93.24
$27.68
$138.80
$138.80
$20.92
$115.84
$313.11
$82.00
$45.96
$104.96
$101.80
$175.20
$47.12

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVvG307527
CVvG307528
CVvG307529
CVvG307536
CVG307539EP
CVG307540EP
CVG307585
CVvG307586
CVG307587WX
CVG307588WX
CVG307590
CVG307593 *

Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
CVG307597 *
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 61 of 194

1240
390
1315
1187
426
445
446
448
1101
1002
398
c™M
442
1031
1067
416
1090
1145
218
1060
1025

442
390
218
445
446

Description

SEAT BASE WLDMT.(BUCKET)
R.H. SEAT WLDMT.(BUCKET)
L.H. SEAT WLDMT.(BUCKET)
FRONT LIFT WLDMT. (SUMMIT)

CVG WLDMNT SEBLT MT LH S2 E&
CVG WLDMNT SEBLT MT RH-S2 E&

AXLE SUPPORT WLDMT. EX-21
FRONT AXLE(EX-21, 4-WHEEL)
L.H. SPINDLE (4-WH, EX-21)
RH STEER SPINDLE(EX-21 4-WH)
FRONT FORK, 4-WHEEL EX-21
ARM COVER (BUCKET SEAT)

BLACK VINYL

FLINT (GRAY)

BLACK SEA VINYL

DARK GREY FAUX LEATHER

CLASSIC C.F. BLACK

PACIFIC MIST

SUNSET RED VINYL

SLATE GRAY WEAVE

CLASSIC BLUE WEAVE

SANDSTONE WEAVE

COCONUT BARK VINYL

GUNMETAL GRAY

ULTRA WHITE VINYL

CUSTOM MATERIAL

TAUPE (SAND)

COASTAL SAND VINYL

SEA FROST GREEN VINYL

DEEP SUNTAN VINYL

MIDNIGHT SURF VINYL

SANDPOINTE VINYL

PARCHMENT VINYL

MOONMISTY VINYL

CARNIVAL RED VINYL
SEAT BACK CUSHION (SUMMIT)

UNUPHOLSTERED

BLACK VINYL

FLINT (GRAY)

TAUPE (SAND)

DARK GREY FAUX LEATHER

PARCHMENT VINYL

SLATE GRAY WEAVE CLOTH

CLASSIC BLUE WEAVE CLOTH

Parts Pricing Schedule

List Price

$64.80
$34.44
$34.64
$18.15
$43.40
$43.40
$75.92
$140.56
$102.83
$64.75
$74.16
$9.16
$0.00
$8.12
$9.88
$10.00
$10.28
$11.44
$12.76
$13.20
$13.20
$13.20
$14.12
$15.08
$15.56
$15.72
$15.80
$16.08
$16.08
$16.08
$18.88
$18.88
$21.04
$21.96
$26.40
$82.16
$0.00
$50.76
$52.40
$55.72
$56.72
$62.44
$63.60
$63.60

1/20/2019



EV Technical Services, LLC

[ = Parts Pricing Schedule
Part # Description List Price
Opt: 448 SANDSTONE WEAVE CLOTH $63.60
Opt: CM CUSTOM FABRIC $68.12
Opt: 1101 COCONUT BARK VINYL $68.84
Opt: 1145 SANDPOINTE VINYL $69.76
Opt: 1098 COCONUT BARK / TAUPE $96.60
Opt: 1099 YELLOW / MIDNIGHT SURF VINYL $142.52
CVG307598 * SEAT BOTTOM CUSHION(SUMMIT) $233.48
Opt: 0 UNUPHOLSTERED $0.00
Opt: 1 BLACK VINYL $115.16
Opt: 8 FLINT (GRAY) $122.60
Opt: 442 TAUPE (SAND) $137.48
Opt: 390 DARK GREY FAUX LEATHER $141.96
Opt: CcM CUSTOM FABRIC $154.00
Opt: 218 PARCHMENT VINYL $167.52
Opt: 445 SLATE GRAY WEAVE CLOTH $172.68
Opt: 446 CLASSIC BLUE WEAVE CLOTH $172.68
Opt: 448 SANDSTONE WEAVE CLOTH $172.68
Opt: 1101 COCONUT BARK VINYL $196.28
Opt: 1145 SANDPOINTE VINYL $200.24
Opt: 1098 COCONUT BARK / TAUPE $209.24
CVG307602 BATTERY TRAY (48V,EX-21) $170.08
CVG307603 * FRONT BUCKET SEAT COVER(BACK) $76.04
Opt: 8 FLINT (GRAY) $0.00
Opt: 1 BLACK VINYL $9.00
Opt: 390 DARK GREY FAUX LEATHER $10.12
Opt: 1093 BLACK / DEEP SUNTAN VINYL $11.36
Opt: 442 TAUPE (SAND) $12.96
Opt: 1187 PACIFIC MIST $13.52
Opt: 1176 CARNIVAL RED / PACIFIC MIST VINYL $16.96
Opt: 1025 CARNIVAL RED VINYL $17.00
Opt: 445 SLATE GRAY WEAVE $31.88
Opt: 446 CLASSIC BLUE WEAVE $31.88
Opt: 448 SANDSTONE WEAVE $31.88
Opt: 1210 SUNSET RED / PACIFIC MIST $36.96
Opt: 1002 GUNMETAL GRAY VINYL $37.60
Opt: 218 PARCHMENT $39.60
Opt: 1141 COCONUT BARK / SANDPOINTE VINYL $40.52
Opt: 1236 BLACK SEA / PACIFIC MIST VINYL $41.20
Opt: 398 ULTRA WHITE VINYL $42.08
Opt: 1258 SUNSET RED / SANDPOINTE $43.16
Opt: 322 SEA FROST / ULTRA WHITE $45.68
Opt: 1090 MIDNIGHT SURF VINYL $46.72
Opt: 416 DEEP SUNTAN VINYL $46.72
Opt: 1180 MIDNIGHT SURF /PACIFIC MIST VINYL $46.76
Page 62 of 194 1/20/2019



EV Technical Services, LLC

[ = Parts Pricing Schedule
Part # Description
Opt: 1031 COASTAL SAND VINYL
Opt: 1302 MOONMISTY / BLACK SEA
Opt: 1188 SANDPOINTE / COCONUT BARK VINYL
Opt: 1331 BLACK SEA / SUNSET RED
Opt: 1060 MOONMISTY VINYL
Opt: 1101 COCONUT BARK VINYL
Opt: 1098 COCONUT BARK / TAUPE
Opt: 1028 COCONUT BARK / DEEP SUNTAN VINYL
Opt: 1150 SANDPOINTE/COASTAL SAND
Opt: 1185 MIDNIGHT SURF / SANDPOINTE
Opt: 1310 PACIFIC MIST / CLASSIC BLACK
Opt: 1045 MIDNIGHT SURF / MOONMISTY VINYL
Opt: 1170 SEA FROST GREEN/ COASTAL SAND
Opt: CcM CUSTOM FABRIC
CVG307604 * FRONT BUCKETSEAT COVER(BOTTOM)
Opt: 8 FLINT (GRAY)
Opt: 390 DARK GREY FAUX LEATHER
Opt: 1093 BLACK/ DEEP SUNTAN VINYL
Opt: 1176 CARNIVAL RED / PACIFIC MIST VINYL
Opt: 358 BLACK / YELLOW VINYL
Opt: 442 TAUPE (SAND)
Opt: 1187 PACIFIC MIST
Opt: 1 BLACK VINYL
Opt: 1210 SUNSET RED / PACIFIC MIST
Opt: 1158 BLACK / SANDPOINTE VINYL
Opt: 1025 CARNIVAL RED VINYL
Opt: 1258 SUNSET RED / SANDPOINTE
Opt: 1180 MIDNIGHT SURF / PACIFIC MIST VINYL
Opt: 1151 COCONUT BARK / COASTAL SAND VINYL
Opt: CcM CUSTOM FABRIC
Opt: 445 SLATE GRAY WEAVE
Opt: 446 CLASSIC BLUE WEAVE
Opt: 1229 DARK SUNTAN / SAND VINYL
Opt: 448 SANDSTONE WEAVE
Opt: 1024 PACIFIC MIST / ULTRA WHITE
Opt: 322 SEA FROST / ULTRA WHITE
Opt: 1101 COCONUT BARK VINYL
Opt: 398 ULTRA WHITE VINYL
Opt: 1141 COCONUT BARK / SANDPOINTE VINYL
Opt: 1150 SANDPOINTE/COASTAL VINYL
Opt: 1193 DEEP SUNTAN COASTAL SAND
Opt: 1236 BLACK SEA/PACIFIC MIST VINYL
Opt: 1283 PACIFIC MIST / BLACK SEA
Opt: 1031 TAN VINYL

Page 63 of 194

List Price
$46.92
$47.08
$47.36
$47.36
$48.08
$48.08
$50.64
$53.60
$56.96
$57.16
$57.36
$67.32
$78.12
$83.00
$81.68

$0.00

$8.36

$8.64

$8.88
$12.20
$14.04
$14.56
$15.20
$16.08
$18.00
$19.80
$23.68
$26.92
$27.32
$27.92
$31.08
$31.08
$33.44
$35.32
$35.84
$36.12
$37.72
$37.96
$40.24
$41.16
$41.32
$42.72
$44.20
$44.96

1/20/2019



EV Technical Services, LLC

[ = Parts Pricing Schedule
Part # Description List Price
Opt: 1090 MIDNIGHT SURF VINYL $44.96
Opt: 416 DEEP SUNTAN VINYL $44.96
Opt: 1310 PACIFIC MIST / CLASSIC BLACK $46.44
Opt: 1145 SANDPOINTE $48.04
Opt: 1060 MOONMISTY VINYL $48.24
Opt: 1331 BLACK SEA / SUNSET RED $50.44
Opt: 1045 MIDNIGHT SURF / MOONMISTY VINYL $54.04
CVG307670 * REAR BACK COVER (SMT) $38.44
Opt: 8 FLINT (GRAY) $0.00
Opt: 442 TAUPE (SAND) $3.32
Opt: 390 DARK GREY FAUX LEATHER $4.32
Opt: 445 SLATE GRAY WEAVE S11.16
Opt: 446 CLASSIC BLUE WEAVE $11.16
Opt: 448 SANDSTONE WEAVE S11.16
Opt: 1031 TAN VINYL $17.32
Opt: 416 DEEP SUNTAN VINYL $17.32
Opt: 26 WHITE $19.72
Opt: 1045 MIDNIGHT SURF/MOON MISTY VINYL $74.36
Opt: CcM CUSTOM FABRIC $90.04
CVG307671 * BACK REAR BOTTOM COVER(SMT) $82.20
Opt: 8 FLINT (GRAY) $0.00
Opt: 442 TAUPE (SAND) $14.84
Opt: 390 DARK GREY FAUX LEATHER $19.32
Opt: 445 SLATE GRAY WEAVE $50.04
Opt: 446 CLASSIC BLUE WEAVE $50.04
Opt: 448 SANDSTONE WEAVE $50.04
Opt: 1031 TAN VINYL $77.64
Opt: 416 DEEP SUNTAN VINYL $77.64
Opt: 26 WHITE $88.44
Opt: 1045 MIDNIGHT SURF / MOON MISTY VINYL $98.32
Opt: CcM CUSTOM FABRIC $129.72
CVG307685 EX-21 ACE+ CONTROLLER BRKT. $29.65
CvG307707 CPC WLDMNT EXTENSION $440.32
CVG307716 CVG HITCH PLT EX21 WLDMNT $35.36
CVvG307722 SEAT SWITCH 41" LEADS(B.C.) $65.00
CVG307741 PARKING HANDBRAKE, MOD. $107.44
CVG307778 HINGE,UTILITY,SEAT,RIGHT $85.60
CVG307779 HINGE,UTILITY,SEAT,LEFT $85.60
CVG307789 SEAT BELT MINTG. BRKT. $99.45
CVG307830TB FRONT BUMPER EX-21 (NO HARDWARE) $95.96
CvG307844BLU ARM KIT-SST-LH $35.36
CVG307844BRU ARM KIT-SST-RH $42.72
CVG307852EP DRIVER SIDE SEATBELT BRKT(S.E.) $25.48
CVG307853EP PASS. SIDE SEATBELT BRKT.(S.E.) $25.48

Page 64 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVG307854
CVvG307855
CVG307856EP
CVG307882WX
CVG307883WX
CvG307886
CvG307887
CvG307888
CvG307889
CVvG307895
CVG307896
CvG307900TB
CVvG307901
CVG307911 *

Opt: 1

Opt: 47

Opt: 26
CVG307912 *

Opt: 1
CVG307913 *

Opt: 1
CVG307936 *

Opt: 1

Opt: 4

Opt:
CVG307937 *

Opt: 4

Opt:

Opt:
CVG307939 *

Opt:

Opt:

Opt: 2
CVG307959
CvG308093
CvG308169
CvG308171TB
CvG308191TB
CVvG308224
CVvG308225
CvG308235
CVvG308242
CVvG308255283283
CVG308291EP

Page 65 of 194

Description
UPPER CROSSBAR WLDMT.(SE SUNTOP)
LOWER CROSSBAR(S.E. SUNTOP)
SUNTOP HANDL.(BUCKET SEAT)
RH SPNDL. W/BRK.R/B#57149-04
LH SPNDL. W/BRK.R/B#57148-04
SIDE FOLDING UTIL-L
TAILGATE(SUV)
SIDE FOLDING UTIL-S
CVG LH SIDE FOLDING S10 WLDMNT
FRONT FORK WLDMT.(IS12/ROVR)
MOUNT PLATE WLDMT(SIDE RAILS)
FOLDING RAIL WLDMNT, IS11, TXT BLK
DUAL FRONT FORK, 1S-12/IR-23/IT-34
SEAT BOTTOM W/ SWITCH,DRIVERS(B.C.)
BLACK
SANDSTONE (HUSKY)
WHITE
SEAT BOTTOM, PASSENGER(B.C.)
BLACK
SEAT BACK, BUCKET(BURDEN CARRIER)
BLACK
WEATHER ENCLOSURE SMT. 2 TOURING
GRAY
SAND
CHARCOAL
WEATHER ENCLOSURE, SMT2, GOLF
SAND
GRAY
CHARCOAL
WEATHER ENCLOSURE(SMT. 4 TOURING)
GRAY
SAND
CHARCOAL
MIRROR MNT SUPT ARM ASSY -TRAM
REAR STEEL BUMPER(LONG CHASSIS)
EXTENDED BED (29" X 60")
WLDMNT 4-STEP LADDER, TXT BLK
EXTENDED LADDER WLDMNT, TXT BLK
SPINDLE WLDMNT BC, LH
SPINDLE WLDMNT BC, RH
BACKING PLATE, CHAIN HOUSING
SEAT BACK, BC FOLDING SEAT
BACK CUSHION ISRT ASSY 4 STEPLADDER
REAR SCOUT HANDRAIL(RFS)

Parts Pricing Schedule

List Price
$31.96
$73.96
$67.68

$140.20
$140.80
$89.76
$128.04
$76.56
$212.32
$433.58
$37.05
$134.28
$139.46
$136.40
$0.00
$16.68
$32.88
$58.68
$0.00
$58.20
$0.00
$1,475.36
$0.00
$3.92
$27.88
$1,461.24
$0.00
$6.56
$34.44
$1,966.80
$0.00
$1.96
$13.92
$62.68
$225.09
$343.58
$361.00
$263.40
$172.16
$145.70
$74.16
$107.73
$58.96
$200.34

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVG308292EP
CVG308293EP
CVG308294EP
CVG308321 *

Opt:

Opt:

Opt:
CvG308338
CVvG308370
CvG308371
CvG308381
CvG3084
CVG308432 *

Opt:
CVG308433 *

Opt:
CVG308473 *

Opt:
CvG308483
CvG3084G
CVG308554 *

Opt:
CvG308613
CvG308633
CVG308634
CvG308737PL
CVG308752BRU
CvG308753BLU
CVG308859 *

Opt:

Opt:
CVG308860 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CvG308901

Page 66 of 194

202308

202308

202308

26

218
416

20
442
26
1002
398
1090
416
1249
c™M
20P
1310

Description
SAFETY HANDRAIL, RFS/TRAM
FLDING DECK WLDMT,REAR FACING
CARGO SEAT FRAME
SMT. SUV ENCLOSURE (REQ 63507-06)
GRAY
SAND
CHARCOAL
REAR SUSPENSION AXLE CRADLE,EX-21
CPC SIDE FOLDING SUV-L RH
CPC SIDE FOLDING SUV-L LH
REAR FORK WELDMENT P4E (K1)
CLUBCAR BUSHING KIT
SIDE PANEL, CAB LH, BC, PAINTED
TEXTURED WHITE
SIDE PANEL, CAB RH, BC, PAINTED
TEXTURED WHITE
PANEL, CAB TOP, BC, PAINTED
TEXTURED WHITE

**SEAT SWCH,12AMP W/41"LEADS(EX-21)

GRAY CLUBCAR BUSHING KIT
VINYL COVER, SEAT BACK CUSHION
WHITE
WLDM'T,BRKT.,-LIN ACLTR. UNIT
CPC RAIL FOLDING LH - 2ND SEAT BC
CPC RAIL FOLDING RH - 2ND SEAT BC
*** HINGE,CARGO SEAT
ARM KIT SST-RH BC CAB-UNATT
ARM KIT SST-LH BC CAB-UNATT
SEAT BOTTOM CUSHION COVER
PARCHMENT
DEEP SUNTAN VINYL
VINYL COVER, SEAT BACK CUSHION
BLACK - COLUMBIA (VAC)
TAUPE (SAND)
WHITE
GUNMETAL GRAY (SEWN)
ULTRA WHITE VINYL
MIDNIGHT SURF VINYL
DEEP SUNTAN VINYL
VALENTINE RED
CUSTOM FABRIC
BLACK - PARCAR (VAC)
PACIFIC MIST / CLASSIC BLACK
PEDAL ASSY, ACCELERATOR - 150/280A

Parts Pricing Schedule

List Price
$116.15
$306.59
$409.76

$1,425.80
$0.00
$4.88
$34.84
$181.04
$147.76
$155.80
$180.80
$13.92
$233.20
$0.00
$235.00
$0.00
$213.00
$0.00
$59.45
$7.56
$114.20
$0.00
$34.68
$145.24
$145.24
$14.72
$35.00
$42.16
$74.44
$0.00
$24.04
$40.68
$0.00
$1.92
$5.08
$5.48
$15.40
$25.88
$25.88
$34.64
$39.16
$54.16
$60.08
$62.59

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG309032
CVG309034
CVG309055
CVG309063
CVG309095
CVG309096
CvG309098B
CVG309103
CvG3091058B
CVG309106
CvG309108
CVG309110
CvG309111
CVG309113
CvG309121
CVG309126
CvG309127
CVG309166
CVG309213
CVG309370

CVG30937510221022
CVG30937710221022

CVG309379TB
CVG309380SL

CVG309404
CVG309488
CVG309490
CVG309526

CVG309529SL

CVG309551
CVG309552
CVG30961

CVG309611TW
CVG309612TW
CvG309614TW

CVG309615 *
Opt:

CVG309615TW
CVG309616TW
CVG309618TW
CVG309621TW

CVG309628
CVG309647 *
Opt:

Page 67 of 194

202308

Description
FRONT AXLE ASSEMBLY, MVP
REAR SUSP HNGR MVP WLDMNT
CNTRL TOWER MVP WLDMNT
BRAKE PEDAL WLDMNT
CVG BTRY TRAY MVP WLDMNT

CVG REAR AXLE (H12) 16.99 MVP WLDMN

POWDERCOATED, LONG MVP CHASSIS
CVG BUMPER PLT REAR - MVP, TEX
HINGE, EX-21
CONTROLS PANEL WLDMNT
CVG RH SIDE FOLDING S10 WLDMNT
SPINDLE WELDMENT, RH, MVP
SPINDLE WELEDMENT, LH MVP
STEERING TRIPOD(EX-21/TE-31)
CVG BUMPER FRONT MVP WLDMNT, TEX
CNTRL TOWER RH WLDMNT
CNTRL TOWER LH WLDMNT
CVG RH AXLE SUSP HNGR WLDMNT
CVG LH AXLE SUSP HNGR WLDMNT
STRAP, SUV CAB DOOR
BACK ASSY-TRANS EXP -PARCHMENT
BOTTOM ASSY TRANS EXP- PARCHMENT
CVG HAND RAIL WLDMNT
FOOTREST, TRANSP EXP, 1512
CVG CARGO BED - MVP, TEX
CPC SIDE, STEEL BOX, UTL-L
CPC SIDE, STEEL BOX, UTL-L EXT
16.99 RATIO TRANSAXLE ELEC. HD
FOOTREST - MVP TRAM SPRAY LINED
CPC BTTM, STEEL BOX - UTL-L
CPC BTTM, STEEL BOX, UTL-L-EXT
WINDSHIELD WIPER HAND OPERATED
RH DOOR W/WINDOW, TXT WHITE
RH DOOR, W/OUT WINDOW, TXT WHITE
LH REAR DOOR, TXT WHITE
TOP ENCLOSURE PANEL - PAINTED
TEXTURED WHITE
TOP ENCLOSURE PANEL, TXT WHITE
TOP ENCLOSURE PANEL UTL-S, TXTWHT
PANEL, LH, SIDE DOOR, TEXT WHITE
DOOR FRAME, UTL VAN ENCL. TXT WHITE
CVG, FRAME, MVP TRAM
CUSH ASSY - MVP TRAM
BLACK

Parts Pricing Schedule

List Price

$260.88
$149.58
$150.88
$81.74
$223.56
$3,124.60
$2,081.06
$215.00
$31.24
$105.44
$212.32
$187.47
$151.35
$53.76
$156.52
$57.24
$57.24
$153.44
$153.44
$8.84
$645.80
$316.08
$32.68
$474.04
$539.28
$69.00
$97.92
$3,111.24
$600.68
$320.20
$491.56
$139.92
$123.28
$123.28
$114.32
$337.40
$0.00
$337.40
$276.32
$109.76
$234.56
$225.09
$351.80
$0.00

1/20/2019



EV Technical Services, LLC

= Parts Pricing Schedule
Part # Description
Opt: 218 PARCHMENT
Opt: 398 ULTRA WHITE
CVG309667 * BK ASSY MVP TRAM-VPLT
Opt: 1 BLACK
Opt: 218 PARCHMENT
Opt: 398 ULTRA WHITE
CVG309692 AXLE ASSY.16.99 H.D.(BC-2)
CvG309811 WRAP AROUND FRONT BUMPER (K1)
CVG309820 BATTERY TRAY, 48V
CVvG309822W Bracket, high/low beam headlights
CVG309843 * SUMMIT DOOR, LEFT HAND
Opt: Cw BRIGHT WHITE
Opt: WP WET PAINT
CVG309844 * SUMMIT DOOR, RIGHT HAND
Opt: Cw BRIGHT WHITE
Opt: WP WET PAINT
CVG309850 * PAINTED, PANEL, FRONT RH, SUMMIT
Opt: 202308 TEXTURED WHITE
Opt: 2E+07 SCREAMING YELLOW
CVG309851 * PAINTED, PANEL, FRONT LH, SUMMIT
Opt: 202308 TEXTURED WHITE
Opt: 2E+07 SCREAMING YELLOW
CVvG309852 * WLDMT, PANEL, REAR RH, SMT,PAINTED
Opt: 202308 TEXTURED WHITE
Opt: 2E+07 SCREAMING YELLOW
CVG309853 * PAINTED, PANEL, REAR LH, SMT
Opt: 202308 TEXTURED WHITE
Opt: 2E+07 SCREAMING YELLOW
CVG309868TB STEERING COLUMN, LOCK WLDMNT
CVG309871 STEERING SHAFT WELDMENT, LOCKING
CVG309872TW PANEL, ACCESS DOOR OPENING, TXT WHT

CVG30988714571457 RH CAB PANELS - S4
CvG30988814571457  LH CAB PANELS - S4
CVG30989014571457 DOOR PANEL, RIGHT HAND, SM2
CVG30989114571457 DOOR PANEL, LEFT HAND, SM2

CVG309998 CPC DASH CAP WLDMNT LH
CVG309999 CPC DASH CAP WLDMNT RH
CVG310004EC A-ARM SPRING SHACKLE BRACKET
CvG310028 SAFETY LATCH, CHASIS WLDMNT
CVG310045 WIDE ELEC FORK WELDMENT
CvG310348 WELDMENT, COOLER HOLDER
CVG310447 * CVG WLDMNT BULKHEAD - MVP
Opt: 202308 POWDER COAT TEXTURED WHITE
Opt: 202505 POWDER COAT TEXTURED YELLOW

Page 68 of 194

List Price

$12.84
$26.32
$721.72
$0.00
$16.04
$45.76

$3,148.44

$195.08
$58.20
$61.00
$589.92
$0.00
$228.68
$592.24
$0.00
$162.56
$112.64
$0.00
$61.68
$113.36
$0.00
$33.72
$187.48
$0.00
$85.20
$182.32
$0.00
$89.16
$449.15
$216.64
$86.92
$34.16
$34.16
$24.84
$24.72
$32.04
$37.89
$22.20
$42.44
$219.08
$46.84
$352.20
$0.00
$1.32

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:
CVG310497 *

Opt:

Opt:

Opt:

Opt:
CVG310498 *

Opt:

Opt:

Opt:

Opt:

201518

202308
202505
201518
XX

202308
202505
201518
XX

CVG31057714571457
CVG31057814571457

CvG310616TB
CVG310655 *

Opt:

Opt:

Opt:
CVG310656 *

Opt:

Opt:

Opt:
CVG310657 *

Opt:

Opt:

Opt:
CVvG310678TB
CvG310679TB
CvG310680TB
CVG310731TB
CvG310749
CVG310766 *

Opt:

Opt:

Opt:

Opt:

Opt:
CvG310823TB
CvG310824TB
CvG310825TB
CVvG310826TB
CvG310828
CVvG311060
CvG311086W

Page 69 of 194

202505
202308
201518
11902
SP

Description
POWDER COAT TEXTURED ORANGE
PAINTED, PASS SIDE DOOR MVP
TEXTURED WHITE
TEXTURED YELLOW
TEXTURED ORANGE
SPECIAL NON-METALLIC PAINT
PAINTED, DRVR SIDE DOOR - MVP
TEXTURED WHITE
TEXTURED YELLOW
TEXTURED ORANGE
SPECIAL NON-METALLIC PAINT
LH DOOR PANELS - S2 & S4
RH DOOR PANELS - S2 & S4
P&A, CVG BRKT IS12 TAIL LHT WLDMENT
ENCLOSURE, SOFT-SIDED, SM4-TN
GRAY
SAND
CHARCOAL
ENCLOSURE, SOFT-SIDED, SM2-GN
GRAY
SAND
CHARCOAL
ENCLOSURE, SOFT-SIDED, SM2-TN/SUV
GRAY
SAND
CHARCOAL
CVG SIDE FOLDING BC-L, RH
CVG SIDE FOLDING BC-L, LH
CVG, TAILGATE, BC
PANEL, BC BULKHEAD, FRONT, TXT BLK
WLDMT, FRONT FORK, EX21
PUSH-PULL BATTERY BOX- IS & IR SMTH
TEXTURED YELLOW
TEXTURED WHITE
TEXTURED ORANGE
TEXTURED BLUE
SPECIAL PAINT COLOR
CVG, TAILGATE, BC
CVG SIDE FOLDING BC-S, LH
CVG RAIL FOLDING RH - 2ND, BC
CVG RAIL FOLDING LH - 2ND, BC
CPC BC BRAKE PEDAL WLDMNT
CVG, WLDMT S10 SEAT BELT BRKT
TEXTURED WHITE, BC RH DOOR

Parts Pricing Schedule

List Price
$6.08
$873.92
$0.00
$2.80
$8.36
$272.68
$865.60
$0.00
$2.80
$8.36
$39.84
$29.61
$27.72
$73.96
$1,921.08
$0.00
$37.24
$40.64
$1,447.04
$0.00
$3.00
$11.64
$1,445.48
$0.00
$2.00
$13.24
$163.68
$162.32
$106.40
$134.24
$130.85
$514.36
$0.00
$18.44
$26.24
$33.28
$281.72
$182.64
$182.64
$157.44
$155.20
$32.20
$39.60
$303.80

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CvG311087W
CvG3111078B
CvG311107TB
CvG311108B
CvG311108TB
CVG311109TB
CvG3111108
CVG311110TB
CvG3111118B
CVG311111TB
CvG3111128B
CVG311112TB
CvG3111168B
CVG311116TB
CvG311121SL
CVG311122EC
CVG311123EC
CvG311124
CVvG311125
CVG311128WX
CVG311129WX
CVG311142EC
CVG311144EC
CVG311145EC
CVG311155PL
CVG311165PL
CVvG311196
CVG311260EP
CVG311261EP
CvG311314
CVG311333EC
CVG311346 *

Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 70 of 194

1236
1240
12901
1280
1316
1293
1311
1237
1331
1295
1296

Description

BC, LH DOOR, TXT WHITE
*** SUV-L, LH SIDE RAIL, PAINTED
SUV-L, LH SIDE RAIL, TXT BLK
*** SUV-L, RH SIDE RAIL, PAINTED
SUV-L, RH SIDE RAIL, TXT BLK
SUV-S, LH, SIDE RAIL, TXT BLK
**% SUV-S RH SIDE RAIL, PAINTED
SUV-S, RH, SIDE RAIL, TXT BLK
***¥ WLDMT, SUV REAR RAIL
SUV, REAR RAIL, TXT BLACK
*** CVG, SM4 LH SIDE RAIL, PAINTED
SM4, LH, SIDE RAIL, TXT BLACK
*** CVG, SM4 RH SIDE RAIL, PAINTED
SM4, RH, SIDE RAIL, TXT BLK
CVG BATTRY CASE P5-RBBR COATNG
CVG, A-ARM LOWER P5- ECOATED
CVG, UPPER A-ARM - P5 -ECOATED
ROOF SUPPORT WLDMNT
CVG, CROSS SUPPORT TUBE, ROOF
CVG SPINDLE, STEERING LH -P5 ECOAT
SPINDLE, STEERING RH P5 -ECOATED
FRNT, SUSP MODULE -ECOAT
CVG, SIDE SPPRT WLDM LH P5- E-COAT
CVG, SIDE SPPRT WLDMNT RH-E-COAT
CVG, MECH BRAKE KICK OFF -P5-PLATED
CVG, LINK WLDMNT, -P5- PLATED
CVG, WLDMNT STEERING SHAFT, LOCK P5
CVG, ROOF BRKT SPRT LFT-EP COAT
CVG, ROOF BRKT SPPRT RIGHT-EP COAT
CVG FRONT BODY WLDMNT
REAR STEP, P5 - ECOATED
CUSH ASSY PARAGON, P5

NO COVER

BLACK SEA / PACIFIC MIST

BLACK SEA

CLASSIC BLACK / HAWAIIAN RED

BLACK SEA / CHARCOAL

BLACK SEA / QUICK SILVER

OVERDRIVE CHARCOAL/HAWAIIAN RED

BLACK SEA / MOON MISTY

BLACK SEA / SANDPOINTE

BLACK SEA / SUNSET RED

CLASSIC BLACK / BAJA TAN

CLASSIC BLACK / CAJUN SPICE

Parts Pricing Schedule

List Price

$340.02
$483.92
$367.56
$466.24
$378.60
$319.36
$318.60
$339.98
$386.46
$347.84
$459.00
$394.52
$422.37
$363.48
$250.44
$68.64
$44.88
$226.16
$85.64
$193.44
$189.12
$202.24
$43.52
$43.24
$32.28
$22.23
$261.59
$49.40
$49.08
$32.31
$154.64
$88.16
$0.00
$114.80
$122.52
$136.20
$147.68
$147.68
$153.04
$160.44
$161.40
$161.40
$168.36
$168.36

1/20/2019



EV Technical Services, LLC

=SDVORB

Parts Pricing Schedule

Service Disabled Veteran Owned Business

Part #
Opt: 1274
Opt: 1180
Opt: 1270
Opt: 1288
Opt: 1051
Opt: 1141
Opt: 1243
Opt: 1150
Opt: 1159
Opt: 1170
Opt: 322
Opt: ™M
CVG31134610221022
CVG31134613631363
CVG31134613631364
CVvG31134613671367
CVG31134613681367
CvG3115528B
CVG311552TB
CVvG311553B
CVvG311553TB
CVG311555
CVG311576TB
CVvG311577TB
CVvG311578TB
CVvG311579TB
CvG311580W
CVvG311694TB
CVG311758 *
Opt: 218
Opt: 1310
Opt: CcM
CvG311844
CvG311854
CVvG311866
CvG311882TB
CvG311894
CVvG312053
CvG312189TB
CVG312190WX
CVG312191WX
CVG312192WX
CVG312193WX
CVvG312196SL

Page 71 of 194

Description

MIDNIGHT SURF / QUICK SILVER

MIDNIGHT SURF / PACIFIC MIST

SANDPOINTE / HAWAIIAN RED

SUNSET RED/ OVERDRIVE CHARCOAL

MOON MISTY/ MIDNIGHT SURF

COCONUT BARK / SANDPOINTE

SUNSET RED / COASTAL SAND

SANDPOINTE / COASTAL SAND

SEA FROST / SANDPOINTE

SEA FROST/ COASTAL SAND

SEA FROST / ULTRA WHITE

CUSTOM FABRIC
CVG CUSH ASSY PARAGON, PARCH
CVG CUSH ASSY PARAGON, ULT WHT
CVG CUSH ASSY PARAGON,ULTWHT/SUNSET
CVG CUSH ASSY PARAGON,SANDPT
CVG CUSH ASSY PARAGON,SAND/SANDPT
*** WLDMNT SUV-L RH EXT SIDE RAIL
SUV-L, RH, EXT SIDE RAI, TXT BLACK
*** WLDMNT SUV-L LH EXT SIDE RAIL
SUV-L, LH, EXT SIDE RAIL, TXT BLK
CVG,WLDMNT 12"BUMPER EXT-SUV
WLDMNT, TUBE, LH REAR BC SUNTOP
WLDMNT, TUBE, RH REAR BC SUNTOP
WLDMNT, TUBE, LH FRONT BC
WLDMNT, TUBE, RH FRONT BC
TXT WHITE, ROOF, BC SUNTOP
CVG, WLDMT STEERING COLUMN
COVER HORZ PLTS-S&F

PARCHMENT

PACIFIC MIST / CLASSIC BLACK

CUSTOM FABRIC
CPC, WLDMT, COVER, BATTERY
CVG, WLDMNTRFS BACK SPRT
SUV BULKHEAD WLDMNT
P&A FRONT BUMPER, UTILITY, TXT BLK
CVG, CONTROL BOX WLDMNT
CVG, FRONT TURN SIGNAL BRKT - P5
STRNG CLMN SPRT, BC-AC DRIVE TXTBLK
WLDMNT SPNDL HYD,BRK,LH,P5,(EC)
WLDMNT SPNDL HYD,BRK,RH,P5,(EC)
WLDT,SPINDLE2"LFTHYD BRK, LH-P5
WLDT,SPINDLE,2"LFTHYD BRK,RH-P5
CVG, BTRY TRAY RBBR COAT, SU5-L

List Price

$169.36
$178.60
$178.60
$180.04
$192.04
$192.04
$193.76
$193.80
$193.80
$193.80
$193.80
$223.44
$239.88
$263.08
$281.96
$263.08
$281.96
$673.36
$662.76
$673.36
$662.76
$40.72
$151.48
$144.92
$116.76
$116.28
$344.03
$109.89
$136.60
$0.00
$1.32
$22.48
§72.76
$45.27
$153.24
$187.44
$69.40
$22.40
$30.76
$244.96
$243.64
$406.60
$455.45
$259.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVvG312199
CvG312200
CvG312201
CVG312205EC
CVG312206EC
CVG312207EC
CVG312208TB
CVG312209TB
CVvG312217TB
CVG312218TB
CVvG312219TB
CVG312232W
CVG312233W
CVG312234B
CVvG312238TB
CVG312239TB
CvG312240TB
CVG312241T8B
CVvG3122428B
CVvG312243B
CVvG312244TB
CVG312245TB
CVG312246TB
CVG312247TB
CVvG312248TB
CVG312252TB
CVG312254EP
CVG312256TB
CVG312257TB
CVG312258TB
CVG312259TB
CVG312261TB
CVvG312262TB
CvG312263B
CVvG312264TB
CVG312265EC
CVG312266TB
CVvG312267TB
CVvG312268TB
CVvG312269TB
CVvG312270TB
CVvG312271TB
CVvG312272TB
CVvG312273TB

Page 72 of 194

Description
CVG HSG, HYD BRAKE, WLDMNT,
HYD BRAKE PEDAL WLDMNT
ACCELERATOR PEDAL, HYD BRAKES
SPRING SHOCK LWR SEAT
SPRING UPPER SEAT, E-COAT, LH
SPRING UPPER SEAT, E-COAT, RH
WLDMNT, BC, REAR RCVR, TB
WLDMNT, BC, FRONT RCVR, TB
BC-L, FOLDING SIDE LH, TXT BLK
BC-L, FOLDING SIDE RH, TXT BLK
BC REAR FOLDING TAILGATE, TXT BLK
TXT WHT,BODY FILLER PANEL,LH PWDCT
TXT WHT, PANEL BODY FILLER,RH PWDCT
CVG, FRNT CHASS MODULE SU5-L WLDMNT
WELDMNT, BC-2ND LF RAIL, TXT BLK
WLDMNT, BC-2ND LR RAIL, TXT BLK
WLDMNT, BC-2ND RF RAl
WLDMNT, BC-2ND RR RAIL, TXT BLK
CVG, BC TIPPER BASE WLDMNT -PWDRCT
CVG, BC LOWER TILT BED SPPRT-PWDRCT
BC DUMP BED WLDMNT -TXT BLK
BC/SU5 DUMP BX FRNT PNL -TXT BLK
BC DUMPBOX PANEL, RH -TXT BLK
BC DUMPBOX PANEL, LH - TXT BLK
BC/SU5 BOX TAILGATE - TXT BLK
FRONT BUMPER SU5 WLDMNT
FRONT RCVR SU5 WLDMNT
PANEL, ROOF, BC TOP, TXT BLK
WLDMNT,LH,MID UPRGHT,BC TOP,TXT BLK
WLDMT,RH,MID UPRIGHT,BC TOP,TXT BLK
EXT ROOF BC TOP, TXT BLK
CVG, DUMP BOX PANEL RH, SU5
CVG, WLDMNT, SU5 DUMP BOX PANEL LH
CVG, WLDMNT, TILT BED BASE SU5
WLDMNT, SU5 DUMP BED, TXT BLK
CVG, REAR RECEIVER, SU 5
CVG, REAR BUMPER, SU 5, BLACK
TAILGATE 13" WLDMNT
SIDE RAIL, LH REAR, 13" WLDMNT
SIDE RAIL, RH REAR, 13" WLDMNT
SIDE RAIL, LH FRNT, 13" WLDMNT
SIDE RAIL, RH FRNT, 13" WLDMNT
SIDE RAIL, TAILGATE WLDMNT18"
SIDE RAIL,2ND, LH REAR WLDT18"

Parts Pricing Schedule

List Price

$116.56
$51.16
$43.44
$2.60
$34.40
$27.08
$54.04
$120.72
$184.20
$184.84
$138.04
$171.88
$149.76
$444.48
$126.12
$174.92
$127.32
$174.92
$598.64
$833.00
$830.64
$231.21
$242.48
$244.04
$221.58
$282.32
$74.36
$289.96
$86.88
$92.48
$443.20
$175.60
$197.36
$308.08
$479.88
$184.56
$134.92
$137.48
$181.20
$181.20
$163.16
$163.16
$181.32
$215.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVvG312274TB
CVG312275TB
CVvG312276TB
CVG312281TB
CVvG312286
CVvG312287
CVvG312290
CVG312294
CVG312335 *

Opt: 1
Opt: 8
Opt: 1240
Opt: 1304
Opt: 1298
Opt: 1150
Opt: 1291
Opt: 1051
Opt: 1236
Opt: 1311
Opt: 1331
Opt: 1292
Opt: 1293
Opt: 1295
Opt: 1296
Opt: 1297
Opt: CcM
Opt: 1141
Opt: 1358
Opt: 322
Opt: 1340
CVvG312335283283
CVvG312336
CVG312336A *
Opt: 1304
Opt: 8
Opt: 1187
CVG312352 *
Opt: 1304
Opt: 1240
Opt: 1236
Opt: 1293
Opt: 1298
Opt: 1340
Opt: 1291

Page 73 of 194

Description
SIDE RAIL,2ND, RH REAR WLDT18"
SIDE RAIL,2ND, LH FRNT WLDT18"
SIDE RAIL,2ND, RH FRNT WLDT18"
SIDE RAIL 13" LH WLDMNT
CVG, REAR FLIP SEAT FRAME

CVG, REAR SEAT BACK FRAME WLDMNT

CVG, ARMREST BRKT LH
CVG, ARMREST BRKT RH
BACK ASSY, BENCH
BLACK
FLINT (GRAY)
BLACK SEA
PEBBLE BEACH/PEBBLE BEACH
CARBON FIBER BLACK / PEBBLE BEACH
SANDPOINTE / COASTAL SAND
CARBON FIBER BLACK / HAWAIIAN
MOON MISTY / MIDNIGHT SURF
BLACK SEA / PACIFIC MIST
BLACK SEA / MOON MISTY
BLACK SEA / SUNSET RED
CARBON FIBER QUICKSILVER / HAWAIIAN
CHARCOAL / HAWAIIAN RED
CARBON FIBER BLACK / BAJA
CARBON FIBER BLACK / CAJUN SPICE
CARBON FIBER BLACK / SAFFRON YELLOW
CUSTOM FABRIC
COCONUT BARK / SANDPOINTE
MOON MISTY / ULTRA WHITE
SEAFROST / ULTRAWHITE
BLACK SEA / CAJUN SPICE
CVG BK ASSY-SPLIT BENCH- BLK
CVG CUSH ASSY, SPLIT BENCH NO CVR
P&A, CUSH ASSY, SPLIT BENCH
PEBBLE BEACH
FLINT (GRAY)
PACIFIC MIST
CUSH ASSY FLIP UP RFS
PEBBLE BEACH/PEBBLE BEACH
BLACK SEA
BLACK SEA / PACIFIC MIST
CHARCOAL / HAWAIIAN RED
CARBON FIBER BLACK / PEBBLE BEACH
BLACK SEA / CAJUN SPICE
CARBON FIBER BLACK / HAWAIIAN

Parts Pricing Schedule

List Price

$215.00
$192.04
$195.40
$164.64
$271.00
$199.08
$65.66
$56.16
$74.12
$0.00
$7.48
$19.04
$22.52
$27.44
$30.20
$39.32
$39.80
$41.40
$44.96
$45.20
$45.44
$45.44
$48.96
$48.96
$48.96
$55.52
$60.76
$60.76
$61.64
$66.72
$74.12
$39.84
$88.32
$0.00
$7.96
$13.12
$138.56
$0.00
$47.48
$72.80
$81.16
$81.16
$86.12
$90.36

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG312389EC
CVvG312390
CVG312392EC
CvG312393TB
CVG312394 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG312395 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG312396TB
CVG312398TB
CVG312430X0
CVG312442EC
CVG312443 *

Opt:

Page 74 of 194

1051
1295
1296
1297
1150
1292
1311
1331
1141
1358
322

™M

202308
202505
2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07
2E+06

202308
202505
2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07
2E+06

2E+06

Description
MOON MISTY / MIDNIGHT SURF
CARBON FIBER BLACK / BAJA
CARBON FIBER BLACK / CAJUN SPICE
CARBON FIBER BLACK / SAFFRON YELLOW
SANDPOINTE / COASTAL SAND
CARBON FIBER QUICKSILVER / HAWAIIAN
BLACK SEA / MOON MISTY
BLACK SEA / SUNSET RED
COCONUT BARK / SANDPOINTE
MOON MISTY / ULTRA WHITE
SEAFROST / ULTRA WHITE
CUSTOM FABRIC
PARK BRAKE CATCH WELDMNT
CVG, PARK BRK WLDMNT, HYD BRAKES
SEAT BASE SPRT, SU5 - ECOATED
SEAT BASE, SU5, TXT BLK
CVG, WLDMNT PANEL SIDE BDY LH-SU5-S
TEXTURED WHITE
TEXTURED YELLOW
BRILLIANT BLACK CRYSTAL
CHAMPAGNE
COLLEGIATE RED
FRENCH BLUE
HUNTER GREEN
MIDNIGHT BLUE
WILD STRAWBERRY RED
BRIGHT SILVER
PANEL, SIDE BODY, RH - PAINTED
TEXTURE WHITE
TEXTURED YELLOW
BRILLIANT BLACK CRYSTAL
CHAMPAGNE
COLLEGIATE RED
FRENCH BLUE
HUNTER GREEN
MIDNIGHT BLUE
WILD STRAWBERRY RED
BRIGHT SILVER
FILLER PANEL, LH SU5, TXT BLK
FILLER PANEL RH SU5, TXT BLK
CH, BC-L,NO DR, TXT EXTREME ORANGE
SEAT BASE SPRT E-COATED
CVG, WLDMNT, PANEL SI BDY LH, SU5-L
BRIGHT SILVER

Parts Pricing Schedule

List Price
$92.88
$94.48
$94.48
$94.48

$100.20
$102.96
$107.92
$108.84
$119.32
$119.32
$121.16
$124.24
$18.76
$44.82
$191.96
$145.92
$200.92
$0.00
$0.84
$167.48
$186.40
$186.40
$186.40
$186.40
$186.40
$186.40
$319.56
$199.40
$0.00
$0.88
$167.52
$186.44
$186.44
$186.44
$186.44
$186.44
$186.44
$319.60
$129.40
$124.32
$5,767.79
$25.76
$107.84
$0.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG312444 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG312445 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG312458TB
CVvG312460
CVG312463WX
CVG312464WX
CVG312485 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Page 75 of 194

202308
202505
2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07

202308
202505
2E+06
2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07

2E+06
202505
202308
2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07

2E+06
202308
202505
2E+06
3E+06
3E+06
6E+06
8E+06

Description
TEXTURED WHITE
TEXTURED YELLOW
BRILLIANT BLACK CRYSTAL
CHAMPAGNE
COLLEGIATE RED
FRENCH BLUE
HUNTER GREEN
MIDNIGHT BLUE
WILD STRAWBERRY RED

CVG, WLDMNT, PANEL SI BDY RH, SU5-L

TEXTURED WHITE
TEXTURED YELLOW
BRILLIANT BLACK CRYSTAL
BRIGHT SILVER
CHAMPAGNE
COLLEGIATE RED

FRENCH BLUE

HUNTER GREEN
MIDNIGHT BLUE

WILD STRAWBERRY RED

CVG, WLDMNT, FRNT, KICK PANEL-SU5-L

BRIGHT SILVER

TEXTURED YELLOW

TEXTURED WHITE

BRILLIANT BLACK CRYSTAL

CHAMPAGNE

COLLEGIATE RED

FRENCH BLUE

HUNTER GREEN

MIDNIGHT BLUE

WILD STRAWBERRY RED
WLDMNT SIDERAIL, SHORT LH, TXT BLK
WLDMNT, SEAT BELT BRKT

SPNDLE LH, HUB OFFSET BRK WLD-ECOAT

CVG, SPINDL RH, OFFSET BRK, WLD, EC
CVG,WLDMT,REAR SIDE BODY, LH

BRIGHT SILVER

TEXTURED WHITE

TEXTURED YELLOW

BRILLIANT BLACK CRYSTAL

CHAMPAGNE

COLLEGIATE RED

FRENCH BLUE

HUNTER GREEN

Parts Pricing Schedule

List Price
$3.92
$4.24

$33.08
$33.08
$33.08
$33.08
$33.08
$33.08
$33.08
$123.60
$0.00
$0.32
$0.76
$0.76
$0.76
$0.76
$0.76
$0.76
$0.76
$0.76
$288.16
$0.00
$4.08
$13.92
$23.28
$23.28
$23.28
$23.28
$23.28
$23.28
$23.28
$130.84
$26.42
$273.28
$277.00
$228.48
$0.00
$11.44
$12.60
$72.68
$72.68
$72.68
$72.68
$72.68

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt: 1E+07

Opt: 2E+07
CVG312486 *

Opt: 2E+06

Opt: 202308

Opt: 202505

Opt: 2E+06

Opt: 3E+06

Opt: 3E+06

Opt: 6E+06

Opt: 8E+06

Opt: 1E+07

Opt: 2E+07
CvG312488 *

Opt: 2E+06

Opt: 202505

Opt: 202308

Opt: 2E+06

Opt: 3E+06

Opt: 3E+06

Opt: 6E+06

Opt: 8E+06

Opt: 1E+07

Opt: 2E+07
CVG312489 *

Opt: 2E+06

Opt: 202308

Opt: 202505

Opt: 2E+06

Opt: 3E+06

Opt: 3E+06

Opt: 6E+06

Opt: 8E+06

Opt: 1E+07

Opt: 2E+07
CVG312498TB
CVG312507 *

Opt: 1
CVG312507283283
CvG312513TB
CVvG312514TB
CVG312515TB
CVG312516TB
CVG312518TB

Page 76 of 194

Description
MIDNIGHT BLUE
WILD STRAWBERRY RED
CVG, WLDMNT, REAR SIDE BODY, RH
BRIGHT SILVER
TEXTURED WHITE
TEXTURED YELLOW
BRILLIANT BLACK CRYSTAL
CHAMPAGNE
COLLEGIATE RED
FRENCH BLUE
HUNTER GREEN
MIDNIGHT BLUE
WILD STRAWBERRY RED
CVG, WLDMT, PANEL,BODY FILLER, LH
BRIGHT SILVER
TEXTURED YELLOW
TEXTURED WHITE
BRILLIANT BLACK CRYSTAL
CHAMPAGNE
COLLEGIATE RED
FRENCH BLUE
HUNTER GREEN
MIDNIGHT BLUE
WILD STRAWBERRY RED
CVG, WLDMT, PANEL,BODY FILLER, RH
BRIGHT SILVER
TEXTURED WHITE
TEXTURED YELLOW
BRILLIANT BLACK CRYSTAL
CHAMPAGNE
COLLEGIATE RED
FRENCH BLUE
HUNTER GREEN
MIDNIGHT BLUE
WILD STRAWBERRY RED

WLDMNT, BACK REST, TXT BLK

CUSHION ASSY, 2ND SEAT

BLACK
CVG CU ASSY, 2ND SEAT, BLK
DROP SIDE TAILGATE, TXT BLK
DROP SIDE 32" DECK, TXT BLK
DROP SIDE BRKT, RH, TXT BLK
DROP SIDE BRKT - LH, TXT BLK
OBS DROP SIDE 60" DECK; TXT BLK

Parts Pricing Schedule

List Price
$72.68
$72.68

$189.96
$0.00
$11.44
$12.60
$53.56
$53.56
$53.56
$53.56
$53.56
$53.56
$53.56
$159.32
$0.00
$2.48
$17.04
$67.52
$67.52
$67.52
$67.52
$67.52
$67.52
$67.52
$148.20
$0.00
$2.24
$2.60
$67.56
$67.56
$67.56
$67.56
$67.56
$67.56
$67.56
$186.52
$108.60
$0.00
$108.60
$170.92
$127.88
$36.04
$35.60
$177.76

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVvG3125248B
CVG312525TB
CVG312526TB
CVG312527TB
CVG312528TB
CvG312533B
CVG312534TB
CVG312535TB
CVvG312577
CVG312647 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG312649 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG312650 *

Opt:

Opt:
CVG312651 *

Opt:

Opt:
CVG312655TB
CvG312684TB
CvG312713
CVG312727EC
CVG312728EC
CvG312809
CVvG312824

Page 77 of 194

2E+06
202308
202505
2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07

2E+06
202308
202505
2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07

c™M

c™M

Description

WLDMNT, FRM 48" DCK, BLK PWDR
WLDMNT, DECK PANEL, 48" - TXT BLK
WLDMNT DROP SI, 48" DECK-TXT BLK
DROPSIDE BRKT DECK EXT RH, TXT BLK
DROPSIDE BRKT DECK EXT LH TXT BLK
CVG, WLDMNT 72" FRAME DECK, BLK PWD
WLDMNT, DECK PANEL, 72" TXT BLK
WLDMNT DROP SIDE, 72" DECK-TXT BLK
CVG, WLDMNT, HITCH PLATE, MVP
PANEL, KICK, FRONT, PAINTED

BRIGHT SILVER

TEXTURED WHITE

TEXTURED YELLOW

BRILLIANT BLACK CRYSTAL

CHAMPAGNE

COLLEGIATE RED

FRENCH BLUE

HUNTER GREEN

MIDNIGHT BLUE

WILD STRAWBERRY RED
PANEL, BODY FILLER, RH, PAINTED

BRIGHT SILVER

TEXTURED WHITE

TEXTURED YELLOW

BRILLIANT BLACK CRYSTAL

CHAMPAGNE

COLLEGIATE RED

FRENCH BLUE

HUNTER GREEN

MIDNIGHT BLUE

WILD STRAWBERRY RED
COVER BC-PLN-S&F-CLAS D-3PC

FLINT (GRAY)

CUSTOM FABRIC
COVER -D -S&F-3PC

FLINT (GRAY)

CUSTOM FABRIC
CVG, WLDMNT, ST FRAME, BC BENCH
CVG GLOVE BOX DOOR TXT BLACK
CVG, WLDMNT, SEAT BASE
WLDMT, RR-FACING SEAT SPRT, LH, EC
WLDMT, RR-FACING SEAT SPRT, RH, EC
CVG, SU5 CORD REEL BRKT
CVG, WLDMNT, FLORIDA BRKT

Parts Pricing Schedule

List Price
$442.56
$698.32
$192.64

$42.08
$47.66
$515.56
$998.08
$175.64
$75.40
$233.88
$0.00
$3.44
$4.12
$23.28
$23.28
$23.28
$23.28
$23.28
$23.28
$23.28
$118.04
$0.00
$2.20
$2.60
$63.52
$63.52
$63.52
$63.52
$63.52
$63.52
$63.52
$37.44
$0.00
$69.88
$93.92
$0.00
$111.08
$236.52
$43.24
$139.64
$74.44
$69.64
$92.88
$26.84

1/20/2019



EV Technical Services, LLC

= Parts Pricing Schedule
Part # Description List Price

CVG312843TB SEAT BASE, TXT BLK $365.20
CVG312890EC PARK BRAKE CATCH W/MOUNT ECOAT $18.00
CVG312924 PRK BRK RELEASE $20.97
CvG313018TB BRKT, HANDRAIL, FOOTREST, TXT BLK $56.52
CVG313019TB HANDRAIL, FOOTREST, TXT BLK $62.44
CvG313029TB CVG, WLDMNT, DROP SIDE, SHORT $170.04
CVG313030TB CVG, WLDMNT, DROP SIDE, SHORT $145.28
CvG313047TB DROP SIDE, 48" DECK, TXT BLK $205.72
CVG313060TB SEAT BASE FILLER PANEL, LH, TXT BLK $103.95
CvG313061TB SEAT BASE FILLER PANEL, RH, TXT BLK $100.26
CVG313158 * 907-18 BUCKET SEAT, NO TRACKS $194.16

Opt: 1 BLACK $0.00

Opt: 8 FLINT (GRAY) $24.12
CVG313158LA * 907-18 BUCKET SEAT,NO TRCKS,ARM LH $230.32

Opt: 1 BLACK $0.00
CVG313158RA * 907-18 BUCKET SEAT,NO TRCKS,ARM RH $230.24

Opt: 1 BLACK $0.00

Opt: 8 FLINT (GRAY) $24.12

Opt: 442 TAUPE $106.48
CvG313159 CVG, SPINDLE WLDMNT, LH, TSR WLDMNT $226.50
CVG313160 CVG SPINDLE WLDMNT RH, TSR MOUNT $227.70
CvG313177TB WLDMNT DROP SIDE, 72" DECK-TXT BLK $215.64
CVG313206 CVG, WLDMNT PARK BRK HOUSING $55.24
CVvG3132578B FR CHASSIS MODULE, SMOOTH BLK PWDCT $623.44
CVG313261 GAS SPRING, 100-LB, WITH FITTINGS $33.56
CVvG313262TB CHASSIS, LH, TXT BLACK $360.32
CVG313263TB CHASSIS RH, TXT BLACK $359.56
CvG313267 CVG, WLDMT, RECEIVER MTG PANEL $67.84
CVG313268 CVG, WELDMT, STEP SPRT BRKT, LH $30.16
CVvG313269 CVG, WELDMT, STEP SPRT BRKT, RH $30.24
CVvG313281TB DROP SIDE, 60" DECK, TXT BLK $223.04
CVG313296TB CARGO TOP UPRIGHT, LH, TXT BLK $80.19
CVG313297TB CARGO TOP UPRIGHT, RH, TXT BLK $71.52
CVG313303TB SEAT BASE, FOLDING, TXT BLK $260.84
CVG313304TB SEAT FRAME, FIXED, TXT BLK $4,731.12
CVG313316 CVG, FRNT SPNSN MODULE,LOWER WLDMNT $81.44
CVG313351 * WLDMT, SMOOTH BAT, ROLL OUT -IS12 $3,806.48

Opt: 202505 TEXTURED YELLOW $0.00

Opt: 202308 TEXTURED WHITE $10.60

Opt: 201518 TEXTURED ORANGE $41.88
CVG313352SL WLDMT, BATTERY TRAY $291.04
CVG313354 CVG, WLDMNT, I1S12 DUAL-FORK, FRNT $126.84
CVG313379EC WLDMT, UPPER A-ARM, ECOATED $42.56
CVG313380WX STEERING KNUCKLE, LH, W/WAX $238.48

Page 78 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVG313381WX
CvG3134
CvG313400TB
CVG313401TB
CVG313406
CVG313407EC
CVG313408EC
CvG313410
CVvG313412TB
CVG313413TB
CVvG313414
CVG313418
CVG313425TB
CVG313428EC
CvG313441TB
CVG313448TB
CvG313461
CVvG313463TB
CVvG313488
CVG313534TB
CVG313535TB
CVG313538TB
CVG313551TB
CVG313552TB
CVG313586
CVvG313587TB
CVvG313588
CVvG313590TB
CVG313603 *

Opt: 1
Opt: 114
CVG313603A *
Opt: 1
CVG313603LA *
Opt: 1
Opt: 114
CVG313604 *
Opt: 1
Opt: 114
CVG313604LA *
Opt: 1
Opt: 114
CVG313604RA *
Opt: 1

Page 79 of 194

Description

STEERING KNUCKLE, RH, W/WAX
CLUBCAR BUSHING-BLUE SUSPEN
WLDMT, CHASSIS, 2ND SEAT, LH
CHASSIS, 2ND SEAT, RH, TXT BLK
CVG, WLDMNT, FRONT FRAME
SEAT BASE MTG BRKT, LH, EC
SEAT BASE MTG BRKT, RH
CVG, WLDMNT, PEDAL HOUSING
FOOTREST, TXT BLK
CVG, WLDMT, HANDRAIL, SU5-2
CVG, WLDMNT, BRAKE PEDAL
CVG, WLDMNT, WINDSHEILD BRKT
2ND SEAT DECK, TXT BLK
WLDMT, LOWER A-ARM, ECOATING
WLDMNT, 72" DECK, TXT BLK
WLDMT, SEAT BASE FILLER, TXT BLK
CVG, IS12 FR FORK UPFT
WLDMT, 60" DECK, TXT BLACK
WLDMNT, FRT FRAME PRK BRK
WLDMT, CHASSIS, 74" WB, LH, TXT BLK
WLDMT, CHASSIS, 74" WB, RH, TXT BLK
36" DECK PLATE
SU5-2 REAR BUMPER, TXT BLK
SU5-2 RECEIVER, TXT BLK
CVG, WLDMNT, RECEIVER, 2ND SEAT
SEAT PAN, TXT BLACK
CVG, WLDMNT, GAS SPRING, EAGLE
48" DECK, TXT BLACK
907 SEAT-4"TRACK,W/SW NO ARMS

BLACK

GRAY (ASCOT)
907 SEAT-4"TRACK,W/SW, ARM

BLACK
907 SEAT-4"TRACK,W/SW,LH ARM

BLACK

GRAY (ASCOT)
907 SEAT-4"TRACK, NO ARM

BLACK

GRAY (ASCOT)
907 SEAT-4"TRACK,LH ARM,

BLACK

GRAY (ASCOT)
907 SEAT-4"TRACK,RH ARM,

BLACK

Parts Pricing Schedule

List Price

$238.88
$3.76
$367.16
$369.00
$331.16
$42.93
$37.52
$87.24
$144.99
$133.84
$75.28
$9.16
$488.68
$69.96
$636.24
$239.63
$166.64
$481.08
$328.56
$343.48
$332.96
$413.40
$174.40
$93.40
$24.84
$180.36
$38.79
$563.12
$194.84
$0.00
$3.20
$232.68
$0.00
$232.12
$0.00
$3.20
$191.96
$0.00
$3.20
$231.08
$0.00
$0.00
$191.96
$0.00

1/20/2019



EV Technical Services, LLC

= Parts Pricing Schedule
Part # Description

Opt: 114 GRAY (ASCOT)
CVG313605 * 907 SEAT-NO TRACK

Opt: 1 BLACK

Opt: 114 GRAY (ASCOT)
CVG313605LA * 907 SEAT-NO TRACK,LH ARM

Opt: 114 GRAY (ASCOT)
CVG313605RA * 907 SEAT-NO TRACK,RH ARM

Opt: 1 BLACK

Opt: 114 GRAY (ASCOT)
CVG313607167167 907 BACK ASSY
CVG313608167167 907 CUSH ASSY
CVG313716 CPC, FRONT BODY SPRT BRKT
CVG313764TB 2" RECEIVER, SU5-2-TXT BLK
CVG313765TB P&A, REAR BUMPER,RCVR MNT,SU5-2
CVG313813 CPC, LGGAGE RACK BRACE WLDMNT
CvG313819 CVG, WLDMNT, REINF MTG BRKT
CVG313920TB FRONT UTL BUMPER, JOURNEYMAN, TB
CVG313957TB WLDMNT, DECK RAIL, REAR, TXT BLK
CVG313958TB WLDMNT, DECK RAILS, LH,TXT BLK
CVG313959TB WLDMNT, DECK RAILS, RH, TXT BLK
CVG313961TB WLDMNT, SIDE RAIL, LH, TXT BLK
CVG313962TB WLDMNT, SIDE RAIL, RH, TXT BLK
CVG313964TB RECIEVER HITCH, FRONT 2", TXT BLACK
CVG314015B FR CH MODULE, SMOOTH BLK PWDCT
CVG314016TB WLDMNT, 60" DECK, JRNYMN-2XL, TB
CVG314020 CVG, WLDMT, REAR DECK SPRT
CVG314027 CVG, WELDMT, STEP SPRT BRKT, LH
CVG314028 CVG, WELDMT, STEP SPRT BRKT, RH
CVG314035TB TOP, JOURNEYMAN-2XL, TXT BLACK
CVG314067 WLDMNT, AXEL MNT, LH
CVG314068 WLDMNT, AXEL MNT, RH
CVG314069 WLDMNT, TRAILING LINK
CVvG314071 * SUNTOP SPRT, LH, JRNYMN-2XL,PAINTED

Opt: 202308 TEXTURE WHITE

Opt: 11902 TEXTURE SAFETY BLUE
CVG314072 * SUNTOP SPRT, RH,JRNYMN-2XL, PAINTED

Opt: 202308 TEXTURE WHITE

Opt: 11902 TEXTURE SAFETY BLUE
CVG314075 * REAR BODY, LH, JRNYMN-2XL, PAINTED

Opt: 202308 TEXTURE WHITE

Opt: 11902 TEXTURE SAFETY BLUE
CVG314076 * REAR BODY, RH, JRNYMN-2XL, PAINTED

Opt: 202308 TEXTURE WHITE

Opt: 11902 TEXTURE SAFETY BLUE

Page 80 of 194

List Price

$39.04
$182.20
$0.00
$26.48
$230.72
$0.00
$227.44
$0.00
$3.20
$52.48
$65.40
$18.24
$274.64
$139.20
$152.56
$55.84
$168.93
$84.20
$128.40
$128.40
$216.36
$236.03
S74.76
$713.07
$478.20
$74.96
$39.20
$39.64
$373.12
$77.20
$74.04
$77.40
$135.12
$0.84
$1.68
$128.84
$0.84
$1.68
$203.92
$5.04
$10.18
$187.36
$5.04
$10.18

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CvG314214TB
CvG314217TB
CVvG314249TB
CVG314294
CvG314351
CVG3143528B
CVG314362WX
CVG314364WX
CVG314366WX
CvG314417
CVvG314468B
CVG314471WX
CVG314472WX
CVG314489WX
CVvG314534TB
CVG314584TB
CVvG314594TB
CVG314597TB
CVvG314598TB
CVG314674TB
CVvG314693TB
CVG314703 *

Opt:
CVG314803WX
CVG314804WX
CvG3148698B
CvG31503
CvG3170
CVG320-822
CVvG335451
CVG33608-96
CVG33616-76
CVvG34-212
CVvG34-573
CVvG3428
CVG345694 *

Opt:

Opt:

Opt:
CVvG348
CVvG35092
CVG35095
CVG376535 *

Opt:

Page 81 of 194

218
20

Description

WLDMT, SEAT BASE, CARGO RFS, TXT BLK
WLDMT, SEAT PAN, CARGO RFS, TXT BLK
SIDE RAIL, TAILGATE, TXT BLK, SU5-2
CVG, WLDMT, DOOR STRAP HOOK
CPC, WLDMT, TRLG LINK, LIFT KIT
WLDMT, LIFT BLOCK, LIFT KIT
WLDMNT, KINGPIN, LIFT KIT, WAXED
STRG KNUCKLE, LH, LFT KIT, WAXED
STRG KNUCKLE, RH, LFT KIT, WAXED
CPC, WLDMNT, NKL AXLE TUBE SPRT
FR SPNSN,UPPER, GEN-2 EAGLE,BLKPWDR
STRG KNUCKLE, GEN 2, LH, W/WAX
STRG KNUCKLE, GEN2, RH, EA, W/WAX
WLDMT, STRG KNUCKLE, GEN 1, RH, WX
REAR -VIEW DISPLAY, SU,TB
WLDMT, REAR -VIEW DISPLAY, SU, TB
SIDE RAIL, TAILGATE, 18" SU, TXTBLK
OPERATOR TOP TUBE, LH, PL, TB
OPERATOR TOP TUBE, RH, PL, TB
WLDMT, REAR LIFT BRACE, TXT BLACK
UPPER STRG, CLRVW + DIGITAL BDI, BC
CSH, W/DELTA SWITCH, EX,

BLACK
STRG KNUCKLE, 2" LIFT, RH, WXD
STRG KNUCKLE, 2" LIFT, LH, WXD
WLDMNT MOTOR BRACE, PL-SUP, BLK
6PK COOLER KIT W/ BRACKET
HEADLIGHT BULB 50W MR16 LENS
TIRE MTD 205-50X10 EXCEL/10X7 MEDUS
FRAME, SEAT UTILITY
CABLE.FOR.& REV. 104"
STAND OFF
KILL SWITCH
SWITCH 3-WAY
FUSE LESTER STYLE #8776
BENCH BACK COVER - HS PLTS-S&F

FLINT GRAY

PARCHMENT

BLACK
48V ROUND E-METER
80" BEIGE ROOF NIVEL LOW PROFILE
80" WHITE ROOF NIVEL LOW PROFILE
BACK CUSHION ASSY. W/ELITE LOGO

BLACK VINYL

Parts Pricing Schedule

List Price
$303.70
$208.94
$109.24

$12.76
$187.80
$101.92
$48.40
$227.39
$227.43
$72.40
$511.68
$254.04
$279.36
$281.04
$69.00
$90.34
$178.44
$111.38
$110.52
$332.88
$51.68
$147.68
$0.00
$293.64
$293.64
$80.44
$172.84
$20.16
$283.20
$120.92
$226.08
$7.68
$19.80
$18.00
$59.44
$90.28
$0.00
$10.44
$57.20
$52.00
$806.40
$806.40
$97.80
$0.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 82 of 194

1152
442

1025
1187
242

1113
1139
1171
1240
218

1207
1158
1031
390

1224
1212
1060
1101
322

1135
1090
1145
398

1116
1105
358

1098
1022
1156
1180
1236
1087
1047
1093
1104
1123
1125
1148
1149
1176
1045
1237
327

Parts Pricing Schedule

Description

FLINT (GRAY)

BLACK / PACIFIC MIST VINYL

TAUPE (SAND)

CARNIVAL RED VINYL

PACIFIC MIST

YELLOW VINYL

FLINT / CHIANTI

BLACK / CARNIVAL RED

BLACK / COASTAL SAND

BLACK SEA VINYL

PARCHMENT VINYL

SEAFROST GREEN / CARNIVAL RED
BLACK / SANDPOINT

COASTAL SAND VINYL

DARK GREY FAUX LEATHER
SANDPOINT/MOON MISTY

DEEP SUNTAN / SEA FROST

MOON MISTY VINYL

COCONUT BARK VINYL

SEA FROST GREEN / ULTRA WHITE
CARNIVAL RED / DEEP SUNTAN VINYL
MIDNIGHT SURF VINYL
SANDPOINTE VINYL

ULTRA WHITE VINYL

BLACK / FLINT

BLACK / TAUPE

BLACK / YELLOW

COCONUT BARK / TAUPE

FLINT / PACIFIC MIST

PACIFIC MIST / MIDNIGHT SURF VINYL
MIDNIGHT SURF / PACIFIC MIST VINYL
BLACK SEA / PACIFIC MIST VINYL
MIDNIGHT SURF / YELLOW VINYL
BLACK / MOONMISTY VINYL

BLACK / DEEP SUNTAN VINYL
CARNIVAL RED / BLACK

CARNIVAL RED / FLINT

CARNIVAL RED / TAUPE

CARNIVAL / PACIFIC MIST

PACIFIC MIST / CARNIVAL RED
CARNIVAL / PACIFIC MIST

IDNIGHT SURF / MOONMISTY VINYL
BLACK SEA / SANDPOINTE VINYL
CARNIVAL RED / MOONMISTY VINYL

List Price

$9.52
$13.36
$13.48
$13.76
$13.76
$15.12
$17.20
$18.76
$19.20
$21.28
$21.44
$24.20
$24.40
$24.88
$25.12
$27.52
$27.76
$29.08
$29.08
$29.32
$29.36
$30.12
$30.12
$30.12
$30.40
$31.28
$31.64
$32.72
$32.92
$33.56
$33.64
$33.68
$33.92
$34.68
$34.92
$34.92
$35.36
$36.24
$36.28
$36.28
$36.28
$36.96
$37.24
$39.60

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 83 of 194

1299
1173
1174
1082
1186
1141
1150
1103
1028
1051
1151
1181
1059
319

1055
1159
1170
1178
328

1225
1273
1179
1345
329

1081
1120
1313
1289
326

1111
1099
1071
1130
1190
1209
1205
1222
1227
1121
1092
1188
1243
1258
1110

Parts Pricing Schedule

Description
HAWAIIAN RED / ULTRA WHITE
CARNIVAL RED / SANDPOINTE VINYL
CARNIVAL RED / COASTAL SAND
AQUA / MOON MISTY VINYL
YELLOW / SEA FROST GREEN
COCONUT BARK / SANDPOINTE VINYL
SANDPOINTE / COASTAL SAND VINYL
SEA FROST / TAUPE
COCONUT BARK / DEEP SUNTAN VINYL
MOONMISTY / MIDNIGHT SURF VINYL
COCONUT BARK / COASTAL SAND
SUNSET RED / COCONUT BARK VINYL
DEEP SUNTAN / COCONUT BARK VINYL
SUNSET RED / ULTRA WHITE
ULTRA WHITE / MIDNIGHT SURF VINYL
SEA FROST GREEN / SANDPOINTE VINYL
SEA FROST GREEN / COASTAL SAND
MIDNIGHT SURF / COASTAL SAND VINYL
MIDNIGHT SURF / ULTRA WHITE VINYL
BLACK / VALENTINE
BLACK/QUICKSILVER
DEEP SUNTAN / SANDPOINTE VINYL
BLACK SEA / PORPOISE
BLACK / ULTRA WHITE
YELLOW / BLACK
TAUPE / CARNIVAL RED
ARNIVAL RED / C.F. QUICK SILVER
OVERDRIVE CHARCOAL/QUICK SILVER
CARNIVAL RED / ULTRA WHITE
YELLOW / MOON MISTY
YELLOW / MIDNIGHT SURF VINYL
PARCHMENT / CARNIVAL RED
DEEP SUNTAN / BLACK VINYL
MIDNIGHT SURF / FLINT
MIDNIGHT SURF / TAUPE
SEA FROST GREEN / PACIFIC MIST
ULTRA WHITE / YELLOW VINYL
DEEP SUNTAN / VALENTINE
MOON MISTY / GUNMETAL GRAY
COCONUT BARK / PARCHMENT
SANDPOINTE / COCONUT BARK
SUNSET RED/COASTAL SAND
SUNSET RED / SANDPOINTE
SANDPOINTE / MIDNIGHT SURF

List Price
$39.80
$39.84
$39.84
$40.84
$40.92
$41.56
$42.40
$49.28
$52.04
$52.04
$52.04
$52.64
$52.68
$52.84
$52.88
$52.92
$52.92
$52.92
$57.36
$63.04
$63.12
$64.72
$65.12
$66.32
$67.44
$67.48
$68.04
$69.28
$71.28
$72.12
$72.36
$73.84
$79.44
$79.84
$80.72
$80.76
$81.04
$81.08
$81.40
$81.60
$84.08
$84.28
$84.28
$84.32

1/20/2019



EV Technical Services, LLC

[ = Parts Pricing Schedule
Part # Description
Opt: 1134 DEEP SUNTAN / SUNSET RED VINYL
Opt: 1193 DEEP SUNTAN / COASTAL SAND
Opt: 1247 COASTAL SAND / DEEP SUNTAN VINYL
Opt: 1282 SANDPOINTE / ULTRA WHITE
Opt: C™m CUSTOM FABRIC
CVG376536 * BOLSTERED SEAT BOTTOM, COVERED
Opt: 1 BLACK VINYL
Opt: 1187 PACIFIC MIST
Opt: 1116 BLACK / FLINT
Opt: 1113 FLINT / CHIANTI
Opt: 1139 BLACK / CARNIVAL RED
Opt: 1081 YELLOW / BLACK
Opt: 242 YELLOW VINYL
Opt: 1209 MIDNIGHT SURF / TAUPE
Opt: 1207 SEAFROST GREEN / CARNIVAL RED
Opt: 1171 BLACK / COASTAL SAND
Opt: 8 FLINT (GRAY)
Opt: 1240 BLACK SEA VINYL
Opt: 1002 GUNMETAL GRAY VINYL
Opt: 1158 BLACK / SANDPOINTE
Opt: 1224 SANDPOINT/MOON MISTY
Opt: 442 TAUPE (SAND)
Opt: 218 PARCHMENT VINYL
Opt: 1025 CARNIVAL RED VINYL
Opt: 1212 DEEP SUNTAN / SEA FROST
Opt: 1047 BLACK / MOONMISTY VINYL
Opt: 1105 BLACK / TAUPE
Opt: 1152 BLACK / PACIFIC MIST VINYL
Opt: 390 DARK GREY FAUX LEATHER
Opt: 1225 BLACK / VALENTINE
Opt: 358 BLACK / YELLOW
Opt: 1273 BLACK/QUICKSILVER
Opt: 1022 FLINT / PACIFIC MIST
Opt: 1104 CARNIVAL RED / BLACK VINYL
Opt: 1135 CARNIVAL RED / DEEP SUNTAN VINYL
Opt: 1236 BLACK SEA / PACIFIC MIST VINYL
Opt: 1345 BLACK SEA / PORPOISE
Opt: 1098 COCONUT BARK / TAUPE
Opt: 1123 CARNIVAL RED / FLINT
Opt: 1087 MIDNIGHT SURF / YELLOW VINYL
Opt: 1125 CARNIVAL RED / TAUPE
Opt: 1149 PACIFIC MIST / CARNIVAL RED
Opt: 1176 CARNIVAL / PACIFIC MIST
Opt: 1313 CARNIVAL RED / C.F. QUICK SILVER

Page 84 of 194

List Price

$84.32
$84.32
$84.32
$84.32
$85.00
$285.12
$0.00
$5.48
$8.40
$15.32
$18.08
$18.92
$24.64
$25.72
$25.96
$27.08
$27.16
$30.68
$35.28
$37.56
$40.16
$40.16
$40.24
$41.08
$41.12
$41.92
$43.04
$43.28
$44.08
$44.56
$44.56
$44.76
$46.72
$48.32
$48.32
$48.44
$48.44
$49.00
$50.16
$52.40
$53.80
$54.08
$54.08
$55.52

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 85 of 194

1156
1289
1093
329

1180
1237
1045
328

1206
327

1299
1173
1174
326

1111
1099
1186
1031
1141
1150
1122
1130
1190
1103
1205
1222
1227
1121
1092
1060
1101
1090
1145
398

1028
1051
1151
1181
1188
1059
1082
1134
1243
1258

Parts Pricing Schedule

Description

PACIFIC MIST / MIDNIGHT SURF
OVERDRIVE CHARCOAL/QUICK SILVER
BLACK / DEEP SUNTAN VINYL

BLACK / ULTRA WHITE

MIDNIGHT SURF / PACIFIC MIST VINYL
BLACK SEA / SANDPOINTE VINYL
MIDNIGHT SURF / MOONMISTY VINYL
MIDNIGHT SURF / ULTRA WHITE VINYL
PACIFICE MIST / MOON MISTY VINYL
CARNIVAL RED / MOONMISTY VINYL
HAWAIIAN RED / ULTRA WHITE
CARNIVAL RED / SANDPOINTE VINYL
CARNIVAL RED / COASTAL SAND
CARNIVAL RED / ULTRA WHITE
YELLOW / MOOM MISTY

YELLOW / MIDNIGHT SURF VINYL
YELLOW / SEA FROST GREEN
COASTAL SAND VINYL
COCONUT BARK / SANDPOINTE VINYL
SANDPOINTE / COASTAL SAND VINYL
ULTRA WHITE / BLACK

DEEP SUNTAN / BLACK VINYL
MIDNIGHT SURF / FLINT

SEA FROST / TAUPE

SEA FROST GREEN / PACIFIC MIST
ULTRA WHITE / YELLOW VINYL

DEEP SUNTAN / VALENTINE

MOOM MISTY / GRAY GUN
COCONUT BARK / PARCHMENT
MOONMISTY VINYL

COCONUT BARK VINYL

MIDNIGHT SURF VINYL

SANDPOINTE VINYL

ULTRA WHITE VINYL
COCONUT BARK / DEEP SUNTAN VINYL
MOONMISTY / MIDNIGHT SURF VINYL
COCONUT BARK / COASTAL SAND
SUNSET RED / COCONUT BARK VINYL
SANDPOINTE / COCONUT BARK

DEEP SUNTAN / COCONUT BARK VINYL
AQUA / MOON MISTY VINYL

DEEP SUNTAN / SUNSET RED VINYL
SUNSET RED/COASTAL SAND

SUNSET RED / SANDPOINTE

List Price
$56.68
$58.28
$58.48
$58.48
$61.60
$63.64
$65.32
$66.32
$68.28
$68.28
$69.24
$69.28
$69.28
$69.28
$70.64
$71.64
$71.64
$74.12
$74.96
$76.76
$76.80
$76.80
$78.64
$82.28
$82.52
$83.80
$83.80
$86.92
$87.84
$91.60
$91.60
$95.08
$95.08
$95.08
$95.88
$95.88
$95.88
$96.72
$96.72
$96.76
$96.76
$97.44
$97.68
$97.68

1/20/2019



EV Technical Services, LLC

[ = Parts Pricing Schedule
Part # Description List Price
Opt: 319 SUNSET RED / ULTRA WHITE $97.68
Opt: 1049 ULTRA WHITE / AQUA SPRAY $97.72
Opt: 1055 ULTRA WHITE / MIDNIGHT SURF VINYL $97.72
Opt: 1057 ULTRA WHITE / SUNSET RED $97.72
Opt: 1110 SANDPOINTE / MIDNIGHT SURF $97.72
Opt: 1159 SEA FROST GREEN / SANDPOINTE VINYL $97.72
Opt: 1170 SEA FROST GREEN / COASTAL SAND $97.72
Opt: 1178 MIDNIGHT SURF / COASTAL SAND VINYL $97.72
Opt: 1179 DEEP SUNTAN / SANDPOINTE VINYL $97.72
Opt: 1193 DEEP SUNTAN / COASTAL SAND $97.72
Opt: 1247 COASTAL SAND / DEEP SUNTAN VINYL $97.72
Opt: 1282 SANDPOINTE / ULTRA WHITE $97.72
Opt: 322 SEA FROST GREEN / ULTRA WHITE $97.72
Opt: CM CUSTOM FABRIC $129.12
CVG377922 * BOLSTERED SEAT BACK, COVERED $99.88
Opt: 1187 PACIFIC MIST $0.00
Opt: 1 BLACK VINYL $1.84
Opt: 8 FLINT (GRAY) $5.64
Opt: 1171 BLACK / COASTAL SAND VINYL $5.84
Opt: 242 YELLOW VINYL $8.88
Opt: 1002 GUNMETAL GRAY VINYL $9.56
Opt: 442 TAUPE (SAND) $9.56
Opt: 218 PARCHMENT VINYL $11.00
Opt: 1101 COCONUT BARK VINYL $19.92
Opt: 390 DARK GREY FAUX LEATHER $21.24
Opt: 358 BLACK / YELLOW $27.72
Opt: 327 CARNIVAL / MOON MISTY $35.68
Opt: 398 ULTRA WHITE VINYL $36.68
Opt: 1150 SANDPOINTE / COASTAL SAND VINYL $48.96
Opt: 1081 YELLOW / BLACK $63.52
Opt: 1122 ULTRA WHITE / BLACK $75.32
Opt: 1092 COCONUT BARK / PARCHMENT $77.68
Opt: 1057 ULTRA WHITE / SUNSET RED $80.24
CVG4001115 SWITCH. MAIN $83.36
CvG4001520 CONTROLLER. VANISH. 48V $1,000.00
CVG4001635 DECAL. VANISH. LOGO. GREEN $47.40
CVG4001699 VANISH MOTOR SENSOR BEARING $758.12
CVG40240 TIRE 23-10-14 4PR SAHARA CLASSIC $237.92
CvG40280 TIRE 2155/40-12 EXCEL CLASSIC $173.92
CVG40320 TIRE 205/50X10 EXCEL GOLF PRO II $143.92
CVG40321 TIRE 205/30-12 4PR EXCEL GOLF PRO $163.12
CVG40394 TIRE 215/60-8 4PR LOAD STAR D.O.T $212.96
CVG40396 TIRE. 18.5X8.50-8 4PR TRAILER KING $111.56
CVG40516 CENTER CAP. SS SNAP-IN $13.92

Page 86 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVG40549-96

CVG40650
CvG40815
CVG40822
CvG40830
CVG40831
CvG40929

CVG40944-04

CvG41149
CvG413

CVvG41725-96

CVG4208

CVvG42500-06

CVG4266
CvG460161
CvG461183
CvG461261
CVG461262
CVG461264
CVG461335
CvG461337
CvG461338
CVG461340
CVG461343
CVG461345
CVG461347
CVG461420
CVG461448
CVG461524
CvG461615
CvG461817
CvG461830
CVvG461912
CvG461913
CVG462565
CVG462607 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG462609 *

Page 87 of 194

CS
WS
HG
XX
SP
SR
SM

Description
THROTTLE CABLE
TIRE 205/65-10 EXCEL CLASSIC DOT
WHEEL 12X6 TEMPEST 2+4 SS MFB
WHEEL - 10X7 MEDUSA 3-4MFB
12X6 VENOM WHEEL. BLACK
WHEEL 12X6 VENOM
TIRE. 215/50-12 4PR EXCEL CLASSIC
REAR LIFT BLOCKS FOR
TIRE. 205/50-10LO PRO. DURO
COURTESY LAMP BLK LED RED
REAR CALIPER RH
BRAKE SHOE CC SET OF 2
HEADLIGHT BRACKET
BRAKE SHOE EZGO/YAMA SET OF 4
ASM, HYD PEDALS - TOP MOUNT
**GOVERNOR ARM, 92-95
RESISTANCE COIL
RESISTANCE COIL
RESISTANCE COIL
CHAIN, 52 LINK
CHAIN, #35, 55 LINK W/ MASTERL
CHAIN, 41 LINK, W/PIN - 535
DRIVE CHAIN - 539, 44 LINK
CHAIN, 38 LINK
CHAIN, 45 LINK
DRIVE CHAIN
DRIVE ARM ASSY - 539
ASSY ACCEL PEDAL
ASM, HYDRAULIC ACCEL. PEDAL-TOP MT
ROTOR ARM - 539
ADHESIVE PAD
HUB, FRONT WHEEL ASSY.
A-ARM ASSY. - THRU 1997
A-ARM ASSY.
PAE REAR BODY KIT (2000+)
PAINTED, C6 REAR MID BODY
BRIGHT WHITE
BIRCH WHITE PAINT
HUNTER GREEN PAINT
SPECIAL NON-METALLIC PAINT
SPECIAL PEARL PAINT
WILD STRAWBERRY RED PAINT
SPECIAL METALLIC PAINT
REAR BODY REAR C6

Parts Pricing Schedule

List Price
$30.20
$163.80
$211.12
$155.92
$187.20
$187.20
$191.92
$20.16
$124.72
$35.80
$428.40
$199.00
$4.72
$100.80
$321.28
$240.53
$45.81
$67.00
$36.36
$92.12
$38.12
$86.25
$36.76
$65.48
$147.36
$41.58
$63.60
$50.80
$118.95
$284.32
$27.68
$60.80
$144.16
$63.84
$896.32
$1,566.40
$0.00
$0.00
$9.72
$36.64
$41.20
$41.20
$45.24
$1,551.36

1/20/2019



EV Technical Services, LLC

[ = Parts Pricing Schedule
Part # Description List Price
Opt: (&) BRIGHT WHITE $0.00
Opt: WS BIRCH WHITE PAINT $0.00
Opt: HG HUNTER GREEN PAINT $9.72
Opt: XX SPECIAL NON-METALLIC PAINT $36.64
Opt: SP SPECIAL PEARL PAINT $41.20
Opt: SR WILD STRAWBERRY RED PAINT $41.20
Opt: SM SPECIAL METALLIC PAINT $45.24
CVG462627 * RHINO TUFF FRONT BODY - PAINTED $676.64
Opt: CS BRIGHT WHITE $0.00
Opt: TP TAUPE PAINT $0.00
Opt: WS BIRCH WHITE PAINT $0.00
Opt: HG HUNTER GREEN PAINT $5.84
Opt: YS SAFETY YELLOW PAINT $7.68
Opt: XX SPECIAL NON-METALLIC PAINT $22.00
Opt: (ON) INDUSTRIAL ORANGE PAINT $24.72
Opt: SP SPECIAL PEARL PAINT $24.72
Opt: SR WILD STRAWBERRY RED PAINT $24.72
Opt: SM SPECIAL METALLIC PAINT $27.16
CVG462648 * BODY,REAR,MACHINED (PAINTED) $1,895.92
Opt: CS BRIGHT WHITE $0.00
Opt: WS BIRCH WHITE PAINT $0.00
Opt: HG HUNTER GREEN PAINT $11.68
Opt: XX SPECIAL NON-METALLIC PAINT $44.00
Opt: SP SPECIAL PEARL PAINT $49.44
Opt: SR WILD STRAWBERRY RED PAINT $49.44
Opt: SM SPECIAL METALLIC PAINT $54.32
CVG462649 * REAR BODY REAR, PAINTED $1,712.84
Opt: WS BIRCH WHITE PAINT $0.00
Opt: 6E+06 FRENCH BLUE PAINT $15.32
Opt: 2E+07 PROWLER PURPLE $15.32
Opt: RS COLLEGIATE RED PAINT $15.32
CVG462652 * MID BODY $1,717.76
Opt: CS BRIGHT WHITE $0.00
Opt: WS BIRCH WHITE PAINT $0.00
Opt: HG HUNTER GREEN PAINT $9.72
Opt: XX SPECIAL NON-METALLIC PAINT $36.64
Opt: 2E+07 PROWLER PURPLE $41.20
Opt: SP SPECIAL PEARL PAINT $41.20
Opt: SR WILD STRAWBERRY RED PAINT $41.20
Opt: SM SPECIAL METALLIC PAINT $45.24
CVG462786 TRIM, FLOOR BOARD (LH) MACHINED $28.04
CVG462789 TRIM, FLOOR BOARD (RH) MACHINED $28.04
CVG462906 EXTRUSION, LH SIDE, C6 $57.56
CVG462907 EXTRUSION, RH SIDE, C6 $57.56

Page 88 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG462975
CVG463229
CVG463330
CVG463399
CvG463430
CVG463496
CvG463497
CVG463522
CVG463523
CVG463528
CVvG463708
CVG463877
CVG463882
CVG463953
CVG463961
CVG463972
CVG463975
CVG463976
CVG463977
CVG463979
CVG463989
CVG463996
CvG464040
CVG4641

CVG464193
CVG464245
CvG464286
CVG464293
CvG464306
CVG464310
CvG464341
CVG464387
CVG464462
CVG464464
CVG464578
CVG464605
CVG464611
CVG464711
CvG464764
CvG464961
CVG464963
CvG464987
CVG464992
CvG465072

Page 89 of 194

Description
TURN SIGNAL COVER MOD FOR HORN
BAGRACK ASSY., P4E/P4G
HANDLE BAR ASSY - CR-10
STEERING WHEEL ASSY., SPORT
TOW- ARM ASSY STEERING RH/P4 TOWING
CHAIN, ROLLER
23 LINK STEERING CHAIN (EX/TE)
ARM ASSY., STEERING-RH
ARM ASSY., STEERING-LH
STEERING ARM ASSY. LH
*** p&A HOSE,1/4 FUEL-7.5 FT. BLACK
ASSY, PARKING BRAKE MICROSWITCH
P&A ASM, HYD BRAKE LIGHT (REQ RUN)
SWITCH ASSY SPD CONTROL - CR-10/539
FWD & REV SWITCH - 535
DIODE, MAIN CONTACTOR
RESISTANCE COIL
SPEED SWITCH W/ ARM KIT, CR-10
ROTOR ARM ASSY
BC TURN LIGHT PIGTAIL W/GROMMET
BASE PLATE- COMPLETE
HARNESS, STROBE LIGHT IS-12
HARNESS, POLE STROBE LIGHT UTILITY
SSHUBCAP
ASM, TURN SWITCH W/ GROMMET
MICROSWITCH-SHIFTER ASSY.
MAGNET, ARM ASSY.
FUSE HOLDER ASSY, W/ 1A FUSE
*** VOLTAGE REGULATOR ASSY.
WIRE, 12V POSITIVE (RED)
P&A HARNESS, HOUR METER
ASSY. MICROSWITCH
EX21 AXLE, 12.44
EX21 AXLE, 16.99
WINDSHIELD WIPER HARNESS
HARNESS, DOME LIGHT
*** RAIN DRAIN SUNTOP,EAGLE MACH K1
ASM, DECK LUGGAGE RACK
SUNTOP, 63" P4 (WHITE) MACHINED
SUNTOP 80" MACHINED P4 78 DEG
80" SUNTOP ONLY,MACH. C6/F 78 DEG
MACH. 115" SUNTOP UTIL 78DEG
SUNTOP, MACH. 115" FOR 911 VEHICLE
SUNTOP, 115" TRAM

Parts Pricing Schedule

List Price

$23.04
$185.56
$111.36
$45.99
$67.82
$47.88
$25.92
$259.60
$326.72
$52.61
$38.48
$46.85
$35.40
$364.80
$460.84
$9.60
$38.52
$519.55
§7.76
$11.12
$156.28
$76.76
$72.80
$51.92
$137.84
$44.40
$76.26
$12.44
$33.30
$14.40
$22.80
$43.90
$1,851.28
$2,438.84
$97.92
$91.64
$332.96
$343.04
$358.00
$802.20
$802.20
$1,452.28
$1,452.28
$1,452.28

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG465237 *

Opt:

Opt:
CvG467029
CvG467031
CvG467038
CVG467045
CvG467046
CVG467050 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG467055
CVG467064
CVG467065
CvG467070
CVG467084
CVvG4671
CVG467104
CVG467127
CVG467128 *

Opt:
CVG467129 *

Opt:
CVG467130 *

Opt:
CVG467131 *

Opt:
CvG467147
CVG467153
CVG467158
CVG467162
CvVG467163
CVG467164
CVG467165
CVG467166 *

Opt:

Opt:

Opt:

Opt:

Page 90 of 194

26
218

CS
WS
HG
XX
SR
SM
SP

cw

cw

cw

cw

WS
XX
3E+06
Cp

Description

STD. CUSHION ASSY., RFS

WHITE

PARCHMENT VINYL (SEWN)
CHAIN, 39 LINK
BAGRACK CRADLE ASSY - RFS KIT
RESISTANCE COIL
SUNTOP 80" WHITE MACH. P4 78 DEG
DRILLED SUNTOP, BRITE WHITE(C6/FE)
MID BODY, C6, FS

BRIGHT WHITE

BIRCH WHITE PAINT

HUNTER GREEN PAINT

SPECIAL NON-METALLIC PAINT

WILD STRAWBERRY RED PAINT

SPECIAL METALLIC PAINT

SPECIAL PEARL PAINT
CHAIN, TIMING,3/8 PITCH(ROLL)
L.H. STEERING ARM ASSY., LIFTED
R.H. STEERING ARM ASSY., LIFTED
DIFFERENTIAL ASSY - 280/282 B,
PAD, MACH BRAKE PEDAL(TAPESWITCH)
SCORE CARD HOLDER EZ-GO
ASM, LONG ACE+ PANEL
BAG RACK STRAP
RH STEL SIDE PANEL, U-SB

BRIGHT WHITE
LH STEEL SIDE PANEL, U-SB

BRIGHT WHITE
STEEL TAILGATE, U-SB

BRIGHT WHITE
BULKHEAD, PAINTED

BRIGHT WHITE
P&A ASM, C6E FRONT MID (BUCKETS)
HEADLIGHT ASSY. (SUMMIT)
D.S. REAR SUNTOP TUBE(BUCKETS)
RIGHT HAND SPINDLE ASSY.(SUMMIT)
LEFT HAND SPINDLE ASSY.(SUMMIT)
L.H. A-ARM ASSY.(SUMMIT)
R.H. A-ARM ASSY.(SUMMIT)
PAINTED MID BODY, SMT 2

BIRCH WHITE PAINT

SPECIAL NON-METALLIC PAINT

CALYPSO GREEN

CHAMPAGNE PAINT

Parts Pricing Schedule

List Price
$1,563.88
$0.00
$16.68
$66.68
$97.76
$53.20
$765.32
$778.76
$1,423.72
$0.00
$0.00
$53.84
$85.88
$90.44
$152.92
$160.36
$311.28
$98.10
$99.70
$8,303.40
$15.12
$23.04
$1,671.44
$15.66
$688.96
$0.00
$579.20
$0.00
$804.48
$0.00
$888.24
$0.00
$384.32
$55.98
$129.48
$67.91
$74.70
$84.36
$84.36
$1,613.88
$0.00
$9.76
$12.80
$12.80

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:

Opt:
CVG467167 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG467176 *

Opt:

Opt:

Opt:

Opt:
CvG467181
CVG467184 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG467185 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Page 91 of 194

RS
SM
SR

BC
cw
WS
MB
RM
BM
cC
cp
HG
TG
FB
RS
SO
SR
SY
TR

cw
WS
XX
SP

2E+06
WS
8E+06
TG
BM
Cp

SR

BC
cw
WS
MB
BM
Cp

TG
8E+06
FB

Description

COLLEGIATE RED PAINT
SPECIAL METALLIC OR PEARL PAINT
WILD STRAWBERRY RED PAINT

MACH.,FRONT MID BODY(BUCKETS)

BRILLIANT BLACK CRYSTAL PAINT
BRIGHT WHITE
BIRCH WHITE PAINT
MIDNIGHT BLUE PAINT
RICH MOCHA PAINT
BRIGHT SILVER METALLIC PAINT
DARK CONCORD BLUE PAINT
CHAMPAGNE PAINT
HUNTER GREEN PAINT
TIMBERLINE GREEN PAINT
FRENCH BLUE PAINT
COLLEGIATE RED PAINT
SUNBURST ORANGE PAINT
WILD STRAWBERRY RED PAINT
SCREAMING YELLOW PAINT
TOREADOR RED PAINT
FRONT BUMPER COVER, PAINTED
BRIGHT WHITE
BIRCH WHITE PAINT
SPECIAL NON-METALLIC PAINT
SPECIAL METALLIC OR PEARL PAINT
CART DOCK,TAKE UP REEL(ROVR)
PAINTED REAR DECK BODY SMT. 4
BRIGHT WHITE
BIRCH WHITE PAINT
HUNTER GREEN PAINT
TIMBERLINE GREEN PAINT
BRIGHT SILVER METALLIC
CHAMPAGNE
REAR-MID BODY, SM4
WILD STRAWBERRY RED PAINT
BRILLIANT BLACK CRYSTAL PAINT
BRIGHT WHITE
BIRCH WHITE PAINT
MIDNIGHT BLUE PAINT
BRIGHT SILVER PAINT
CHAMPAGNE PAINT
TIMBERLINE GREEN PAINT
HUNTER GREEN PAINT
FRENCH BLUE PAINT

Parts Pricing Schedule

List Price
$12.80
$12.80
$12.80

$1,482.36
$0.00
$0.00
$0.00
$5.16
$5.16
$9.76
$9.76
$9.76
$9.76
$9.76
$12.80
$12.80
$12.80
$12.80
$12.80
$12.80
$440.80
$0.00
$0.00
$2.92
$3.84
$172.76
$1,684.56
$0.00
$0.00
$12.80
$12.80
$36.64
$36.64
$1,368.88
$0.00
$13.04
$13.04
$13.04
$18.16
$22.80
$22.80
$22.80
$25.84
$25.84

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:

Opt:
CVG467197
CVG467198
CVG467202
CVG467203
CVG467208
CVG467209
CVG467219
CVG467220
CVG467229
CVG467230
CVG467254
CVG467255
CVG467256
CVvG467271
CVG467274
CVG467275
CVG467277
CVG467279
CVG467285
CVG467286
CVG467287
CVG467288
CVG467289
CVG467293
CVvG467300
CVG467306
CVG467311 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG467312 *

Opt:

Opt:

Opt:

Opt:

Opt:

Page 92 of 194

Parts Pricing Schedule
Description
RS COLLEGIATE RED PAINT
sy SCREAMING YELLOW PAINT
TC TORCH RED PAINT

**BRKT. RISR. L.H., BUCKET SEAT
**BRKT. RISR. R.H., BUCKET SEAT

WIRE HARNESS(EX-21 XP+ LIGHT)

ASM, EX21 4-WHEEL FRONT AXLE
HARNESS, SMT DLX LT KIT DASH EXT.
HARNESS,SMT DLX LT HDLT ADAPT.
EXTENSION HARNESS

RESISTANCE COIL

SPNDL,BRAKE DRUM W/SPROCKET ASSY.
ASSY.,CR-10 SPINDLE & CLUSTER
KIT,CNTRLR.DIAGNSTIC UTIL.(PC BASE)
KIT,CNTRLR.CUST. UTILT.(PC BASED)

KIT, CONTRLR.CUSTOM UTILT. HANDHELD
SWITCH, HORN BUTTON

ASSY., RH SPNDL. W/BRK(SUMMIT LFT)
ASSY. LH SPNDL. W/BRK.(SUMMIT LFT)
P&A HARNESS, IS-11 XP+HEAD&TAIL LTS
ASM, TURN SWITCH, NO GROMMET
ACCL/BRAKE PEDAL MAT(IS/IR/IT)
MAT,GRIP 1"X10"(SUMMIT)

MAT GRIP 1.5"X14"(SUMMIT)
MAT,GRIP 1"X12" (SUMMIT)

47 LINK CHAIN (BC4 AXLE)

ASM, MAN BRAKE PEDAL W/O L

ASM, PARK BRAKE CATCH
ASM.,FLASHER MODULE W/DIODE
BODY, REAR UTILITY GC+10

NP PREP ONLY NO PAINT

YS SAFETY YELLOW PAINT

() BRIGHT WHITE

WS BIRCH WHITE PAINT

oS INDUSTRIAL ORANGE PAINT
XX SPECIAL NON-METALLIC PAINT
SP SPECIAL PEARL PAINT

SM SPECIAL METALLIC PAINT

PAINTED, SUV-L BODY
202308 TEXTURED WHITE
2E+06 BIRCH WHITE PAINT
2E+06 BRIGHT WHITE
9E+06 INDUSTRIAL ORANGE PAINT
2E+07 SAFETY YELLOW PAINT

List Price

$25.84
$25.84
$25.84
$32.93
$25.64
$103.00
$747.86
$37.08
$71.12
$34.56
$37.00
$968.52
$272.56
$770.04
$770.04
$689.68
$28.28
$147.48
$148.92
$194.04
$137.28
$10.16
$6.04
$7.08
$6.04
$95.05
$165.92
$41.04
$133.70
$2,860.52
$0.00
$0.00
$176.36
$176.36
$227.48
$323.00
$341.24
$357.40
$687.84
$0.00
$967.04
$967.04
$1,018.16
$1,018.16

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG467313
CVG467329
CvG467337
CVG467339
CvG467341
CVG467344
CvG467347
CVG467348
CVG467381
CVG467385
CVvG467391
CVG467392
CVG467393
CVG467394
CVG467399
CVG467400
CVG467401
CVG467403
CVG467405
CVG467407
CVG467408
CVG467410
CVvG467412
CVG467413
CVG467414
CVG467415
CVG467420
CVG467421
CVG467422
CVG467432
CVG467433
CVG467441
CVG467442
CVG467443
CvG467444
CVG467452
CVG467453
CVG467454
CVG467457
CVG467458
CVG467459
CVG467460
CVG467461
CVG467462

Page 93 of 194

Description
SUMMIT SHORT ACE+ PANEL
ACCL. PEDAL ASSY.(IS/IR/IT)
ASM, BC 4&5 ACE+ PANEL
ASM, CR10 CONTROL PANEL W/ REV
ASM, FRONT FORK W/SUSPENSION, EX
CHARGER INTERLOCK HARNESS
ASM,HORN EXTRUSION
P&A, MACH. TURN SIGNAL EXTRUSION
ASM, P4-CC 2-BAGRACK W/ SWEATER
PAINTED ROCKER, BRACKET
ASM, BC2/3 FRONT AXLE, NON-BRAKE
ASM, BC2/3 FRONT AXLE, WITH BRAKES
ASM, BC4 FRONT AXLE, WITH BRAKES
ASM, BC4SC FRONT AXLE, WITH BRAKES
ASM, BC4 REAR AXLE 3.55 19/67 SEPEX
ASM, BC4SC REAR AXLE 4.63 17/86 SEP
AXLE, P&A ASM. 3.55 BC FORD
BOTTLE OF TOUCHUP PAINT
CHARGER CORD W/ RECEPTACLE
BC WINDSHIELD WIPER HARNESS
ASM, STROBE LIGHT, AMBER
HARNESS, BC CAB STROBE LIGHT
MACH. EXTRU, P4 LH (BUCKETS)
MACH. EXTRU, P4 RH (BUCKETS)
ASM,12V RECT. AMBER LIGHT
RED FLASH LIGHT ASM, ROVR 12V
FRONT, TURN LIGHT ASSEMBLY
MACH. EXTRUSION,9.25"(SUV SHORT)
MACH. EXTRUSION 25"(SUV LONG)
HARNESS, UTIL CAB FAN
ASM, UTIL CAB FAN
HARNESS, BC POLE STROBE LIGHT
P&A,HARNESS, EX21 POLE STROBE LIGHT
P&A,HARNESS, TE31 POLE STROBE LIGHT
RED STROBE LIGHT ASSY
ASM, ISRT UPPER STEERING HUB
ASM, ISRT LOWER STEERING HUB
*** GAUGE,FUEL
ASM.,SEVCON LINEAR ACCL.
MACH. EXTRU, UTIL-S
MACH. EXTRU, UTIL-L
MACH. EXTRU, S10
MACH. EXTRU, C10 LH BTTM FRNT
MACH. EXTRU, C10 RH BTTM FRNT

Parts Pricing Schedule

List Price
$1,659.88
$494.00
$1,699.68
$859.80
$797.96
$16.96
$71.87
$13.68
$138.08
$1.06
$1,536.20
$2,979.20
$3,576.65
$3,131.76
$13,551.20
$13,924.00
$8,311.68
$33.04
$72.40
$105.84
$147.96
$111.50
$27.92
$27.92
$93.42
$89.16
$16.60
$50.96
$24.76
$109.98
$197.76
$85.08
$69.32
$71.36
$110.97
$68.48
$239.30
$237.48
$342.36
$54.28
$54.28
$24.76
$53.56
$53.56

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG467463
CVG467464
CvG467473
CVG467474
CcvG4a67477
CVG467478
CvG467479
CvG467483
CVG467490

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG467496
CvG467507
CVG467514
CVG467515
CVG467518
CvG467519
CVG467520
CvG467521
CVG467525
CVG467529
CVG467532
CVG467542

Opt:
CVG467562
CVG467565
CVG467566
CVG467567
CVG467573

Opt:

Opt:

Opt:
CVG467576
CVG467585
CVG467589
CVG467590
CVvG467591
CvG467600
CvG467601

Page 94 of 194

CS
WS
HG
XX
SP
SR
SM

202505

(@)

Description

MACH. EXTRU, C10 BTTM MID
MACH. EXTRU, C10 BTTM REAR
ASM, SMT DOME LIGHT
HARNESS, SMT DOME LIGHT
WINDSHIELD TOP MOLDING(SMT)3.637FT
BOTTOM WIND. MOLDING(SMT)3.572FT
TRIM, SMT COWL
** SIDE MOLDING(SUMMIT)6.25FT.
REAR BODY WLDT., U-SB

BRIGHT WHITE

BIRCH WHITE PAINT

HUNTER GREEN PAINT

SPECIAL NON-METALLIC PAINT

SPECIAL PEARL PAINT

WILD STRAWBERRY RED PAINT

SPECIAL METALLIC PAINT
MACH. EXTRU, C10 FRONT
ASM.(MACH.)ELECTRIC DASH
DRIVER SIDE FRONT SUNTOP TUBE(S.E.)
PASS. SIDE FRONT TUBE(S.E.)
D.S. REAR SUNTOP TUBE(BUCKETS)
PASS.SIDE REAR SUNTOP TUBE(BUCKETS)
MACH, TUBE, S10 DRIV REAR SUNTOP
MACH, TUBE, S10 PASS REAR SUNTOP
MACH.,SMT/SUV DASH LOOM
ASM, NYLON BEARING
STEERING SHAFT, 2000
PAINTED, MVP FLOORBOARD

TEXTURED YELOW
MOD CONTACTOR, DOUBLE - 48V COILS
PANEL,MVP FRONT CAB,STEEL -PAINTED
WET PAINTED BACK CAB PANEL-MVP
CVG TOP CAB PANEL PAINTED - MVP
*** HOOD, CUV

MOSSY OAK (CAMO)

OLIVE GREEN

YELLOW
SEAT BASE, BUCKET, W/ HANDBRAKE
HARNESS, CAB STROBE LIGHT, MVP
WIRE HARNESS, MAIN, IS/IR/IT
TURN SIGNAL SWITCH ASSY. W/ GROMMET
TURN SIGNAL SWITCH ASSY.
P&A ASM, SHORT BC STEEL WRAP DECK
P&A ASM, LONG BC STEEL WRAP DECK

Parts Pricing Schedule

List Price
$14.80
$12.70
$20.72

$104.04
$41.13
$10.08
$23.72
$25.84
$2,900.44
$0.00
$0.00
$31.16
$117.28
$131.88
$131.88
$144.84
$31.76
$313.56
$111.68
$121.28
$146.25
$140.80
$68.36
$78.08
$2.68
$28.80
$181.15
$195.24
$0.00
$225.08
$494.20
$359.80
$400.00
$38.32
$0.00
$0.00
$0.00
$281.24
$83.08
$149.60
$160.08
$179.19
$236.96
$322.44

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG467602
CvG467617
CVG467618
CVG467619
CVG467646
CVG467647
CVG467660
CVG467664
CVG467666
CVG467675
CVG467676
CVG467678
CVvG467679
CVG467680
CVG467682
CVG467683
CVG467684
CVG467685
CVG467686

Opt:

Opt:
CvG467687

Opt:

Opt:
CVG467690
CvG467693
CVG467696
CvG467700
CVvG467702
CVG467705
CvG467707
CVG467718
CvG467719
CVvG467720
CvG467721
CVG467722
CvG467723
CVG467724
CVG467725
CVG467726
CVvG467727
CVG467728
CvG467740
CVG467752

Page 95 of 194

BW
WP

BW
WP

Description
*** MEGA HEATER SHROUDS ASM
TIRE/WHEEL FOAM FILL 145R12 5-HOLE
HARNESS, BC DC/DC EXTENSION
HARNESS, BC 12V OUTLET
*** MEGA MOTOR AIR HOSE
*** MEGA HEATER AIR HOSE
BODY SEAL
ASM, SPEEDOMETER W/CUP
HEADLIGHTS, GLASS (PAIR)
ASM, 2010 SEATBASE WITH HANDBRAKE
ASM, 2010 SEATBASE WITH COVER
HI/LOW HEADLIGHT ASSEMBLY
HARNESS,WIPER/WASHER
HARNESS, HI/LOW HEADLIGHT
TRIM, 2010 SUV-CAB ROOF
TRIM, 2010 SMT4 CAB ROOF
ASM,STEERING SHROUD WITH HORN
HARNESS, HI/LOW BEAM, ADAPTER
RH DOOR, SMT 2010, COMPLETE ASSY
BRIGHT WHITE
WET PAINT
LH DOOR, SMT 2010, COMPLETE ASSY
BRIGHT WHITE
WET PAINT
CAULKED, PWDR COAT'D WHT, CAB SMT 2
WIP/WASH SWITCH, W/BLADE CONNECTOR
SEVCON BETA REGEN CONTR. 24-48V
HARNESS, BC DOME LIGHT
*** MEGA PEDAL CLUSTER ASSY. W/PADS
SUV-CAB J TRIM
MAIN WIRE HARNESS, BC,SEM,PWR
ASM, CONNECTOR, ISRT CONTROLLER
CONNECTOR, BATTERY, IS/IR
ASM, ISRT ACEPLUS PANEL (ROLL-OUT)
ASM, HARNESS, HORN ISRT (ROLL-OUT)
ASM, CONNECTOR, BC DIST BLOCK
ASM, CONNECTOR, BC BATT TRAY
ASM, BC 36V US2200 BATT BOX
ASM, BC 36V US145 BATT BOX
ASM, BC 48V US2200 BATT BOX
ASM, BC 48V US145 BATT BOX
ASM, BC TRANSFER STAND
PAINTED, SUV CAB
MACH, EXTRU, SUV-S 4.25

Parts Pricing Schedule

List Price
$187.44
$508.05

$21.04
$102.88
$16.92
$14.20
$5.44
$495.12
$131.68
$347.76
$221.32
$176.70
$111.88
$228.64
$38.36
S47.96
$159.88
$65.48
$1,569.92
$0.00
$162.52
$1,569.28
$0.00
$231.20
$2,834.28
$59.10
$1,132.84
$100.40
$691.68
$18.00
S480.78
$79.10
$101.56
$1,652.58
$57.68
$116.72
$109.52
$2,839.06
$3,789.94
$3,695.84
$4,900.60
$992.06
$4,967.40
$14.28

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG467753
CvG467761
CVG467763
CVG467764
CVG467780
CVG467781
CVG467783
CVG467785
CVG467795
CVG467796
CVG467798
CVG467799
CvG467813
CvG467838
CvG467839
CvG467840
CvG467841
CVG467842
CvG467843
CvG467846
CvG467847
CVG467854
CVG467855 *

Opt:
CvG467858
CvG467867
CVG467868
CvG467881
CvG467882
CVG467883
CVG467884
CVG467885
CVvG467892
CVvG467900
CvG467903
CVG467909
CVG467910
CvG467911
CVG467912
CVG467914 *

Opt:

Opt:

Opt:

Opt:

Page 96 of 194

cw

2E+06

3E+06
8E+06

Description
MACH, EXTRU, NEV2 5.00
5 HOLE HUB(UTILITY&INDUST.)
ASM, HUB DISC, 4-LUG
ASM, HUB DISC, 5-LUG
HARNESS, WIPER MOTOR
PAINTED, SUV TOP
CAULKED, PWDR COATED SUV TOP, WHITE
TRIM, SUV ROOF, 63.00
ASM, HUB, 4-HOLE
BLUE MOLY ANTI SEIZE- 1/2 OZ PKG
ASM, FRONT HUB, EX
ASSEMBLY, BURDEN CARRIER, FRONT HUB
ASM, ACCESS DOOR PAINTED
PROG ALG126 48V CHARGER, DC115-12
PROG ALG42 48V CHARGER, 8AGC2
48V PORTABLE CHARGER ASM
36V PORTABLE CHARGER ASM
PROG ALG42 24V CHARGER, 8AGC2
24V PORTABLE CHARGER ASM
EX21 BRAKE PEDAL ASM
EX21 BRAKE SWICH HARNESS ADAPT
TOUCH UP PAINT,AEROSOL-DS, LOCKHEED
ANTI GLARE CAB KIT,LESS DOORS(B.C.)
BRIGHT WHITE
ASM, BC ACEPLUS PANEL, CHANNEL MNT
ASM, CONTROLLER, P5 SEVCON DC REGEN
ASM, P5 STEERING COLUMN, NON-LOCK
ASM, WINDSHEILD, - WIPER PATTERN
ASM, P5 STEERING COLUMN, LOCKING
ASM, LOWER A-ARM ASSY
ASM, A-ARM UPPER ASSY
ASM, P5 BRAKE PEDAL
ASM, 1S12 LAD
ASM, 12V DC/DC DUAL CONV P5
OBS ASM, P5, REAR FACING SEAT
ASM, TAILLAMP BEZEL, RH - P5
ASM, TAILLAMP BEZEL, LH - P5
P&A, STEER, SPORT, TURN CANCL -P5
P&A, STEER, COMFRT, TURN CANCEL-P5
ASM, PAINTED FRNT BODY, W/O LT, P5
BRILLIANT BLACK CRYSTAL METALLIC
TITANIUM WHITE
CHARCOAL GRAY METALLIC
HUNTER GREEN

Parts Pricing Schedule

List Price
$6.60
$354.12
$299.72
$300.88
$78.84
$2,580.92
$2,279.34
$24.08
$59.36
$4.04
$128.97
$170.70
$284.28
$967.48
$967.48
$1,050.80
$1,021.96
$967.48
$1,021.96
$140.88
$13.36
$20.16
$5,074.96
$0.00
$1,669.56
$2,135.08
$169.24
$472.68
$400.64
$159.44
$123.60
$442.00
$418.68
$979.02
$264.56
$155.92
$155.92
$57.56
$80.12
$2,428.56
$0.00
$18.04
$45.00
$45.00

1/20/2019



EV Technical Services, LLC

[ = Parts Pricing Schedule
Part # Description

Opt: 2E+07 SCREAMING YELLOW

Opt: 4E+06 DARK CONCORD BLUE METALLIC

Opt: 2E+07 ROOT BEER PEARL

Opt: 4E+06 DESIGNER BRONZE EFFECT

Opt: 7E+06 GREEN RAVE METALLIC

Opt: 2E+07 REFLEX SILVER METALLIC

Opt: 2E+07 TOREADOR RED

Opt: 2E+07 WHITE DIAMOND PEARL
CVG467919 * ASM, PAINTED HOOD, P5

Opt: 0 TITANIUM WHITE

Opt: 2E+07 RICH MOCHA

Opt: 3E+06 CHAMPAGNE

Opt: 3E+06 CHARCOAL GRAY METALLIC

Opt: 3E+06 COLLEGIATE RED

Opt: 6E+06 FRENCH BLUE

Opt: 8E+06 HUNTER GREEN

Opt: 2E+07 SCREAMING YELLOW

Opt: 2E+07 WILD STRAWBERRY RED

Opt: 2E+06 BRILLIANT BLACK CRYSTAL METALLIC

Opt: 4E+06 DARK CONCORD BLUE METALLIC

Opt: 2E+07 ROOT BEER PEARL

Opt: 2E+07 TOREADOR RED

Opt: 4E+06 DESIGNER BRONZE EFFECT

Opt: 7E+06 GREEN RAVE METALLIC

Opt: 1E+07 LUXO BLUE PEARL

Opt: 2E+07 REFLEX SILVER METALLIC

Opt: 2E+07 SUNBURST ORANGE

Opt: 2E+07 VERMILLION RED

Opt: 2E+07 WAVE BLUE

Opt: 2E+06 BRIGHT SILVER

Opt: 0 NO PAINT

Opt: 2E+07 WHITE DIAMOND PEARL
CVG467920 * ASM, PAINTED MID-BODY, P5

Opt: 2E+06 BRILLIANT BLACK CRYSTAL METALLIC

Opt: 0 TITANIUM WHITE

Opt: 3E+06 CHARCOAL GRAY METALLIC

Opt: 8E+06 HUNTER GREEN

Opt: 2E+07 SCREAMING YELLOW

Opt: 4E+06 DARK CONCORD BLUE METALLIC

Opt: 2E+07 ROOT BEER PEARL

Opt: 4E+06 DESIGNER BRONZE EFFECT

Opt: 7E+06 GREEN RAVE METALLIC

Opt: 2E+07 REFLEX SILVER METALLIC

Opt: 2E+07 TOREADOR RED

Page 97 of 194

List Price
$45.00
$54.48

$183.00
$193.72
$193.72
$193.72
$193.72
$338.20
$225.12
$0.00
$0.00
$4.04
$4.04
$4.04
$4.04
$4.04
$4.04
$4.04
$5.12
$5.44
$56.36
$72.16
$72.32
$72.32
$72.32
$72.32
$72.32
$72.32
$72.32
$73.72
$124.56
$136.72
$674.20
$0.00
$12.16
$30.36
$30.36
$30.36
$36.76
$139.56
$146.76
$146.76
$146.76
$146.76

1/20/2019



EV Technical Services, LLC

[ = Parts Pricing Schedule
Part # Description List Price
Opt: 2E+07 WHITE DIAMOND PEARL $294.00
CVG467924 * ASM, PAINTED FRONT BODY W/HDLT, P5 $2,867.96
Opt: 2E+06 BRILLIANT BLACK CRYSTAL METALLIC $0.00
Opt: 0 TITANIUM WHITE $18.04
Opt: 3E+06 CHARCOAL GRAY METALLIC $45.00
Opt: 3E+06 COLLEGIATE RED $45.00
Opt: 8E+06 HUNTER GREEN $45.00
Opt: 1E+07 MIDNIGHT BLUE $45.00
Opt: 2E+07 SAFETY YELLOW $45.00
Opt: 2E+07 SCREAMING YELLOW $45.00
Opt: 2E+07 WILD STRAWBERRY RED $45.00
Opt: 4E+06 DARK CONCORD BLUE METALLIC $54.48
Opt: 2E+07 ROOT BEER PEARL $179.80
Opt: 4E+06 DESIGNER BRONZE EFFECT $190.52
Opt: 7E+06 GREEN RAVE METALLIC $190.52
Opt: 1E+07 LUXO BLUE $190.52
Opt: 2E+07 REFLEX SILVER METALLIC $190.52
Opt: 2E+07 TOREADOR RED $190.52
Opt: 2E+06 BRIGHT SILVER $200.00
Opt: 2E+07 WHITE DIAMOND PEARL $380.44
CVG467926 * PAINTED PANEL, LH REAR FENDER, P5 $400.92
Opt: 2E+06 BRILLIANT BLACK CRYSTAL METALLIC $0.00
Opt: 0 TITANIUM WHITE $6.12
Opt: 3E+06 CHARCOAL GRAY METALLIC $15.20
Opt: 8E+06 HUNTER GREEN $15.20
Opt: 2E+07 SCREAMING YELLOW $15.20
Opt: 4E+06 DARK CONCORD BLUE METALLIC $18.40
Opt: 2E+07 ROOT BEER PEARL $133.84
Opt: 4E+06 DESIGNER BRONZE EFFECT $137.44
Opt: 7E+06 GREEN RAVE METALLIC $137.44
Opt: 2E+07 REFLEX SILVER METALLIC $137.44
Opt: 2E+07 TOREADOR RED $137.44
Opt: 2E+07 WHITE DIAMOND PEARL $324.48
CVG467927 * PAINTED PANEL, RH REAR FENDER, P5 $400.92
Opt: 2E+06 BRILLIANT BLACK CRYSTAL METALLIC $0.00
Opt: 4E+06 DARK CONCORD BLUE METALLIC $1.92
Opt: 0 TITANIUM WHITE $6.12
Opt: 3E+06 CHARCOAL GRAY METALLIC $15.20
Opt: 8E+06 HUNTER GREEN $15.20
Opt: 2E+07 SCREAMING YELLOW $15.20
Opt: 2E+07 ROOT BEER PEARL $126.68
Opt: 4E+06 DESIGNER BRONZE EFFECT $130.28
Opt: 7E+06 GREEN RAVE METALLIC $130.28
Opt: 2E+07 REFLEX SILVER METALLIC $130.28
Page 98 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:
CVG467928
CvG467930
CVG467939
CVG467942
CVG467948
CVG467949
CVG467952
CVG467956
CVvG467957
CVG467975
CVG467985
CvG467986
CvG468003
CvVG468004
CvG468005
CvG468007
CVG468016
CVG468024
CVvG468030
CvG468031
CVG468036
CvG468039
CVG468050
CvG468053
CVG468055
CvG468059
CVG468063
CvG468064
CVG468065
CVG468067 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Page 99 of 194

2E+07
2E+07

8E+06
2E+06

3E+06
3E+06
2E+07
4E+06
2E+07
4E+06
7E+06
2E+07
2E+07

Description

TOREADOR RED

WHITE DIAMOND PEARL
ASM, HIGH/LOW HEADLIGHT - P5
ASM, KIT, FAN, MAT CHARGER
ASM, EX21 ACE+ PANEL (FUSE BLOCK)
***ASM SIDE PANEL,DROPSIDE,WHT,MEGA
CVG, 12" EXT BED PANEL PNTD
CVG, HARNESS 12" TAILIGHT EXTENSION
KINGPIN ASSY (BC/MVP)
HARNESS, EX21 STROBE, POLE
HARNESS, TE31 STROBE, POLE
BASE FRAME, SAT -LOCKHEED DESERT SA
ASM, REGEN CONTRL, SU5-S
ASM, PANEL, CLEARVIEW DISPLAY, P5
ASM, LED HIGH/LOW HEADLIGHT - P5
ASM, REMOTE CONTROL, BC DUMP BOX
ASM, HARNESS, POWER, BC REFUSE
ASM, HARN, BRK INTERLOCK, SU5
CVG CHASSIS WLDMNT. P4E
ASM, CVG, DASH W/ HEATER BLOWER
ASM, PANEL, SMARTVIEW DISPLAY, P5
ASM, PEDAL ACLTR DEVICE (PAD) AHERN
HARNESS, MVP FAN
ASM, HARNESS,HNDBRK INTERLK RELAY
ASM, CHARGR INTRLOCK EXT - MVP
HARNESS, MVP BACK-UP LIGHT
PROG, ALG 42, 36V, CHARGER,
HARNESS, HANDBRAKE SWITCH
ASM, SPRING, 5-LEAF
PNTED, MID-BODY, BENCH, PROCHARGER
PANEL, MID-BODY, BUCKET, PROCHARGER
ASM, PAINTED REAR BOD,Y P5

HUNTER GREEN

BRILLIANT BLACK CRYSTAL METALLIC

TITANIUM WHITE

CHARCOAL GRAY METALLIC

COLLEGIATE RED

SCREAMING YELLOW

DARK CONCORD BLUE METALLIC

ROOT BEER PEARL

DESIGNER BRONZE EFFECT

GREEN RAVE METALLIC

REFLEX SILVER METALLIC

TOREADOR RED

Parts Pricing Schedule

List Price

$130.28
$324.48
$61.64
$176.80
$1,621.44
$541.28
$218.76
$36.92
$13.04
$73.78
$72.62
$795.88
$2,662.36
$604.40
$428.40
$431.96
$70.68
$27.48
$1,871.48
$319.72
$324.16
$379.75
$29.88
$58.28
$17.56
$202.20
$967.48
$17.12
$223.25
$735.04
$708.24
$2,918.56
$0.00
$104.76
$116.92
$135.12
$135.12
$135.12
$141.52
$365.24
$372.44
$372.44
$372.44
$372.44

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:
CvG468069
CVvG468070
CvG468071
CvG468073
CvG468074
CVG468075
CvG468079
CvG468080
CvG468082
CvG468083
CvG468085
CvG468086
CvG468087
CvG468089
CVG468094
CVG468095
CvG468096
CVG468099
CvG468103
CVG468104
CvG468105
CVvG468110
CvG468111
CvG468112
CvG468113
CvG468114
CvG468115
CVG468116
CvG468123
CVG468124
CvG468125
CvG468127
CvG468128
CvG468132
CvG468133
CvG468134
CVG468136
CvG468137
CvG468139
CvG468140
CvG468141
CvG468142
CvG468143

Page 100 of 194

2E+07

Description

WHITE DIAMOND PEARL
SINGLE STAGE, MID BODY, PRO CHARGER
BASE CLEAR, MID BODY, PROCHARGER
HOK, MID BODY, PROCHARGER
ASSY, HUB, 4-BOLT, P&A
ASSY, HUB, BOLT ON DISC BRAKE
P&A ASSY, HUB BOLT ON DISC BRAKE
ASSY, SINGLE DOOR HANDLE, SU5
ASM, CORD REEL
ASSY, LATCH, LH
ASSY, LATCH, RH
ASSY, RELEASE CABLE
PNTD, BRAKE CALIPER, RH FRONT
PNTD, BRAKE CALIPER, LH FRONT
WINDSHIELD, GLASS, MVP CAB
KEYS, CURTIS CAB DOOR, 1 SET OF 2
ASM, REAR SSPNSN 16.77, 5KW, SU5-2
ASM, REAR SUSPSN, 10.37, 8KW, SU5-2
ASM, REAR SSPNSN, 16.77, 8KW, SU5-2
ASM 450A CNTRL PANEL, BC, 2017
*** 20" CHARGER CORD ASSEMBLY
ASM,LCKSTRING KEYSWCH, KEYED ALIKE
HARNESS, POWER, SU5-L DUMP
CONTROL,SEVCON GEN4, 275A
SNGL STG LOW PROFILE REAR BODY P5-H
CRATE ASM, BC ANTIGLARE CAB W/DOORS
CRATE ASM, BC ANTIGLARE CAB W/L DRS
P&A MACH. RAINDRAIN P4 BLK 68 DEG.
MACH. RAINDRAIN P4/UTIL BLK 78 DEG
P&A, BC4 MASTER CYLINDER
ASSY, HARNESS, BRK, SW EXTENSION
AMS, LOCK STEERING KEYSWITCH
NYOGEL 774VHF-MS 1CC PIPETTE
ASM, FRONT SUSPENSION SU5-2
ASM, CONTACTOR, 48V, GX11FA-3
ASM, FAN, HEATSINK
HARNESS, FAN, SU5 HEATSINK
ASM, FRONT SUSPENSION, OFFSET BRAKE
ASM, FRNT SPNSN, OFFSET BRK, 2"LIFT
ASM, RELEASE CABLE
ASM, CR10 MAIN PANEL
TUBE, BAG RACK SPRT, TXT BLK
ASM, 1S12 FRONT AXLE
HARNESS, FWD/REV TOGGLE SW ADAPT

Parts Pricing Schedule

List Price

$657.00
$595.08
$650.21
$704.93
$196.08
$312.64
$324.00
$83.96
$322.60
$98.42
$98.42
$113.04
$483.72
$483.72
$456.04
$33.84
$4,059.16
$4,774.64
$4,774.64
$2,443.00
$43.56
$56.04
$73.60
$1,209.08
$1,145.66
$4,468.08
$4,515.36
$287.68
$298.28
$74.20
$23.96
$60.64
$10.36
$2,358.08
$243.44
$111.16
$40.48
$2,142.56
$2,398.32
$112.68
$943.32
$64.80
$273.48
$37.60

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG468145
CvG468146
CcvG468147
CVG468148
CvG468159
CvG468160
CvG468162
CvG468163
CVG468165
CvG468166
CVvG468176
CVG468178
CvG468181
CvG468182

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CvG468184
CvG468185
CvG468186
CvG468191
CvG468192
CvG468193
CvG468194
CVG468195
CVG468196
CvG468200
CVvG468201
CVG468202
CvG468203
CVG468204
CvG468211
CVvG468212
CvG468214
CVG468224

Page 101 of 194

2E+06

3E+06
8E+06
2E+07
4E+06
2E+07
4E+06
7E+06
2E+07
2E+07
2E+07

Description
ASM, RACK, CRADLE, EMERGE
P&A KIT, EMERGE BAG RACK
ASM, OFFSET DISC HUB, 5-LUG
ASM, UPPER A-ARM SU5-2
CHARGER,NG3
ASM, PEDALS, SU5-2
ASM, LOWER A-ARM SU5-2
ASM, STEERING SHAFT, SU5-2
ASM, BRACKET WINDSHIELD
ENCLOSURE,VAN,BC-L
ASM, CHARGER CORD, 90 DEGREE PLUG
ASM, DOME LIGHT, LED
HARNESS, SU5 DOME LIGHT, CAB/VAN
ASM, PAINTED MID-BODY, LESTER CHRGR
BRILLIANT BLACK CRYSTAL METALLIC
TITANIUM WHITE
CHARCOAL GRAY METALLIC
HUNTER GREEN
SCREAMING YELLOW
DARK CONCORD BLUE METALLIC
ROOT BEER PEARL
DESIGNER BRONZE EFFECT
GREEN RAVE METALLIC
REFLEX SILVER METALLIC
TOREADOR RED
WHITE DIAMOND PEARL
KIT,LIFT ASSIST,BCKT/BNCH ST,EMERGE
EXT LADDER WLDMT, TXT BLK, W/INSERT
HNDGRP LDDR BOLTON, TXTBLK, W/INSRT
P&A, ASM, HUB, OFFSET DISC, 4 BOLT
P&A, ASM, ISRT AXLE, 16.99
P&A, ASM, ISRT AXLE, 12.44
DUAL, DC CONVERTER RELAY CIRCUIT
ASM,HARNESS ADPTR,LISC PLT/RFS FTRT
PROGRAMMED CHARGER, LESTER, 48V AGM
P&A, HEATER W/HARNESS, BC 48V
P&A, HEATER W/HARNESS, SMT 48V
P&A, HARNESS, HEATER, BC 48V
P&A HARNESS, HEATER, SMT 48V
ASM, PAD SUSPENDED, SU5-2
STEERING SHAFT, ASM, 39" OAL
STEERING SHAFT, ASM, EX21
ASM,450A AC CNTRLR, HTSNK, SU5-L-2
ASM, TUBE, SUNTOP, FRNT, LH, C6/EU4

Parts Pricing Schedule

List Price
$75.16
$289.24
$392.08
$117.32
$2,484.12
$575.88
$148.64
$155.72
$11.68
$6,578.76
$49.16
$37.56
$106.80
$675.36
$0.00
$12.20
$30.40
$30.40
$30.40
$36.80
$132.20
$139.44
$139.44
$139.44
$139.44
$280.56
$381.12
$275.62
$136.62
$371.52
$2,328.72
$1,845.28
$56.04
$11.28
$779.20
$621.16
$620.56
$136.88
$139.72
$363.72
$239.08
$253.12
$3,021.08
$158.12

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG468225
CVG468228
CvG468229
CVG468230
CvG468231
CVG468232
CVG468233
CVG468234
CVG468244
CvG468247
CvG468248
CVG468250
CVG468251
CVG468252
CVG468253
CVG468257
CVG468260
CVG468263
CVG468264
CVG468265
CVG468266
CVG468267
CVG468268
CVG468269
CVG468270
CVG468271
CVG468272
CVG468273
CVG468274
CVG468275
CVG468276
CVG468277
CVG468278
CVG468280
CVG468281
CVG468282
CVG468283
CVG468284
CVG468285
CVG468286
CvG468287
CVvG468288
CVG468290
CvG468291

Page 102 of 194

Description
ASM, TUBE, SUNTOP, FRNT, RH, C6/EU4
HRNSS, BRK BYPASS SWTCH, JRNYMN-2XL
P&A, LABEL, VIN, SMALL
P&A, LABEL, NEV VIN
P&A, LABEL, BC VIN
P&A, LABEL, ELEC UTIL VIN
P&A, LABEL, IND VIN
P&A, LABEL, VIN - MVP - LONG
PRGRMD CHRGR, LESTER, AGM, JRNYMAN
ASM, TRAILING LINK, LIFT KIT
P5 ELEC HARNESS, FOR USE W/761097
ASM, LED, 1C1200 REMOTE
HARNESS, BATTERY, IC 1200, BC
HARNESS, INTERLOCK, IC 1200, BC
ASM, HARNESS, STROBE LIGHT, JM-2XL
ASM, CONNECTOR, BC DIST. BLOCK
PROG, CLEARVIEW, SEPARATE BDI
HARNESS, REAR-VIEW CAMERA, SU
ASSY, 23-X10.00-14 FOR WHEEL 900006
HARNESS, REAR-VIEW CAMERA, JM-2XL
ASM, AXLE, 10.35, HYD
ASM, AXLE, 12.44, HYD
ASM, AXLE, 14.76, HYD
ASM, AXLE, 16.99, HYD
HARNESS REAR-VIEW CAMERA, JM
HARNESS, EXT, LESTER DISPLAY, SU
HARNESS, REAR-VIEW CAMERA, VAN, SU
P&A KIT,REPLACEMNT SWTCH, BRK LIGHT
SCREW 3/8-24 X 3 HEX CAP (W/NUT)
PROG ALG 1, 48V DELTA Q CHARGER
PROG ALG 1, 24V DELTA Q CHARGER
PROG ALG 1, 36V DELTA Q CHARGER
HARNESS, REAR-VIEW CAMERA, VAN, IM
HARNESS, WINCH, FRONT, ESCAPE
HARNESS, WINCH, ESCAPE
HARNESS, WINCHM BAT, ESCAPE
HARNESS, BRAKE LIGHT EXT, SU
HARNESS, DIGITAL BDI, UT
ASM, PNL, CLRVW + DIGITAL BDI, UT
HARNESS, DIGITAL BDI, BC
HARNESS, BACK-UP LIGHT EXT, UT
HARNESS, LICENSE LIGHT, EXT, UT
P&A, BRAKE PAD, (PR)
P&A, BRAKE SHOE (M-18 AXLE) (PR)

Parts Pricing Schedule

List Price
$173.88
$29.16
$2.84
$12.72
$12.72
$12.72
$12.72
$12.72
$778.68
$235.52
$78.12
$49.32
$43.04
$26.16
$77.40
$114.56
$576.76
$136.76
$486.64
$137.96
$2,452.44
$2,621.32
$2,565.72
$2,248.64
$117.96
$104.52
$142.28
$24.16
$4.32
$967.48
$967.48
$880.54
$131.32
$38.80
$39.68
$71.20
$30.52
$66.32
$687.00
$147.76
$27.88
$27.56
$83.48
$108.76

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVG468292
CvG468293
CVG468294
CvG468295
CVG468296
CVG468297
CVvG468298
CvG468299
CVvG468300
CvG468802
CvG468804
CvG468807
CvG468809
CvG468810
CvG468811
CvG468812
CvG468813
CvG468816
CvG468817
CvG468820
CvG468823
CvG468826
CvG468827
CvG468828
CVvG468830
CvG468831
CvG468832
CvG468835
CVG468836
CvG468837
CvG468838
CvG468839
CVG4799-4608-1208
CvG48021
CvG4818PC
CVG4930
CvG4931
CvG500710
CVvG50088-99
CVvG50102-04
CVG50201-89A
CVG50202-89A
CVG50263-89
CVG503405

Page 103 of 194

Description
P&A, BRAKE SHOW, CR-10, (PR)
P&A, BRAKE PADE, ORGANIC (PR)
P&A, SET, LEAF SPRING ASM, 8 LEAF
P&A SET,LEAF SPRNG ASM, 4-LEAF SSPN
P&A SET, LEAF SPRNG ASM,6-LEAF SSPN
P&A SET, SPRING 7 LEAF
P&A SET, SPRING 4 LEAF
P&A SET, SPRING, 3 LEAF,EXTEND MID
P&A SET, SPRING,3-LEAF,1500LB
CVG, ASM, 12V DC/DC SNGL CONV
HARNESS, 12V ACCESSORY
P&A, CLUB GUARD BAR, P5
ASM, END PANEL, DROPSIDE, SUV
ASM, SIDE PANEL, DROPSIDE SUV-S
ASM, SIDE PANEL, DROPSIDE, SUV-L
ASM, SIDE PANEL, DROPSDE, SUV-L-EXT
ASM, SIDE PANEL, DROPSIDE, SMT4
ASM, STEERING SPINDLE, RH
HARNESS, DOME LIGHT, MVP
ASM, PANEL, SEVCON AC, BC
ASM, HARNS, ADPTR, LICENSE LT RFS F
ASM, OFFSET DISC HUB, 5-LUG
ASM, HARNESS HDBRK INTRLCK SWTCH,BC
ASM, PEDALS, HYD BRAKES, P5
ASM, PARK BRK PEDAL, P5 HYD
ASM, WIPER HARNESS EXT, P5
ASM, BRK INTERLOCK SW, P5 HYD
ASM, SWITCH, HORN, FLOOR MNT
ASM, CHARGER INTRLK HARNESS
CVG, HARNESS, LED WK LIGHT, BC
ASM, HARNESS STROBE, SU5
ASM, HARNESS, ACTUATOR, BC
ELITE ENCLOSURE
48-V @ 2AMP BATTERY MINDER
48V 18AMP OUTPUT ONBOARD PC CHRG
SAND BOTTLE
SAND BOTTLE/HOLDER/BRACKET KIT
BEARNG,HDPE,BLK
TRIM PANEL - RIGHT S
PAINTED SMT.2 TOURING REAR BODY
BAGWELL MAT RIGHT
MAT - RIGHT BAGWELL
DOUBLE HINGE MID
SWIVEL PLATE(TRAM TRAILER)

Parts Pricing Schedule

List Price
$96.28
$81.20

$526.92
$238.68
$505.20
$466.40
$440.82
$144.82
$156.22
$581.44
$438.60
$68.04
$239.00
$616.28
$584.04
$594.44
$543.92
$47.96
$84.30
$2,372.28
$9.08
$392.08
$27.68
$552.84
$311.08
$9.04
$40.20
$185.92
$21.80
$60.60
$64.17
$33.04
$1,927.80
$535.08
$1,108.00
$29.92
$51.00
$2.00
$4.08
$1,549.80
$5.24
$5.44
$2.84
$17.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVvG503862
CVvG50479-01
CVvG504939
CvG505032
CVG505039TB
CVvG506336
CVG50636-00
CvG506505B
CvG506613BU
CvG506614BU
CVG507136PL
CVG507256TB
CVG507269 *

Opt:

Opt:

Opt:

Opt:
CVG507270 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVvG507343
CvG507391
CVvG50749-01
CVvG507980
CVvG508486
CvG508747
CvG508801
CvG508803TB
CvG508893
CvG508915
CVvG508959
CvG508991
CvG508993
CvG509017
CVG509058
CvG509151
CVG509154PL
CvG509161
CVvG509162
CvG509167

Page 104 of 194

202308
201518
202505
XX

202308
(0N
201518
YS
202505
XX

Description

FLOOR BOARD TUBE,FRONT
LX FRONT BODY KIT
RAIL SPACER
PLYWOOD DECK, DTU BED
TONGUE, DTU TRAILER, TXT BLK
LOWER FLOORBOARD
TURN SIGNAL COLUMN C
CRADLE BAG
907 LH ARM & HRDWR., BLACK
907 RH ARM & HRDWR., BLACK
CVG SPCR - PLATED
CHARIOT, CONTROL COVER, TXT BLK
FENDER, L.H. CR-10, PAINTED
TEXTURE WHITE
TEXTURED ORANGE
TEXTURED YELLOW
SPECIAL NON-METALLIC PAINT
FENDER, R.H. CR-10, PAINTED
TEXTURED WHITE
INDUSTRIAL ORANGE PAINT
TEXTURED ORANGE
SAFETY YELLOW PAINT
TEXTURED YELLOW
SPECIAL NON-METALLIC PAINT
BRACKET,SHAFT
ACCL. PEDAL BRACKET
LX FRONT BODY KIT
PINCH WARNING LABEL
AF MOLDED SELF SKINNED - BLK
ARM SPACER
CVG COVER, JAG, 14 GA.
COUNTER WEIGHT(ISRT)
BAR GUIDE-SPRING
SPACER, RACK & PINION MTG.
CONNECTOR, 3 WAY, STOPLIGHT SW
SUPPORT ANGLE, MID BODY C6
SPACER, WINDSHIELD WIPER
REAR BMPR. ONE PIECE
WELDMENT, ACCEL ARM
PEDAL, ACCELERATOR
BRAKE EQUALIZER
PLATE,RETAINING,AXLE
TAB, ELEC CABLE MTG
BRACKET, FORK LH

Parts Pricing Schedule

List Price
$33.48
$6,123.32
$2.00
$138.24
$130.52
$31.00
$10.56
$23.20
$25.64
$25.36
$1.72
$35.82
$43.80
$0.00
$0.60
$19.48
$60.48
$40.96
$0.00
$4.32
$4.80
$12.84
$18.72
$51.00
$6.68
$5.52
$3,056.68
$1.00
$11.00
$5.75
$11.20
$90.00
$11.60
$3.65
$20.16
$18.72
$4.88
$46.17
$4.47
$31.44
$6.05
$6.96
$5.56
$29.75

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG509168
CvG509171
CvG509190
CVG509193
CvG509194
CVG509195
CVvG509196
CVG509197
CvG509198
CVG509203
CvG509212
CVG509215
CvG509230
CVG509231
CVG509237
CVG509238
CvG509240
CVG509250
CVG509251
CVG509254
CVG509255
CVG509262

CVG509269TB

CVG509303
CVvG509344
CVG509377
CVvG509378
CVG509422
CVG509505
CVG509532
CVG509533
CVG509534
CVG509577
CVG509578

CVG509591TB

CVvG509597
CVG509599
CVG509633
CVG509634
CVG509635

CvG509638TB
CVG509639TB

CVG509658
CVG509676

Page 105 of 194

Description

BRACKET, FORK RH

CVG EX-21 FORK HALF CLAMP
RETAINER, STABLIZER

MT CALIPER BC FORD AXLE

MT LH PARK CABLE-BC FORD AXL
MT RH PARK CABLE-BC FORD AXL
CPC PAD SPRING-BC FORD AXLE
RH LIFT OFF CAB HINGE(BC, EX-21)
LH LIFT OFF HINGE(BC, EX-21)
BRACKET, HEADLIGHT EX-21/TE-31
SUPPORT PLATE, SUNTOP, C6/C10
REAR BODY SUPPORT BRACKET
GUARD, PEDAL

CVG MT.CNTRLR BC M18 AXLE,10G
PLATE, SPEED CONTROLS
BRACKET, SPEED CONTROL
CLEVIS - 535

LATCH, BRAKE LOCK

LATCH, PARK BRAKE

SEAT CLIP - 535

*#* BRKT, CHOKE

STRAP, BRAKE

*#* MOUNTING BRACKET
CALIPER, SLEEVE

BRACKET, FOLDING RAIL

COVER DECK BOARD

DECK COVER 282

BRKT.,DELTA Q BATT. CHARGER
CVR-COWL WIRING

CPC BRKT CORNER REINF

CPC STIFFNER, STL OUTBACK BOX
CPC SUPT BOX OUTBACK
BATTERY DOOR LATCH,B.C.(WIDE)
TIE ROD(TRAM TRAILER)

COVER BTTRY DOOR, TXT BLK
CHARGER BRKT., DELTA Q

WHEEL SPACER, 3/8", 4-HOLE
COVER,COWL WIRING(EX-21)
SEAT BACK MTG. BRKT.(LH)

SEAT BACK MTG. BRKT.(RH)
FENDER-RH, EX - 21, TXT BLK
FENDER-LH, EX - 21, TXT BLK
SUPPORT, DELTA Q

BRACKET, RESISTOR

Parts Pricing Schedule

List Price

$23.44
$5.16
$5.52
$4.26
$15.50
$15.50
$10.02
$28.92
$32.64
$7.88
$4.12
$9.12
$60.32
$33.48
$55.50
$32.70
$9.35
$10.60
$9.95
$39.64
$13.39
$9.09
$37.17
$20.74
$16.55
$184.88
$278.33
$32.80
$12.08
$14.24
$35.40
$21.52
$12.41
$113.44
$43.28
$15.20
$8.52
$12.50
$14.48
$12.61
$42.96
$42.36
$9.60
$5.96

1/20/2019



EV Technical Services, LLC

= Parts Pricing Schedule
Part # Description List Price
CVG509703 SEAT SUPPORT(BUCKET SEAT) $52.76
CVG509725 KINGPIN ASSY - 280, 282 $63.00
CVG509726EP LICENSE PLATE BRKT. (SMT) $42.16
CVG509735EC SMT.2 L.H. SIDE COVER, E-COAT $14.16
CVG509736EC SMT.2 R.H. SIDE COVER,E-COAT $13.48
CvG509741 CVG BRKT SEBLT FRONT LH S4 $23.72
CVG509742 CVG BRKT SEBLT FRONT RH S4 $23.72
CvG509763 AXLE RETAINER PLT.(EX-21 4WH) $8.84
CVG509767 CPC STOP STEERING $4.20
CvG509769 LINK, TIE ROD-SHORT(EX-21,4 WH.) $27.81
CVG509770 LINK TIE ROD-LONG $34.20
CvG509783 MT DELTA Q CHARGER EX21 $42.32
CVG509791PL WHEEL SPACER $7.96
CVG509905 PRKING. BRAKE MODIFIED(SUMMIT) $105.17
CVG509958PL WHEEL SPACER, .134" THK 4-BOLT $6.62
CvG509991 HAND BRAKE COVER(EAGLE,BUCKET SEAT) $45.32
CVG509992B DCK BRD 1/2P 22.63X28.2 TE LWR, BLK $56.93
CVG509993 CPC SIDE PANEL, LH TOOL EXPRESS $66.04
CVG509994 CPC SIDE PANEL, RH TOOL EXPRESS $63.92
CVG509995 CPC BK PANEL TOOL EXPRESS $64.84
CVG509996 CPC BRKT SUPT TOOL EXPRESS $28.24
CVvG509998 CPC BRKT DOORSTOP/BX RESTRAINT $15.56
CVG509999 CPC DOOR TOOL EXPRESS $12.72
CvG510017TB MTG BRKT, SUNTOP TUBE, TXT BLK $11.48
CVG510033 SEAT HINGE, BOTTOM $6.00
CVvG510034 CPC FRNT PANEL TOOL EXPRESS $70.32
CVG510039 HEADLIGHT BRKT.(IS-11) $15.28
CVG510085 ANGLE HEADLINER TRIM, REAR $30.72
CVG510086 SPACER,BK. 75" PLY $12.08
CvG510127 MID BODY TAB SUPPORT $3.84
CvG510128 FRONT HINGE BRACKET $3.64
CvG510168 BUMPER, REAR CENTER (SATIN) $55.80
CvG510186 CLAMP $6.24
CvG510188 MOUNTING BRKT. A-ARM $7.09
CVG510194 CLAMP, HALF $6.28
CVG510198 REAR SUPPORT< TUBE, BISTRO CANOPY $53.91
CVvG510199 SPACER, BUMPER, SQ. TUB. 1.25" X 3" $10.48
CVG510200 SEAT SUPPORT TUBE $23.16
CvG510207 ARM PULL-PARKING BRAKE $4.84
CVG510209 RH BRAKE DRUM BRACKET $18.36
CVvG510210 LH BRAKE DRUM BKT $18.66
CVG510215 MOUNTING BRACKET, A-ARM $17.95
CVvG510217 FRONT DOUBLER HINGE $2.64
CVG510218 REAR DOUBLER HINGE $3.83
Page 106 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG510220
CVvG510227
CvG510251
CVG510257
CvG510261
CVG510264
CVvG510268
CVG510273
CvG510276
CVG510277
CvG510281
CvG510282
CVG510285
CVG510291B
CvG510300
CVG510301
CVG510315
CVG510318
CVG510322
CVG510324
CvG510327
CVG510331
CvG510332
CVG510333B

CVG510333TB

CVG510334
CVG510335
CVG510346
CvG510350
CVG510351
CVvG510352
CVG510353
CVG510355
CvG510356
CVG510357
CvG510358
CvG510359
CvG510360
CVG510363
CvG510364
CVG510365
CvG510367
CVG510368
CvG510370

Page 107 of 194

Description
BRACKET BAG RACK
CROSSBRACE, SWEATER BSKT
BRACKET,BODY MOUNT ULILITY
CVG BSHNG
CPC CHAIN HSNG CVR
ACCL. PEDAL LINK(2 PER IS-11)
BRACKET, SEAT-UTILITY
LINK CONTROL
PLATE, SPRING TO FRONT AXLE
SHORT STEERING SHAFT(IS-12)
HYDRAULIC BRAKE ARM
FRONT BUMPER BRACKET (DURO)
ADJUSTMENT ARM (STR. GEN.)
**SUNTOP TUBE, FRONT 104276
PIVOT, SHAFT SHORT
SHAFT, LONG
DOME LIGHT MOUNT PLATE
BRACKET, SUNTOP MOUNTING
SPACER, REAR SUNTOP SUPPORT
SPACER
CROSSMEMBER, BRAKE(EX-21)
TUBE, SUNTOP REAR (RH)
TUBE, SUNTOP REAR (LH)
*** 78 DEGREE FRONT SUPPORT TUBE
FRNT SUNTOP TUBE, TXT BLK
PANEL MIRROR BRKT.
CPC FRNT CANOPY SUPT PLT
HAND LEVER SUPPORT PLATE
CVG BRAKE SUPT BAR
CVG BRAKE SPCR TUBE
*** SPACER, .750D X .375ID X .375
SUPPORT, BATTERY 6-PACK
NEUTRAL BAR, M3A SWITCH-539
BRACKET, DRIVE ARM TO TREADLE
ARM, STEEL - CR-10
SPACER, 0.75", FRONT FORK
SPACER, 2.125", FRONT FORK
SPACER, SPINDLE 23-10
SWITCH BASE
SHACKLE - 280,282
BATTERY SEPARATE, W/O NOTCH
PLYWOOD DECK
DECKBOARD 280
REAR AXLE PLATE(BC 4&5)

Parts Pricing Schedule

List Price
$7.52
$5.64

$12.60
$36.28
$10.34
S4.64
$7.36
$31.56
$5.68
$42.74
$5.96
$40.37
$3.64
$181.72
$21.35
$35.16
$20.72
$7.81
$3.04
$5.72
$3.44
$55.12
$64.84
$77.00
$76.08
$5.68
$6.20
$2.72
$9.20
$20.92
$1.52
$8.80
$16.60
$7.00
$8.76
$4.45
$10.00
$6.08
$5.64
$11.16
$1.40
$77.40
$45.88
$9.88

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVvG510372
CVvG510374
CVG510375
CvG510376
CvG510377
CvG510378
CVvG510379
CvG510381
CVvG510393
CVG510394
CvG510403
CvG510408
CvG510411
CVG510412
CvG510418
CvG510421
CVvG510430
CvG510455
CvG510493
CVG510494
CVvG510495
CvG510513
CvG510517
CVvG510533
CvG510541
CvG510563
CVvG510682
CvG510791
CvG510809
CvG510880
CVvG511026
CvG511137
CvG5112
CVG511221 *
Opt:
CVG511222 *
Opt:
CVG511225 *
Opt:
Opt:
CvG511241
CVvG511253

CVG511255TB

CvG511264

Page 108 of 194

202308

202308

202308
200211

Description
BRKT, BRAKE RETURN SPRING
PLATE, ADAPTER DRIVE UNIT
BAR, PARKING BRAKE EXTENSION
HANDRAIL, BOLSTERED, LH
HANDRAIL, RH
BRACKET, ADAPTER, CALIPER MOUN
ROD, BRAKE LINK
BRAKE PEDAL PAD MNTG. PLATE
BRKT.CHARGER RECEPTICAL
ACE CONTROLLER BRAKET
CONN. LINK, PEDAL TO POT BOX

ROD END, THREADED MASTER CYL.HYD.

SURROUND, PEDAL MODULE
RETAINER COVER, BC2
REINFORCEMENT BODY BRACKET
PARK BRAKE EXT.(B.C.)
BRACKET, STR/GEN
BRK, CHOKE/OIL INJ.
DECK PLATE(IS-11/RVR)
PLY. DECK (ISRT)
STRG SHAFT,(ISRIT)
SPEED SWITCH STRAP, IS-11
PANEL, CONTROLLER MOUNT
DECK PLATE, UTILITY
BRACKET, DELTA Q FOR IS/IR
CPC BRKT, MIRROR MT - C10
MIRROR BRKT.(BC)
SPACER,3/4"X1.75"(ISRT)
CALIPER MOUNT SHIM(B.C.)
SPEEDO SENSOR BRKT.
GOVERNOR ARM
INSULATOR
CLUB & BALL WSHR-BLK
PANEL, CAB FRONT, BC, PAINTED
TEXTURED WHITE
PANEL, CAB REAR, BC, PAINTED
TEXTURED WHITE
PNTD FRONT BRKT.(BC ANTI GLARE)
TEXTURED WHITE
TEXTURED BLACK
SPACER, DURO BUMPER
CORD CLEAT
HEADLIGHT BRACKET(ISRT)
LABEL,WARNING,BATTERY

Parts Pricing Schedule

List Price
$3.40
$8.04

$11.00
$22.46
$22.91
$4.08
$6.00
$8.20
$7.28
$41.72
$2.60
$12.60
$60.17
$5.84
$2.04
$45.48
$24.56
$53.68
$240.00
$50.68
$78.98
$23.72
$20.12
$144.84
$20.48
$37.76
$8.32
$6.48
$2.88
$22.59
$59.52
$4.16
$105.64
$78.40
$0.00
$115.52
$0.00
$26.56
$0.00
$7.00
$15.80
$8.84
$41.49
$24.18

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVvG511269
CVvG511335
CvG511341
CVG511364
CvG511384
CvG511563
CvG511598
CvG511633
CvG511648
CvVG511664
CVG511674PL
CVG511679
CVvG511723
CVG511724
CVvG511727
CVvG511730
CVG511758EC
CVG511827 *

Opt:
CVG511934
CVG512
CvG512029
CVG512054
CVG512058PL
CvG512081
CVG512162
CVvG512180PL
CVvG512185
CVvG512193
CvG512198
CVG512225
CVG512226
CVvG512240
CvG512241
CVvG512245
CVvG512263
CVG512264
CVvG512268
CVG512272
CVvG512279
CVvG512372
CVvG512439
CvG512445
CVG512495

Page 109 of 194

202308

Description

SPACER-DOOR HINGE(B.C.)

CABLE MNT. TAB(LIN.ACCL. UNIT)

CVG CHANNEL - SEAT BOARD REINF

COVER, CHAIN - 280,282

STRAP, SEAT HOLD DOWN

BATT. CHRGR. BRKT., TRAY MNT.

NEW CAR PACKET, P4E-CC

LABEL,NEV RESTRICTIONS

CPC BRACE, MOTOR MT M18

TAB,BOTTOM(REAR FACING SEAT)

SPACER,.375 ID X .750 OD X .625

REAR LIFT BLOCK(S10E)

CPC DECK PLATE UTIL-S VAN ENCL

CPC DECK PLATE, UTIL-L VAN ENCL

DECKPLATE (SCOUT)

SEATBELT BRACKET, SUMMIT

REAR LIFT BLOCK (SUMMIT ELECT)

LATCH, DOOR, STEEL CAB, PAINTED
TEXTURED WHITE

BRAKE ARM,JAG

BRUSH SET GE MOTOR

CUP HOLDER BRACKET

BUMPER COVER(CUV)

WHEEL SPACER,5-HOLE(B.C.)

CVG SPACER

CVG DOOR HINGE PLT

BUSHING, BRAKE

SPACER, "A" ARM

CVG BRKT CR10 BEEPER

BRAKE PULL ROD

BELLCRANK

STOP TAB BRAKE PED

PEDAL PIVOT ROD

HYDRA CYL ROD

SHACKLE STRAP, MVP

CVG, INNER DASH INSERT PLT

SPINDLE BRAKES MACHINED (KODIAK)

CVG PLT, DROPSIDE HINGE

CVG TRAY HANGER BRKT

CVG BUMPER MT PLT

CVG HINGE MT BRKT

**%* STEERING SHAFT,1996-1999
PLATE, CHARGER CABLE

CVG SLEEVE SPR HGR - MVP

Parts Pricing Schedule

List Price
$5.12
$3.08

$15.36
$287.92
$24.04
$9.84
$9.88
$7.16
$10.24
$5.88
$3.43
$39.00
$447.48
$366.64
$125.92
$9.20
$29.64
$9.52
$0.00
$12.42
$129.60
$2.04
$29.32
$6.20
S3.44
$10.04
$2.48
$19.64
S4.12
$33.28
$8.32
$16.44
$4.62
$31.64
$2.84
$9.48
$158.88
$5.84
$23.64
$25.56
$11.64
$316.56
$4.68
$5.92

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVG512625
CVG512636
CVG512685
CVvG512696
CvG512812
CvG512813B
CvG512814
CvG512815
CVvG512834
CvG512835
CVG512836TW
CVG512837TW
CVG512838 *

Opt:
CVvG512838TW
CvG512841
CVG512842TW
CvG512863
CVvG512864
CvG512913
CVG512918TW
CVG512919 *

Opt:
CVG512919TW
CVG512952
CVG512955M
CVvG513002
CvG513012
CvG513013
CvG513014
CVvG513015
CVvG513016
CvG513017
CVG513029TW
CVG513034
CvG513051
CVG513086
CVvG513092
CVG513148 *

Opt:
CvG513148TW
CvG513151B
CVG513151TW
CVG513152 *

Page 110 of 194

202308

202308

2E+07

Description
MASTER CYLINDER ADAPTOR PLATE
DECK PLATE, UTIL ALUMINUM
CVG FRAME, SPRT - BOT CUSH
CVG PLT, MT - RAIL TRANSP EXP
ARM PAD, SM DOOR
*** CVG BODY STRAP HOOK PAINTED
LATCH ARM, RIGHT HAND
LATCH ARM, LEFT HAND
CPC FRONT, STEEL BOX, UTL
CPC TAIL GATE, STEEL BOX, UTL
PANEL, LH SIDE, UTL-S, TXT WHITE
PANEL, RH SIDE, UTL-S, TXT WHITE
PANEL, RH SIDE, NO DOOR, - PAINTED
TEXTURED WHITE
PANEL, RH SIDE, NO DOOR, TXT WHITE
BRACKET, HOURMETER
PANEL, LH SIDE, W/DOOR, TXT WHITE
ACCELERATOR FOOT GUARD -BC
CVG, FRAME,SPRT,BOT CUSH, MVP TRAM
*** BRACKET LOAD SENSING VALVE ROD
PANEL, REAR UTIL, TXT WHITE
PANEL, FRNT, W/WINDOW - PAINTED
TEXTURED WHITE
PANEL, FRNT, W/WINDOW, TXT WHITE
CVG, GUSSET, RUNNING BOARD
BUSHING SPRING EYE
PLATE,BATTERY HOLD DOWN
BC-L DECK BOARD, MEZZTREAD
DECKBOARD, MEZZTREAD, BC-S
HDPE DECK BOARD, 20.56 X 44.25
CVG SEAT BRD BC-2ND MEZZTREAD
CVG DECK BRD BC-2ND MEZZTREAD
CPC DECK BRD TE UPPER- MEZZTREAD
PNL, RH SIDE, W/ DOOR UTL-L, TXTWHT
CVG PLATE RETAINER
HEADLINER, SM4 DURALINE
CVG HEADLIGHT COVER W/TABS
SPACER, PLASTIC (REAR SUNTOP TUBE)
PAINTED, PANEL, FRONT KICK, SUMMIT
SCREAMING YELLOW
PANEL, FRONT KICK, SMT, TXT WHITE
CPC, PANEL, FOOTWELL, SMT PAINTED
PANEL, FOOTWELL, SMT, TXT WHITE
PAINTED, PANEL, REAR KICK, SUMMIT

Parts Pricing Schedule

List Price

$11.03
$351.16
$45.72
$3.76
$13.84
$11.00
$240.52
$240.52
$41.96
$43.92
$154.48
$133.48
$162.52
$0.00
$162.52
$7.81
$97.48
$16.40
$70.68
$2.96
$71.96
$125.00
$0.00
$125.00
$29.08
$29.97
$7.14
$438.80
$438.80
$116.72
$221.52
$438.80
$74.68
$121.32
$14.60
$490.92
$5.80
$1.16
$199.12
$0.00
$152.16
$219.16
$218.32
$194.44

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

CVG513152TW

CVG513155 *

Opt:

Opt:
CVvG513156
CVvG513163
CvG513203
CVvG513205
CvG513215
CVvG513223

CVG513238TB

CvG513247
CVG513248
CVG513253
CVG513254
CVG513259
CVG513271
CVG513273
CVG513275
CVvG513289
CVG513335
CVG513336
CVG513383
CvG513439
CVG513454
CVG513455

CVG513511PL

CvG513521
CVG513525
CVG513688
CVG513689
CVG513690
CVG513705
CVG513768
CVG513829
CvG513830
CvG513889
CVG513895
CVvG513903
CVG513979
CVvG513980
CVG513991
CVG513993

Page 111 of 194

2E+07

202308
2E+07

Description
SCREAMING YELLOW
PANEL, REAR KICK, SMT, TXT WHITE
PAINTED, PANEL, REAR LIGHT, SUMMIT
TEXTURED WHITE
SCREAMING YELLOW
SUV-L, ALUMINUM DECK PLATE
CVG, SUMMIT ALUMINUM DECK PLATE
MIRROR BRACKET
CVG,COVER,HYD BRAKE, SM/SUV,AL
BRACKET, FOLDING SIDE
CVG DOOR ACCESS, SUV
COVER,HEADLIGHTS(SMT.), BLACK
CVG MTG BRKT, TANK WASHER
CVG BRKT, ACCESS DOOR SILL
HEADLINER, SUV DURALINE
PLATE,RETAINER-SWITCH
CVG BRACE-SMT REAR FENDER
LIFT BLOCK, REAR, WIDE SMT
CVG, SPACER, REAR, BUMPER
BUMPER, ALUM., REAR ONE PC.
CVG, COVER, BUMPER, AL
MIRROR BRACKET RH BC
MIRROR BRACKET LH BC
MACH. 1X3/4X2 FOAM TAPE
CVG, PLATE, DECK, AL, SUV-S
CVG,LAD,PUSH,MNT PLATE
CVG, LAD PUSH LINK
CPC, SPACER, WHEEL, 6.25DIA, 5 HOLE
SPACER, HINGE, SM DOOR
CPC, BAR PAN HARD
DECKBOARD CHARIOT
DECKBOARD EXPEDITOR
CVG DECK BRD IS12 MEZZ 28.62X 42.53
CVG TURN SWITCH BRKT
CPC STRG STOP TEMPL
CVG, BRKT, RH SM2 MID HOLD DOWN
CVG, BRKT, LH SM2 MID HOLD DOWN
CVG, SEAT BELT, MT PLATE
CPC, COVER, AC CONTROL PANEL
CPC, COVER, PEDAL MODULE
2.81" REAR SPRING PLATE
2.50 REAR SPRING PLATE
PANEL, CONTROLLER COVER, BC2
CPC, DECK PLATE, 2010 SUV-S VAN

Parts Pricing Schedule

List Price

$0.00

$132.88
$135.20

$0.00
$56.64

$639.20
$346.88

$2.16

$22.28
$16.24
$14.36
$69.64
$11.16
$18.88
$253.12

$3.76
$2.20

$61.32
$11.52
$62.32
$39.68
$18.00
$22.12

$1.44

$441.16
$16.08

$2.04

$10.12

$3.12

$30.16
$50.09
$56.64
$146.40

$4.68
$4.68

$17.28
$17.28

$5.24

$31.56
$52.48
$12.76
$12.52

$3.36

$263.60

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVG513994
CVG513995
CVG513996
CVG514351
CVvG514385
CvG514460
CVvG514474
CVG514478
CvG514498
CVG514546
CvG514547
CVG514548
CVG514550
CvG514551
CVvG5146978B
CVG514716
CVG514718EC
CVG514759PL
CvG514780TB
CvG514811
CvG514812
CvG514813
CvG514814
CVG514824
CvG514825
CvG514846
CvG514847
CVG514849EC
CVvG514893TB
CVG514894T8B
CVvG514923
CVG514924
CVvG514930SL
CvG514937
CVG514960
CVG514975
CvG515087
CvG515088B
CVG515136
CvG515140
CvG515148B
CVG515166
CvG515167
CVG515175TB

Page 112 of 194

Description
CVG BC VAN SHORT DECK, MEZZ
CVG BC VAN LONG DECK, MEZZ
CVG, DECK BASE SUPPORT, SUV
PANEL, BC SEVCON DC
CVG SEAT HOLD DOWN BRKT, BC
BRKT, BATTERY RETAINER
SPRING COMPRESSION PAINTED
BATTERY CHARGER BRACKET
BC DASH PANEL, LED SYS LIGHT
MNTD, DKG 165/65R13 WHITE 4H
MNTD, DKG 165/65R13 CHROME 4H
MNTD, DKG 165/65R13 ALUM STAR 4H
MNTD, DKG 165/65R13 WHITE 5H
MNTD, DKG 165/65R13 CHROME 5H
CVG, SPRING RETAINER PLATE PAINTED
CVG, MNTG BRKT REAR
CVG PARK RATCHET, E-COATED
CVG, ROD, FULLY THREADED, PLATED
COVER PLATE
CVG PANEL IS12 LAD MTG
CVG ARM IS 12LAD PULL SECONDARY
CVG, ARM IS12 LAD PULL PRIMARY
CVG BRKT IS 12LAD PULL ARM
CVG, SEATBELT ANCHOR OUTSIDE
CVG, SEAT BELT ANCHOR CENTER
TIRE/WHL 175/70R13 CHROME 4H, MNTD
MNTD, TIRE 175/70R13 ALUM-STAR 4H
LINKAGE,SPEED CONTROL(EX-21)
CVG, PANEL STD VEHICLE W-TURN SGNL
CVG, DASH, W/MULTI-DISPLAY
CVG, HEADLIGHT BRKT
P&A, TURN SIGNAL CANCEL BRKT
CRADLE BAG HOLDER P5-RBBR COAT
CVG REAR STEP COVER - P5
CVG, SPEED SENSOR BRKT, P5
CVG BRKT FAN MOUNT, MAT CHARGER
SUNTOP SPRT BRKT
BRKT, SUNTOP SPRT, 4 PASS PNTD
CVG, BRKT BUMPER EXT
CVG DECK, SUV-L EXT, ALUM
OBS CVG, UPRGHT SUV OVRHD RACK; TXT
CVG INNER FENDER, BCRH
CVG INNER FENDER, BC LH
CVG,TUBEUPRT,BCOVRHD RACK, TXT BLK

Parts Pricing Schedule

List Price
$147.24
$219.40

$49.72
$14.24
$4.85
$5.84
$175.16
$23.60
$6.88
$253.92
$355.72
$426.88
$252.44
$369.24
$8.84
$17.72
$11.80
$3.52
$40.36
$13.32
$2.44
$2.84
$1.88
$7.72
$3.36
$338.36
$460.67
$12.42
$9.72
$35.24
$8.88
$13.68
$44.51
$90.32
$6.68
$19.92
$16.12
$29.28
$9.72
$558.36
$116.06
$33.40
$29.24
$82.32

1/20/2019



EV Technical Services, LLC

= Parts Pricing Schedule
Part # Description List Price
CVG515176TB CVG BRKT,REAR,BC OVRHD RACK,TXT BLK $41.72
CVG515177TB BRKT FRNT LH BC OVERHD RACK, TXTBLK $46.48
CVG515178TB BRCKT FRT RH BC OVRHD RACK, TXTBLK $46.48
CVG515179TB BRCKT FRONT, BC OVRHD RACK, TXT BLK $43.20
CVG515221 CVG, COVER, MECH BRAKE ACC $17.60
CVvG515259 CVG, BRKT, WIPER MOTOR $6.36
CVG515268TB CVG, PNL, DASH, SEVCON AC $18.04
CVvG515343 FORK SHAFT $34.56
CVG515352 CVG, DIRECTION KNOB BRKT $2.32
CVvG515379 CVG, PLATE, HEAT SINK $17.80
CVG515407 CVG, HOOD HOLD DOWN BRKT $6.66
CvG515437 CVG, BAG RACK SUPPORT BRACE $11.64
CVG515455 CVG, SHAFT, STRG, IS12 EXT $39.96
CVG515560 CVG, COVER, CONTROL BOX $14.40
CVG515561 CVG, BRKT, CONTROL BOX, LH $12.32
CvG515562 CVG, BRKT, CONTROL BOX, RH $11.22
CVG515563 CVG, HEADLIGHT TRIM BRKT $5.84
CVG515613 CVG, ROD, 1.75", 5/16-18X1 $5.60
CVG515616 CVG, BATTERY HOLD DOWN, 8V $27.72
CVG515624 CVG, UPPER COVER, DELUX LIGHTS P5 $80.64
CVG515650 BRKT, SEAT BELT ANCHOR, 2-PT, LH $25.14
CvG515651 BRKT, SEAT BELT ANCHOR, 2-TP, RH $23.76
CVG515660 BRKT, P5 LICENSE PLATE $27.35
CVG515678 CPC, PANEL, 12V ACCESSORY $34.16
CVG515694 CVG, BRKT, WASHER TANK $33.40
CvG515721 CVG, DECK, DROPSIDE, SUV-S $231.71
CVG515722 CVG, DECK, DROPSIDE, SUV-L $331.83
CVvG515723 CVG, DECK, DROPSIDE, SUV-L EXT $394.16
CVG515724 CVG, DECK, DROPSIDE, SM4 $175.05
CVvG515746 CVG BUMPER BRKT, LH $13.68
CvG515747 CVG BUMPER BRKT, RH $13.68
CVG515761 BC SEVCO, AC $27.96
CVG515762PL CPC, SPACER, BRAKE DISC, PLTD $8.56
CVG515771TB PLATE, MTG-A RAIL $15.60
CVG515772TB PLATE, MTG-B, RAIL $15.88
CVG515774 BRKT, BC TRAILER PLUG $9.16
CVG515776 PLATE BC, HNDBRK INTRLK SWITCH $2.32
CVG515781 CVG, BRAKE VALVE BRKT $8.24
CVG515790B CVG, SPACER - PAINTED $4.36
CVG515795 CVG, COVER COLUMN LWR WIPER $82.32
CVG515796 CVG, UPPER COVER, WIPER $81.84
CVG515801 CVG BRKT, CHARGER $7.72
CVG515808EC BRKT, PANHARD BAR, E-COATED $4.08
CVG515809 PANHARD BAR, P5 $51.40
Page 113 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CvG515810TB
CvG515812
CVvG515813PL
CvG515817
CVvG515820
CVG515822
CVvG515832
CVvG515836
CVvG515855B
CvG515865TB
CVG515866TB
CvG515867
CVG515868TB
CvG515869
CvG515870TB
CvG515877
CvG515891
CvG515892
CvG515893
CVG515898TB
CVvG515899TB
CvG515907
CVG515909
CVG515911 *

Opt:

Opt:
CVG515912 *

Opt:

Opt:
CVG515913 *

Opt:

Opt:
CvG515918TB
CvG515921TB
CVG515922TB
CVvG515928
CVvG515947TB
CVvG515948TB
CVG515980
CVG515986
CVG516026
CVvG516032
CvG516033TB
CvG516034TB

Page 114 of 194

202308
200211

200211
202308

200211
202308

Description
BRKT HITCH MTG, TB
BRKT, BC FRONT RECEIVER
ROD, PARKING BRAKE CATCH
BLOCK, REAR LIFT, PS

ASM, FRNT LOWR FACIA W/ BUMPER SLOT

STRAP, FLOARBOARD REAR
CVG, CHNNL, DECK SPPRT, SIDE LG
SPACER DECK SPPRT
SPCR,REARCHASSISLEG 1D.510,BKPW
BRACKET LATCH, TEXT BLK
HANDLE LATCH, TEXT BLK
CVG, BRKT, DOWNSTOP BUMPER
BRCKT BC BOX TAILGATE STOP, TXT BLK
CVG, SPACER, BC TILT BED ACTUATOR
BC TILT BED, TXT BLK
CVG, TUBE BASE FRNT SIDE
BRKT, UPPER SHOCK MNT, INNER
CVG, BRKT, UPPER SHOCK MNT, OUTER
PLATE, MTG, BC 2ND SIDE RAILS
PANEL, TRIM LH, TXT BLK
PANEL, TRIM, RH,TXT BLK
CHNL, BUMPER MNT, SU5
BRKT, REAR DECK BRACE
CVG, PANEL, FRONT, BC TOP, PNTD
TEXTURED WHITE
TEXTURED BLACK
CVG, PANEL RH BC TOP, PNTD
TEXTURED BLACK
TEXTURED WHITE
CVG, PANEL LH BC TOP, PNTD
TEXTURED BLACK
TEXTURED WHITE
BRKT UPRIGHT, BC TOP, TXT BLK
TUBE, EXT ROOF, BC TOP, TXT BLK
BRKT, RACK MTG, BC TOP,TXT BLK
HNG BRKT LWR, SU5 DUMP BOX
BRKT, SIDE RAIL, LH
BRKT, SIDE RAIL, RH
CVG, DASH PANEL - HYD BRAKE
CVG, HOOD LOCKING LATCH
CVG, CVR, BC CNTRL PANEL

CVG CROSS TB FR, SUS5 DUMP BED FRAME

CVG, BULKHEAD, SU 5, UPPER
CVG, BULKHEAD, SU 5, LOWER

Parts Pricing Schedule

List Price

$35.68
$8.48
$7.36
$53.36
$70.08
$16.36
$28.12
$4.76
$5.08
$10.36
$16.36
$16.36
$14.08
$6.00
$66.92
$105.04
$8.16
$3.60
$3.64
$84.68
$81.56
$39.72
$18.72
$101.64
$0.00
$6.28
$39.64
$0.00
$28.28
$41.12
$0.00
$27.08
$27.50
$40.68
$11.36
$14.88
$16.80
$16.60
$287.64
$12.80
$30.40
$79.88
$172.48
$85.20

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVG516035
CVG516036
CvG516038
CvG516039
CvG516041
CVG516042
CVvG516052
CvG516064
CvG516067
CVG516085EC
CVG516093 *

Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
CVG516094 *
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
CVG516095 *
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
CVG516096

Page 115 of 194

202308
202505
2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07
2E+06

202308
202505
2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07
2E+06

202308
202505
2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07
2E+06

Description
CVG, BRKT LH SU5 BED HOLD DOWN
CVG, BRKT RH SU5 BED HOLD DOWN
FRNT LWR FACIA W/RCVR SLOT
CVG, CHNL, BUMPER MNT, SU5-S

WINDSHEILD BRKT, RH
WINDSHEILD BRKT, LH
SPACER
ROD, PEDAL PIVOT
BRACKET, FAN MOTOR
CVG, PARK BRAKE RATCHET
CVG, PANEL, MID-BODY
TEXTURED WHITE
TEXTURED YELLOW
BRILLIANT BLACK CRYSTAL
CHAMPAGNE
COLLEGIATE RED
FRENCH BLUE
HUNTER GREEN
MIDNIGHT BLUE
WILD STRAWBERRY RED
BRIGHT SILVER
CVG, PANEL, SIDE BODY, LH
TEXTURED WHITE
TEXTURED YELLOW
BRILLIANT BLACK CRYSTAL
CHAMPAGNE
COLLEGIATE RED
FRENCH BLUE
HUNTER GREEN
MIDNIGHT BLUE
WILD STRAWBERRY RED
BRIGHT SILVER
CVG, PANEL, SIDE BODY, RH
TEXTURED WHITE
TEXTURED YELLOW
BRILLIANT BLACK CRYSTAL
CHAMPAGNE
COLLEGIATE RED
FRENCH BLUE
HUNTER GREEN
MIDNIGHT BLUE
WILD STRAWBERRY RED
BRIGHT SILVER
PANEL, INNER FENDER, LH

Parts Pricing Schedule

List Price

$15.80
$15.88
$68.88
$29.84
$9.98
$12.06
$10.12
$21.00
$18.88
$10.00
$172.36
$0.00
$1.48
$89.96
$89.96
$89.96
$89.96
$89.96
$89.96
$89.96
$120.24
$76.12
$0.00
$0.32
$127.96
$135.88
$135.88
$135.88
$135.88
$135.88
$135.88
$189.60
$73.40
$0.00
$0.32
$127.92
$135.84
$135.84
$135.84
$135.84
$135.84
$135.84
$189.60
$62.76

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CvG516097
CVvG516105
CvG516107
CvG516108
CVG516128TB
CVG516146TB
CvG516147TB
CvG516169SL
CVG516170 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG516173 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVvG516175
CVvG516176
CvG516177
CvG516178
CVG516179 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Page 116 of 194

2E+06
202308
202505
2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07

202308
202505
2E+06
1E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07
2E+06

202308
2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07

Description

PANEL, INNER FENDER, RH
CHAN, DECK SPRT, SIDE, SHORT
BRKT, SEAT BASE, LH
BRKT, SEAT BASE, RH
PANEL, SMRTVIEW DISPLAY, TXT BLK
BRKT, SHORT SIDE RAIL - RH, TXT BLK
BRKT, SHORT SIDE RAIL - LH, TXT BLK
PANEL,FLOORBRD, REAR,RBBR COAT
CVG, PANEL, KICK, REAR

BRIGHT SILVER

TEXTURED WHITE

TEXTURED YELLOW

BRILLIANT BLACK CRYSTAL

CHAMPAGNE

COLLEGIATE RED

FRENCH BLUE

HUNTER GREEN

MIDNIGHT BLUE

WILD STRAWBERRY RED
PANEL, REAR BODY - PAINTED

TEXTURED WHITE

TEXTURED YELLOW

BRILLIANT BLACK CRYSTAL

ALIEN SILVER

CHAMPAGNE

COLLEGIATE RED

FRENCH BLUE

HUNTER GREEN

MIDNIGHT BLUE

WILD STRAWBERRY RED

BRIGHT SILVER
CVG, COVER, BC DMP BX CNTR
CVG, COVER, BC DMP BX L/R
CHAN, DECK SPRT, END
CVG, CHAN, DECK SPRT,SIDE LONG
PANEL, TUBE COVER

TEXTURED WHITE

BRILLIANT BLACK CRYSTAL

CHAMPAGNE

COLLEGIATE RED

FRENCH BLUE

HUNTER GREEN

MIDNIGHT BLUE

WILD STRAWBERRY RED

Parts Pricing Schedule

List Price

$61.44
$26.44
$24.84
$23.76
$21.28
$22.56
$26.82
$164.44
$113.60
$0.00
$19.88
$27.00
$41.68
$41.68
$41.68
$41.68
$41.68
$41.68
$41.68
$148.08
$0.00
$0.80
$176.20
$197.04
$197.04
$197.04
$197.04
$197.04
$197.04
$197.04
$253.52
$155.28
$39.52
$20.04
$25.52
$31.52
$0.00
$3.12
$3.12
$3.12
$3.12
$3.12
$3.12
$3.12

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:
CvG516180TB
CVG516181TB
CVvG516212TB
CVG516213TB
CvG516214TB
CVG516216TB
CVG516226TB
CVG516227TB
CVG516235TB
CVG516236TB
CVvG516237
CVvG516259
CVG516260
CvVG516284
CVG516300
CvG516307
CVG516334
CVG516375 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG516384
CVvG516398
CVG516399
CVvG516409
CVvG516410
CvG516411
CvG516412
CvG516415
CvG516416
CvG516473
CvG516497
CVG516518TB
CVG516519TB
CVG516526

Page 117 of 194

2E+06
202505

2E+06
202308
202505
2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07

Description

BRIGHT SILVER

TEXTURED YELLOW
PANEL, BODY TRIM, LH, TXT BLK
BODY TRIM, RH, TXT BLK
PLATE DECK, 32" TXT BLACK
PLATE DECK 60", TXT BLACK
BRKT, RAIL SUPPORT, 13", TXT BLK
BRKT, RAIL SPRT
PANEL DECK, SEAT BASE, TXT BLK
CVG, PANEL, DECK
BRKT, TOP SUPPORT, RH, TXT BLK
BRKT, TOP SUPPORT, LH, TXT BLACK
SPACER
BRKT, DECK EXTENSION, LH
BRKT, DECK EXTENSION RH
CVG, BRKT, HANDBRAKE SWITCH
CVG, PANEL, DASH, CLR VW, MVP
CVG, BRKT, PROCHARGER INSTALL
PANEL SKID PLATE
PANEL, KICK, FRONT

BRIGHT SILVER

TEXTURED WHITE

TEXTURED YELLOW

BRILLIANT BLACK CRYSTAL

CHAMPAGNE

COLLEGIATE RED

FRENCH BLUE

HUNTER GREEN

MIDNIGHT BLUE

WILD STRAWBERRY RED
CVG, SEAT BOARD, BC BENCH

PANEL, MID-BODY, BENCH PROCHARGER
PANEL, MID-BODY, BUCKET, PROCHARGER

CVG BRKT HINGE RH

CVG BRKT HINGE LH

CVG, CHAN, SEAT PIVOT, RH

CVG, CHAN, SEAT PIVOT, LH

RR SPRING PLATE, BC IMAGE AXLE
MACH,DASH, P5 HYD BRK/HEATER
CVG, WASHER, BRAKE CABLE

CVG, PLATE, BACKING, PLUG HOLDER
PANEL DECK, TXT BLK

PANEL, DECK, SEAT BASE, TXT BLK
CPC, TUBE, SPACER

Parts Pricing Schedule

List Price

$4.40
$19.00
$162.20
$162.20
$314.36
$536.44
$37.32
$18.00
$171.36
$343.12
$28.89
$29.88
$6.12
$17.52
$17.52
$17.96
$9.48
$31.68
$51.96
$105.24
$0.00
$12.32
$13.04
$21.00
$21.00
$21.00
$21.00
$21.00
$21.00
$21.00
$119.00
$509.24
$482.44
$8.48
$9.27
$15.24
$13.72
$7.36
$319.72
$2.00
$2.08
$398.16
$191.20
$8.36

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CvG516543
CVvG516548DS
CvG516614TB
CvG516638
CVG516678TB
CVG516687TB
CVG516688TB
CVG516698TB
CVG516714
CVG516777
CvG516816B
CVG516827
CVG516896TB
CvG516897
CvG516899
CVG516947TB
CvG516948TB
CVG516952TB
CVG516959
CVG516972TB
CVG516984
CVG516985
CVvG517008TB
CvG517009TB
CVvG517027TB
CVG517036EC
CVG517046 *

Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
CVG517047 *
Opt:
Opt:
Opt:
Opt:

Page 118 of 194

202308
202505
1E+06
2E+06
1E+07
3E+06
2E+07
3E+06
6E+06
8E+06
2E+06
1E+08

202505
202308
1E+06
2E+06

Description

MACH, YOKE, P5 STRG SHFT, BOLT+WELD
COVER, IDLER BRG, MAT, DESERTSAND
P&A, PLATE, VAN DECK, 60" TXT BLK
CVG, HNDBRK SW STOP
PLATE, MTG-FOOTREST, TXT BLK
CVG, LATCH, DROP SIDE, LH
CVG, LATCH, DROP SIDE, RH
BRKT, REAR CARGO TOP, TXT BLK
CVG, BC PRK BRK PLATE
CPC, PLATE, LUGGAGE RACK
CHAN, BATTERY TRAY MTG, BLK PWDR
MNTD, 175/50R13 TIRE,SILVER/GRAY,5H
DECK PLATE, SEAT BASE, TXT BLK
BC BRAKE BRKT
CVG, HINGE SEAT
SPACER, TXT BLACK
DECK PLATE, ST BASE, LTCHNG, TXTBLK
CR10 CONTROL COVER
CVG, SPACER, TOGGLE SWITCH
PLATE, BACK W/WINGS, TXT BLK
CVG, BRKT, CONTROLLER
CVG, BRKT, CHARGER, SU5-2
MNT, LH, SU5-2 FOOTREST, TXT BLK
MNT, RH, SU5-2 FOOTREST, TXT BLK
PLATE, 2ND SEAT DECK, TXT BLK
CPC, STEERING SHAFT
PANEL, MID-BODY, PAINTED

TEXTURED WHITE

TEXTURED YELLOW

ALIEN SILVER

BRILLIANT BLACK CRYSTAL

MIDNIGHT BLUE

CHAMPAGNE

WILD STRAWBERRY RED

COLLEGIATE RED

FRENCH BLUE

HUNTER GREEN

BRIGHT SILVER

HOUSE OF KOLOR
PANEL, MID-BODY,2ND SEAT LH,PAINTED

TEXTURED YELLOW

TEXTURED WHITE

ALIEN SILVER

BRILLIANT BLACK CRYSTAL

Parts Pricing Schedule

List Price

$36.44
$23.56
$556.20
$10.35
$7.16
$16.12
$16.89
$23.56
$2.92
$4.32
$57.72
$449.96
$147.20
$9.56
$23.27
$4.12
$120.20
$34.24
$2.52
$22.16
$33.36
$19.72
$43.79
$41.22
$307.68
$26.60
$173.36
$0.00
$7.44
$21.52
$217.12
$217.12
$226.64
$232.88
$238.44
$238.44
$238.44
$376.04
$668.68
$63.44
$0.00
$5.88
$13.60
$73.48

1/20/2019



EV Technical Services, LLC

[ = Parts Pricing Schedule
Part # Description

Opt: 1E+07 MIDNIGHT BLUE

Opt: 3E+06 CHAMPAGNE

Opt: 2E+07 WILD STRAWBERRY RED

Opt: 3E+06 COLLEGIATE RED

Opt: 6E+06 FRENCH BLUE

Opt: 8E+06 HUNTER GREEN

Opt: 2E+06 BRIGHT SILVER

Opt: 1E+08 HOUSE OF KOLOR
CVG517048 * PANEL,MID-BODY,2ND SEAT,RH-PAINTED

Opt: 202308 TEXTURED WHITE

Opt: 202505 TEXTURED YELLOW

Opt: 2E+06 BRILLIANT BLACK CRYSTAL

Opt: 2E+06 BRIGHT SILVER

Opt: 3E+06 CHAMPAGNE

Opt: 3E+06 COLLEGIATE RED

Opt: 6E+06 FRENCH BLUE

Opt: 8E+06 HUNTER GREEN

Opt: 1E+07 MIDNIGHT BLUE

Opt: 2E+07 WILD STRAWBERRY RED

Opt: 1E+08 HOUSE OF KOLOR

Opt: 1E+06 ALIEN SILVER
CVG517049 * PANEL, KICK, FRONT, PAINTED

Opt: 202505 TEXTURED YELLOW

Opt: 202308 TEXTURED WHITE

Opt: 1E+06 ALIEN SILVER

Opt: 2E+06 BRILLIANT BLACK CRYSTAL

Opt: 1E+07 MIDNIGHT BLUE

Opt: 3E+06 CHAMPAGNE

Opt: 2E+07 WILD STRAWBERRY RED

Opt: 3E+06 COLLEGIATE RED

Opt: 6E+06 FRENCH BLUE

Opt: 8E+06 HUNTER GREEN

Opt: 2E+06 BRIGHT SILVER

Opt: 1E+08 HOUSE OF KOLOR
CVG517050TB PANEL, TRIM, 2ND SEAT, LH, TXT BLK
CVG517051TB PANEL, TRIM, 2ND SEAT, RH, TXT BLK
CVG517053TB 72" DECK PLATE, TXT BLK
CVG517057 * PANEL, MID-BODY, REAR, LH, PAINTED

Opt: 202308 TEXTURED WHITE

Opt: 1E+06 ALIEN SILVER

Opt: 202505 TEXTURED YELLOW

Opt: 2E+06 BRILLIANT BLACK CRYSTAL

Opt: 1E+07 MIDNIGHT BLUE

Opt: 3E+06 CHAMPAGNE

Page 119 of 194

List Price
$73.48
$76.68
$78.84
$80.72
$80.72
$80.72

$120.48
$178.32
$59.56
$0.00
$1.28
$1.72
$1.72
$1.72
$1.72
$1.72
$1.72
$1.72
$1.72
$1.72
$6.28
$96.72
$0.00
$20.76
$34.20
$131.56
$131.56
$138.28
$142.72
$146.64
$146.64
$146.64
$174.28
$350.56
$102.16
$111.12
$501.52
$33.92
$0.00
$3.28
$17.56
$49.08
$49.08
$50.68

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG517058 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG517065
CVG517066
CVG517068EC
CVvG517070
CvG517071
CVvG517072
CvG517073
CVG517082 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG517083 *

Opt:

Opt:

Opt:

Opt:

Page 120 of 194

2E+07
3E+06
6E+06
8E+06
2E+06
1E+08

202308
1E+06
202505
2E+06
1E+07
3E+06
2E+07
3E+06
6E+06
8E+06
2E+06
1E+08

202308
1E+06
202505
2E+06
1E+07
3E+06
2E+07
3E+06
6E+06
8E+06
2E+06
1E+08

202308
1E+08
1E+06
202505

Description

WILD STRAWBERRY RED
COLLEGIATE RED
FRENCH BLUE

HUNTER GREEN

BRIGHT SILVER
HOUSE OF KOLOR

PANEL, MID-BODY, REAR, RH, PAINTED

TEXTURED WHITE
ALIEN SILVER
TEXTURED YELLOW
BRILLIANT BLACK CRYSTAL
MIDNIGHT BLUE
CHAMPAGNE
WILD STRAWBERRY RED
COLLEGIATE RED
FRENCH BLUE
HUNTER GREEN
BRIGHT SILVER
HOUSE OF KOLOR
CPC, SHACKLE STRAP
CVG, SPACER, REAR SUSPENSION
CPC, TUBE SEAT BASE
CPC, CHAN, SEAT BASE
CPC, BRKT, MOTOR SPRT, LOWER
CPC, BRKT, MOTOR SPRT, UPPER
CPC, BRKT, BRAKE RELEASE
PANEL, MID-BODY, LH, PAINTED
TEXTURED WHITE
ALIEN SILVER
TEXTURED YELLOW
BRILLIANT BLACK CRYSTAL
MIDNIGHT BLUE
CHAMPAGNE
WILD STRAWBERRY RED
COLLEGIATE RED
FRENCH BLUE
HUNTER GREEN
BRIGHT SILVER
HOUSE OF KOLOR
PANEL, MID-BODY, RH - PAINTED
TEXTURED WHITE
HOUSE OF KOLOR
ALIEN SILVER
TEXTURED YELLOW

Parts Pricing Schedule

List Price
$51.68
$52.60
$52.60
$52.60
$71.68

$124.52
$40.12
$0.00
$3.20
$17.44
$49.00
$49.00
$50.56
$51.60
$52.52
$52.52
$52.52
$71.56
$124.40
$2.72
$4.32
$64.24
$23.96
$8.78
$10.88
$3.60
$63.04
$0.00
$7.08
$14.40
$70.96
$70.96
$74.16
$76.32
$78.20
$78.20
$78.20
$127.24
$170.28
$63.08
$0.00
$2.64
$6.40
$19.28

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CvG517084TB
CVG517085TB
CVG517086
CVG517111T8B
CVvG517135
CVG517158TB
CVG517167TB
CVG517174
CvG517197
CVvG517199TB
CVvG517200
CVG517234TB
CVG517237TB
CVG517238TB
CVG517264TB
CVG517266
CVG517273TB
CVG517275 *

Opt:

Opt:

Opt:
CVG517276 *

Opt:

Opt:

Opt:
CVG517277 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Page 121 of 194

2E+06
3E+06
3E+06
6E+06
8E+06
1E+07
2E+07
2E+06

202308
1E+06
11902

202308
1E+06
11902

202308
202505
1E+06
2E+06
1E+07
3E+06
2E+07
3E+06
6E+06
8E+06

Description
BRILLIANT BLACK CRYSTAL
CHAMPAGNE
COLLEGIATE RED
FRENCH BLUE
HUNTER GREEN
MIDNIGHT BLUE
WILD STRAWBERRY RED
BRIGHT SILVER
PANEL, TRIM, LH, TXT BLK
PANEL, TRIM, RH, TXT BLK
CPC, CHAN, HINGE MTG
PLATE, 60" DECK, TXT BLACK
CPC, BRKT SUSP MNT
RAIL LOCATING BRKT, TXT BLK
PLATE, MOUNT, DOME LIGHT, TXT BLK
CVG, BRKT, SEAT BELT
CPC, BRKT, HEATER
PLATE, 36" DECK, TXT BLK
CVG, BRKT, DECK EXT MTG
CVG, PANEL, STEP GUARD, TXT BLK
BRACKET, BASKET, RH, TXT BLK
BRACKET, BASKET, LH, TXT BLK
PLATE, 48" DECK, TXT BLACK
CVG, BRKT, LESTER CHARGER

PLATE, LATCHNG 2ND ST DECK, TXT BLK

RBDY PANEL, 60" DECK, LH, PAINTED
TEXTURED WHITE
ALIEN SILVER
TEXTURED SAFETY BLUE
RBDY PANEL, 60" DECK, RH, PAINTED
TEXTURED WHITE
ALIEN SILVER
TEXTURED SAFETY BLUE
RBDY PANEL, 72" DECK, LH, PAINTED
TEXTURED WHITE
TEXTURED YELLOW
ALIEN SILVER
BRILLIANT BLACK CRYSTAL
MIDNIGHT BLUE
CHAMPAGNE
WILD STRAWBERRY RED
COLLEGIATE RED
FRENCH BLUE
HUNTER GREEN

Parts Pricing Schedule

List Price
$32.92
$32.92
$32.92
$32.92
$32.92
$32.92
$32.92
$39.92
$60.16
$60.36
$14.16

$433.12
$6.72
$11.84
$20.84
$7.96
$13.88
$254.56
$8.68
$14.44
$11.44
$11.96
$389.08
$19.00
$320.84
$94.28
$0.00
$14.84
$56.28
$95.20
$0.00
$16.68
$58.12
$134.52
$0.00
$0.64
$10.60
$117.60
$117.60
$124.32
$128.76
$132.72
$132.72
$132.72

1/20/2019



EV Technical Services, LLC

[ = Parts Pricing Schedule
Part # Description
Opt: 2E+06 BRIGHT SILVER
Opt: 1E+08 HOUSE OF KOLOR
CVG517278 * RBDY PANEL, 72" DECK, RH, PAINTED
Opt: 202308 TEXTURED WHITE
Opt: 202505 TEXTURED YELLOW
Opt: 1E+06 ALIEN SILVER
Opt: 2E+06 BRILLIANT BLACK CRYSTAL
Opt: 1E+07 MIDNIGHT BLUE
Opt: 3E+06 CHAMPAGNE
Opt: 2E+07 WILD STRAWBERRY RED
Opt: 3E+06 COLLEGIATE RED
Opt: 6E+06 FRENCH BLUE
Opt: 8E+06 HUNTER GREEN
Opt: 2E+06 BRIGHT SILVER
Opt: 1E+08 HOUSE OF KOLOR
CVG517279 * RBDY PANEL, 36" DECK, LH, PAINTED
Opt: 2E+06 BRIGHT SILVER
Opt: 202308 TEXTURED WHITE
Opt: 202505 TEXTURED YELLOW
Opt: 1E+06 ALIEN SILVER
Opt: 2E+06 BRILLIANT BLACK CRYSTAL
Opt: 1E+07 MIDNIGHT BLUE
Opt: 3E+06 CHAMPAGNE
Opt: 2E+07 WILD STRAWBERRY RED
Opt: 3E+06 COLLEGIATE RED
Opt: 6E+06 FRENCH BLUE
Opt: 8E+06 HUNTER GREEN
Opt: 1E+08 HOUSE OF KOLOR
CVG517280 * RBDY PANEL, 36" DECK, RH, PAINTED
Opt: 202308 TEXTURED WHITE
Opt: 202505 TEXTURED YELLOW
Opt: 1E+06 ALIEN SILVER
Opt: 2E+06 BRILLIANT BLACK CRYSTAL
Opt: 1E+07 MIDNIGHT BLUE
Opt: 3E+06 CHAMPAGNE
Opt: 2E+07 WILD STRAWBERRY RED
Opt: 3E+06 COLLEGIATE RED
Opt: 6E+06 FRENCH BLUE
Opt: 8E+06 HUNTER GREEN
Opt: 2E+06 BRIGHT SILVER
Opt: 1E+08 HOUSE OF KOLOR
CVG517281 * RBDY PANEL, 48" DECK, LH, PAINTED
Opt: 202308 TEXTURED WHITE
Opt: 202505 TEXTURED YELLOW

Page 122 of 194

List Price
$232.52
$429.76
$80.88

$0.00
$0.64
$10.64
$117.64
$117.64
$124.36
$128.80
$132.72
$132.72
$132.72
$232.56
$429.76
$44.52
$0.00
$32.00
$40.20
$45.16
$76.48
$76.48
$78.04
$79.08
$80.00
$80.00
$80.00
$167.08
$74.96
$0.00
$9.32
$14.32
$45.60
$45.60
$47.20
$48.20
$49.12
$49.12
$49.12
$78.72
$136.20
$109.04
$0.00
$0.44

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG517282 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVvG517285TB
CVvG517300TB
CvG517309
CVvG517329
CVG517350PL
CVG517354TB
CVG517427TB
CVvG517440
CVG517472T8B
CvG517473TB
CVvG517476TB
CvG517491
CVvG517500
CvG517501
CVvG517502
CVvG517518TB
CVvG517519TB
CVG517520 *

Opt:

Opt:

CvG517521 *

Page 123 of 194

1E+06
2E+06
1E+07
3E+06
2E+07
3E+06
6E+06
8E+06
2E+06
1E+08

202308
202505
1E+06
2E+06
1E+07
3E+06
2E+07
3E+06
6E+06
8E+06
2E+06
1E+08

202308
1E+06

Description

ALIEN SILVER

BRILLIANT BLACK CRYSTAL

MIDNIGHT BLUE

CHAMPAGNE

WILD STRAWBERRY RED

COLLEGIATE RED

FRENCH BLUE

HUNTER GREEN

BRIGHT SILVER

HOUSE OF KOLOR
RBDY PANEL, 48" DECK, RH, PAINTED

TEXTURED WHITE

TEXTURED YELLOW

ALIEN SILVER

BRILLIANT BLACK CRYSTAL

MIDNIGHT BLUE

CHAMPAGNE

WILD STRAWBERRY RED

COLLEGIATE RED

FRENCH BLUE

HUNTER GREEN

BRIGHT SILVER

HOUSE OF KOLOR
BRKT, RACK, SPRT, TXT BLK
PLATE, 60" DECK/VAN, TXT BLACK
COVER, 4WD ACTUATER, APE
CVG, BRKT, MVP DUAL CONV
DELTA SWITCH REMOVABLE BRKT
BRKT, STRIKER BOLT, TXT BLK
PLATE, CHARGER DISPLAY COVER, TB
CVG, BRKT, TRAILER BRAKE PLUG
BRKT, SUNTOP SPRT, LH, EU4, TXT BLK
BRKT, SUNTOP, SPRT, RH, EU4, TXTBLK
PLYDR, AC PARK BRAKE, COVER
CVG, BRKT, CR10 AUD ALARM
CVG, PANEL, CNTRL MNT, SU52
CVG, PLATE, RETAINER, CNTRL
CVG, SPACER, CONTROL PANEL
PANEL TRIM, 2ND ST, RH, FINNED, TB
PANEL TRIM, RH, FINNED, TB
PAINTED, PNL, MB,2ND ST, RH, FINNED

TEXTURED WHITE

SPECIAL POWDERCOAT
PAINTED, COVER, CONTROLLER ACCESS

Parts Pricing Schedule

List Price

$7.08
$55.56
$55.56
$58.16
$59.84
$61.36
$61.36
$61.36
$102.56
$181.48
$109.04
$0.00
$0.44
$7.08
$55.56
$55.56
$58.16
$59.84
$61.36
$61.36
$61.36
$102.56
$190.08
$9.76
$465.20
$7.80
$31.48
$1.60
$10.56
$24.52
$15.76
$68.56
$9.60
$30.08
$4.12
$83.84
$15.20
$40.60
$164.76
$91.76
$91.12
$0.00
$74.24
$53.64

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

Opt:

Opt:
CVG517522 *

Opt:

Opt:
CVvG517526
CVG517527 *

Opt:
CVG517528
CVG517529 *

Opt:
CVG517530 *

Opt:
CvG517586
CVvG517615
CVG517620
CVG517621 *

Opt:

Opt:
CvG517622
CVG517722
CVvG517726
CVG517729
CVvG517730
CVG517752
CVG517755
CVG517758 *

Opt:

Opt:
CVG517759 *

Opt:

Opt:
CVG517760
CVG517765
CVG517766TB
CVvG517767TB
CVG517774
CVG517775
CVG517776
CVG517783
CVvG517860
CVvG517862TB
CVvG517863TB
CvG517864TB

Page 124 of 194

202308
1E+06

202308

1E+06

202308

202308

202308

202308
11902

202308
11902

202308
11902

Description
TEXTURED WHITE
SPECIAL POWDERCOAT
PAINTED, PANEL, MB, RH, FINNED
TEXTURED WHITE
SPECIAL POWDERCOAT
CVG, BRKT, CONTROLLER, HEAT SINK
PAINTED, PANEL, MB, CNT DR - RH
TEXTURED WHITE
CPC, BRKT, CONT DOOR STOP
PAINTED, PANEL, CONT DOOR
TEXTURED WHITE
PAINTED PNL, MB, 2ND ST,CNT DR - RH
TEXTURED WHITE
CVG, BRKT, CONTROLLER, HEAT SINK
CVG, BRKT, BUMPER MTG
CVG, BRKT, FRONT DECK SPRT
PANEL, REAR BODY, FRONT, PAINTED
TEXTURE WHITE
TEXTURE SAFETY BLUE
CVG, TUBE, TOP SPRT, JOURNEYMAN-2XL
CPC, BRKT, CONTROLLER, HEAT SINK
CVG, PLATE, DECAL
SUSP MINT BRKT, LH
SUSP MNT BRKT, RH
WINDSHIELD, ACRYLIC, C6/EU4
CVG, BRKT, BC 1C1200 CHGR
BRKT,SUNTOP SPRT LWR, JNYMN-2XL,PNT
TEXTURE WHITE
TEXTURE SAFETY BLUE
BRKT,SUNTOP SPRT,UPR, JNYMN-2XL,PNT
TEXTURE WHITE
TEXTURE SAFETY BLUE
CVG, BRKT, BC 12NXS120 TRY
CVG, PANEL, WHEEL WELL, SPRT
PANEL, TRIM, LH, JRNYMN-2XL, TXTBLK
PANEL, TRIM, RH, JRNYMN-2XL, TXTBLK
CVG, BRKT, BC 12NXS186 TRY
CVG, BRKT, BODY MT, RH, J2XL
CVG, BRKT, BODY MT, LH, J2XL
CPC, BRKT, BRAKE BYPASS SWITCH
CHARGER CORD, 6', 14/3 WIRE
BRKT, SIDE RAIL, "A", TB, SU5-2
BRKT, SIDERAIL, "B", TXT BLK, SU5-2
BRKT, RAIL SPRT, TXT BLK, SU5-2

Parts Pricing Schedule

List Price

$0.00
$52.12
$94.44
$0.00
$74.24
$58.00
$57.56
$0.00
$9.20
$29.52
$0.00
$62.60
$0.00
$15.88
$61.80
$14.16
$104.94
$4.06
$8.22
S24.24
$58.08
$15.44
$10.76
$10.76
$403.16
$18.36
$21.24
$0.12
$0.24
$19.92
$0.08
$0.16
$16.60
$8.00
$80.19
$70.92
$19.72
$13.28
$11.92
$32.09
$36.48
$27.36
$24.80
$27.27

1/20/2019



EV Technical Services, LLC

= Parts Pricing Schedule
Part # Description List Price
CVG517869 CVG, BRKT, MOTOR SPRT,8KW, LOWER LT $7.00
CvG517870 CVG, BRKT, MOTOR SPRT, UPPER $12.88
CVG517871 CVG, PLATE, AXLE MTG $6.48
CVG517906TX0O BRKT, FOLDER HOLDER, TXT EXTRM ORNG $29.12
CVG517907 TIRE/WHEEL 175/50R13, DOT, 13X5 4X4 $509.48
CVG517924 CPC, BRKT, MTR SPRT, SCHMLR, UP, LT $33.12
CVG517930 CVG, BRKT, SEAT BASE, CARGO RFS $5.68
CvG517931TB BRKT, SPRT, CARGO RFS, TXT BLK $35.11
CVG517944TB BRKT, BACKREST, LH, TXT BLK $10.68
CVG517945TB BRKT, BACKREST, RH, TXT BLK $10.96
CVG517946PL CPC, SPACER, .50" X 2.50" $2.92
CvG517981 CPC, BRKT, RR SHCK MT, LH, LIFT KIT $9.76
CVG517982 CPC, BRKT, RR SHCK MT, RH, LIFT KIT $9.80
CVvG517983 CPC, SPACER, FR SHOCK, LIFT KIT $3.32
CVG517984 CPC, BRKT, FR SHOCK,, LIFT KIT $5.92
CvG518039 CPC, SPACER, A-ARM, LIFT KIT $4.28
CVG518063 CPC, PLATE, AXLE SPACER $31.52
CvG518064 CPC, MOTOR SPRT, 5KW, UPPER, LT $13.64
CVG518067 CPC, MOTOR SPRT, 5KW, UPPER $10.68
CvG518068 CPC, MOTOR SPRT, 5KW, UPPER, ST $32.88
CVG518100 CPC, ROD, BATTERY HOLD DOWN $36.12
CvG518102 CPC, STEERING COLUMN SUPPORT PLATE $5.20
CvG518121TB PANEL, CLEARVIEW + BDI, TXT BLK $30.88
CvG518137 MOTOR SPRT, SCHAB, UPPR, ST $31.28
CVvG518166 CPC, SPACER, SHACKLE MTG S4.44
CvG518171 BRKT, BRAKE LINE, "L", LFT KIT $5.12
CvG518172 BRKT, BRAKE LINE, "Z", LFT KIT $7.80
CvG518178 CPC, BRKT, HYD BRK CABL, SPACER $4.28
CvG518179 CPC, SPACE, SHACKLE, LARGE $6.72
CvG518184 CPC, SPACER, SHACKLE, SMALL $4.36
CvG518185TB BRKT, RAIL SPRT, 18" SU, TXT BLK $36.60
CvG518186TB BRKT, CARGO TOP, SPRT $23.00
CvG518187TB SPACER, CARGO, TOP TUBE SPRT $3.60
CvG518188TB BRKT, CARGO TOP SPRT, LH, TB $7.00
CVG518189TB BRKT, CARGO TOP SPRT, RH, TB $27.32
CVG518193 CPC, PLATE, SIDE DECAL, JOURNEYMAN $11.84
CvG518199TB BRKT, RR-VIEW CAMERA, JM-4, TXT BLK $34.29
CVG518200TB BRKT, REAR-VIEW CAMERA, JM-2, TB $32.84
CVvG518235TB SUPPORT, LH, LIFT BRACE $60.60
CVG518236TB SUPPORT, RH, LIFT BRACE, TXT BLACK $60.60
CvG518242TB BRKT, REAR-VIEW CAM, CARGO, TB $36.92
CVG518245TB PANEL DASH, CLRVW + RECT BDI, UT $24.92
CVG52017-368 BCKT ARMREST CVR - MOON MISTY $30.28
CVvG5211 U-BOLT $1.00
Page 125 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVvG5218
CVG52656-14
CVvG529
CVvG5295
CVG5306
CVG53565
CVG540
CVG558
CVG558-LED
CVG571
CvG5714
CVG5715
CVG5720
CVG5722
CvG5807
CVvG5807-DT
CVG605
CVG61247-75
CVG6256
CVvG62983-96
CVvG65281-98
CvG65283-98
CvG654
CVvG66028-92
CVG6770
CVvG68022-02
CVG69006-02
CVvG6915
CVG69636-99
CvG70037-01
CVvG70059-00
CvG70060-01
CVvG70230-07
CVG702625
CVvG706205
CvG707005
CVvG707029
CvG707043
CvG707102
CvG707103
CVvG707282
CvG707317
CvG707374
CvG707382

Page 126 of 194

Description
U-BOLT..375-16X2-7/16".YWZC96
CPC. WLDMNT. ST BLT ANCR. 2PT. P5
BRUSH SET STR/GEN 4/PKG
BREEZEASY 48 VOLT BLOWER
KEY SWITCH-CO 82-95
SEAT BELT BRACKET. W/HARDWARE
BRUSH SET (2) ADVANCED DC EZGO
FLASHER 12 VOLT HD ELEC AMENO
FLASHER LED
FLASHER
SHIM. 1.25X.791X.010 THK
SHIM.1.25X.791X.020 THK
F & R SWITCH ASSY
SOLENOID-ALBRIGHT 48VOLT
BEVERAGE HOLDER-CLUB
DRINK TABLE
5 FLAT MIRROR
KIT-VENT GAS TANK
"WASHER. 1/4"" FENDER (SS316)"
OIL DRAIN PLUG
EXHAUST VALVE
INTAKE VALVE
5 BLACK CONVEX MIRRO
BATTERY HOLD DOWN RO
CLUB CAR BATTERY J HOOKS
BACKUP LIGHT
BACK UP LIGHT HARNES
CLUB CAR DS FRONT END REPAIR KIT
HARNESS
HARNESS.MAIN CURTIS EX-21
WIRING HARNESS
XP HARNESS
WIRE HARNESS.LINEAR ACCELERATOR
PLYWOOD,3/4X4X8,MEZZTREAD QUAD GRIP
SPLICE,16-14 SEALED CRIMP
4" NON LOCKING TRACK, Z
T-NUT,1/4-20X3/8,4-PRONGE,UNPLT
PLUG,ROUND TUBE,1.00"ODX14/16GA
FASTENER,BTN-SNAP,BRASS&NICKEL
FASTENER,SOC-SNAP,BRASS&NICKEL
BELL WASHER,ZC
NUT,5/16 PUSHNUT,BLK
WASHER, 7/16, ZC
NUT,1/4-20,WELD,TAB-4-PRJ,UNPLT

Parts Pricing Schedule

List Price
$15.76
$25.84
$57.60

$479.92
$257.92
$54.00
$159.92
$22.80
$22.40
$34.00
$1.40
$1.00
$169.24
$176.44
$327.88
$212.00
$32.00
$2.48
$1.88
$14.36
$100.48
$104.68
$32.00
$2.00
$7.40
$28.12
$52.48
$187.24
$14.28
$191.92
$105.12
$105.24
$80.80
$434.56
S4.64
$11.80
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Parts Pricing Schedule

Part # Description List Price

CVG707457 SCREW,5/16-18X1-1/2,HHCS,G5,NYLX,ZC $1.00
CVG707498 WASHER,5/8,SAE,F/W,ZC $1.00
CVG707592 SCREW,1/4-20X1-1/2,POH,M/S,ZC $1.00
CVG707596 SCREW,1/4-20X2-1/2,POH,M/S,ZC $1.00
CVG707613 END TIP,.375"ID X 1.50",PVC,BLACK $1.00
CVG707783 KNOB,BALL,1-1/4"0D,W/3/8-16" INSERT $2.28
CVG707801 4" NON LOCKING TRACK,Z $11.68
CVG707850 BUSHING,NYLON $1.00
CVG707855 INTERNAL TOOTH WASHER, 1/4" $1.48
CVG707856 SCREW,1/2-13X1-1/2,HHCS,NYLX,G2,ZC $1.00
CVG707978 SCREW,7/16-20X1,HHCS,G5,YWZC $1.00
CVG707979 NUT, TINNERMAN $1.00
CVG708058 SPRING, COMPRESSION, 1.25" LONG $1.00
CVG708085 *%% SCREW $1.00
CVG708302 BALL STUD,5/16-18X.562",10MM BALL $1.84
CVG708340 WIRE,16/2 CABLE,TYPE SJOOW,300V $1.60
CVG708367 WASHER,.291"IDX.490"0DX.030"T,NYLON $1.00
CVG708400 MAGNET,1/2"0DX1/4"T,G35,NEODYMIUN $2.40
CVG708403 STUD, 5/8" SELF TAPPING SCREW $1.00
CVG708460 SCREW,1/2-13X 2,HHCS,G8,YWZC $1.00
CVG708479 PLUG, ROUND TUBE, FOR 1.00" X 11GA $1.00
CVG708482 WASHER, 7/16 $1.00
CVG708485 BOLT, 1/2-13 X 1 HX HD (LADDER) $1.00
CVG708486 NUT,1/2-13,TOP-LOCK,GC,YWZC $1.00
CVG708511 WASHER, FLAT 1/4" 18-8 SS $1.00
CVG708590 .25-20X1.50 OVAL HD BLK $1.00
CVG708591 SCREW,7/16-20X1-1/4,HHCS,G8,ZCHXF96 $1.00
CVG708592 NUT, 7/16-20 LOCKING FLANGE (STOCK) $1.00
CVG708616 SCREW,1/4-20X1-1/4 GR.8 $1.00
CVG708636 SCREW,1/4-14X1,HWH,TEK,ZC $1.00
CVG708653 NUT, 5/8-18 NYL L/N ZC $1.00
CVG708656 SCREW,7/16-20X2-1/4,HHCS,G8,ZCHXF96 $1.12
CVG708659 WASHER, 3/4" FLAT, SAE STD, ZC $1.00
CVG708698 WASHER,7/16,SAE,MIL,F/W,YWZC $1.00
CVG708746 SCREW,5/16-18X1-3/4 $1.00
CVG708748 MUFFLER CLMP. 1-3/4",5/16 U-BOLT $3.04
CVG708750 SCREW,M10X30MM,HHCS,zZC $1.00
CVG708799 RIVET,QUICK SNAP,#B/SS46SH $1.00
CVG708859 WASHER,3/8",STD FLAT 18-8 STAINLESS $1.00
CVG708860 NUT,3/8-16 NYLON-INSERT,LOCK, WAXED $1.00
CVG708862 J-HOOK,3/8X13.86",303 SS, Y-ZINC $20.30
CVG708865 LANYARD,NYLON .093X8 TY 2 FIX END $1.20
CVG708882 NUT,M10X1.5,TOP,L/N,C10,ZC $1.00
CVG708934 NUT,M6-1.0,L/N,NYLOK,ZC $1.00
Page 127 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG708953
CVG708976
CvG709000
CVvG709001
CvG709002
CVG709003
CvG709004
CVG709005
CVvG709006
CVG709007
CvG709008
CVvG709009
CvG709010
CVG709011
CVvG709012
CVG709013
CVG709015
CVG709016
CvG709017
CVG709018
CvG709019
CVG709021
CVG709023
CVG709024
CVG709025
CVG709026
CvG709029
CVG709031
CVG709033
CVG709036
CvG709037
CVG709039
CvG709040
CvG709041
CvG709043
CVG709045
CVvG709046
CvG709047
CVvG709048
CVvG709050
CVG709052
CVvG709056
CVG709058
CvG709059

Page 128 of 194

Description
BUTTON,SNAP FASTENER,BLACK
SCREW,5/16-18X1,FSCHCS,ZC
6V TROJAN BATTERY T-105
48V SYS. 110V/60HZ PORTABLE CHGR
WHEEL NUT 1/2-20
WASHER
CABLE, 4 GA.
BUSHING (.62 ID)
SHOCK ABSORBER
TURF TIRE W/WHEEL
BUSHING - OLITE, BRONZE
CAMBER ADJUSTER
BUSHING (.75 ID)
BUMPER-BODY
CABLE, ELEC 6 GA
TRIM,PINCH WELT,3/32",BLACK
BUSHING, RUBBER, 1/2"" X 1-3/8
GUIDE, BODY SIDE 91 - * PLASTIC
SEAL, OIL
HUB GREASE CAP
CABLE, 4 GA.

FLOOR BOARD TRIM, P4 "UNMACHINED"

BALL BEARING .75 ID STG.

BUSHING, REAR FORK

COVER,SEAT BACK(BLACK PLASTIC)
BUSHING, BRAKE TUBE

HINGE, BODY (CLASSIC)

REAR COIL SPRING (ELEC.)

ELECTRIC CABLE, 6 GA.

INSULATING SLEEVES, TUBING, 1/
HINGE, SEAT BELT

GUARD, FRONT HEEL END
KEYSWITCH, UNIVERSAL, -01 & NEWER
SWEATER BASKET

SCORECARD HOLDER

CLEVIS

RHINO TUFF FRONT BODY-RAW
FRONT BUMPER COVER

PAD, BRAKE PEDAL

BUMPER CUP, RUBBER ELECT. MOTOR
HOLDER, PLASTIC (BAG STRAP) (K1)
STEERING WHEEL-SPORT, 96 & NEWER
TRIM, BAG CRADLE

BATTERY HOLD DOWN ROD (SS316)

Parts Pricing Schedule

List Price
$1.00
$1.00

$526.52
$1,252.16
$1.00
$1.00
$6.66
$2.00
$35.04
$119.16
$2.40
$2.56
$3.11
$1.00
$7.88
$1.72
$4.12
$1.52
$7.10
$1.28
$15.20
$21.36
$5.72
$12.84
$14.32
$1.36
$18.40
$35.16
$7.43
$3.28
$12.00
$2.28
$26.60
$47.92
$18.09
$6.96
$186.08
$59.96
$10.64
$3.88
$2.92
$32.84
$19.36
$6.36

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG709061
CVG709062
CVG709063
CVG709065
CVG709066
CVG709067
CVG709068
CVG709069
CvG709070
CVG709072
CVG709073
CVG709075
CvG709076
CVG709077
CVG709078
CVG709079
CVvG709081
CVG709082
CVG709085
CVG709086
CVG709088
CVG709089
CvG709091
CVG709093
CVG709094
CVG709096
CvG709097
CVG709098
CVG709099
CVG709100
CvG709101
CVG709102
CvG709103
CvG709104
CvG709106
CvG709107
CvG709109
CVG709110
CvG709112
CVG709113
CvG709114
CvG709127
CVvG709133
CvG709134

Page 129 of 194

Description
RACK & PINION ASSY.
SIDE PANEL LEFT
SIDE PANEL RIGHT
AMBER LIGHT MARKER
CLEVIS W/O THREADS
SPRING, BRAKE ROD
ROD, PARKING BRAKE
BRAKE RATCHET
SPRING, PARKING BRAKE RETURN
STRAP-FRONT
SPRING, RETURN
PAD, ACCEL PEDAL
SPRING EXTENSION, 8.20 LBX/IN
FLOOR MAT
STRAP, REAR
LINK
BRAKE CABLE,LEFT W/CLIPS
BOLT, WHEEL
STEERING HUB COVER
MAT< BAGWELL LEFT
MAT, BAGWELL RIGHT
12V HORN
BRAKE CABLE, RT. W/CLIPS
GUARD, SIDE FENDER LEFT
GUARD, SIDE FENDER RIGHT
*** | EAF SPRING, ELECTRIC - 4 LEAF
WASHER, LOCK STEERING
CABLE, SPEEDSWITCH
ROD END, RH THREAD
WASHER, STEERING
BALL JOINT, TIE ROD
RECEPTACLE, POWER
BRAKE ROD, 11" P4 SERIES
OBLONG TAILLIGHTASSY W/GROMMET
BOOT,STEERING
TIRE/WHEEL ASSY, 4.8X8 LRC
TAIL LAMP (SEALED)
GREASE FITTING, 1/4", DRIVEN
4-LEAF SPRING 6" DROP(B.C.)
STEERING WHEEL-IS/EX
HARNESS,MAIN SERIES, ZEV
MAGNET
BRAKE CALIPER, RH, REAR
GOV.RET.SPRING, '82-'91

Parts Pricing Schedule

List Price

$240.00
$3.92
$3.92
$11.28
$4.88
$5.08
$5.88
$10.58
$3.04
$5.60
$5.04
$10.73
$3.08
$83.68
$7.00
$2.88
$69.20
$5.44
$3.04
$4.52
$4.52
$21.60
$70.44
$26.20
$24.28
$254.20
S2.44
$28.64
$16.32
$1.00
$18.48
$50.44
$8.68
$14.80
$6.84
$65.96
$12.74
$1.00
$179.96
$110.16
$213.92
$1.00
$579.16
$26.96

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG709138
CvG709139
CvG709140
CvG709142
CvG709143
CVG709145
CvG709148
CvG709149
CVvG709158
CVG709159
CvG709162
CVG709166
CvG709167
CVG709168
CVG709169
CVG709170
CvG709171
CVG709173
CVG709175
CVG709176
CVG7091778
CVG709178
CvG709180
CVG709182
CvG709184
CVG709185
CvG709188
CVG709190
CvG709196
CVG709202
CVG709204
CVG709206
CVG709206A
CVG709210
CVG709213
CVG709214
CVG709215
CVG709217
CVvG709218
CVG709232
CVG709234
CvG709239
CvG709240
CvG709242

Page 130 of 194

Description
WIRE HARNESS,MAIN,CURTIS(IS-11)
STRIP,BUMPER BASE,JAG
STRIP,BUMPER INSERT,JAG
COVER, CHAIN, ALUMINUM - BC
SPROCKET, 17T, 7/8""B
SPROCKET, 86T, 2-5/16""B
BRAKE CALIPER, RH, FRONT
24 V. SOLENOID, 4T
WINDOW, FRONT CAB,BURDEN CARRIER
WINDOW, REAR CAB ASSY
BRAKE CALIPER, LH, FRONT
CONTACTOR & MTG BRACKET, 24V
*SEAT BELT,BUCKLE FOR 75510-99
*SEATBELTRETRACTOR FOR 75506-99
BUMPER
BRAKE ASSY, RH AUTO ADJUST-PASSGR
BRAKE ASSY, LEFT AUTO ADJUST-DRIVER
GUARD, BAGWELL LEFT
GUARD, FRONT HEEL MIDDLE
SWITCH, HORN BUTTON
RIGHT BAG WELL TRIM
GUARD, BAGWELL RIGHT
TRIM, BAGWELL CENTER
SOLENOID 6T, 48V
RESISTOR ASSY, CURTIS
PLAIN BABY MOON HUB CAP
CHAIN, #35 RIVETED, 1/2 X 1-3 44L
REAR SPRING HEAVY DUTY UTIL INNER
BATTERY HOLD DOWN BRKT
CONTACT BAR, 4-3/8
MOUNT, RUBBER
TRIM SEAL, PER FOOT
REAR FENDER TRIM
DIODE , SEMI-COND, SPEED SWT.
SWITCH, TURN SIGNAL
SOLENOID 12 VOLT
CABLE, 6 GA., 17.50/18 LONG
WASHER, THRUST - 280,282
O-RING, #332,1-1/4 X 1/4
HYDRLC. BRAKE LINE 30"
SOLENOID SINGLE, 12V
COVER, BC M18 DRIVE
BUSHING 7/8"(FOR 40T SPROCKET)
*** BELT,TOOTHED,960T

Parts Pricing Schedule

List Price
$34.60
S11.72

$6.32

$192.44
$109.56
$652.16
$462.68
$211.36
$373.40
$373.40
$462.68
$113.68
$15.00
$47.08
$61.96
$185.56
$185.56
$11.04
$15.16
$19.53
$13.28
$11.04
$37.40
$284.20
$13.64
$26.08

$5.72

$24.12
$22.28
$12.74
$10.72

$3.08
$8.48
$1.00

$96.08
$37.92
$10.26

$4.40
$1.00

$11.76
$70.04
$84.06
$82.48
$74.80

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG709244
CVG709245
CVvG709252
CVG709253
CVG709255
CVG709260
CVG709268
CVG709269
CVG709282
CVG709285
CVG709286
CVG709287
CvG709291
CVG709295
CVG709306
CVG709316
CvG709319
CVG709324
CVG709325
CVG709341
CVG709346
CVG709349
CVG709353
CVG709354
CVG709358
CVG709359
CVG709360
CVG709362
CVG709363
CVG709364
CVG709366
CVG709367
CVG709368
CvG709371
CVvG709372
CVvG709373
CVG709375
CvG709377
CVvG709380
CvG709381
CVG709383
CVG709385
CVvG709387
CvG709389

Page 131 of 194

Description
CONTROL PANEL TRIM
CABLE ASSY - LIMIT STRAP
HARNESS,BC 12V ACC
MAIN WIRE HARNESS (B.C.)
FUSE, 15A ATO/ATC
*** SPROCKET,BELT,56T
ARM,NEV WINDSHIELD WIPER
BLADE, NEV 18" WINDSHIELD WIPER
HANDLE, DOOR, CHROME, 5/16 X 4
SAND BOTTLE
BOTTLE HOLDER, SAND
*** O-RING
BRAKE CALIPER, LH, REAR
TERMINAL WIRE
CHARGER PLUG (ON BOARD)CHARGER
TRAM SUNTOP
O-RING
DUST SEAL, FELT FLANGE
RUNNING BOARD MAT(TRAM TRAILER)
SPRING, EXTENSION
GROMMET
ASS'Y DIODE
WASHER, 1.25"0D X 1.00"ID
TIRE & WHEEL ASSY, 5.7 X 8 LRD 5H
BRAKE LINE, 3/16"" X 20
WINDSHIELD, TINTED, FOLDOWN
UNIVERSAL WIRE HARNESS(HORN)
BEARING, NYLON
TIRE/WHL ASSY 5.7X8 DOT 6-PLY 4BOLT
WASHER, FIBER, 3/4"" X 1/4"" X 1
INSULATOR, WHITE
SOLENOID, 4T 48V
HARNESS,SOLENOID,NEG.
*** COVER,8 INCH CHROME & BLACK WHL
U-BOLT, 1/2""-13 X 5-1/4"", FRON
RAW MAT, BLACK VNYL.
BRAKE CABLE W/E-CLIPS
UNION TEE, 3/16 TUBE
REAR SPRING HEAVY DUTY C6E
GRIP, HANDLE BAR, 7/8
OBS PINION,STEERING GEAR
HORN SWITCH
GASKET-BRAKE FITTING,COPPER
HEADLIGHT (SINGLE)

Parts Pricing Schedule

List Price
$64.68
$11.20

$178.12
$146.64
$1.00
$380.88
$78.32
$26.52
$30.84
$20.64
$32.60
$2.36
$579.16
$1.00
$67.84
$1,343.48
$1.00
$17.40
$80.64
$1.88
$2.56
$19.88
$1.72
$90.51
$5.12
$370.92
$36.28
$1.00
$80.68
$3.60
$16.36
$92.40
$15.04
$24.00
$13.28
$35.00
$59.92
$6.48
$44.08
$5.90
$48.92
$19.53
$3.04
$32.84

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG709392
CVG709398
CvG709399
CVG709401
CVG709403
CVG709405
CvG709407
CVG709408
CVvG709409
CVG709411
CVG709412
CVG709414
CVG709418
CVG709419
CVG709422
CVG709423
CVG709425
CVG709426
CVG709428
CVG709429
CVG709430
CVG709435
CVvG709437
CVG709438
CVvG709439
CVG709441
CVG709443
CVG709445
CVG709446
CVG709447
CVG709448
CVG709449
CVG709450
CvG709452
CVG709456
CVG709474
CVG709488
CvG709519
CVG709523
CVG709524
CVG709529
CvG709542
CVG709549
CVG709558

Page 132 of 194

Description
DUST CAP MODEL 23-10
CIRCUIT BREAKER, 20 AMP
SOLENOID, FWD/REV, CR-10
MOUNT SUSPENSION (EX-21)
SPRING, COMPRESSION
BLOCK, STABILIZER
SOLENOID 6T, 36V
FIVE PANEL REARVIEW MIRROR
PIPE STRAP
CABLE,ELECTRIC
ILLUMINATED ROCKER SWITCH
BEARING, NYLON
BOLT, FLAT, 5/16""-18 X 2-1/2
SPRING
WINDSHIELD
REAR SPRING
U-BOLT, 1/2""-13 X 5-1/4"", REAR
C6 EXTRUSION
CIRCUIT BREAKER
L - BRUSH
BRAKE HOSE, HYDRAULIC
SERVICE KIT, STATOR (PADS, 2PER)
SIDE MIRROR,ROUND 5"
DRIVE ARM, LOWER
SPRING, 7/16"" X 2-1/4"", #13
BRAKE CABLE W/CLIPS
NUT, BEARING, ADJUSTING
AXLE, FRONT FORK
90 AMP CIRCUIT BREAKER
OWNERS MANUAL, IS-11, EX-21, TE-31
TRIM SEAL
24V ON BOARD CHARGER 110V/60HZ
ROD, END 5/16
HOUR METER, 10-80,VDC
*SUNTOP, BRIGHT WHITE, RAW (K1)
BRAKE LINE, HYDRAULIC, 3/16"" X
TURN LIGHT, ROUND, AMBER
CONSOLE, I1s-11
CAB LOCK, ZINC, RH
CAB LOCK, ZINC, LH
*** RING STD PIST
**HNDLE BAR GRIPS FOR TEE HNDLE BAR
INSULATOR BASE PLATE, FWD/REVERSE
PLUG,POWER INLET 120V SEALED(JAG)

Parts Pricing Schedule

List Price
$2.40
$12.60
$202.88
$250.76
$42.48
$17.40
$167.60
$35.70
$1.00
$24.68
$9.68
$16.08
$1.00
$4.60
$349.84
$34.72
$6.32
$47.52
$17.90
$12.96
$27.60
$78.28
$23.08
$16.36
$9.90
$74.16
$47.72
$104.60
$246.52
$23.72
$7.88
$1,007.64
$8.46
$37.68
$321.44
$16.48
$4.28
$111.64
$20.80
$20.80
$7.72
$4.88
$9.68
$27.95

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG709564
CVG709567
CvG709571
CVG709573
CVG709574
CVG709583
CVvG709584
CVG709588
CVG709589
CVG709590
CVG709592
CVG709593
CVG709598
CVG709599
CVG709600
CVG709601
CVG709602
CVG709607
CVG709608
CVG709609
CVG709615
CVG709616
CvG709617
CVG709618
CvG709619
CVG709621
CVG709623
CVG709627
CVG709628
CVG709632
CVG709635
CVG709637
CVG709642
CVG709644
CVG709645
CvG709646
CvG709647
CvG709648
CVvG709649
CvG709651
CVG709653
CVG709654
CVG709655
CVG709658

Page 133 of 194

Description
SCREW
*** CUP-ADAPTER CARB.
MODULE, (WITHOUT FUSE HOLDER)
SPRING, ACCELERATOR
U-BOLT, 1/2-13X5.75"
REDUCER, BRASS, 1/4"" MALE TO 3
P&A,COVER, STBK, FOOTREST
SCREW
24 V. SOLENOID, 6T
SOLENIOD,SINGLE-48V COILS
MOTOR, WINDSHIELD WIPER
*** S-HOOK, 1 INCH
DIODE ASSY., SINGLE
DIODE ASSY., DOUBLE
CABLE, 4 GA.
BRAKE LINE, 3/16" X 8"
BLK TRIM SEAL, 5/8" BULB, 1/4" EDGE
BRAKE LINE, 3/16"" X 12
FUSE, SPEED SWITCH (90-THRU)
LEAF SPRING, HEAVY DUTY
FOAM TAPE,.375"(T)X.75"(W),PSA
HYD. FLOORMAT
LATCH PIN FOR PUSH/PULL BATT. KIT
CONNECTOR, BRASS, 3-1/2"" MALE
BATTERY BOX, RETAINER SPRING
MOTOR, 36V/48V, DC
U-BOLT 1/2-13X7.93
SPRING, SPEED SWITCH
CLIP, STEMCO, 3"", STAINLESS
P&A, BEARING & RACE,16128 HUB
HOSE,BRAKE FRONT 19 1/2"
BRAKE DRUM, 23-10
OWNERS MANUAL CR-10 CHARIOT
SPRING, 3/4"" X 8-1/2
SPROCKET, 13 T 3/16"" KEY # 35
SPROCKET, 96T 4.85 BORE #35 CH
BRAKE CLUSTER
INSTRUCTION/WARNING LABEL, CR-10
ROD END, 1/4""-28, MALE, BALLJ
WASHER, DUST - 325
MOTOR, 12V - 2310
MAIN HARNESS, CR-10
NUT, JAM, 3/4-10 X 1/2 NYLON
SUNTOP RAW 80 INCH LONG

Parts Pricing Schedule

List Price

$1.00
$32.28
$561.08
$25.48
$8.32
$3.44
$79.11
$1.00
$278.96
$88.16
$274.96
$1.00
$12.92
$26.52
$10.17
§7.72
$3.24
$14.16
$1.00
$181.40
$1.00
$89.60
$21.80
$1.28
$101.00
$1,316.44
$11.56
$15.28
$3.84
$25.38
$56.52
$43.84
$20.12
$60.00
$5.63
$219.12
$202.04
$17.72
$14.76
$1.28
$1,573.64
$109.76
$1.00
$739.12

1/20/2019



EV Technical Services, LLC

=SDVORB

Parts Pricing Schedule

Service Disabled Veteran Owned Business

Part #

CVG709666
CVG709674
CVG709682
CVG709685
CVG709686
CVG709687
CVG709689
CVG709693
CvG709702
CVG709703
CvG709710
CvG709711
CVvG709718
CVG709727
CVvG709731
CVG709732
CVG709738
CVG709745
CVG709746
CVG709747
CvG709750
CVG709753
CVG709754
CVG709755
CVG709756
CVG709761
CVvG709767
CVG709775
CVvG709776
CVG709780
CVG709783
CVG709785
CVG709786
CvG709788
CvG709789
CvG709790
CvG709791
CvG709792
CVG709795
CvG709796
CvG709797
CVvG709798
CVG709801
CVvG709806

Page 134 of 194

Description
*** STANDOFF, ACCEL. BELLCRANK
*** BATTERY HOLD DOWN BRACKET
*** DRIVE BELT
SPRING,EXTENSION
SPRING,TORSION-DOUBLE
SPRING,TORSION 7/8 ID
SPRING, TORSION
ROD, ADJUSTING
MAT, FLOOR
LABEL SET, EX-21
SOLENOID 4T, 36V
ACCEL PEDAL RETURN SPRING
STEERING SHAFT,25"LONG(BC)
BRAKE LINE, 3/16"" X 60
HUB COVER, STEERING WHEEL
CABLE, 4 GA., 3-WHEEL, 25 IN.
BELT, STARTER/GENERATOR
SPRING, BRAKE RETURN, 3/4"" X 5
SPRING, EXTENSION, 7/16" X 1-5
MASTER LINK, #35 CHAIN
LEVER, PARKING BRAKE W/HARDWARE
HAND BRAKE LEVER (PHASE IN 1-99)
LABEL SET, BURDEN CARRIER
CABLE, 4 GA., 3-WHEEL, 41.0 IN.
CABLE, ACCL.-SHORT 54"
TIE ROD END, RH THREAD
LANYARD CT PIN
48V SYSTEM 110V/60HZ ONBOARD CHGR
CHARGER 36V, 25 AMP DC (ON BD K1)
MASTER CYLINDER, 2-HOLE
FOAM TAPE, 1/8"TX1"WX1'L, BLACK PVC
BRAKE ROD, 36.75 FULL THREADS
FUSE, 10A ATO/ATC
SPRING, REAR HD OUTER
WASHER,M10,DIN 127B,LOCK,ZNC
WINDSHIELD WIPER ARM
BLADE, WINDSHIELD WIPER (K1)
SPRING, COMPRESSION, 1/2
STUD, COPPER, CONTACT POINT
**CAB HINGE BUSHING
CONTACT BAR, FWD & REV SWITCH
INSULATOR PLATE
ROD END, TOW BAR
MASTER CYL.,WILWOOD

List Price
$40.00
$2.92
$104.28
$13.64
$10.48
$10.28
$25.84
$12.28
$61.12
$19.08
$231.48
$13.88
$85.88
$20.28
$1.52
$14.18
$12.92
$12.76
$10.62
$2.08
$86.40
$68.68
$18.14
$16.32
$73.52
$39.68
$3.76
$1,252.16
$1,073.04
$70.00
$1.00
$33.32
$1.00
$114.16
$1.00
$60.08
$19.32
$29.72
$57.68
$1.80
$18.16
$28.28
$14.36
$302.28

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG709807
CVG709808
CvG709812
CVG709818
CvG709819
CVG709823
CVG709825
CVG709828
CVvG709830
CVG709831
CVG709833
CVG709837
CVG709845
CVG709857
CVG709861
CVG709862
CVG709863
CVG709874
CVG709890
CVG709905
CVG709907
CVG709908
CVG709920
CVG709925
CVvG709929
CVG709930
CVG709931
CVG709933
CvG709947
CVG709950
CVG709957
CVG709982
CVG709996
CVG711374
CvG712000
CVG712012
CvG712037
CVG712052
CVG712055
CVG712081
CVG712083
CvG712084
CvG712109
CvG712173

Page 135 of 194

Description
HYDR. BRAKE PEDAL PAD
HYDR. ACCEL. PEDAL PAD
R.H. FRONT BRAKE LINE 6.00
DANA BRAKE CABLE 42"
BRAKE CABLE, 51" DANA, W/E CLIPS
LICENSE PLATE LIGHT HARNESS
SOLENOID,DOUBLE-48V COILS
FITTING, ADAPTER
REAR FLOORMAT C6E,C6G,FE,FG
DUST CAP, 12842 HUB
HITCH,PINTLE HOOK,RIGID
REAR VIEW MIRROR
LABEL SET, IS-11
COLLAR, SHAFT, 3/4" X 1-1/4"
TURN SIGNAL BYPASS(B.C.)
SLIDE BAR
CONTACT BAR, REV SWITCH - 539
CHOKE CABLE - 115 IN.
CORD, ONBOARD CHARGER / HD
TIRE & WHEEL ASSY, 5.0 X 8(SOLID)
TIRE & WHEEL ASSY 18.5X8.5X8 LRC
SCOUT TIRE & WHEEL ASSY. 22X9.5-10
DOME LIGHT, CAB
PLUG ASSY.(MALE)
JAG LANYARD 7 3/4" LONG
4.0X8 SOLID NON-MARKING TIRE&RIM
P&A,ROD,5/16-24 X 11" FULLY THREADE
MAT,ANTI-SLIP GRIP
TOOL BOX-EX21
VISE, TOOL EXPRESS
SUNTOP, CANOPY (115' LONG)
PARTS MANUAL, IS-11/EX-21/TE-31
ENCLOSURE, VINYL TRAM 78 DEG
AXLE BRKT. STOCKCHASER
CONSOLE DECAL(ISRIT)
MANUAL, ROLLOUT BATTERY TRAY
OWNERS MANUAL,BC ACE+,SMT DR.
NEV OPERATING DECAL
ELECTRIC OPERATING DECAL
OWNERS MANUAL,EAGLE ELECT VEHICLE
DECAL,DASH,EX-21,W/STATUS INDICATOR
DECAL, DASH OVERLAY, ELECTRIC
DECAL,BATTERY PACK LABEL SET
DECAL, 32-PSI TIRE PRESSUE

Parts Pricing Schedule

List Price
$19.04
$14.04

$5.32
$43.36
$46.60
$173.56
$202.88
$5.84
$51.84
$2.92
$163.84
$31.96
$22.52
$4.04
$13.28
$13.76
$17.76
$60.88
$32.45
$813.16
$130.00
$460.04
$15.88
$10.60
$15.89
$618.52
$11.56
$6.93
$485.08
$210.84
$1,860.88
$13.56
$3,034.80
$9.08
$15.04
$7.36
$27.92
$9.12
$12.60
$6.60
$15.88
$7.52
$158.76
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG7122
CVG712248
CvG712250
CVvG712278
CvG712307
CVG712323
CVvG712398
CVG712404
CVG712405
CVG712406
CvG712417
CVG712422
CvG715
CVG719004
CVvG719007
CVG719008
CVvG719044
CVG719045
CVG719046
CVG719053
CVG719060
CVG719061
CVG719062
CVG719064
CVG719073
CVG719075
CVvG719076
CVG719077
CVvG719078
CVG719082
CvG719091
CVG719093
CvG719108
CVG719109
CvG719121
CVG719122
CvG719128
CVG719129
CvG719130
CVG719132
CVvG719133
CVvG719135
CvG719137
CvG719138

Page 136 of 194

Description
HIGH SPEED MOTOR
MANUAL,OWNERS,P5
INST SHT,ETEK CONTROLLER REPL
DECAL,DIRECTIONAL SWITCH
MANUAL,OWNERS,SU5
INST SHT,HITCH ASSEMBLIES
LABEL,PARK BRAKE RELEASE
DECAL,PARCAR SHIELD
DECAL,PARCAR NAMEPLATE
DECAL,COLUMBIA NAMEPLATE
LABEL, RUN/TOW, SU5
LABEL, WARNING, CR10
4X6 HD CONVEX MIRROR CHROME
WASHER, 10MM, DIN125
BREAKER POINT SET
BALL HITCH, 1 7/8"
LOCKING FLANGE NUT, 5/8-18
OIL SEAL
SHOE & LINING ASSY., SET OF 2
BRAKE ROD,1/4-28X26.75", THREADED
WASHER,#12 SAE,FLAT,1/4X9/16X1/16
AXLE,LEFT, I1S-11/EX-21 HELICAL
AXLE,RH, 1S-11/EX-21 HELICAL
RH AXLE SHAFT & WHEEL BOLT(GAS)
TIRE, INDUSTRIAL EU4
SHOE HOLD DOWN SPRING
ASSY, TORQUE SPIDER
BEARING, INPUT SHAFT
SWITCH
SCREW, BLEEDER
WASHER, PLASTIC
BEARING CLIP,.500, I.D. (HYD.PEDAL)
TOGGLE SWITCH GUARD
TOGGLE SWITCH(TARGET)
ROLL PIN(EX-21)
BOLT 5/16 - 18X3.50 BLK GRD 5
DOUBLE CONTACTOR,36V(AFS80/36Q
SINGLE CONTACTOR,36V (AFS80/36Q)
DOUBLE CONTACTOR, 24V (IS-11)
O-RING, ELEC.DIFF. .55"0.D.
SPACER-SHOCK
MOTOR,ELECT.,48V,SEP EX, STD DUTY
BRAKE ASSY. 160MM HYD L.H.
BRAKE ASSY.160MM HYD.R.H.

Parts Pricing Schedule

List Price
$1,509.92
$22.60
$1.00
$4.08
$23.36
$1.00
$12.32
$5.44
$15.20
$15.20
$3.08
$41.44
$47.80
$1.00
$10.44
$21.72
$3.56
$9.72
$160.16
$21.08
$1.00
$94.04
$84.96
$283.40
$71.08
$5.08
$301.48
$9.99
$53.60
$14.68
$1.00
$1.48
$2.36
$12.36
$1.00
$1.56
$204.72
$70.04
$186.12
$1.00
$1.00
$982.52
$264.00
$264.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG719140
CvG719142
CVG719145
CvG719147
CvG719150
CVG719152
CvG719154
CVG719156
CvG719157
CVG719158
CvG719163
CvG719167
CvG719191
CVG719207
CVG719208
CVG719209
CvG719210
CVG719214
CvG719217
CVG719218
CVG719222
CVG719228
CvG719229
CVG719230
CvG719231
CVG719232
CVG719234
CVG719235
CVG719245
CVG719246
CVvG719257
CVG719258
CvG719261
CVG719262
CVG719263
CVG719270
CvG719271
CVG719272
CVG719273
CVG719274
CVG719275
CvG719276
CVvG719279
CvG719281

Page 137 of 194

Description
**CONNECTING LINK ASSY, TREADLE
HITCH COUPLER, ACCEPTS 1-7/8" BALL
SCREW,1/4-20X5/8
FLANGED BEARING
GLOVE BOX KIT, BLACK CARBON
GLOVE BOX SET, BLACK
GLOVE BOX SET, DARK WOODGRAIN
GRAVITY ROLLER(BC)
LH AXLE SHAFT&WHEEL BOLT(GAS)
RETAINING RING, XP MOTOR
WEATHER STRIP,SELF-SEAL, PER FOOT
REAR SPRING(EX-21 4WH. OR W/CAB)
ROVR OWNER&OPERATOR MANUAL
2" BALL, HITCH
*** BALL BEARING, PTO
PARK BRAKE CABLE(69.38")(SMT,SUV,C6
HITCH PIN,5/8"0OD
DOME PLUG, BLACK (FITS 2.00" HOLE)
HAIRPIN RETAINER .40"IDX.105" WIRE
CASTER,8.000DX2.187" BLACK TREAD
DASH MOUNTED, LOW OIL WARNING LIGHT
CLEAT,CAM/JAM & FAIRLEAD
6V BATTERY, DEEP CYCLE (US2200)
6V BATTERY,DEEP CYCLE,(US 2200 DRY)
BATTERY,6VDEEP CYCLE(US-145)251 AMP
BATTERY,8V,DEEP CYCLE (US 8V-GC
BATTERY,12V DEEP CYCLE
CONTACT BAR, SLIDER
TURNED EYE BOLT, 3/8-16X2 1/2
ROPE, 1/2" POLY WHITE
48V BULB(ROVR.)
KIT,RH AXLE SHAFT&WHEEL BOLT
SCREW, #10-24X2.5, PHILLIPS PAN
FLANGED BUSHING,.50"ID X .62"0OD
TIRE/WHEEL ASSY. 500/570-8 10 PLY
KIT, HARDWARE- BC FORD AXLE
HOUSING, BC FORD AXLE
AXLE, 4.63, B/C, FORD CENTER
LH AXLE SHAFT & SEAL, BC (FORD)
RH AXLE SHAFT & SEAL, BC (FORD)
LH AXLE SHAFT & WHEEL BOLT KIT
SINGLE BRUSH, TRACTION MOTOR(CR-10)
*** SPACER, CARBURETOR
BRAKE DRUM/HUB ASSY(86) GAS/ELE

Parts Pricing Schedule

List Price
$39.56
$32.00

$1.00
$2.24
$247.84
$223.92
$241.32
$47.76
$275.12
$2.96
$5.63
$111.80
$3.48
$21.32
$68.00
$50.96
$11.36
$1.00
$5.92
$58.12
$6.32
$131.32
$389.52
$468.68
$548.00
$475.08
$403.88
$19.85
$2.18
$2.80
$32.44
$459.88
$1.00
$3.04
$399.84
$29.16
$1,202.74
$4,058.52
$1,066.00
$1,066.00
$442.60
$17.78
$28.20
$148.32

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG719291
CVG719292
CVG719294
CVG719295
CvG719297
CVG719298
CVvG719299
CVG719300
CvG719301
CVG719302
CVG719303
CVG719304
CVG719305
CVG719312
CVG719313
CVG719315
CvG719319
CVG719320
CvG719321
CVG719322
CVvG719327
CVG719328
CvG719329
CVG719332
CVG719333
CVG719336
CvG719337
CVG719339
CvG719341
CVG719342
CVG719343
CVG719353
CVG719355
CVvG719360
CvG719361
CVG719362
CVG719363
CVG719364
CVG719366
CVvG719368
CVG719369
CvG719370
CvG719371
CvG719372

Page 138 of 194

Description
WEBBING, 2", BLACK POLY #560, BULK
BAG RACK BUCKLE 2"
ADJUSTING SCREW
ADJ. SCREW PIVOT NUT
KEYSWITCH UNIVERSAL "B"
KEYSWITCH, UNIVERSAL "C"
KEYSWITCH, UNIVERSAL "D"
KEYSWITCH, UNIVERSAL "E"
KEYSET, UNIVERSAL "B" 2 KEYS
KEYSET, UNIVERSAL "C" 2 KEYS
KEYSET, UNIVERSAL "D" 2 KEYS
KEYSET,UNIVERSAL "E" 2 KEYS
4" ROUND BACKUP LIGHT
SUMMIT STEERING WHEEL 13 1/2"
STEERING WHEEL,HUB COVER,SUMMIT
2" ROUND AMBER LIGHT W/GROMMET
GROMMET 2" CLEARANCE LIGHT
2" CLEAR LIGHT (SMT.,NEV.)
WIPER ARM 14"TO 19" ADJ.(SUMMIT)
WIPER BLADE 18"(SUV)
SUMMIT STEERING WHEEL CENTER,BLACK
*** TRUNK, (SUMMIT)
TIRE ONLY, 13", 175/50/13 SUMMIT
CHROME LUG NUT,1/2 X 20 (SUMMIT)
**CHROME,CENTER CAP
AMBER REFLECTOR, 2 3/4X1 3/4 (NEW)
RED REFLECTOR, 4 5/8X 13X16 (NEW)
MOTOR, ELEC 48V HD DIRECT W/TACH
ROD, PUSH
12V RECEPTACLE,COVERED
TIE ROD END, LH THREAD
MOLDING, SIDE, BLK, 1-3/8"WIDE
PINCH WELD, (QTY PER FT)
1/2-20 HEX JAM NUT,LH THREAD
CHANNEL TRIM,6100B3X3/32C,BLACK
HOLE PLUG, 7/8, BLACK
HOLE PLUG, 3/8, BLACK
BRAKE ROD
FLASHER, LED LIGHTS
4"ROUND RED TAIL LIGHT(SMT)
MAIN WIRE HARNESS,SEVCON(BC)
SEP.EX. MOTOR,SHAFT OUTPUT(B.C.)
TAPE,BUTYL1/8X1/2,DBL. SIDED, 1FOOT
SEALANT, WINDSHIELD, URETHANE,BLK

Parts Pricing Schedule

List Price
$2.16
$9.88

$12.16
$47.12
$108.68
$108.68
$108.68
$108.68
$6.52
$6.52
$6.52
$6.52
$20.32
$52.84
$3.84
$8.60
$1.32
$3.84
$62.36
$46.24
$8.68
$211.92
$269.36
$1.96
$8.96
$1.40
$1.00
$1,184.70
$14.28
$13.12
$37.12
$3.72
$1.00
$2.88
S4.16
$1.00
$1.00
$6.92
$20.68
$28.60
$656.80
$1,515.64
$1.12
$29.48

1/20/2019



EV Technical Services, LLC

=SDVORB

Parts Pricing Schedule

Service Disabled Veteran Owned Business

Part #

CvG719374
CVG719375
CvG719377
CVG719378
CvG719381
CVG719382
CvG719384
CvG719387
CVvG719388
CVG719389
CvG719391
CVG719393
CVvG719399
CVG719405
CVG719414
CVG719415
CVvG719420
CVG719421
CVG719423
CVG719425
CVG719426
CVG719428
CVvG719429
CVG719432
CVG719433
CVG719435
CVvG719437
CVG719438
CVG719442
CVG719443
CVG719444
CVG719445
CVG719446
CVG719447
CVG719450
CVG719453
CVG719456
CVG719457
CVG719458
CVG719463
CVG719464
CVvG719467
CVG719473
CVvG719478

Page 139 of 194

Description
Screw, 1/4-20x34", button head cap screw, 18-8ss
WASHER,FLAT,5/16,18-8SS
NUT, 5/16-16, NYLON-INSERT,HEX
WASHER, LOCK, 1/4, 18-8SS
LOOM, .375" ID, SLIT, BLACK
BRAKE SPRING (CR-10)
** L ATCH RELEASE HARNESS(LX BODY)
CENTER CAP 13" WHEEL
LUG NUT(STAR TIRE/WHEEL)
HARNESS, BACK UP LIGHTS, ACE +
ROCKER SWITCH,FWD-REV.,DPDT
CBL COM.TOOL(USE 30001-04&30002-04)
SPEEDOMETER,0-30MPH-3 3/8"
LOOM 1.25"ID,SPLIT BLACK(FT)
CONTROLLER DIAGNOSTIC CD
MANUAL,CNTR,CUSTOMIZE UTIL.,PC
L.H. CALIPER, LIGHTNING
R.H. CALIPER, LIGHTNING
BANJO BOLT M10X1.25X20MM
CAP PLUG, 1/2", SQUARE, BLACK
DECAL,SWITCH SET POSITION
WASHER, #10
SCREW, #10X5/8
NON REMOVABLE KEY ASSY. W/COVER
LOOM,.625",SLIT,POLY,BLACK
POWER ON/OFF DECAL
BALL BEARING
OIL SEAL
SERVICE MANUAL, IND/COM. 3 WHEEL
GASKET, INTAKE
1 AMP FUSE, ATO/ATC
5 AMP FUSE
SPEED SENSOR W/MAGNET(ENCODER SMT.)
AXLE HOUSING KIT
SECONDARY DRIVE BELT
BRUSH&TERMINAL(SERVICE KIT )
CONNECTOR,GRAY-175A
STUD,3/8-16X2-3/4,F-THRD,ZC
KIT,BRAKE PADS-HAYES CALIPER
WHEEL BOLT, LONG 1/2-20X1.680
BOOT, INSULATOR CABLE TERMINAL
*** SCREW,10-24X1/2,PPH,M/S,BLKZC
*MOVABLE FACE ASM.(PRIMARY)
** DASHBOARD DECAL,BC(SEP-EX)

List Price
$1.00
$1.00
$1.00
$1.00
$1.00
$3.40

$31.56
$9.92
$2.56
$134.28
$25.60
$738.92
$340.68
$1.60
$8.68
$21.56
$178.88
$178.88
$2.16
$1.00
$1.88
$1.00
$1.00
$15.20
$1.00
$3.64
$24.84
$4.08
$28.12
$30.72
$1.00
$1.00
$76.08
$426.08
$193.72
$119.08
$44.56
$7.00
$78.08
$9.04
$6.08
$1.00
$488.52
$12.04

1/20/2019



EV Technical Services, LLC

=SDVORB

Parts Pricing Schedule

Service Disabled Veteran Owned Business

Part #

CVG719483
CVG719486
CVvG719489
CVG719490
CVG719492
CVG719495
CVG719496
CVG719498
CVG719499
CVG719501
CVG719502
CVG719503
CVG719504
CVG719505
CVG719506
CVG719507
CVG719508
CVG719509
CVG719510
CVG719511
CVG719512
CVG719513
CVvG719514
CVG719515
CVvG719516
CVG719517
CvG719519
CVG719520
CVG719522
CVG719523
CVG719524
CVG719525
CVG719526
CVG719527
CVG719528
CVG719529
CVG719530
CVG719536
CVG719537
CVG719538
CVvG719540
CVG719543
CVG719545
CVvG719548

Page 140 of 194

Description
OWNERS MANUAL,IS12,IR23,IT34
CAP SCREW, 1/4-20 X 3/4"
CONNECTOR,COMPACT DC/DC CONVERTER
HARNESS, SPEEDO ,SMT.
AXLE,3.55, B/C, FORD CENTER
RESISTOR/A, REVERSE ALARM
RING, KEY SS 1"
PITMAN ARM,MAVAL BOX(BC)
SENSOR, SPEEDO, ISSPRO
CABLE TIE, 5-3/4" LONG
CABLE TIE, BLACK 4"
HOLDER, CABLE TIES
CABLE TIE, 11-3/4" LONG
SCREW, MACHINE, 10-24 X 1-1/4
SCREW, 10-32X3 HEX HEAD MACH
**CAP SCREW, BRASS, 5/16"
BUSHING, PLASTIC
PLASTIC BUSHING
PLASTIC BEARING
SHIM
SHIMV
SHIM
CLIP, RETAINER BRAKE CABLES
RING, RETAINING-.430 DIA.
RETAINING RING
O RING, 1" ID X .75 THK
BUMPER-BRAKE PEDAL
GROMMIET,.25 ID .50 X.25 THK
GROMMET, 3/8 X 7/8
GROMMET
GROMMET-1" ID
PLUG FINISH ~ 3/4 SQ
FINISH PLUG ~ 7/8 SQ
CAP, BLACK VINYL - DM-0234-1/2
GROMMET 1.312 DIA.
GROMMET
PLUG, HOLE 1-3/4 DIA - BLK
FASTENER, SELF LOCK
NUT, TINNERMAN
NUT, TINNERMAN
SCREW-HI-LO FASTENER
SCREW, 1/4-20X.69 POZI HEAD
BOLT 1/4-20 X 1-1/2" SHCS
PIN, CLEVIS

List Price
$25.68
$1.00
$25.64
$123.32
$4,066.80
$7.04
$1.00
$167.72
$190.48
$1.00
$1.00
$1.92
$1.00
$1.00
$1.28
$1.00
$1.00
$1.00
$1.88
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.28
$1.00
$1.00
$2.24
$2.16
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$2.12
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG719550
CVG719552
CVG719555
CVG719556
CVG719557
CVG719558
CVG719559
CVG719560
CVG719563
CVG719565
CVG719567
CVG719570
CVvG719571
CVG719572
CVG719574
CVG719576
CVG719577
CVG719578
CVG719579
CVG719580
CVG719583
CVG719585
CVG719586
CVG719587
CVG719592
CVG719593
CVG719597
CVG719598
CVG719602
CVG719604
CVG719605
CVG719610
CvG719611
CVG719616
CVG719618
CVG719620
CVvG719621
CVG719623
CVG719624
CVG719627
CVG719629
CVG719630
CVvG719631
CVG719634

Page 141 of 194

Description
SCREW, SET, 1/4""-20 X 1/4
SCREW, FLATHEAD WOOD
SCREW, 5/16-18 X 1.55" POZI HD.
CLAMP-HOSE .50 ID
LOOM,.413X.594,SLIT, POLY, BLK500'
STUD, FULLY THREADED
SCREW, #4-40X5/8
SCREW, 1/4-20 X 1" THREAD FORMG
SCREW,#10X3/4,SHWH,T/S,T/A,ZC
SCREW, #6-32 X 1, PHILLIPS PAN HEAD
SCREW, PAN HEAD
SCREW, #10 PHILLIPS HD
SCREW,8-21X1/2 PHILLIPS PHM
SCREW, #8-32 X 1-1/2, YWZC
SCREW,#8-32X1,PFH,M/S,BLKMAX
SCREW, #6 32X3/8 PAN HEAD
SCREW, #6 SELF-TAPPING
SCREW, #8 X .50 SELF TAP
**#4-5/8 SCREW
SCREW,STNLS, SOC., SHOULDER
SCREW, #10 X 3/4 TEK
*** SCREW
SCREW
1/4-20 X 6 1/2 HEX HEAD BOLT
*** SCREW
SCREW
WASHER
CLEVISPIN, 1/4" X 3 1/2"
CLAMP, 1/2" BLACK NYLON HEYCO 3358
CLAMP, 5/8" NYLON BLACK HEYCO 3380
SCREW MOUNT TIE, 8.5" W/ #10 HOLE
BOLT 1/2-13 X 3.0 HEX
BOLT, 1/2-13X2.25" HEX HEAD
BOLT
SCREW, 3/4-10 X 8, HHCS, G5, ZC
BOLT, 3/8-16X.38" HEX HEAD
BOLT, 3/8-24 X 8" HEX HEAD
***SCREW, 1/4-20X1.75" HEX HEAD BLK
SCREW #10
SCREW, 1/4-20X3.0" HEX HEAD
SCREW,1/4-20X1/2,HHCS,G5,BLKZC96
SCREW HEX CAP
*** SCREW, HEX HEAD
*** BOLT HEX HD

Parts Pricing Schedule

List Price

$1.00
$1.00
$1.00
$1.00
$1.00
$3.36
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$6.62
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.12
$1.08
$1.00
$1.00
$1.00
$1.76
$1.00
$1.00
$3.28
$1.44
$4.36
$1.00
$1.00
$1.24
$1.00
$1.00
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG719637
CVG719638
CVvG719640
CVG719644
CVG719645
CVG719646
CvG719647
CVG719648
CVG719652
CVG719653
CVG719655
CVG719656
CVG719657
CVG719658
CVG719660
CVG719664
CVG719665
CVG719666
CVG719667
CVG719673
CVG719675
CVG719677
CVvG719679
CVG719680
CVvG719681
CVG719682
CVG719684
CVG719685
CVG719686
CVG719688
CVG719689
CVG719690
CVvG719691
CVG719695
CVG719696
CVG719697
CvG719701
CVG719709
CvG719712
CVG719713
CvG719714
CVG719715
CvG719717
CvG719718

Page 142 of 194

Description
SCREW, 1/4-20 X 2.5 RD. HD PHI.
SCREW, 1/4-20 X .25 RD./PHIHD
SCREW, 1/2-20 X 4 HHCS
SCREW
SCREW, M6 X 1 X 15 HEX HEAD
STUD, 10-32X11/2
*** SCREW 1/2-20X4.5 HEX CAP
SCREW
CLAMP, WORM DRIVE
STANDOFF, ACCEL (EX-21)
WHEEL BOLT
HUB KEY
UNION, INVERTED FLAIR, 3/16
TUBE, BRAKE LINK
PIVOT PIN
*** HEX CAP SCREW
***BOLT- 7/16-20X1-1/2 G5 HHCS YWZC
SCREW,7/16-20X4 HEX CAP
NYLON WASHER(WINDSHEILD)
WIRE,16GA,GXL,RED,2500'SPOOL
WIRE,16GA,GXL,BLUE,2500' SPOOL
WIRE,16GA,GXL,BLACK,2500'SPOOL
BEARING, SELF LUBE
SCREW
A-ARM SPACER TUBE
SPACER A-ARM
BEARING, ROLLER
SEAL, BEARING
BEARING, RACE
BOLT SHOULDER 4 INCH LONG
BOLT, SHOULDER-BRAKE
WIRE,10GA,SXL,PRIMARY BLACK
WIRE,10GA,SXL,PRIMARY RED
SCREW, 3/8-16X2 3/4"
SCREW, 3/8-16 X 1.75
BOLT, 3/8 X 16 X 4" HEX HEAD
BOLT 5/16-18X7.5 GRD 8 HEX HEAD 0
CLEVIS PIN
*** CLEVIS PIN, 5/16 X 1 1/8
CLEVIS PIN
CLEVIS PIN 3/16 X 3 LG.
PIN,CLEVIS 1/4 X 1-1/2 LG
JACKNUT
CLEVIS PIN

Parts Pricing Schedule

List Price

$1.36
$3.36
$2.16
$1.00
$1.00
$1.00
$1.00
$1.00
$1.84

$12.04

$1.20
$5.85
$1.40

$21.72

$1.00
$1.24
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$4.24
$1.00
$6.92
$3.92
$8.01

$15.21

$3.00

$21.72

$5.80
$1.00
$1.56
$1.00
$1.00
$1.00
$3.28
$1.00
$1.00
$1.00
$1.04
$1.00
$2.08
$1.00

1/20/2019



EV Technical Services, LLC

= Parts Pricing Schedule
Part # Description List Price
CVG719723 PUSHLOCK W/KEY, SOUTHCO #93-303 $31.88
CVG719724 LATCH DOOR, TOOL EXPRESS $60.00
CVG719727 PIN,3/8X1-1/8,CLEVIS,YWZC $1.36
CVG719730 SCREW,5/16-18X2.00",PPH,M/S,BLKMAX $1.00
CVG719732 THUMB SCREW 1/4-20 X 1 $1.00
CVG719733 STUD $1.32
CVG719734 U-BOLT $1.00
CVG719735 EYE BOLT, 5/16-18X1-1/8, MACH. YWZC $6.28
CVG719737 SEAT SPACER $4.52
CVG719738 STOP, SEAT $1.00
CVG719739 EYEBOLT 1/4-20X1 YWZC $1.36
CVG719740 1/4" PALNUT $1.00
CVG719741 PUSH NUT $1.00
CVG719742 BUSHING, SEAT $3.76
CVG719743 COTTER PIN5/64 DIAX 1" LG $1.00
CVG719744 SCREW 5/16-18 X 1 $1.00
CVG719748 BOLT $1.00
CVG719749 SCREW,5/16-18X2-1/2,CARR,G5,BLK96 $1.00
CVG719752 COTTER PIN, RUE RING, 5/16 REGULAR $1.00
CVG719756 CLAMP STEEL TUBING 1/4 LIGHT DUTY $1.00
CVG719758 DUST COVER - 539 $4.80
CVG719759 SHIM, 1.25X.791X.010 THK $1.16
CVG719760 SHIM, 1.25X.791X.020 THK $1.00
CVG719762 SPACER, COVED, 1" PLASTIC $1.00
CVG719764 CHAIN, ROLLER, RAW $6.96
CVG719765 NYLON BUSHING $6.52
CVG719766 NYLON BUSHING $5.88
CVG719767 NYLON WASHER $1.00
CVG719768 FLANGED BUSHING $5.44
CVG719769 SPACER, .250 X .192 X .25 $1.44
CVG719770 AXLE SPACER, 1.50 OD .766 ID $1.00
CVG719772 ***\WASHER,1/2 ID X 1 3/8 ODX7/64 TH $1.00
CVG719773 ROLL PIN $1.00
CVG719774 WASHER $1.36
CVG719776 WASHER $1.00
CVG719777 WASHER, 3/16"", FLAT, PLATED $1.00
CVG719778 WASHER, BRASS, 7/16""-10 X 1/4 $1.00
CVG719780 ROLL PIN $1.00
CVG719781 WASHER-STEEL .20 I.D. $1.00
CVG719783 WASHER $1.00
CVG719786 WASHER, 1/4" FENDER (S5316) $1.52
CVG719787 WASHER - STEEL .28 ID $1.00
CVG719788 WASHER, RUBBER SEAT MTG. $1.00
CVG719789 WASHER 7/16 N-PLAIN TYPE A $1.00
Page 143 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG719791
CVG719794
CVG719795
CvG719797
CVvG719798
CVG719800
CvG719801
CVG719802
CVG719803
CVG719804
CVvG719808
CVG719809
CvG719814
CVG719815
CVG719816
CVG719817
CVG719818
CVG719820
CVG719822
CVG719825
CVG719831
CVG719832
CVG719833
CVG719836
CVG719838
CVG719839
CvG719841
CVG719844
CVG719845
CVG719850
CVvG719851
CVG719852
CVG719853
CVG719854
CVG719855
CVvG719859
CVvG719860
CVG719861
CVG719863
CVG719868
CVG719869
CVvG719872
CvG719874
CVG719875

Page 144 of 194

Description
WASHER-DELRIN .51 I.D.
PLUG, HOLE-1" DIA
WASHER, 3/8 X 2 X 1/16, ZINC
WASHER
PLUG, .50 DIA.
WASHER FLT STL,.515X.812X.031
SPACER, AXLE
WASHER - STEEL .515 ID
BLACK PLUG, HEYCO 1 1/4"
#11 WASHER - STEEL .39 ID
WASHER, 9/16, BLACK
WASHER-3/4X11/2X14 GA YWZC
WASHER .375X1.5X1.8
WASHER, 1.1850D
WASHER 1.00
*** WASHER, #8
**PIN, MALE FOR 9 POLE CONNECTOR
HOUSING 9 CIRCUIT RECEPTACLE
LOCKWASHER
TERMINAL, #10 STUD TO 1/4 MALE TAB
TERMINAL 16/14 INS .156 FEM BULLET
FUSE HOLDER,HRJ-AGC-30 IN LINE
WASHER LOCK #8 REGULAR BLK ZINC
LOCKWASHER-3/8 BLK
*** | OCKWASHER 5/16 REG BLK
SPACER, PLASTIC
LOCKWASHER
LOCKWASHER
RESISTOR, 750 OHMS 3 WATTS
FUSE HOLDER
LOCK WASHER
YOKE
BRAKE CLEVIS, LEFT
BRAKE CLEVIS, RIGHT
CLEVIS #53 3/8-24 ADJ YOKE END YWZC
NUT, 1""-14, SLOTTED
NUT,3/8-16, SERR FLANGE LOCK
NUT, NYLON INSERT, 3/4-16, JAM
#4 LOCKNUT
*** NUT SELF-LOCKING
*** NUT HEX
NUT, HEX #10-32
*** HEX NUT 1/4-28
***¥ NUT, HEX JAM

Parts Pricing Schedule

List Price

$1.00
$1.20
$1.00
$1.00
$1.00
$1.00
$5.36
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$2.96
$1.00
$1.00
$2.64

$10.80

$1.00
$1.00
$1.00
$1.00
$1.16
$1.00
$3.36

$10.88

$1.44
$9.36

$10.36

$5.40
$8.68
$1.64
$1.00
$1.00
$1.00
$1.00
$1.52
$1.00
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVvG719876
CvG719877
CVvG719878
CVG719880
CVG719882
CVG719885
CVG719886
CVG719887
CVG719888
CVG719889
CvG719891
CVG719892
CVG719893
CVG719894
CVG719896
CVG719897
CVG719898
CVG719901
CVG719902
CVG719903
CVG719904
CVG719906
CVvG719907
CVG719910
CVG719913
CVG719914
CVG719915
CVG719917
CVvG719918
CVG719920
CvG719921
CVG719922
CVG719926
CVG719929
CVvG719930
CVG719931
CVG719932
CVG719933
CVG719935
CVvG719938
CVvG719940
CvG719941
CVvG719943
CVvG719944

Page 145 of 194

Description

NUT, NYLOCK 1/4-20 (S5316)
NUT, SELF-LOCKING

LOCKNUT 1/2-13 NYLON THIN
NUT, HEX 1/4-20 BLACK

*%% | OCKNUT 1/4-20 NYLOK BLK.
NUT, JAM, 1""-14

NUT, 1-14 GR. A NET NYLN JAM INSERT

*%% | OCKNUT 1/4-20 FLANGE WHIZ
NUT

NUT,3/8-16,GR2,LC ACORN,BLKZC
*** NUT, SELF LOCKING

NUT, CNTLOC 5/16-18 BLK

NUT, LOCK STEEL HEX

NUT, HEX 5/16-18 BLK

**% | OCKNUT, 5/16-18 HEX FLANGE
NUT

NUT

NUT

MICROSWITCH, LIGHT OPTION

*%% 5/16-18 FLNG CNTR LOCKNUT ZC
LOCKNUT 1/2-20 NYLOCK

JAM NUT 7/16 - 20 LH

*%% NUT, 1/2"-13, PLATE

NUT,JAM 1-8

NUT, 5/8-18, MAGNI 525

SLOTTED HEX NUT, 7/16-20
COTTERLESS HITCH PIN,5/16X2
ADAPTER,MALE/FEM. DISCONNECT
WING NUT

SPEEDNUT 1/4"

FASTENER PUSH .250 X .61
THREADED INSERT, 5/16-18 YWZC
RIVET,#84,1/4,DH,BLIND,BLKZC
RIVET, .187 DIA X .500

PUSH FASTENER .61 X 1.00

NUT, CASTLE 3/4-16 MM

**SCREW, SPRING TENSION ADJUSTER
RIVET

SPACER, HINGE (K1)

POP RIVET

*RETAINING RING

IMPACT, NYLON RIVET

Parts Pricing Schedule

List Price

$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$10.40
$1.00
$1.00
$1.00
$1.20
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$28.28
$1.00
$1.00
$1.00
$1.00
$1.00
$2.80
$2.40
$2.84
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.40
$1.00
$3.40
$1.00
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG719945
CVG719946
CvG719947
CVG719948
CVG719950
CVG719953
CVG719954
CVG719957
CVG719958
CVG719959
CVG719960
CVG719961
CVG719962
CVG719963
CVG719964
CVG719966
CvG719971
CVG719972
CVG719973
CVG729024
CVG729026
CVG729030
CVG729033
CVG729068
CVG729073
CVG729077
CVvG729078
CVG729083
CVvG729086
CVG729087
CVvG729091
CVG729093
CVG729094
CVG729124
CVG729152
CVG729153
CVG729154
CVG729161
CvG729217
CVG729220
CVG729263
CvG729299
CVvG729304
CvG729307

Page 146 of 194

Parts Pricing Schedule
Description
RIVET, POP
POP RIVET, BLK ANNODIZED
RIVET

RIVET, EXP ALU,
RIVET, PLASIC EXPANSION
BEARING, BALL (.78 ID)

BEARING, BALL (.98 ID)

BEARING, SMALL

BEARING 1641-2RS-Q

BEARING, ROLLER

BEARING, ROLLER, RACE
BUSHING, .751X.878X1.25 OILITE
BEARING, NEEDLE, THRUST

BUTT SPLICE 12/10 VINYL SMLSS
CONNECTOR, BUTT

RING 16/14 INS TONGUE #10 STUD
RING 12/10 INS TONGUE 3/8 STUD
CLAMP, COMPRESSION .375 ID
TERMINAL WIRE

RING, RETAINING

RETAINER, SPRING CUP

O-RING, ELEC.DIFF.2"0.D.

RING, RETAINING

SPRING, ACCL. 89 THRU PRESENT
BRUSH, SPRING

SPRING, EXTENSION, 13/16" X 2-"
**SPRING, 3/4" X 5/8" X 3-3/4"
ROTARY SWITCH SPRING

SEAL, OIL

SEAL, OIL

SEAL - 16128 HUB

SEAL, OIL

SEAL, OIL

GASKET, CYLINDER HEAD
PISTON/PIN KIT, .020 OS

*** PISTON ASSY. .020 OVERSIZE(BS)

PISTON & PIN SET, .030 OS

END CAP, SEAT BACK EX-21

**%* CAM SHAFT (BS)

GASKET SET, (2 PCS), CRANKCASE
SCREW, #10 X 1 PAN HEAD
GASKET, REED PLATE

BUSHING, INSULATION

**% FUEL PUMP

List Price

$1.00
$1.00
$1.00
$1.00
$1.00
$3.92
$6.56
$3.36
$15.66
$37.60
$20.84
$1.76
$6.44
$1.00
$1.16
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$7.52
$40.28
$3.12
$29.36
$1.36
$32.88
$10.72
$19.12
$22.68
$8.12
$6.52
$13.04
$113.04
$199.56
$108.00
$1.00
$348.36
$10.88
$1.00
$10.80
$1.16
$39.20

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG729308
CvG729314
CVvG729324
CVG729326
CvG729337
CVG729342
CVG729362
CVG729405
CVvG729416
CVG729419
CVvG729437
CVG729468
CVG729469
CVG729471
CVG729481
CVG729489
CVvG729511
CVG729520
CVG729537
CVG729540
CVG729543
CVG729553
CVG729584
CVG729592
CVG729610
CVG729613
CVG729614
CVG729615
CvG729617
CVG729621
CVG729626
CVG729628
CVG729629
CVG729632
CVG729633
CVG729634
CVG729635
CvG729637
CVG729638
CvG729639
CVG729642
CvG729649
CVG729651
CVG729662

Page 147 of 194

Description
FUEL PUMP (BS)
PUMP REPAIR KIT
REPAIR KIT CARB W/ NEEDLE & SEAT
CARBURETOR, 13 HP
*** SHAFT, THROTTLE
*** CHOKE CABLE UTILITY
SEALANT, EXHAUST
*** PIN - FLOAT HINGE
*** SPRING - THROTTLE SHAFT
*** MAIN JET, HIGH ALTITUDE
MAIN JET, .035
*** ELMNT AIR CLNR FILTER
PRIMARY ELEMENT
*** DUST EJECTOR
SAFETY ELEMENT, AIR CLEANER
*** CABLE,CHOKE CONTROL-84 IN.
*** BEARING
SINGLE BRUSH
ARMATURE, MAGNETRON
ARMATURE - MAGNETO
*** GROMMET (710091)
DRINK CUP HOLDER
**SPARK PLUG
BRACKET/CONDENSER
**MOVBL CAM & SHEAVE{R}33245-82B
BEARING, SECONDARY CLUTCH
SHOE, CAM
*FIXED FACE&POST SECD. {R}33245-82B
*28 DEGREE FIXED CAM
*** SNAP RING, IBC SECONDARY-WIDE
KEY, IBC SECONDARY
*** DRIVEN SPRING (YELLOW)
SPRING, CONVERTOR IBC SECONDARY
LINK, CONNECTOR, TIMING CHAIN
*** SPROCKET, 18T, 3/4"B, #35 CHAIN
SPROCKET, 13T, 3/4"B, #35 CHAIN
SPROCKET, 17T, 3/4""B
SPROCKET, 45T
SPROCKET, 67T
***DUST CAP
**SPROCKET, 45T, 1-29/32" BORE
AXLE SHAFT, LH, SPLINED
AXLE SHAFT, RH, DANA S-12 DIFF
SPROCKET, 19 TOOTH, 7/8" BORE

Parts Pricing Schedule

List Price
$46.00
$17.68
$27.80

$380.44
$21.84
$22.24
$34.24
$6.80
$15.52
$40.96
$2.20
$37.52
$33.68
$15.60
$63.60
$45.00
$14.40
$58.32
$94.88
$265.28
$4.36
$2.84
$4.68
$10.84
$129.48
$26.36
$2.96
$81.72
$129.80
$2.60
$2.40
$39.04
$55.88
$1.00
$43.36
$46.72
$109.56
$185.44
$369.56
$4.00
$129.72
$98.52
$208.96
$88.68

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG729666
CVvG729703
CvG729711
CVvG729714
CVG729715
CVG729750
CVG729757
CVvG729767
CvG729770
CVG729775
CvG729780
CVvG729782
CvG729809
CVG729820
CVG729851
CVG729852
CVG729854
CVG729856
CVG729879
CVG729881
CVG729896
CVG729899
CVG729900
CVG729907
CVvG729914
CVG729929
CVG729932
CVG729934
CVvG729937
CVG729938
CVG729945
CVG729957
CVG729958
CVvG729959
CVG729980
CVG729981
CVG729982
CVG729988
CVG729993
CVvG729996
CVG729998
CVvG729999
CVG739001
CVvG739020

Page 148 of 194

Description
**STANDOFF
BEARING, PISTON PIN 63-95
*** STARTER GENERATOR BELT
BUSHING
*** DRIVE BELT, LONG
FIXED HALF PULLEY
PRIMARY PULLEY - SLIDING
SPRING, CLUTCH
*** ANTI-NOISE SPRING, IBC PRIMARY
FIXING BOLT
**WEIGHT PRIMARY TRANS. BLK, SET OF
SPR. WASHER
HEX BOLT, 1/2-20 X 1 1/5"
DRIVE ARM - 535
ACCEL CABLE
***ACCEL CABLE
CABLE, ACCELERATOR
BLOCK WIRE ACCELERATOR CABLE
5.00 X 8 SOLID NON-MRKG (5 HOLE)
TIRE&WHEEL ASSY 480 X 400, 5 HOLE
CALIPER, REAR, W/KIDNEY SHAPED
CALIPER REPAIR KIT
CALIPER, REAR REPAIR KIT - 182
ELBOW, MALE, 402"" X 3
*** BRAKE PAD, 18208, 18218
SEAL, ROD WIPER
CALIPER, PUCK
CALIPER, DISC BRAKE
BRAKE PUCK, LIVE SIDE
BRAKE PUCK, DEAD SIDE
BRAKE CLUSTER LEVER
PISTON, FOR 41225-00,41226-00
O-RING, BRAKE CALIPER 18998
BOOT, BRAKE CALIPER (18998)
SERVICE KIT, SEAL
SERVICE KIT, PISTON & SEAL
SERVICE KIT, FITTING GROUP
**BRAKE SHOE REAR
BRAKE ASSY., HYD. PASS. SIDE
BRAKE ASSY., HYD. DRIVER'S SIDE
SPRING, BRAKE SHOE
SPRING PKG, BRAKE
SHOE, BRAKE (J10) 86-EARLY 90
ADJUSTING SCREW SOCKET

Parts Pricing Schedule

List Price

$4.96
$15.32
$10.36
$17.00
$49.92
$170.84
$299.16
$21.72
$2.84
$8.64
$38.32
$1.00
$1.00
$7.72
$9.96
$93.16
$92.04
$3.08
$854.60
$68.72
$931.36
$164.20
$218.88
$2.60
$60.44
$11.92
$33.72
$478.28
$30.32
$30.32
$61.04
$22.68
$5.90
$15.21
$37.68
$222.48
$36.08
$23.72
$465.20
$465.20
$10.44
$21.16
$32.60
$2.40

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG739021
CVG739026
CvG739027
CVG739028
CvG739029
CVG739030
CVvG739031
CVG739032
CVG739033
CVG739044
CvG739047
CVG739050
CVvG739074
CVG739090
CVG739093
CVG739102
CVG739115
CVG739124
CvG739229
CVG739272
CVG739454
CVG739486
CVG739546
CVG739586
CVG739588
CVG739636
CVG739650
CVG739664
CVG739665
CVG739716
CVvG739718
CVG739794
CVvG739799
CvG739810
CVG739816
CVG739833
CVG739862
CVG739873
CVG739908
CVG739912
CVG739924
CvG739927
CVG739928
CVG739930

Page 149 of 194

Description
ASS'Y, BOOT & RING WHEEL
SPRING, SHOE RETURN
SPRING, SHOE RETURN R.H.
SPRING ADJUSTING SCREW
RETAINER PARKING BRAKE LEVER PIN
DUST SHIELD
5-HOLE WHEEL (W/O TIRE) - 8 X 3.75
4-HOLE WHEEL (W/O TIRE)-8 X 5.7
TIRE(4.80X8.00)LRB EX-21, IS-11
PARK PEDAL PAD
ACCELERATOR CABLE
FLANGE (ACCEL. SPRING)
SHOULDER BOLT, A-ARM
WHEEL - WHITE
TERRAGUARD, TIRE ONLY
**SHIM
OIL SEAL (IS-11, EX-21)
BUSHING,RACK
**BRAKE CBL. ASSY (R) 86,87 3WH
TAPE FOAM 1/8 X 1/2, PER FOOT
U-BOLT, 1/2""-13 X 5-7/8"", FRON
GRAB HANDLE,SMT. SUV/W CAB
DECAL BATTERY BOX WARNING
SCREW,3/4-16X5-1/2",HHCS,G5,ZC
SPRING, FRONT
BEARING, COLUMN
SPACER, SPLIT SEAM, .50"" X 2-1
BOOT, STEERING
STEERING GEAR RACK, -01 & NEWER
WINDSHIELD EXTRUSIONS- 24" LONG
WINDSHIELD EXTR, FOLDING, RBR, 2"
FUEL FILTER
*** FILTER, IN-LINE OIL
*** CABLE, OIL INJ.PUMP
CLAMP, HOSE
RATCHET ROPE & HOOK, X-FER STAND
*** MUFFLER GASKET (BS)
***VALVE RETAINER (BS)
FUSE, LESTER CHARGER
HEATSINK ASSY W/DIODES (CHARGER)
TIMER, 12 HOUR
AUTO-START CONTROL - SEND INST.
RECTIFIER, CR-10 CHARGER 66600-00
LOW BATTERY RESET SWITCH - CR-10

Parts Pricing Schedule

List Price
$36.76

$3.44
$6.32
$5.72
$1.36

$27.88
$19.92
$19.92
$41.20

$6.89

$101.72

$1.00
$9.80

$46.08
$84.16

$1.00

$17.40

$2.08

$18.36

$1.00

$10.60
$26.52

$6.44
$5.16

$402.16
$10.96

$1.00
$6.72

$35.20
$23.48
$31.52
$18.64
$18.92
$61.04

$1.00

$95.64
$14.84
$26.84
$76.52
$85.20
$45.64
$339.12
$34.08
$31.04

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG739931
CVG739951
CVG739956
CVG739963
CVG739964
CVG739969
CVvG739974
CVG739985
CVG739995
CVG739998
CvG741359
CvG741361
CvG749010
CVG749024
CVG749094
CVG749116
CvG749127
CVG749135
CVG749145
CVG749161
CVG749166
CVG749167
CVG749175
CVG749180
CvG749181
CVG749184
CvG749197
CVG749198
CvG749214
CVG749267
CVvG749280
CVG749305
CvG749314
CVG749333
CVG749343
CVG749344
CVG749350
CVG749361
CVG749362
CvG749367
CVG749369
CvG749370
CVG749382
CVG749383

Page 150 of 194

Description
CORD, SETDC
HARNESS, 12V ACCESSORIES
MOTOR, M-15 STYLE, DC
CONVERTOR, 20V-60V TO 12V
SWITCH, IGNITION, WITH KEYS
SWITCH, TOGGLE
SOLENOID, 36V
CONTACT BAR, 4-1/4"
KEY, IGNITION
AMMETER, 30AMP
*** SEAT BELT RETRACTOR
*** SEAT BELT BUCKLE, FLAT MOUNTING
TIMER, ELECTRONIC
SPRING WASHER.203 X.322X.053
CABLE ASSY, NEG
CABLE, 4 GA.
P4E MAIN WIRING HARNESS
BULB & SOCKET, HALOGEN "G893"
RESISTOR, .08 OHM
SPRING, EXTENSION
SWITCH MICRO
MICRO SWITCH (WATER PROOF)
SPRING, ACCELERATOR LINKAGE
WIRE MARKER, POSITIVE
WIRE MARKER, NEGATIVE
SERVICE KEY, SET OF 2
**KEY,{KEY ONLY} ELECT SWITCH
IGNITION KEY (INDIVIDUALLY)
ARM, SPEED SWITCH W/O MAGNET
**NUT, BRASS, 1/4"-20
NYLON NUT, 1/4-20
JAM NUT M14X1.5(TIE ROD)
NUT, SELF LOCKING
2" TONGUE COUPLER, DTU
O-RING, FORD
**GASKET, FORD
AXLE KEY, 14438, 14448 AXLE
COUNTER SHAFT
SHIFT SHAFT COMPLETE
OIL SEAL
BEARING
RETAIN RING, SNAP
SHIM .005
SHIM .010

Parts Pricing Schedule

List Price
$172.16
$175.96

$1,621.40
$804.36
$83.00
$88.92
$153.28
$21.65
$5.56
$102.04
$30.48
$15.04
$339.12
$1.00
$10.28
$3.24
$298.92
$18.16
$55.44
$1.84
$34.20
$27.12
$1.08
$6.96
$2.12
$6.35
S2.64
$4.00
$49.96
$1.00
$1.00
$1.00
$2.88
$28.92
$9.56
$14.08
$3.60
$23.00
$28.64
$7.79
$29.84
$1.16
$2.00
$1.56

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG749386
CVG749391
CVvG749392
CVG749400
CVvG749401
CVG749413
CVG749418
CVG749419
CVvG749421
CVG749427
CvG749447
CVG749448
CvG749449
CVG749450
CVG749461
CVG749468
CVG749471
CVG749472
CVG749476
CVG749483
CVG749485
CVG749488
CVG749490
CVG749491
CVG749494
CVG749496
CVG749499
CVG749508
CVG749510
CVG749522
CVG749523
CVG749528
CvG749547
CVvG749549
CVG749575
CVvG749597
CVG749599
CVG749602
CVG749603
CVG749616
CVG749629
CVG749676
CVG749696
CVG749698

Page 151 of 194

Parts Pricing Schedule
Description
*** GASKET, 8 MM.
LH CASE
RH CASE

OIL DRAIN PLUG
PLUG, OIL FILL W/O-RING

PIN CLUTCH

PLUG, CUP HELICAL AXLE ELEC.
BEARING, BALL HELICAL

OIL SEAL,H-D AXLE

BRAKE DRUM, HYD

DIFFERENTIAL CASE COMPLETE
DIFFERENTIAL SIDE GEAR
DIFFERENTIAL PINION
DIFFERENTIAL SHAFT

PIPE KNOCK

GEAR, 62 MM COMPLETE
GOVERNOR SHAFT

GOVERNOR YORK

COLLAR, 24 X 12 MM

BALL BEARING (6205)

BALL BEARING (6204)

BALL BEARING

BALL BEARING (6008)

BALL BEARING

*%% GASKET, 14 MM

*%% GASKET, 10 MM

*%% O|L SEAL - PINION

SHIM .003

SHIM

BEARING,CUP W/CONE

PIN, SPRING

BEARING (THRU 95)

OIL SEAL (HYDRAULIC)

RETAINING RING, PRESS FIT (HYD)
AXLE, DIFFERENTIAL ASSY.

BRUSH REPLACEMENT KIT, XP(2 / SET)
BRUSH HOLDER W/ PARTS, XP MOTOR
BEARING, XP MOTOR

BRUSH SPRING, XP MOTOR
BRUSH, 75054 MOTOR

DOOR LATCH, RECESSED,LOCKING
KIT, DUST COVER 2(NO LOCTITE INCLD)
AXLE, LEFT HELICAL AXLE

AXLE, RIGHT HELICAL AXLE

List Price

$1.00
$168.68
$167.80
$1.00
$7.80
$76.72
$4.72
$35.20
$14.44
$179.80
$237.88
$32.72
$22.52
$11.80
$1.04
$178.00
$8.16
$4.36
$4.08
$11.44
$14.68
$13.32
$24.60
$18.04
$1.00
$1.00
$10.44
$1.00
$1.00
$121.56
$15.04
$14.04
$21.56
$25.44
$325.64
$85.88
$109.04
$20.88
$11.04
$16.16
$105.20
$16.52
$143.56
$137.08

1/20/2019



EV Technical Services, LLC

=

SDVOB

Service Disabled Veteran Owned Business

Part #

CVG749699
CvG749700
CvG749701
CVG749702
CVvG749703
CVG749704
CvG749709
CvG749721
CVG749722
CvG749747
CVvG749748
CVG749750
CVvG749751
CVG749753
CVG749769
CVG749775
CvG749787
CVG749788
CVG749979
CVG749991

CVG75515-04R

CVG759700
CvG759701
CVG759703
CVG759704
CVG759706
CvG759721
CVG759722
CVG759723
CVG759724
CVG759726
CVG759728
CVvG759729
CVG759734
CVG759735
CvG759736
CVG759740
CVG759743
CVG759746
CVvG759748
CVG759749
CVG759750
CVG759751
CVG759752

Page 152 of 194

Description
BALL BEARING, INPUT GEAR HELICL
BALL BEARING DIFFERENTIAL HELIC
SNAP RING, HELICAL AXLE
COVER PLATE
PLATE, COVER
DRAIN/FILL PLUG
DRIVERS SIDE WINDOW,CAB(B.C.)
BEARING - FRONT WHEEL
BEARING, BALL
NEEDLE BEARING
BEARING 71-81 PISTON PIN
BEARING W/ RETAINER RING
**BEARING, CONE ONLY
BEARING SEALED 23-10
ROLLER BEARING
MIRROR - SIDEVIEW TRAM
*** RING COMPRESSOR
*** PISTON RING EXPANDER
OPERATIONS&MAINT. MANUAL B.C.
INST SHT,GASOLINE VEHICLE PDI
SEAT BELT RETRACTABLE ONLY
CONVERTER,DC/DC,24V-12V
SCREW,1/2-13X2.5,HHCS,G5,YWZC
STEERING GEAR BOX(MAVAL,BC)
FUSE, 250 A LIMITER, SVC
KEYSWITCH, 2 POSTION"A" W/KEY W/HRD
KEYSWITCH,PWR. 2POS."E" W/HRDWR.
KEYSWITCH,PWR,2P0OS."B",W/HRDWR.
KEYSWITCH,PWR.,2P0S."C",W/HRDWR.
KEYSWITCH,PWR. 2POS."D"W/HRDWR.
TIRE/WHEEL ASSY,215/60-8/DOT,4 BLT
WIRE HARNESS, HORN, IS/IR/IT
WIRE HARNESS, 12V ACCESSORY
R.H HANDLE,SMT. SUV(HARD DOOR)
L.H. HANDLE SMT. SUV(HARD DOOR)
INSIDE LATCH,SMT. SUV(HARD DOORS)
BRAKE SHOE SET,ELEC. HYDR. AXLE(4)
SLIDING RH CAB WINDOW (BC)
BRAKE SHOE SET, MECH ('92 + NEWER)
WIRE HARNESS, 12V OUTLET
GASKET,MAIN AXLE HOUSING
FORD REAR AXLE SEAL KIT(BC 4&5)
FLANGE,INPUT SPROCKET(BC 4&5)
REATAINER,BEARING

Parts Pricing Schedule

List Price
$20.16
$54.36

$1.00
$22.20
$20.64
$4.68
$423.96
$17.80
$10.64
$23.08
$53.96
$99.28
$11.88
$20.28
$52.16
$51.08
$30.60
$42.16
$31.28
$1.00
$360.00
$469.12
$1.00
$592.40
$86.96
$32.00
$108.68
$108.68
$108.68
$108.68
$129.24
$48.44
$290.80
$146.64
$200.68
$62.56
$142.92
$423.96
S114.64
$28.32
$9.56
$145.12
$240.04
$73.40

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG759753
CVvG759761
CVG759763
CVG759764
CVG759766
CVG759767
CvG759771
CVG759776
CVvG759777
CVG759778
CVvG759780
CVvG759781
CVG759782
CVG759784
CVvG759789
CVG759791
CVG759792
CVG759795
CVG759796
CVG759798
CVG759803
CVG759804
CVG759805
CVG759808
CvG759811
CVG759812
CVG759816
CVG759817
CVG759818
CVG759824
CVG759826
CVG759829
CVG759830

CVG759831CR

CVG759836
CVvG759838
CVG759839
CvG759841
CVG759842
CVvG759843
CVG759844
CvG759847
CVG759848
CvG759849

Page 153 of 194

Description
PINION GEAR OIL SEAL(M-18 AXLE)
AXLE SEAL(M-18 AXLE)
BRAKE ASSY,RH(M-18 AXLE)
BRAKE ASSY. LH(M-18 AXLE)
TORQUE SPIDER(M-18 AXLE)
WHEEL BEARING RETN. RING(M-18 AXLE)
LOOM 2",SPLIT CORRUGATED(FT)
**TIRE/WHEEL ASSY. 215/50-13 CHROME
TERMINAL BRUSH LEAD ASSY.(SEPEX)
HARNESS,12V DC/DC-SMT.
BRUSH ASSY., D&D MOTOR #BRHA-1000
BRUSH BOX ASSY., D&D MOTOR
BRUSH, D&D MOTOR, EACH
OBS STROBE,12-80VDC,1.5 JLS,AMB
CHROME WHEEL, 13X5.5
AXLE VENT PLUG
FUSE HOLDER
WHEEL CYL. ASSY.,STD,H12,HYD.
KIT,ADJUSTER,STD.H12,HYD.
KIT,GOV.ACTUATOR,STD.GAS AXLE
LINEAR ACCELERATOR
SPEEDOMETER MOUNTING CUP,3.375"0D
PLUG,LINEAR ACCL. KIT
CLEVIS YOKE,M10X1.50,YWZC
KIT, MOLEX PLUG REPAIR(16 PIN)
EXTRACTION TOOL,MOLEX
LATCH BOLT
EXTERIOR DOOR HANDLE, SUV (W/KEY)
DOOR FRAME SEAL
SPACER,194 IDX.3130DX.75T NYLON
REAR DECK SMT-4
RELAY, 48V DC
RELAY,36V DC
CHARIOT AUD ALRM, 9/48 VDC,SLW PLSE
WIRE HARNESS, HORN SWITCH, SUB ASSY
SPRING,EXT. .734"X2.63"X.105",HC,ZC
*KIT,SEC.CLUTCH CAM SHOE
BRAKELINE,60",INVERTED FLARE ENDS
48V BDI VOLT METER
TPRD. BEARING SET,INNER,15MM T
TPRD. BEARING SET,OUTER 15MM T
BRAKE PAD(RAZORBACK)
4-HOLE 145R12 TIRE/WHEEL ASSY
TIRE/WHEEL ASSY, 5-HOLE 145R12

Parts Pricing Schedule

List Price
$8.16
$9.60

$780.52
$751.20
$638.00
$34.32
$1.56
$416.88
$56.52
$106.56
$56.52
$86.96
$26.08
$110.88
$150.52
$4.68
$16.72
$140.40
$197.72
$52.80
$248.68
$117.36
$14.08
$7.72
$21.96
$63.48
$19.72
$102.64
$6.68
$1.00
$149.32
$18.41
$32.16
$17.12
$12.84
$10.40
$13.04
$16.96
$38.68
$47.03
$33.35
$39.56
$138.99
$150.87

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Parts Pricing Schedule

Part # Description List Price

CVG759850 TIRE,HIGH SPEED IND.,LRD $145.40
CvG759851 TIRE,HIGH SPEED IND.,LRE $160.20
CVvG759852 WHEEL,12",4-HOLE $58.60
CVG759853 WHEEL, 12", 5-HOLE $82.16
CVG759854 12V RELAY,SPDT,50AMP $24.72
CVG759856 KIT,INPUT SHAFT 10.35 RATIO(RECOND) $84.04
CVvG759857 BATT. WATERING SYSTEM CAPS 48V $394.12
CVG759858 BATT. WATERING SYSTEM HAND PUMP $62.32
CVG759860 INPUT SHAFT,OVERSIZE,12.44 AXLE $269.20
CVG759861 INPUT SHAFT,OVERSIZE,10.35 AXLE $269.20
CVG759863 BATRY, 6V, #EVGC6-A AGMR/B 66200-10 $1,037.32
CVG759866 FRONT CONSOLE-RAW (NO HOLES) (K1) $137.43
CvG759871 DUAL CUP HOLDER $24.64
CVG759872 12V BDI VOLT METER $38.68
CvG759873 24V BDI VOLT METER $38.68
CVG759874 36V BDI VOLT METER $38.68
CVG759876 SINGLE HEADLIGHT(CUV) $22.96
CvG759883 GLOVE BOX(CUV) $32.13
CVG759890 MAIN WIRE HARNESS ,W/MOLDED PLUG $160.72
CVG759892 STEERING WHEEL CENTER COVER $8.68
CvG759893 IGUS HIGH IMPACT FLNG BRNG $10.88
CVG759894 BEARING REDUCER,2.00X1.25X0.40 $17.78
CVG759896 BEARING,SEPEX MOTOR D&D $26.08
CvG759898 SCREW, 9/16-18X3 $2.08
CVvG759899 BRAKE KIT, HYD DISC, PAIR $837.40
CVG759900 KIT,FRONT MOUNT OUTBOARD STEERING $2,806.76
CvG759901 *** LEAF SPRING, 3 LEAF, DOUBLE EYE $48.16
CVvG759903 ACCEL PEDAL, SUSPENDED, MVP $360.88
CVG759905 SEAL, RADIAL SHAFT $3.28
CVG759906 BEARING, TAPERED ROLLER, OUTER $12.08
CVvG759907 BEARING, TAPERED ROLLER, INNER $15.32
CVvG759908 EQUALIZER BAR $28.32
CVG759909 LOCKNUT, 9/16-18 SHACKLE $1.04
CVvG759912 FUSE BLOCK,12-GANG W/GROUND TERM $71.52
CvG759913 RESIDUAL PRESSURE VALVE,10-PSI $61.92
CvG759917 YOKE, STEERING SHAFT, NO SPLINES $28.04
CVvG759918 YOKE ASSY,STEERING SHAFT,BOLT+WELD $28.04
CVG759925 ***AXLE,HD ELE,12.44,HYD,37.35"WIDE $2,583.04
CVG759932 CONTROLLER STATUS LED LIGHT $14.58
CVG759934 RESISTOR ASSY,10K OHM $18.48
CVG759936 KIT,AXLE SHAFT&BOLT,LH S444.16
CVvG759937 GASKET $12.00
CVG759938 STEERING SHAFT, NO YOKE, 96-99 $138.20
CVG759939 STEERING COUPLER, RH $46.00
Page 154 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVvG759940
CVG759942
CVG759943
CVG759944
CVvG759949
CVG759951
CVG759958
CVG759986
CVG759999
CVG760003
CvG760004
CVG760008
CvG760010
CVG760012
CVvG760013
CVG760014
CvG760023
CVG760024
CvG760026
CVG760027
CvG760028
CVG760030
CVG760035
CVG760036
CvG760037
CVG760038
CvG760040
CVG760042
CvG760047
CVG760048
CvG760050
CVG760054
CVG760056
CvG760059
CvG760061
CVG760063
CVG760068
CvG760076
CvG760077
CvG760078
CvG760079
CvG760080
CvG760081
CvG760082

Page 155 of 194

Description
STEERING COUPLER, LH
*** COOLING FAN SUPPORT
*** REAR HUB 4 BOLT
*** REAR SHOCK ABSORBER
*** FRONT BUMPER FASTENER
*** BEARING TWIN RACE
HANDBRAKE WARNING LIGHT SWITCH
*** DOOR CONTACT SWITCH
*** THROTTLE PEDAL
*** FRONT SUPPORT R/H
*** FRONT SUPPORT L/H
CONTACTOR,48V-COIL,SW60, MEGA
ROLL PIN .25X1.75", STEERING SHAFT
WIRE HARNESS,12V,ACCESSORY-MVP
WIRE HARNESS,DC CONVERTOR-MVP
WIRE HARNESS,MAIN-MVP
KNOB,W/5/16-18X1 1/2 'STUD,BLACK

WIRE HARNESS,ADAPTOR,POT BOX (LAD)

*#* THROTTLE PEDAL RETURN SPRING
***% THROTTLE CABLE ASSEMBLY

*#* THROTTLE PEDAL SPACER

**%* MOTOR COOLILNG FAN

*#* DIRECTIONAL SWITCH, MEGA
**% AIR INLET GRILL

*E* AXLE, 8.41:1

*** DRIVESHAFT, RIGHT, MEGA

*#* STEERING WHEEL

*** A-ARM

*#* SHOCK ABSORBER FRONT, MEGA
***BRAKE PEDAL PAD

*** BRAKE PEDAL CLEVIS PIN

*** FRONT BRAKE HOSE

*** OAD SENSING VALVE
*#*SENSING VALVE OPERATING ROD
*** WHEEL NUT 19MM

*#* INTERIOR REAR VIEW MIRROR
*** WINDSHIELD, TINTED, CRATED
*** | /H FRONT WING

*** R/H FRONT WING

*#* RIGHT REAR WING

*** PANEL LEFT CAB

*#* HOOD BUMPER

*** FRONT BUMPER, MEGA

**% | /H SEAT

Parts Pricing Schedule

List Price
$46.00
$97.84

$102.56
$205.24
$2.28
$59.20
$4.96
$5.56
$16.12
$102.24
$102.24
$70.60
$1.08
$418.55
$110.04
$608.60
$5.88
$28.60
$2.25
$26.19
$1.32
$240.44
$77.60
$4.40
$1,179.50
$373.36
$264.24
$102.92
$219.52
$1.92
$2.36
$18.90
$115.08
$9.40
$1.60
$33.16
$878.84
$220.12
$220.12
$83.04
$83.04
$1.20
$505.08
$476.20

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG760083
CVG760086
CvG760087
CvG760088
CvG760092
CVG760098
CvG760099
CVG760105
CvG760106
CvG760109
CvG760110
CvG760111
CvG760112
CVG760116
CvG760120
CVvG760121
CvG760122
CVG760123
CvG760124
CVG760134
CvG760136
CVG760138
CvG760139
CVG760141
CvG760142
CVG760143
CvG760144
CVG760146
CvG760147
CVG760148
CvG760151
CVG760152
CVG760153
CVG760155
CvG760162
CvG760163
CvG760166
CvG760167
CvG760168
CvG760179
CvG760181
CvG760182
CvG760183
CvG760186

Page 156 of 194

Description
*** R/H SEAT
*** DASH FRONT PANEL
*** |/H/F WING CAPPING PANEL
*** R/H/F WING CAPPING PANEL
*** BUMPER SUPPORT BAR
*** CAB DOOR FRAME R/H
*** CAB DOOR FRAME L/H
*** |GNITION LOCK SHROUD
*** TAIL LIGHT
*** REAR HARNESS
*** DASHBOARD SUPPORT
**%* L/H HEADLIGHT
*** R/H HEADLIGHT
WIRE HARNESS WITH LAD IS/IR
KIT,8-FT HOSE W/FITTINGS
CABLE TIE,.30X8.58,120-LB
HEAVY DUTY MOUNT,.76X1.43
*** MAIN WIRE HARNESS, MEGA
*** RACK & PINION
***CAB HEATER RELAY, R/B 72450-08
SPRING, EXTENSION, LAD
*** WIPER MOTOR
*** MEGA WIPER ARM
***HEATER MOTOR R/B 72450-08
MASTER CYLINDER ASSY,1"BORE, TANDEM
DUAL MASTER CYCLINDER ADAPTER
**CBL,MAIN DISC SWITCH TO MAIN FUSE
*** CABLE,F2 MOTOR TO F2 CONTROLLER
*** CABLE,F1 MOTOR TO F1 CONTROLLER
KNOB, .75", BLACK
*** REAR BRAKE DRUM
***REAR BRAKE HOSE
*** COVER, ELECTRICAL COMPONENTS
*** TRIM PANEL LEFT
SWITCH, LIGHT
*** INSTRUMENT PANEL- MEGA
*** HAZARD WARNING SWITCH
*** DASHBOARD HARNESS
*** WIRE HARNESS,FRONT,MEGA
*** HANDLE,INNER DOOR,MEGA
*** R/H OUTER DOOR HANDLE
*** CAB DOOR HINGE FIXED,RIGHT
*** HINGE, CAB DOOR, LEFT, MEGA
*** |/H INNER DOOR PANEL

Parts Pricing Schedule

List Price
$476.20
$226.48

$79.84
$79.84
$67.84
$145.92
$145.92
$4.92
$56.04
$65.28
$68.64
$283.88
$283.88
$98.72
$219.12
$1.00
$2.92
$199.58
$289.88
$4.72
$21.44
$186.16
$29.20
$120.20
$351.20
$10.28
$8.60
$8.28
$9.08
$4.60
$94.40
$14.48
$108.16
$64.32
$56.44
$286.43
$34.64
$266.28
$131.44
$13.04
$7.20
$26.64
$26.64
$159.24

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG760187
CvG760190
CvG760191
CVG760193
CvG760194
CvG760198
CvG760199
CVG760201
CvG760202
CVG760206
CvG760209
CvG760212
CvG760213
CVG760214
CVG760215
CVG760217
CvG760218
CVG760219
CvG760221
CVG760222
CvG760229
CVG760235
CvG760237
CVG760241
CvG760248
CVG760254
CVG760255
CVG760258
CvG760259
CVG760261
CVvG760262
CVG760273
CvG760278
CvG760283
CVG760285
CvG760287
CvG760290
CvG760294
CVG760295
CvG760297
CvG760299
CvG760307
CvG760308
CvG760309

Page 157 of 194

Description
*** R/H INNER DOOR PANEL
*** | /H DOOR LOCK
*** R/H DOOR LOCK
*** INTERIOR DOOR LOCK BUTTON R/H
*** INTERIOR DOOR LOCK BUTTON L/H
*** L/H WINDOW WINDER

*** CAB DOOR DROP WNDW RH/LH TINTED

MIRROR, LH, SMT & MEGA

MIRROR, RH, SMT & MEGA

*** INTERIOR LAMP HOUSING

***CAB HEATER SWITCH, R/B 72450-08
*** HEATER FAN SWITCH

*#* HEATER SYMBOL PLATE
***DEFROST SWITCH

*** WIPER BLADE

*** HUB CAP

*** |/H REAR DOOR GLASS TINTED

*** R/H REAR DOOR GLASS TINTED
CABLE ASSY,10GAX51.0,1/4" TERMS
CABLE ASSY,10GAX28.0,1/4" TERMS
*** HINGE

**% TAIL LIGHT BOX

*#* DOOR STOP- MEGA

*** SECOND DOOR CATCH

*#* ROLLER SHUTTER DOOR HANDLE
*** TAILGATE OUTER PANEL

*#* TAILGATE LOWER HING

*** TAILGATE SUPPORT CABLE

*#* TAILGATE RELEASE LEVER

*** TAILGATE KEY BARREL PLATE
HINGE, DROPSIDE PANEL

*** BODY LANDING RUBBER SUPPORT
REMOTE CONTROL

*#* STEERING WHEEL CENTER CAP

*** HUB, LH, FRONT, MEGA

*#* FRONT CAP PLUG,MEGA

*** SUN VISOR WITH MAP POUCH

*#* LEVER,LH,TAILGATE RELEASE,MEGA
*** LEVER,RH,TAILGATE RELEASE,MEGA
*** AXLE,ELEC,12.3:1,W/SENSOR,MEGA
*** LOCK OPERATING PLATE

*#* DROPSIDE, SIDE PANEL
LOCK,DROPSIDE,RIGHT
LOCK,DROPSIDE,LEFT

Parts Pricing Schedule

List Price

$159.64
$54.08
$54.08
$8.40
$8.40
$51.28
$81.60
$32.28
$32.28
$33.68
$5.92
$32.13
$33.00
$15.64
$22.88
$44.60
$41.45
$41.45
$12.20
$9.41
$17.00
$7.44
$1.00
$24.53
$8.60
$135.44
$32.56
$23.68
$45.72
$13.28
$33.56
$6.96
$406.80
$9.56
$382.05
$1.76
$22.16
$70.48
$70.48
$1,638.48
$9.76
$248.32
$238.96
$238.96

1/20/2019



EV Technical Services, LLC

= Parts Pricing Schedule
Part # Description List Price
CVG760317 WIRE HARNESS,DUAL BATTERY SELECTOR $227.08
CvG760318 MASTER CYLINDER $150.00
CVG760319 PUSH ROD ADAPTOR $52.00
CvG760320 SEAL,DOOR OPENING,SELF-ADHESIVE $5.63
CVG760321 NUT RETAINER KIT $6.28
CvG760323 TIRE/WHEEL ASSY,4-H ,4.8X8 (N-MARK) $254.92
CVG760324 TIRE/WHEEL ASSY,4-H,5.7X8,NM LRC $426.08
CvG760325 TIRE/WHEEL ASSY,5-H ,5.8X8 (N-MARK) $258.80
CVG760326 TIRE/WHEEL ASSY,4-H,18.5X8.5-8, NM $350.48
CvG760335 ***% PANEL,INNER BONNET,MEGA $124.08
CVG760343 *** DOOR PANEL,LH OUTER,BLUE $164.40
CvG760345 *** DOOR PANEL,RH OUTER BLUE $164.40
CVG760350 *** COVER,BONNET,BLUE,MEGA $302.96
CvG760351 *** COVER,BONNET,RED,MEGA $218.12
CvG760353 LOCK,LEFT INNER PROFILE $49.28
CVvG760354 LOCK,RIGHT INNER PROFILE $73.96
CVG760360 WHEEL, 5-HOLE, CHROME $164.04
CvG760362 WINDSHEILD WIPER SWITCH $45.50
CVG760365 AXLE, ELEC, 14.76, MECH BRAKE $1,982.52
CvG760366 AXLE, ELEC, 10.35, MECH BRAKE $1,871.80
CVG760368 AXLE, 10.35 ELECTRIC, HYD BRAKE $2,258.64
CvG760371 SEAL, INPUT PINON $9.54
CVvG760372 PINION KIT,10.35 RATIO AXLE $178.92
CvG760373 PINION KIT,12.44 RATIO AXLE $128.48
CVG760374 PINION KIT,16.99 RATIO AXLE $186.60
CvG760375 PINION INPUT BEARING,OPEN CAGE $36.72
CvG760376 GEAR SET KIT,10.35 AXLE RATIO $1,012.92
CvG760377 HOSE, WINDSHIELD WASHER $2.36
CVG760378 CONVERTER,DC/DC,36/48V-12.0V $282.60
CvG760380 *** INTERIOR LIGHT ASSY $12.80
CvG760381 AXLE, ELECTRIC,12.44 MECH BRAKE $2,040.64
CvG760382 AXLE, ELEC, 16.99, MECH BRAKES $1,670.20
CVvG760386 PINION KIT,14.76 RATIO AXLE $156.00
CVG760389 SLAM LATCH KIT $218.60
CVG760395 *** BRAKE SHOES (SET OF 4) $92.20
CVG760396 *** BRAKE PADS KIT $137.10
CVG760404 BRACKET,DOOR STRAP SMT $2.32
CVG760454 *** BEARING, FRONT WHEEL, MEGA $90.72
CVvG760456 *** BALLIOINT, MEGA $43.04
CVG760465 *** BRUSH $14.36
CVG760466 **% KIT, CV BOOT, AXLE SIDE, MEGA $31.23
CVG760473 *** BRUSH SPRING $7.36
CvG760480 MIRROR, OVERSIZED 5.5 X 7.5" $109.12
CVG760481 *** STEERING RACK BOOT $31.32
Page 158 of 194 1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG760482
CvG760484
CvG760487
CvG760489
CvG760491
CVG760492
CvG760493
CVG760494
CvG760497
CVG760498
CvG760499
CVG760505
CvG760518
CVG760524
CVvG760530
CVG760531
CVG760535
CVG760538
CvG760540
CVG760545
CVG760546
CVG760547
CVG760553
CVG760554
CVG760557
CVG760558
CVG760559
CVG760563
CvG760564
CVG760569
CvG760570
CVG760572
CvG760574
CVG760575
CvG760579
CVG760583
CvG760584
CVG760585
CVG760586
CvG760587
CVG760595
CVG760596
CVG760599
CvG760600

Page 159 of 194

Description
*** TIE ROD END
*** MASTER CYLINDER
*** RUBBER BUSHING
*** BRAKE LIGHT SWITCH
*** | /H/F BRAKE CALIPER COMPLETE
*** BRAKE PAD RETAINING PIN
*** R/H/F BRAKE CALIPER COMPLETE
*** FRONT BRAKE DISC
*** BRAKE SHOE RETURN SPRING
*** WHEEL CYLINDER
*** SPRING R/H
*** CAB DOOR SEAL
*** TAILGATE CONICAL LOCK PIN
CLAMP,HOSE3"-5",STAINLESS STEEL
RECEIVER HITCH,2" DROP
BRAKE CONTROL SYSTEM
MASTER CYLINDER ASSY,1.00" BORE
WINDOW ,REAR CAB,MVP,SAFETY
MIRROR,CONVEX,ROUND
WINDOW,FRONT, TEMPERED,CARGO VAN
WINDOW,DOOR, TEMPERED,CARGO VAN
HINGE ASSY,.098X2.952X3.937,BLK S/S
SEAT BELT BUCKLE, ANGLED MOUNTING
KEY ONLY, DOOR OUTER LATCH
ENCLOSURE, SOFTSIDE, WHEELCHAIR
ENCLOSURE, P4E W/80" SUNTOP
ENCLOSURE,SOFTSIDE,AMBULANCE,WHITE
KINGPIN, BOLT ON, SMT
IGN KEY BLANK, INDIV KEYED -SEE CV3
MOTOR, AC POWER, 5KW
*** MOTOR,7KW AC
WIRE HARNESS,MVP TRAILER RECPTACLE
MDI DISPLAY
PROGRAMMING CABLE,ZAPI CONTROLLER
HEADLIGHT ASSEMBLY, HI/LOW
BACK-UP LIGHT ASSY, LED, 4" ROUND
GROMMET,4" RND,REV TAILIGHT ASSY
SEAT BELT,3-PT,ELR,BUCKLE
BATTERY, AGM, 6V, SEALED
FLUID RESERVOIR,WW,2-QT,12-VOLT
CHECK VALVE, IN-LINE
NOZZLE,WASHER, SINGLE JET
TOGGLE SWITCH, ON/OFF, HI/LOW
SWITCH,TOGGLE,OFF/ON,SPEED CONTROL

Parts Pricing Schedule

List Price
$55.08
$96.35

$8.40
$20.66
$382.19
$4.88
$382.19
$192.11
$3.96
$24.93
$4.16
$18.08
$19.76
$3.36
$38.12
$216.36
$150.00
$167.20
$26.60
$151.40
$88.08
$31.04
$17.00
$7.68
$3,034.80
$2,417.40
$3,034.80
$37.80
$13.60
$2,140.80
$2,600.00
$94.28
$226.08
$1,086.96
$41.16
$30.20
$2.08
$88.48
$839.00
$43.04
$8.68
$26.72
$10.68
$9.40

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG760601
CVG760608
CvG760611
CVG760612
CvG760618
CVG760620
CvG760621
CVG760630
CVG760633
CVG760635
CVG760636
CVG760637
CVG760638
CVG760639
CvG760641
CVG760642
CvG760643
CVG760646
CvG760647
CVG760648
CvG760649
CVG760651
CVG760653
CVG760654
CVG760655
CVG760657
CVG760658
CVG760659
CvVG760660
CVG760661
CVG760662
CVG760663
CVG760665
CVG760666
CvG760670
CvG760671
CvG760674
CvG760678
CVG760688
CvG760690
CVG760691
CVG760693
CvG760694
CvG760697

Page 160 of 194

Description
FLOORMAT, REAR,SM4-2010
STEER COLUMN COVER, ABS, 2-PIECE
WHEEL,13X4.5,WHITE,8-SPOKE,4-BOLT
WHEEL,13X4.5,WHITE,8-SPOKE,5 BOLT
LIGHTIN SIGHT - TRAFFIC LIGHT LENS
EXTENSION CORD, 9', GFCI
WHEEL CENTER CAP,CHROME/BLACK,3.19"
BRAKE HOSE, HYD, FLEX ASSY
BUMPER, SUMMIT DOOR
PEDAL ASSY,ACCELERATOR & HARNESS
STEERING WHEEL, 15.5", MVP
WIRE HARNESS,MAIN,BC,SEM,PWR W/IMP
WIRE HARNESS,POT BOX ADAPTOR (PAD)
THERMISTOR REPAIR KIT
CABLE,SPEED SWITCH LAD,W/ANTIFREEZE
TAILIGHT ASSY,LED STOP/TURN,6"OVAL
GROMMET,6" OVAL,TAILIGHT ASSY
MANUAL RELEASE TRUCK BRACKET ASSY
DECAL, DASH, KEYSWITCH W/ WIPER
NUT, LOCKING CAP
PLUG, 3/4-16, HOLLOW HEX
RING, RETAINING BASIC, 52MM
BEARING, BALL 6205
GEAR CASE, LH, MACHINED
TUBE, VENT, 1/4" HOSE
AXLE, RH
AXLE TUBE, LH
AXLE TUBE, RH
BRAKE CABLE BRACKET, LH
BRAKE CABLE BRACKET, RH
ASSY, BRAKE, 7" LH HYD(USED ON RH)
ASSY, BRAKE, 7" RH HYD,(USED ON LH)
SEAL, DUAL LIP
SEAL, TRIPLE LIP, 25X35X7.8
*** WASHER, M12, F/W, YWZC
SPACER,.75X.50X.50,YWzC
SCREW, 3/8-24 UNF X 1.25
*** PAD ADAMPTER HARNESS, MEGA
BULB, 12V, HI/LOW
SPEEDOMETER, 3 3/8"
CHARGER CORD, 6'.5", 14/3 WIRE BLK
SCREW,1/4-20X2,BSHCS,SS18-8
FOAM TAPE,1/8TX3/4WX75'ROLL,PSA,BLK
HINGE,LIFT-OFF,ASSY

Parts Pricing Schedule

List Price

$39.12
$103.56
$48.68
$47.16
$69.56
$108.12
$9.64
$112.72
$1.00
$354.96
$240.88
$177.00
$36.68
$23.60
$21.48
$19.48
$1.82
$123.26
$15.20
$4.40
$3.56
$4.40
$10.95
$325.28
$1.92
$65.08
$246.56
$246.56
$130.20
$130.20
$372.28
$372.28
$6.68
$15.44
$1.00
$1.80
$3.40
$53.60
$38.04
$420.76
$16.52
$1.00
$1.00
$13.04

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG760703
CvG760704
CvG760706
CvG760712
CvG760713
CVvG760714
CvG760717
CvG760719
CvG760721
CVG760723
CVG760725
CvG760727
CvG760728
CVG760729
CvG760730
CVG760732
CvG760737
CVG760739
CvG760740
CVG760741
CvG760742
CVG760743
CvG760744
CVG760749
CvG760750
CVG760751
CvG760752
CVG760753
CvG760754
CVG760759
CvG760760
CVG760761
CvG760762
CvG760763
CvG760764
CVG760765
CVG760766
CvG760768
CvG760770
CVG760771
CvG760772
CvG760773
CvG760776
CvG760777

Page 161 of 194

Description
WASHER, NORD-LOCK
CABLE, MOTOR, AC DRIVE,25.5"
NUT, HEX FLANGE, 5/8-18 UNF, ZC
HARNESS, ZAPI AC, SMT
HANDSET, ZAPI AC
*** STUD,WHEEL,FRONT, MEGA
ENCLOSURE,VAN,BC-S
ENCLOSURE,VAN,SUV-S
LOCKNUT 3/18-16 FLNG CNTR
*** SEAL, OIL, DRIVE SHAFT
BACKING PLATE ASSY.
BLEEDER, BRAKE
CLIP, BRAKE LEVER
SPRING, BRAKE RETURN
ADJUSTER, BRAKE
BRAKE SPRING KIT
BATTERY, 12V DC, AGM, SEALED
HALF SHAFT, MAT MOVER
HUB, W/O DISC, HUB ONLY, 4 ON 4 BC
REAR SUSPENSION ASSY, MAT
CHARGER, DELTA-Q, 48V SEALED W/ LED
DELTA-Q CHARGER 36V
DELTA-Q CHARGER, 24V
FUSE,80A,48V,STUD MOUNT
FUSE,150A,48V,STUD MOUNT
FUSE,175A,48V,STUD MOUNT
BEARING, BALL,.5"IDX1.375"0D
HORN,48V
CHARGER LED LABEL
ASSY, CABLE, LH BOGIE
ASSY, CABLE, RH BOGIE
CNTRL SUPPLY CABLE ASSY
CABLE, BATTERY,2GA,5/16TERM, 24"
**GREASE SEAL
FUSE,BLOCK,6-WAY
LOCK NUT
CABLE, BATTERY, 2GA,5/16TERM, 9"
BC DASHBOARD DECAL, SEP EX LED
BACKUP LIGHT HARNESS, DC-DC CONV
MAT VEHICLE HARNESS
PLUG,SQ,2",LDPE
TIRE, 175/70/R13, KUMHO
LOUVER PLATE KIT,5.62X5.50
TWIST LOCK PLUG, 20A

Parts Pricing Schedule

List Price
$17.80
$24.48

$3.20
$403.00
$1,521.76
$3.84
$5,356.52
$4,652.20
$1.00
$13.32
$266.36
$16.44
$1.72
$3.60
$14.32
$41.72
$761.16
$760.88
$180.44
$453.28
$953.44
$953.44
$953.44
$78.88
$74.64
$83.20
$8.60
$53.68
$23.84
$330.32
$228.52
$136.52
$30.24
$247.48
$25.88
$3.72
$18.28
$18.72
$159.00
$1,052.88
$4.76
$221.72
$66.48
$99.92

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG760778
CvG760784
CvG760788
CvG760799
CvG760800
CvG760801
CvG760802
CVG760803
CvG760808
CvVG760809
CvG760811
CVG760813
CvG760814
CVG760815
CvG760817
CVG760819
CvG760820
CVG760822
CvG760824
CVG760825
CvG760827
CVG760829
CvG760831
CVG760833
CVG760835
CVG760838
CvG760839
CVG760841
CvG760842
CvG760847
CvG760848
CVG760852
CVG760853
CvG760854
CVG760858
CvG760859
CVG760863
CVG760865
CVG760866
CvG760867
CVG760868
CvG760869
CVvG760872
CvG760881

Page 162 of 194

Description
BLOCK,TERMINAL,2-POLE,175A
PAD,PEDAL,MAT
FUSE, ANN 300 AMP
AXLE,MECH,10.37:1
BUSHING,A-ARM
SHAFT,ASSY STEERING 42.796
RACK,STEERING
CABLE,BRAKE 74.00/74.25
*** SCREW,3/8-16X3,HHCS,GR5,YWZC96
SHOCK,COIL OVER
ROD,ACCELERATOR ADJUSTMENT
WINDSHIELD, FOLDING 40" ACRYLIC,1/4
WINDSHIELD-40" ACRYLIC, 1/4"(78 DEG
WINDSHIELD, FOLDING 40" ACRYLIC,1/4
CORD,LED,REMOTE,CHARGER
BELLOW,STEERIING RACK
TIE ROD END,P5
LIGHT, FRONT TURN SIGNAL
LIGHT, REVERSE.CLEAR
SCREW,, 5/8X.25, SHR,BLK 150,PA
SCREW,1/4-20X1-3/4,HHCS,G8,YWZC96
CONTROL,LIGHTING MODULE
LIGHT, STOP-TURN-TAIL,RED
SWITCH,ROTARY FAN
WIRE HARNESS,SEPEX, 48V
HARNESS, 12V ACC EX21
HARNESS, MAIN EX21

WINDSHIELD, HARDCOAT, POLYCARBONATE

TIRE, 175/70/R13, GEOSTAR
HARNESS, TURN SIGNAL INDIC. ADAPTOR
BEZEL- TAILLAMP RH,GRAY,W/O
COVER- COLUMN LOWER
COVER- COLUMN UPPER

PANEL- ROOF LONG,WHITE
PANEL, REAR ACCESS

FASCIA- FRONT- LOWER

PANEL- ROOF SHORT,WHITE
BEZEL- TAILLAMP LH,GRAY, W/O
PANEL- DASH

COWL

BUMPER,REAR, FASCIA

PANEL- UNDERBODY REAR
TRAY- BATTERY COVER

FRONT UNDERBODY

Parts Pricing Schedule

List Price
$68.08
$44.28
$45.08

$1,591.32
$17.56
$152.64
$231.88
$63.72
$1.04
$147.80
$7.16
$370.60
$415.04
$371.20
$26.24
$7.40
$27.12
$37.12
$39.32
$15.32
$1.00
$226.32
$37.12
$16.96
$269.96
$64.56
$130.96
$456.36
$169.36
$23.44
$29.28
$81.12
$79.44
$499.96
$28.40
$65.32
$287.12
$28.84
$267.16
$151.56
$125.36
$405.16
$92.72
$262.36

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG760882 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CVG760883 *

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:

Opt:
CvG760886
CvG760887
CvG760888
CvG760889
CvG760893
CvG760894
CVvG760896
CvG760897
CvG760917
CvG760918
CvG760919
CvG760920
CvG760921
CVvG760922
CvG760923
CVG760925
CVG760926
CvG760927

Page 163 of 194

2E+06

3E+06
8E+06
2E+07
4E+06
2E+07
4E+06
7E+06
2E+07
2E+07
2E+07

2E+06

3E+06
8E+06
2E+07
4E+06
2E+07
4E+06
7E+06
2E+07
2E+07
2E+07

Description

PAINTED PANEL, FRONT BODY,W/O LT,P5

BRILLIANT BLACK CRYSTAL METALLIC

TITANIUM WHITE

CHARCOAL GRAY METALLIC

HUNTER GREEN

SCREAMING YELLOW

DARK CONCORD BLUE METALLIC

ROOT BEER PEARL

DESIGNER BRONZE EFFECT

GREEN RAVE METALLIC

REFLEX SILVER METALLIC

TOREADOR RED

WHITE DIAMOND PEARL
PAINTED PANEL, FRONT BODY, HDLT, P5

BRILLIANT BLACK CRYSTAL METALLIC

TITANIUM WHITE

CHARCOAL GRAY METALLIC

HUNTER GREEN

SCREAMING YELLOW

DARK CONCORD BLUE METALLIC

ROOT BEER PEARL

DESIGNER BRONZE EFFECT

GREEN RAVE METALLIC

REFLEX SILVER METALLIC

TOREADOR RED

WHITE DIAMOND PEARL
EXTRUSION,WINDSHIELD 24"
HOLDER, FUSE ANN/ANL
KNOB,DIRECTIONAL SWITCH
NUT,#10 U-SPR,PN RNG .025-.150,96HR
PANEL,REAR INNER FENDER LH
PANEL,REAR INNER FENDER RH
HARNESS, 48V, AC DRIVE
KIT,DELTA-Q QUI PROGRAMMING
CIRCLIP,NKL
BEARING,BALL 6303
SHIM,36X44X1.5
SHIM,30X40X1
BEARING,BALL 6203
BEARING,BALL 6205
SHIM,45X51X1.5
SHIM,61X69X1.5
BEARING,BALL 6207
DRUM SET (2),HYDRAULIC,BRAKE NKL

Parts Pricing Schedule

List Price
$730.24
$0.00
$18.04
$45.00
$45.00
$45.00
$54.48
$130.08
$140.80
$140.80
$140.80
$140.80
$285.28
$938.80
$0.00
$18.04
$44.96
$44.96
$44.96
$54.48
$179.96
$190.68
$190.68
$190.68
$190.68
$380.60
$56.80
$42.96
$23.68
$1.00
$82.48
$82.48
$330.72
$238.40
$1.08
$14.80
$6.08
$3.04
$8.92
$14.80
$3.04
$8.28
$27.60
$269.56

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG760928
CvG760929
CVG760933
CVG760934
CVG760935
CVG760936
CvG760937
CVG760938
CvG760939
CVG760944
CvG760949
CVG760952
CVG760953
CVG760954
CVG760955
CVG760956
CVG760957
CVG760958
CVG760962
CVG760963
CvG760964
CVG760965
CVG760966
CVG760967
CVG760968
CVG760969
CvG760980
CVG760981
CVvG760982
CVG760984
CVG760985
CVG760986
CvG760987
CvG760989
CvG760990
CvG760991
CVG760993
CvG760997
CVG760998
CVG761002
CVG761006
CvG761007
CVG761008
CvG761009

Page 164 of 194

Description
SHOES, BRAKE (PAIR)
FAN,69CFM,48V,MAT CHARGER
ADHESIVE,SEALBOND SB105,BLACK
ASSEMBLY,GEAR, INTERMEDIATE,10.37:1
ASSEMBLY,GEAR,CARRIER,16.77:1
ASSEMBLY,INTERMEDIATE,GEAR,16.77:1
ASSEMBLY,GEAR,INPUT,16.77:1
ASSEMBLY,GEAR,INPUT,10.37:1
ASSEMBLY,CARRIER,GEAR,10.37:1
NUT,1/2-20,NYLON L/N,G8,YWZC96
WINDSHIELD,BC ACRYLIC
CABLE, MOTOR, MAT, BRAID COVER
MOTOR,WIPER,12V,40W
WIPER BLADE, 18"
WIPER ARM W/ NOZZLE
CONTROLLER,AC,SEVCON GEN
MOTOR,AC,8KW, SCHABMUELLER
DISPLAY,SEVCON CLEARVIEW
TIRE/WHL ASSY, GOLF PRO Il
CAP,WHEEL
HEADLIGHT, LED, 8415-12V
TIRE/WHL ASSY, 480-12 CHROME 4H
TIRE/WHL ASSY, 480-12 WHITE 4H
GREASE FITTING,1/4-28,SELF-TAP
DC/DC CONVERTER, 48-12, 720W
HOSE,2.50"ID,REINFORCED RUBBER,BLK
COVER,(DUST SHIELD)
SPRING (BLUE), (TORSION)
SPRING (YELLOW),(TORSION)
ADJUSTMENT ASSEMBLY - L SET
ADJUSTMENT ASSEMBLY - R SET
SHAFT, AXLE, ASSY (W/SHOES) - RH
SHAFT, AXLE, ASSY (W/SHOES) - L
CONTACTOR,48V,NC,SW63
RELAY,LATCHING,IDEC
BUMPER, MOTOR, SCHABMUELLER AC
SEAL,AXLE,25X47X6H
BRAKE,ASSEMBLY L
BRAKE ASSEMBLY - R
BUSHING,STL,1" ODX9/16 IDX18GA,PLN
HARNESS,12V ACCESSORY, SU5
STROBE,12-80VDC,RED,LED
ADJUSTMENT ASSEMBLY - L
ADJUSTMENT ASSEMBLY - R

Parts Pricing Schedule

List Price

$47.40
$80.04
$39.80
$275.44
$588.48
$275.44
$159.56
$159.56
$588.48
$1.08
$365.20
$32.88
$77.60
$5.08
$7.00
$1,630.44
$2,175.60
$543.48
$338.52
$8.68
$401.28
$170.00
$97.68
$1.00
$1,597.40
$19.44
$8.04
$1.52
$1.52
$41.96
$41.96
$483.68
$526.96
$172.36
$152.20
$9.80
$1.84
$137.72
$137.72
$1.00
$559.96
$88.68
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG761010
CvG761011
CvG761012
CVG761013
CvG761014
CVG761015
CvG761017
CVG761018
CvG761019
CVG761020
CvG761023
CVG761024
CVG761025
CVG761027
CvG761031
CVG761032
CVvG761033
CVG761034
CVG761035
CVG761036
CvG761037
CVG761038
CvG761039
CVG761040
CvG761041
CVG761042
CVG761043
CVG761044
CVG761045
CVG761046
CvG761047
CVG761048
CvG761049
CvG761050
CVG761052
CVG761053
CVG761054
CVG761055
CVG761056
CvG761057
CVG761058
CvG761061
CVG761062
CVG761063

Page 165 of 194

Description
ADJUSTMENT MANDREL
SPRING
SPRING ADJUSTMENT
SPRING SHOES
HANDLE,GRAB,COMFORT GRIP
TAPE,VHB,1"X.0625"X36YRDS
DECAL,COLUMBIA SHIELD
BRAKE,ASSEMBLY,HYD,R
BRAKE,ASSEMBLY,HYD,L
CABLE, PROGR, SEVCON AC(SEE DAVE)
HARNESS, ADAPT, SPEEDO, P5
ADAPTER,BARBED,5/16-24UNF
WINDSHIELD,FULL,POLYCARB,TINTED,P5
LOUVER, PACIFICA
ENCL,LONG,ROLL-UP,CHARCOAL,P5
PIN,CLEVIS,5/16X1-3/4",SS
ENCL,SHT,ROLL UP,CHARCOAL,P5
ENCL,LONG,SLIDE,CHARCOAL,P5
ENCL,SHT,SLIDE,CHARCOAL,P5
SPRING,RUBBER AEON
NUT,5/16-24,HJ,NYLON,BLACK
LEVER,ADJUSTMENT, BRAKE,NKL
PIN,PAD BRAKE,NKL
BRKT,ADJUSTER,L,NKL
BRKT,ADJUSTER,R,NKL
SPRING,PIN,PAD BRAKE,NKL
WASHER,SPRNG,BRAKE ADJUSTER,NKL
E-RING,BRAKE ADJUSTER,NKL
PIN,BRAKE ADJUSTER,NKL
DECAL,EX-21 BRAKE
ENCL,SHT,SLIDE,BEIGE,P5
ENCL,LONG,SLIDE,BEIGE,P5
ENCL,SHT,ROLL-UP,BEIGE,P5
ENCL,LONG,ROLL-UP,BEIGE,P5
FLOORMAT,P5
SUPPORT,POST POWER ,ZAPI AC
AXLE,32"TW,DUAL RATIO,HYD
AXLE,BC4,38.58"TW,DUAL RATIO,HYD
VALVE, PROPORTIONING,BRAKE
HARNESS, POWER, SEVCON AC, BC
CABLE,BRAKE,IMAG,BC4 AXLE, 39.125"
SU5 REAR SPRING, 436
SUS5 REAR SPRING, 582
CABLE, MOTOR, SEVCON AC, 25.5"

Parts Pricing Schedule

List Price
$1.52
$1.32
$2.96
$9.48

$13.92
$16.00
$10.40
$236.72
$236.72
$1,369.56
$67.76
$6.20
$619.44
$17.84
$1,308.68
$4.36
$1,595.64
$1,339.12
$1,569.56
$87.80
$1.00
$1.00
$1.32
$3.68
$3.68
$1.32
$1.32
$1.32
$1.08
$14.00
$1,595.64
$1,339.12
$1,595.64
$1,308.68
$48.68
$173.92
$4,710.16
$4,710.16
$131.32
$285.52
$80.44
$55.28
$55.28
$26.28

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG761067
CVG761068
CvG761069
CvG761071
CVG761073
CVG761074
CVG761075
CVG761077
CvG761078
CVG761080
CvG761081
CVG761083
CvG761084
CVG761085
CVG761086
CVG761087
CvG761088
CVG761089
CVG761092
CVG761093
CVG761095
CVG761097
CVvG761098
CVG761099
CvG761101
CVG761102
CVG761103
CVG761104
CVG761105
CVG761106
CvG761107
CVG761108
CvG761109
CVG761110
CvG761111
CVG761112
CVG761113
CVG761114
CVG761115
CVG761116
CvG761117
CvG761118
CvG761119
CvG761120

Page 166 of 194

Description
KIT,BRACKET MOUNTING,DUAL PRO
DISC,BRAKE ,6.75 OD,5-BOLT
HUB,OFFSET DISK/HUB, 5 HOLE
ACTUATOR,ELECTRIC,1200#
CABLE,PARKING BRAKE,74"
CABLE,PARKING BRAKE,102"
CABLE,PARKING BRAKE RELEASE
LIGHT,FLOOD,LED 12-24V
*ASSY,TIRE/WHEEL,23X8.5-12,SPR TURF
METER,KWH, HW66,115V
FOB,KEY,AUTOWATCH
HITCH,PINTLE/2"BALL,COMBO
KIT, FRONT ROOF AND STRUCTURE
KIT, WINDSHIELD, AS1, SU5 CAB
KIT, DOORS, LH AND RH, SU5 CAB
KIT, REAR PANEL, SU5 CAB
KIT, REAR ROOF AND FRAME, SU5
KIT,SIDE MIRRORS,SU5 CAB
KIT, WIPER ARM &BLADE, SU5 CAB
SIDE MIRROR SET, ADJUSTABLE
ASSY,BATTTERY CONNECTOR
HEATER/VENTILATOR,P5
BRACKET, WINDSHIELD

WINDSHIELD,DOT,FOLD,ACRY,CLR,W/HRD

ROOF,STEEL, CVGSU5

SIDE FRAME,CAB,LH, CVG SUS

SIDE FRAME, CAB, RH, CVG SU5
UPPER FRAME, CAB, CVG SU5
WINDSHIELD, AS1, CAB, CVG SU5,BXD
WINDSHIELD, AS1, CAB, CVG SU5
SIDE PANEL, WINDSHLD, RH, CVG SU5
HINGE PANEL, LH, CVG SUS

HINGE PANEL, RH, CVG SU5

DOOR, STEEL, LH, CVG SU5

DOOR, STEEL, RH, CVG SU5

HINGE MOUNT, CAB, SU5

WINDOW, SLIDING, LH, CVG SU5
WINDOW, SLIDING, RH, CVG SU5
DOOR LOWER WINDOW, CVG SU5
WINDOW, REAR SIDE, CVG SU5
WINDOW, REAR, CVG SU5

REAR CANOPY, STEEL, CVG SUS5-L
BRKT, LF, REAR CANOPY, SU5-L

BRKT, RF, REAR CANOPY, SU5-L

Parts Pricing Schedule

List Price
$37.40
$64.40

$119.60
$1,441.64
$62.72
$66.72
$60.88
$73.92
$220.16
$636.60
$95.64
$1,021.76
$1,978.72
$1,753.10
$4,752.60
$1,137.62
$1,059.14
$393.92
$85.32
$60.00
$130.40
$1,774.32
$15.20
$647.84
$952.16
$988.52
$988.52
$395.64
$1,195.96
$208.68
$208.68
$551.64
$551.64
$2,143.48
$2,143.48
$91.32
$634.80
$634.80
$226.08
$139.12
$322.16
$895.88
$60.88
$60.88

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG761121
CvG761122
CvG761123
CvG761124
CVG761125
CVG761126
CvG761127
CVG761128
CvG761129
CVG761130
CvG761132
CVG761135
CvG761136
CVG761137
CvG761139
CvG761141
CvG761144
CvG761147
CvG761148
CVG761150
CvG761151
CVG761152
CVG761154
CVG761155
CvG761156
CVG761157
CvG761159
CvG761161
CvG761162
CVG761163
CvG761166
CVG761167
CvG761168
CVG761171
CvG761173
CVG761174
CVG761175
CVG761176
CvG761178
CVG761179
CVG761185
CvG761186
CvG761187
CvG761189

Page 167 of 194

Description
BRKT, REAR, CANOPY, SU5-L
BKRT, MID, REAR CANOPY, SU5-L
MIRROR,LH SIDE, SU5
MIRROR, RH SIDE, SU5
HINGE, CAB, SU5 (EACH)
DOOR LATCH SET, L&R, SU5
OUTER DOOR HANDLE SET, L&R, SU5
STRIKER MNT, W/BOLT&HARDWARE, SU5
*** BALL STUDS, SU5 CAB
GAS SHOCK SET, SU5 CAB
LABEL,MADE IN USA
SUNTOP SHORT, BLACK HMWPE FOR P5
SUNTOP LARGE, BLACK HMWPE FOR P5
KIT,FENDER FLARE
MOTOR, AC, 5KW
SWITCH, PUSH BUTTON, (ON)-OFF,SPST,2
LATCH,DRAW
HOSE ADAPTER, PACIFICA LOUVER
LABEL,TOWING SPECS
LABEL,DISABLED VEHICLE
LABEL,INFORMATION,2 PASSENGER
LABEL,INFORMATION,4 PASSENGER
DISPLAY,SMART VIEW
LABEL,BC2 SUPPLEMENTAL INFO, 2PASS
LABEL,BC2 SUPPLEMENTAL INFO, 4PASS
HARNESS, DISPLAY ADAPTER, AC DR
FUSE,ATC-20A 32V
LABEL,BC4 SUPPLEMENTAL INFO, 2 PASS
LABEL,SU5-S SUPPLEMENTAL INFO,2-PAS
LABEL,BC4 SUPPLEMENTAL INFO,4-PASS
LABEL,TIRE PRESSURE,45PSI
WHEEL,13X5.5, E-RESIN/PAINT,MOD,5-H
**ASSY, TIRE/WHEEL,205/65-10 4-BOLT
DASH OVERLAY, MVP AC DRIVE
ENCLOSURE,UNICOVER SU5-L
ENCLOSURE,UNICOVER SU5-L-EXT
ENCLOSURE, UNICOVER SU5-S EXT
CHARGER,18A,PROCHARGER

DISPLAY,REMOTE,CHARGER, PROCHARGER

ROTOR, DISC BRAKE, DUAL PATTERN
PIN, 1/4 X 3, ROLL, PLAIN
CLAMP,7/16",STL TUBE,VINYL CUSHION
ASM, SHOCK SPRING, 350 LB/IN
AXLE,38.58",DUAL 17/24:1,HYD

Parts Pricing Schedule

List Price
$56.52
$56.52

$220.48
$220.48
$92.68
$230.44
$154.48
$43.48
$10.88
$110.36
$4.48
$258.52
$404.44
$198.60
$1,039.08
$23.84
$27.92
$4.20
$22.28
$19.60
$22.64
$22.64
$239.12
$23.80
$23.80
$20.88
$2.32
$23.16
$23.16
$23.16
$1.08
$162.12
$201.20
$78.28
$6,545.88
$6,604.00
$4,619.96
$1,023.48
$139.36
$250.68
$1.00
$1.04
$151.32
$4,891.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG761190
CvG761191
CvG761192
CVG761194
CVG761195
CVG761196
CvG761197
CVG761198
CvG761200
CVG761201
CvG761202
CVG761203
CvG761204
CVG761207
CVG761208
CVG761209
CvG761210
CVG761212
CvG761213
CVG761214
CVG761215
CVG761216
CvG761218
CVG761219
CVvG761220
CVG761221
CVvG761222
CVG761223
CvG761224
CVG761226
CvG761227
CVG761228
CvG761229
CVG761230
CvG761237
CVG761238
CvG761239
CVG761241
CvG761242
CVG761243
CvG761248
CvG761249
CVG761250
CvG761251

Page 168 of 194

Description
CONTROL,SEVCON,650A
HEAT SINK,SEVCON
LOUVER, PACIFICA, WIDE FRAME
CABLE,2GAX61.50",5/16"TERM
ASSY,TIRE/WHEEL,205/50-10,5-HOLE
CENTER CAP, CHROME, 2.5" PILOT
ASSY,TIRE/WHL,205/65-10,5 HOLE,BLK
ASSY, TIRE/WHL,205/65-10,4 HOLE,BLK
BATTERY,6V,AGM2000
SCREW,5/16 X 2,CENTER,W/NUT
CAPS, BATTERY WATERING SYSTEM, 6-8V
PANEL,REAR INNER FENDER, LH
PANEL,REAR INNER FENDER, RH
CABLE,BRAKE,IMAG, SU5-L AXLE, 95"
CABLE,BRAKE,IMAG, SU5-S AXLE, 65"
ASSY, TIRE/WHEEL, 23X8.5-12, BLACK
DISC, BRAKE, 6.750D 4 BOLT
ASSY, CALIPER, RAZORBACK, FRONT,ORG
BEARING,GCC-BERG-0006
BEARING,GCC-BERG-0009
BEARING,GCC-BERG-0010
BEARING,GCC-BERG-0011
BEARING,GCC-BERG-0019S
BEARING,GCC-BERG-0026
BEARING,GCC-BERG-0034
WASHER, DRAIN PLUG
BREATHER,GCC-HARB-0312
WASHER, OIL FILL
SHAFT,INPUT, 19T
SEAL,OIL,UTV-RAXLE-SEAL-005
SEAL,OIL
SEAL,OIL
DRUM,BRAKE,7"
SHOES,BRAKE,7",PAIR
PLUG HOLDER
CONNECTOR, FEMALE,15A
PLUG,MALE,15A
BALL JOINT
BLANK, KEY FOR 761236 - SEE CV3
CONTACTOR (12V SEALED)
MOTOR, AC, 5KW W/EM BRAKE
HARNESS,12V ACC,P5,2016
HARNESS,48V,P5/SU5, AC DRIVE, 2016
HARNESS,12V ACC,SU5,2016

Parts Pricing Schedule

List Price
$2,065.24
$428.28
$17.84
$34.76
$169.12
$10.88
$145.11
$193.48
$894.76
$4.36
$378.36
$82.48
$82.48
$80.44
$80.44
$224.52
$64.40
$164.72
$40.00
$43.28
$42.60
$43.28
$117.16
$43.28
$165.20
$4.36
$13.04
$4.36
$260.88
$42.92
$33.92
$20.88
$108.68
$81.72
$43.48
$43.64
$66.32
$40.76
$5.95
$89.88
$1,697.40
$440.00
$452.16
$505.28

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVvG761252
CVG761254
CVG761255
CVG761256
CvG761257
CVG761258
CvG761259
CVG761260
CvG761261
CVG761262
CVG761263
CVG761264
CVG761265
CVG761266
CVG761269
CVG761270
CVG761272
CVG761273
CvG761274
CVG761275
CvG761276
CVG761277
CvG761278
CVG761281
CvG761286
CVG761287
CVvG761290
CVG761292
CVG761293
CVG761294
CVG761295
CVG761297
CVvG761298
CVG761299
CvG761300
CVG761301
CvG761302
CVG761303
CvG761304
CVG761305
CVG761306
CvG761307
CVG761308
CvG761309

Page 169 of 194

Description
HARNESS,SEVCON AC,BC,2016
PLUG,RUBBER,TAPERED
SENSOR, THERMAL, NG3
LIGHTBULB, #3157 12V
LIGHTBULB,#3155,12V
ENCODER,LETRIKA
STOP,CORD REEL 1/4"
SUNTOP, BLACK, P4
HINGE,DROP SIDE
HARNESS, BRAKE, FRONT, SU5
HARNESS, BRAKE, REAR, SU5-S
HARNESS, BRAKE, REAR, SU5-L
WHEEL CYLINDER, 5/8" BORE
WHEEL CYLINDER, 19MM BORE
TITAN, RH CALIPER, FRONT
TITAN, LH CALIPER, FRONT
SCREW,M6-1.0X40MM,HHCS,ZN
BRAKE PAD, TITAN KIT
CABLE, 2 GA X 72", 5/16 TERMINALS
DELTA VIEW READER
GEARBOX,2-SPEED,UTV AXLE
TIRE,25X8.00-12 TIRE
TIRE,25X10.00-12 TIRE
BALL JOINT, TAPERED
ROD, BRAKE RELEASE
U-BOLT 1/2-13 X 5"IL X 2.31
KNOB,STAR,50MM 0D, 3/8-16 THRU
*** SCREW,5/16-18X1,CARR,18-8,SS
CHARGER,12V,15A,CEC
DISPLAY,REMOTE,LESTER SUMMIT
CABLE,MOTOR, 2GA, 5/16 TERM,45"
ARM, FRONT, LOWER, RH, APE
BEARING, BALL,APE,96100-62070-00000
NUT, APE, 90204-74000-00C
SEAL, OIL, APE, 96500-327810A727101
SEAL, OIL, APE, 96503-426207A7271
SENSOR, SPEEDOMETER, APE
BRAKE LINE, FRONT, J/B CRIMPED, APE
CABLE,SHIFT,APE,21335213-000
SWITCH,LOW SPEED,APE,30444201-000
FUSE BOX,APE,32109204-000
HEADLIGHT,APE,33100231-000
HEADLIGHT,LENS,APE,33110225-000
SIGNAL,FRONT,LH,APE,33450216-000

Parts Pricing Schedule

List Price
$348.20
$2.52
$217.40
$12.72
$9.04
$86.96
$27.12
$263.32
$37.84
$117.84
$100.00
$109.64
$108.68
$108.68
$185.00
$185.00
$1.00
$75.04
$58.56
$304.12
$3,586.96
$216.32
$222.60
$29.96
$16.88
$14.12
$8.32
$1.00
$656.76
$43.48
$41.56
$136.40
$163.48
$26.32
$8.32
$6.40
$11.28
$217.20
$30.84
$5.64
$37.60
$109.40
$35.32
$53.64

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG761310
CvG761311
CvG761312
CVG761313
CvG761314
CVG761315
CvG761316
CVG761317
CvG761318
CvG761319
CvG761320
CVG761322
CvG761323
CVG761324
CVG761325
CVG761326
CvG761327
CVG761328
CvG761329
CVG761330
CvG761331
CVG761332
CVG761333
CVG761334
CVG761335
CVG761336
CvG761337
CVG761338
CvG761339
CVG761340
CvG761341
CVG761342
CvG761343
CvG761344
CVG761345
CvG761346
CvG761347
CvG761348
CvG761349
CvG761350
CvG761351
CvG761352
CVG761353
CvG761354

Page 170 of 194

Description
TAILLIGHT,APE,33700214-000
LENS,TAILLIGHT,APE,33702201-000
LENS,REAR SIGNAL,APE,33703201-000
SIGNAL,REAR,RH,APE,33800205-000
SIGNAL,REAR,RH,APE,33850205-000
BULB,SIGNAL,APE33905205-000
BULB, TAILLIGHT,APE,34906116-00A
SWITCH,BRAKE,APE,34916203-000
SENSOR,THROT PED,APE,34926201-000
SWITCH,MAIN,APE,35102230-000
PIN,5/16X1.63,HITCH,SS
SEAL,OIL,96500-385507A7271
SEAL,OIL,96500-255207NBR
SEAL,OIL,96500-253807F5850
SEAL,OIL,96500-142807A7271
BEARING,NEEDLE,96200-253315
BEARING,NEEDLE,96200-202715
BEARING,BALL,96100-63050-00000
BEARING,BALL,96100-63040-00000
BEARING,BALL,96100-62050-00000
BEARING,BALL,96100-62040-00000
BEARING,BALL,96100-60060-LLUOO
0-RING,93212-02620
KIT,INNER BOOT,88558205-000
KIT,BOOT OUTER,88558204-000
KIT,BOOT,88558203-000
KIT,BOOT INNER,88558202-000
KIT,BOOT OUTER,88558201-000
MIRROR,RH,88110207-000
RUBBER,SEAT,77220131-000
HITCH,71601206-000
CABLE,THROTTLE,53910221-000
ROD END,53414203-000
ARM,REAR LOWER,LH,53146243-067
ARM,REAR UPPER,LH,53145208-067
ARM,FRONT LOWER,LH,53144210-067
ARM,FRONT UPPER,LH,53143208-067
BUSHING,53135203-000
ARM,REAR LOWER,RH,53047243-067
ARM,REAR UPPER,RH,53046208-067
ASSY,STEERING KNKL,RH,51330211-000
ASSY,STEERING KNKL,LH,51325211-000
SWITCH, 2WD/4WD,50327202-001
BOX,RUBBER,50205201-000

Parts Pricing Schedule

List Price
$27.04

$8.64
§7.52

$30.28
$30.28
$12.04
$34.96
$37.56
$29.32
$90.60
$15.56

$2.96
$2.20
$8.20
$1.20

$39.12
$22.56
$18.36
$15.28
$12.20
$10.64
$21.12

$1.00

$53.04
$48.04
$82.64
$47.68
$64.16
$63.08

$1.80

$30.08
$15.80
$31.00
$163.68
$100.68
$136.40
$126.36

$4.92

$163.68
$100.68
$312.44
$312.44

$44.36

$9.60

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG761355
CVG761356
CvG761357
CVG761358
CvG761359
CVG761360
CvG761361
CVG761362
CVG761363
CVG761364
CVG761365
CVG761366
CvG761367
CVG761368
CVG761369
CVG761370
CvG761371
CVG761372
CVvG761373
CVG761374
CVG761375
CVG761376
CvG761377
CVG761378
CvG761379
CVG761380
CvG761381
CVG761382
CVG761383
CVG761384
CVG761385
CVG761386
CvG761387
CvG761388
CvG761389
CvG761390
CvG761391
CVG761392
CVG761393
CVvG761394
CVG761395
CvG761396
CvG761397
CvG761398

Page 171 of 194

Description
SNAP,50179202-000
OIL TANK, BRAKE,43503203-000
CYLINDER,MASTER,43500208-000
SPRING,THROTTLE PEDAL,43463201-000
SPRING,43421206-000
CAP,OIL TANK,43016203-000
SELECTING, 2WD/4WD,42765201-000
CAP, HUB,4273039A-000
ASSY,KNUCKLE,REAR,42130201-000
SHAFT,FRONT DRIVING,42070201-000
HUB,WHEEL,42010207-000
SPEEDOMETER,37200231-000
SWITCH, FORWARD/REV,35164202-000
SWITCH,SIGNAL/HORN,35156202-000
SWITCH,HAZARD,35155201-000
SWITCH,LOW/HIGH BEAM,35154201-000
SWITCH, HEADLIGHT,35153201-000
ASSY,SUSPENSION,REAR,52400243-317
MIRROR,LH,88120207-000
KNOB, TRANS LEVER,21328203-000
COVER,21327207-000
GEAR SELECTOR,21319229-000
CLAMP,19222201-000
GROMMET,16129204-000
SPRING, PROP SHAFT,11705202-000
SPRING, SELECTOR,11705201-000
BALL JOINT,7081190
SCREW,96000-080458-00C
0-RING,93210-04920
0O-RING,93210-01425
STRIKER,LOCK,77231181-000

HOOD, CAMOUFLAGE,77227205-456(CAMO)

LATCH, HOOD,77219203-000
SWITCH,ACCEL PED,53916201-000
JOINT, UNIVERSAL,52450205-000
BUSH, SEAL,51344201-000

TIE ROD,51342202-000

GEAR BOX, STEERING,51341203-000
TAILGATE, BOX,50172202-000

PLATE, FRONT BRAKE, LH,45010203-000
ASM.,CALIPER,REAR,RH,45007203-000
ASM.,CALIPER,REAR, LH,45006203-000
ASM.,CALIPER,FRONT,RH,45002205-001
ASM.,CALIPER,FRONT,LH,45001205-001

Parts Pricing Schedule

List Price
$27.92
$16.92

$244.28
$1.00
$1.36
$12.04
$481.00
$3.96
$125.32
$408.92
$164.72
$225.48
$23.68
$78.72
$24.44
$12.40
$10.52
$394.56
$61.28
$8.80
$9.40
$95.84
S2.64
$1.00
S1.16
$1.12
$109.96
$1.28
S4.12
$1.00
$10.08
$583.52
$10.32
$81.28
$145.04
$5.64
$93.96
$413.36
$107.68
$78.52
$246.12
$246.12
$163.48
$163.48

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG761399
CVG761402
CvG761403
CVG761404
CVG761405
CvG761407
CvG761408
CvG761409
CvG761410
CvG761411
CvG761412
CVG761413
CvG761414
CVG761415
CvG761416
CvG761417
CvG761418
CvVG761419
CvG761420
CVG761421
CvG761422
CVG761423
CvG761424
CVG761425
CvG761426
CVG761427
CvG761428
CVG761429
CvG761430
CVG761431
CvG761432
CVG761433
CvG761434
CVG761435
CvG761436
CVG761437
CvG761438
CVG761439
CvG761441
CVG761442
CvG761443
CvG761444
CVvG761445
CvG761446

Page 172 of 194

Description
LEVER, PARKING BRAKE,43700203-000
PADS, PARKING BRAKE,43201201-000
PADS, CALIPER, FRONT,43121208-000
PAD, BRAKE, REAR,43120213-000
RIM, REAR,42801221-067
CABLE, PARKING BRAKE,38706211-000
CABLE, PARKING BRAKE,38706210-000
TPS CONTROLLER, 48/5,38507201-000
BKT, SPEEDO SENSOR,37207201-000
BUZZER, REVERSE,34922202-000
ASM., LICENSE LIGHT,33750203-000
SOCKET SIGNAL,33604201-000
HARNESS, MAIN WIRE,32103224-000
WIRES,EXTENDED,32101215-000
WIRE B, BATTERY,32003201-000
WIRE A, BATTERY,32002201-000
BRACKET, BATTERY,31502204-000
BOLT, BATTERY,31501201-000
WIRES, MOTOR,31209201-000
GASKET, TRANS CVR,21395210-000
GASKET,INSP COVER,2136250S-002
COVER, SHIFT,COVER, SHIFT
COVER, GEAR SELECTOR,21327206-000
GEAR SELECTOR,21319227-000
BELLOWS,16600201-000
RECOIL, THROTTLE,16206201-000
PLUG, OIL,15650111-001
SPRING, DETENT,2430655E-000
SHAFT, SPLINED, STEERING, 23.709"
JOINT, BRAKE HOSE,43504201-000
CLAMP,JOINT,43506201-000

PISTON ROD,MASTER CYL,43507202-000

DISC,BRAKE,43511203-000
SPACER,44315202-000
CALIPER,LH,45001210-000
CALIIPER,RH,45002209-000
CALIPER,REAR,LH,45006205-000
CALIPER,REAR,RH,45007205-000
BOLT,45016131-00K
HOSE,BRAKE,45447220-000
HOSE,BRAKE,45447221-000

HOSE,REAR BRAKE,LOWER,45449226-000

FRAME,CAGE,RH,50145205-458
FRAME,CAGE,FRONT,50147204-458

Parts Pricing Schedule

List Price
$71.40
$22.56
$70.84
$65.00

$116.56
$21.44
$9.80
$27.04
$2.60
$36.56
$13.52
$7.92
$488.52
$180.40
$117.84
$79.56
$15.08
$4.68
$120.60
$14.48
$1.52
$31.28
$6.40
$95.84
$2.84
$1.44
$1.52
$1.00
$43.20
$6.40
$3.00
$10.52
$84.16
$3.96
$146.56
$146.56
$229.20
$229.20
$1.40
$6.80
$8.64
$283.68
$76.52
$76.52

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG761447
CvG761448
CvG761449
CVG761450
CvG761451
CVG761452
CVG761453
CVG761454
CVG761455
CVG761456
CvG761457
CVG761458
CvG761459
CVG761460
CvG761461
CVG761462
CVG761463
CVG761464
CVG761465
CVG761466
CvVG761467
CVG761468
CVG761469
CVG761470
CvG761471
CVG761472
CVG761473
CVG761474
CVG761475
CVG761476
CvG761479
CVG761480
CvG761481
CVG761482
CVG761483
CVG761484
CVG761485
CVG761486
CvG761487
CVG761488
CvG761489
CvG761490
CVG761491
CvG761492

Page 173 of 194

Description
FRAME,CAGE,REAR,50148203-458
BOTTON,SHIFT,21351201-000
BOTTON COVER, SHIFT,21352201-000
SEAL,RUBBER SHIFT,21353201-000
BEARING,TRANSFER,21390201-000
RATCHET,SHIFT,22430204-000
GEAR,PARKING,2338038A-000
SHAFT,DRIVE,23411206-000
SHAFT,COUNTER,23420204-000
PINION,OUTPUT,23431205-000
GEAR,OUTPUT
WASHER,SPLINE,2343550A-000
SHAFT,TRANSMISSION,23441208-000
COLLAR,SHAFT,2344250A-000
GEAR,OVERDRIVE IDLER,2344355L-000
GEAR,OVERDRIVE,2344455L-000
RATCHET, OVERDRIVE,2344555L-000
GEAR,SPUR,23450203-000
FORK,SHIFT,2423150A-000
SHAFT,GEAR SHIFT,2424155L-000
ROLLER, DRUM SENSOR,2425239A-000
SPRING,DRUM SENSOR,2425339A-000
DRUM,GEAR SHIFTER,2430138A-000
RECOIL, SHIFT,2430350S-001
RECOIL, SHIFT,2430750S-000
SHAFT, SHIFT DRUM,2430855L-000
DRUM, GEAR SHIFTER,2430938A-000
GEAR , DRUM SHIFT,2431050S-000
SPINDLE,2461150S-000
SWITCH, SPEED SELECT,30443201-000
CONVERTOR,DC,48/12,31124201-000
FUSE,32106201-000
FUSE,32106205-000
FUSE,32106206-000
FUSE,32106207-000
SIGNAL,FRONT,RH,33400216-000
SOCKET, SIGNAL, LH,33441201-000
LENS, SIGNAL,33603201-000
BULB, HEADLIGHT,34901222-000

INDICATOR, POWER LEVER,35165201-000

SENSOR, SHIFTER,35759203-000
SPEEDOMETER,37205217-000
HORN,38110119-000

RELAY, SIGNAL,38302204-000

Parts Pricing Schedule

List Price

$84.44
$5.28
$2.92
$3.00
$35.32
$68.84
$90.00
$57.88
$142.80
$41.36
$62.92
$1.28
$147.72
$3.72
$65.80
$63.12
$39.48
$83.88
$23.48
$5.56
$1.00
$1.00
$41.36
$2.16
S2.64
$44.08
$40.60
$31.56
$18.32
$23.68
$335.28
$1.00
$1.00
$1.00
$1.00
$53.64
$19.92
$7.92
$34.96
$161.40
$19.16
$210.44
$26.32
$16.52

1/20/2019



EV Technical Services, LLC

=

SDVOB

Service Disabled Veteran Owned Business

Part #

CvG761493
CvG761494
CVG761495
CVG761496
CvG761497
CVG761498
CvG761499
CVG761500
CvG761501
CVG761502
CVG761503
CVG761504
CVG761505
CVG761506
CvG761507
CVG761508
CvG761509
CVG761510
CvG761511
CVG761512
CVG761513
CVG761514
CVG761515
CVG761516
CvG761517
CVG761518
CvG761519
CVG761521
CVvG761522
CVG761523
CVG761524
CVG761525
CvG761526
CVG761527
CVG761528
CVG761529
CVvG761530
CVG761531
CVG761532
CVG761533
CVG761534
CVG761535
CVG761536
CvG761537

Page 174 of 194

Description
RELAY, MAIN,38503201-000
FUSE, BATTERY,38504201-000
FUSE, MAIN,38505201-000
CONTROLLER,TPS,48/5,38507202-000
SHAFT,DRIVING,REAR,42090202-000
TIRE,42711244-000
GEAR CASE,DIFFERENTIAL,42760203-000
TUBE,SPACER,42810215-000
TUBE, SPACER,42810222-000
TUBE, SPACER,42810244-000
TIRE,42811243-000
PAD, BRAKE, REAR,43120216-000
PADS, CALIPER, FRONT
FRAME,CAGE,REAR,50148204-458
LATCH,50175201-000
HOOK,SNAP,50180201-000
UPHOLDER, BOX,50206203-000
NET-CAB SIDE,UPPER,LH,50218201-001
NET-CAB SIDE,UPPER,RH,50219201-001
SUSPENSION,FRONT,51100232-317
SPRING,SUSP,FRONT,51101232-317
SHOCK,FRONT,51102232-000
SHAFT,STEERING,51107232-000
RETAINER,SUSP,FRONT,51113224-000
COLLAR,ADJ SPRING,FRON,51119204-000
VALVE,GREASE,51300131-000
GEAR BOX,STEERING,51340203-000
CAP, DUSTPROOF,52426156-000
SHAFT,REAR PROP,52437214-000
SHAFT,REAR PROP,52437216-000
SHAFT, DRIVE,52440209-000
SWAY BAR,52443202-000
CLAMP,UPPER SUNTOP,64322201-000
CLAMP,UPPER SUNTOP,64322202-000
CLAMP,LOWER SUNTOP,64323201-000
LINKAGE,SWAY BAR, LH,52461201-001
LINKAGE,SWAY BAR, RH,52462201-001
FLANGE, PROP SHAFT,52482201-000
SEAT,GREASE CONTAIN,52523131-000
SHIELD, DISC,52621203-000
SHIELD, CV JOINT, LH,53002201-000
FRONT ARM, UPPER, RH
SPACER,5314039A-000
BUSHING,53912201-000

Parts Pricing Schedule

List Price
$376.16
$16.16
$99.96
$27.04
$436.96
$321.32
$1,925.12
$1.00
$6.16
$4.32
$360.76
$29.08
$48.48
$57.40
$8.20
$5.16
$29.48
$52.60
$52.60
$195.44
$71.44
$114.60
$300.60
$6.36
$8.64
$1.08
$556.12
$1.80
$259.32
$368.28
$56.36
$84.20
$12.08
$13.40
$5.96
$14.20
$100.68
$45.08
$1.36
$17.56
$31.20
$126.36
$3.28
$2.48

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG761538
CvG761539
CvG761540
CvG761541
CvG761542
CVG761543
CvG761544
CVG761545
CVG761546
CvG761547
CvG761548
CVG761549
CVG761550
CVG761551
CVG761552
CVG761553
CVG761554
CVG761555
CVG761556
CVG761557
CVG761558
CVG761559
CVG761560
CVG761561
CVG761562
CVG761563
CVG761564
CVG761565
CVG761566
CVG761567
CVG761568
CVG761569
CVvG761570
CVG761571
CVG761572
CVG761573
CvG761574
CVG761575
CVG761576
CVG761577
CVG761578
CvG761579
CvG761580
CvG761581

Page 175 of 194

Description
SUNTOP,64314202-000
SEAT,RUBBER,64320151-000
BRACKET,FRONT SUNTOP,64325201-000
SEAT FIX SHAFT,77203202-000
HEADREST,77250201-000(STANDARD)
HEADREST,77250201-507(RED)
BRACKET, SEAT,77263202-000
BRACKET, SEAT BACK,77265201-458
SEAT BELT,88170208-000
COLLAR,SEAT BELT,88172201-000
KIT,TRANS BEARING BOLT,88311201-000
NUT,LOCK
NUT,90352-18000-00C
NUT,90355-08000-12K
NUT,90355-08000-14K
NUT,90355-10000-14C
NUT,90355-10000-14K
KEY, WOODRUFF,90472-40420
BOLT,91000-060128-00K
BOLT,91000-080208-00K
BOLT,91006-080188-0KL
BOLT,92005-060168-00K
BOLT,92009-100208-00K
BOLT,92009-100258-00K
NUT,94001-12000-19C
NUT,94050-10000-00C
NUT,94053-10000-00K
WASHER,94101-0818016-00K
WASHER,94101-1225020-00C
WASHER,94101-2028010-000
WASHER,94101-2029010-000
WASHER,94101-2033010-000
WASHER,94101-2538010-000
WASHER,94101-2632005-000
WASHER,94108-2128010-00K
WASHER,94108-3038010-000
WASHER,SPRING,94111-1017020-00K
WASHER,94121-1835200-000
PIN, COTTER,94201-23250
PIN, COTTER
CLIP, CIR,94511-2000S
CLIP, CIR,94511-2400S
CLIP, CIR,94511-2500S
CLIP, CIR,94511-2600S

Parts Pricing Schedule

List Price
$323.16

$1.00

$27.04

$6.80

$52.88
$54.72
$17.00
$100.80
$124.04

$1.12
$1.12
$1.72
$6.80
$1.00
$1.00
$1.00
$1.00
$1.48
$1.00
$1.00
$1.00
$1.00
$1.48
$1.56
$1.00
$1.00
$1.00
$1.00
$1.00
$1.08
$3.64
$1.00
$1.20
$1.00
$1.00
$1.32
$1.00
$1.40
$1.00
$1.00
$1.00
$1.00
$1.00
$1.32

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVvG761582
CVG761583
CvG761584
CVG761585
CVG761586
CVG761587
CVG761588
CVG761589
CvG761590
CVG761591
CvG761592
CVG761593
CVG761594
CVG761595
CVG761596
CVG761597
CVG761598
CVG761599
CVG761600
CVG761601
CVG761602
CVG761603
CVG761604
CVG761605
CVG761606
CVG761607
CVG761608
CVG761609
CVG761610
CVG761611
CVvG761612
CVG761613
CvG761619
CVG761620
CVvG761621
CVG761622
CVG761623
CVG761624
CVG761625
CVG761627
CVG761628
CvG761629
CVG761630
CvG761631

Page 176 of 194

Description
CLIP, CIR,94512-5500R
E-CLIP,94513-1200E
E-CLIP,94513-1900E
CLAMP,94515-18010
CLIP, SPRING,94661-21012
NUT,95112-10000-00B
BOLT,96000-060128-08C
BOLT,96000-060128-0KL
BOLT,96000-060288-10C
BOLT,96000-080258-00K
BOLT,96000-100208-0KL
BOLT,96000-100258-0KL
BOLT,96000-100358-00K
BOLT,96000-100258-00K
BOLT,96000-100508-0KL
BOLT,96000-100758-0KL
BOLT,96000-101008-00K
BOLT,96007-060168-00K
BOLT,96007-060208-00K
BEARING,NEEDLE,96200-202417
BEARING, NEEDLE,96200-202417
SEAL, OIL,96500-254507A7271
SEAL, OIL,96500-327508A7271
SHAFT,REAR PROP,52437215-000
TIE ROD ASM, LH THD
BC TIE ROD TUBE
BC DRAG LINK TUBE
BC TIE ROD ASM
BC DRAG LINK ASM
TIE ROD ASM, RH THD
UTV-RAXLE-HBRAKE-03L,DRIVER SIDE
UTV-RAXLE-HBRAKE-0O3R,PASSENGER SIDE
BRACKET,DRIVE END
FIXING SET
BRACKET,REAR END
BEARING,8KW MOTOR
SENSOR,MOTOR SPEED
BRAKE,8KW MOTOR
PLATE,CONNECTION
FUSE, 40A, ATC
LABEL,DIR SW,CR10
NUT,3/8-24,HEX JAM,18-8SS
NUT,8-32,L/N,NYLOCK,18-8SS
NUT,10-24,L/N,NYLOCK,18-8 SS

Parts Pricing Schedule

List Price

$1.88
$1.00
$1.16
$2.28
$1.12
$2.44
$1.00
$1.00
$1.00
$1.00
$1.56
$1.32
$1.32
$1.08
$2.20
$2.20
$3.16
$1.00
$1.00
$9.00
$54.48
$3.96
$7.92
$180.40
$26.56
$20.68
$21.12
$74.48
$74.92
$26.56
$217.40
$217.40
$190.20
$43.48
$225.00
$31.52
$86.96
$756.52
$35.88
$2.60
$40.36
$1.00
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG761632
CVG761633
CVG761634
CVG761635
CvG761636
CVG761637
CvG761638
CVG761639
CvG761640
CvG761641
CvG761642
CVG761643
CvG761644
CVG761645
CVG761646
CvG761647
CVG761648
CVG761649
CVG761650
CVG761651
CVG761652
CVG761653
CVG761654
CVG761655
CVG761656
CVG761657
CVG761658
CVG761659
CVG761662
CVG761663
CVG761664
CVG761665
CVG761666
CvG761667
CVG761668
CvG761669
CVG761670
CVG761671
CVG761672
CVG761673
CvG761674
CVG761675
CVG761676
CvG761677

Page 177 of 194

Description
SCREW,10-24X1/2PPH,18-8 SS
SCREW,10-24X.625,PPHMS,18-8 SS
SCREW,8-32X1/2,PFHMS,18-8 SS
PIN,1/8X1,COTTER,18-8 SS
PIN,1/8X1,COTTER,EXT PRONG,18-8 SS
NUT,1/4-20,SERRATED FLANGE, 18-8 SS
SCREW,10-24X3/4,IHHMS,18-8 SS
SCREW,1/4-20X1.0,FCSHTR,18-8 SS
WASHER,7/16, H-SPLIT,18-8 SS
NUT,1/4-20,NKE,BLACK NYLON CAP,SS
SCREW,5/16-18-5/5"RHCB,18-8 SS
FLOOR MAT,REAR,SU5-2
LABEL, OPERATING INSTRUCTIONS, CR10
MOUNT,GAS SPRING END,STEEL
WASHER,1"ID F/W,18-8 SS
PIN,1/8X1-1/2,COTTER,SS
SCREW,5/16-18X1-3/4,HHCS,G8,SS
E-RING,.625,SS
SCREW,1/4-20X2-1/4,HHCS,G8,SS
SCREW,3/8-16X3/4,HHCS,18-8 SS
SCREW,10-24X5/8, HWHTR,SS
SCREW,#6-18X3/4,PPHSM,18-8 SS
DRUM,BRAKE,7" 4-BOLT, SET OF 2
ASSY,BRAKE,7" HYDRAULIC,LH
BRAKE,HYD,7" RH
NUT,1/2-20,JAM,18-8 SS
NUT,1/4-28,MACH,18-8 SS
NUT,3/8-24,NYLOCK NE,18-8 SS
ASSY,TIRE/WHL,205/65-10,5-HOLE,ALUM
FENDER,BOTTOM,LH-62830202-000
BULB,SIGNAL,21W,33905203-000
BOOT,STEERING-51345201-000
SPRING,SWITCH,43422201-000
PEDAL,CURTIS,FP6D
CONTACTOR,SEALED,48V
SHAFT,SPLINED,STEERING,19.344"
BRACKET,DRIVE END,5KW
ARMATURE,5KW
EM BRAKE,5KW
BEARING,5KW
BRACKET,REAR END,5KW
PLATE,CONNECTION,5KW
BOLT/WASHER,MOTOR STAY,5KW
CORD,CHARGER,90 DEG PLUG

Parts Pricing Schedule

List Price
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.24
$1.00
$1.00

$44.96
$35.16
$45.64
$1.00
$1.00
$1.00
$2.08
$1.00
$1.00
$1.00
$1.00
$269.56
$42.08
$42.08
$1.00
$1.00
$1.00
$279.16
$148.12
$8.28
$26.88
$1.68
$682.60
$389.12
$40.36
$51.56
$361.14
$584.36
$31.84
$84.00
$29.52
$25.00
$13.20

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG761679
CVG761682
CVG761684
CVG761686
CvG761687
CVG761689
CvG761691
CVG761692
CVG761695
CVG761697
CVG761699
CvG761701
CvG761702
CvG761711
CvG761712
CVG761713
CvG761714
CVG761715
CvG761717
CVG761718
CvG761719
CVG761720
CVvG761726
CVG761727
CvG761728
CVG761729
CvG761731
CVG761732
CvG761734
CVG761736
CvG761737
CVG761738
CvG761739
CVG761740
CvG761741
CVG761742
CvG761743
CVG761744
CvG761746
CVG761747
CVvG761748
CvG761749
CVvG761750
CVvG761752

Page 178 of 194

Description
BRAKE PAD,CERAMIC,SET
DOMED DECAL, JOURNEYMAN
KIT, WINDSHIELD WIPER, JOURNEYMAN
HARNESS, ADAPTER, AUX BATTERY
HEADLIGHT,LED,12/24V W/BEZEL
LIGHT,DASH SIGNAL INDICATOR, GREEN
CONTROLLER,12-48V 300A,SR 48300
CONTROLLER,12-48V 400A,SR 48400
DECAL,TOW/RUN,BC AC DRIVE
HEATSINK, FINNED
MOTOR, 8KW, EM BRAKE,PT1000
INSERT,CANOPY CONNECTOR BKT
SWITCH, BRK BYPASS, SEALED
ENCLOSURE, BLACK, JOURNEYMAN 4+2
ENCLOSURE, BLACK, JOURNEYMAN 4
WINDSHIELD, JOURNEYMAN, NO LOGO
BATTERY,NEXSYS,12NXS120
BATTERY,NEXSYS,12NXS186
CHARGER,DELTA-Q,IC1200
INDICATOR,BATTERY DISCHARGE
INDICATOR,OVER DISCHARGE
BUZZER,REVERSE, CONTINUOUS, SMH
LABEL, BYPASS SWITCH, JM2XL
SCREW, M10-1.5 X 65MM ECOGUARD
SWITCH,STL 1000 CODE
RECEPTACLE,SEALINK USB
CAP,BATTERY,BAYONET,US BATTERY
KIT,FITTING,BULKHEAD
KIT, UTX30 SCISSOR LIFT, YELLOW
ENCLOSURE, BLACK, JOURNEYMAN 2+2
ENCLOSURE, BLACK, JOURNEYMAN 2
AXLE,HDLT,NKL 10.37:1
AXLE,HD,NKL 16.77:1
TIRE/WHEEL ASSY 5.7X8,FLEX FOAM
TIRE/WHEEL ASSY,5.7X8,FLEX FOAM
TIRE/WHEEL ASSY,4.8X8,FLEX FOAM
CHARGER,DELTA-Q,48C 1C1200
CHARGER,DELTA-Q,24V,I1C1200
ASSY,SLEEVED TUBE,NKL,474.9 (LH)
ASSY,SLEEVED TUBE,NKL 192.9 (RH)
WINCH, LIFESTYLE METAL
CLIP,CLIPBOARD
DISPLAY, REMOTE, LESTER SUMMIT Il
CHARGER,24-48V,1050W,SU5

Parts Pricing Schedule

List Price
$101.16
$37.64
$82.60
$45.52
$313.08
$7.38
$1,365.24
$1,582.60
$43.08
$234.14
$2,346.20
$8.88
$21.56
$1,656.52
$1,443.20
$201.68
$1,492.12
$1,869.56
$1,253.96
$926.08
$234.80
$8.68
$18.28
$1.68
$228.28
$29.84
$2.36
$30.44
$26,521.84
$1,521.76
$1,304.36
$2,043.48
$2,043.48
$334.56
$334.56
$232.08
$1,406.52
$1,253.96
$155.68
$138.16
S472.84
$8.86
$65.20
$768.70

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CvG761754
CVG761755
CVvG761763
CvG761767
CVG761768
CVG761769
CvG761770
CvG761771
CvG761772
CVG761776
CvG761787
CVG761788
CvG761789
CVG761793
CVG761794
CVG761799
CVG77452

CVG781041
CvG781046
CVG781100
CvG781111
CVG781112
CvG781113
CVG781116
CvG781120
CVG781130
CvG781131
CVG781132
CvG781134
CVG781135
CvG781140
CVG781154
CvG781161
CVG781173
CvG781206
CVG781267
CVvG781273
CVG781339
CvG781349
CVG781350
CvG781391
CvG781411
CvG781423
CvG781424

Page 179 of 194

Description
OIL SEAL,VITON,NKL
BDI, CURRENT SENSING, 48V
LATCH,CURTIS CAB WINDOW
REAR-VIEW DISPLAY, 5" HD
ASSY, BRAKE LIGHT / CAMERA
ASSY, BRAKE CALIPER, RH
ASSY, BRAKE CALIPER, LH
ASSY, HUB / BRAKE ROTOR
BEARING,FLANGED
SWITCH,BRAKE LIGHT
BOOT, TOGGLE SWITCH
GRIP,FLEXFIT,1"IDX5"
SWITCH, BRAKE LIGHT, HYD
TIRE, 205/65-10 E PLY K399 LOADSTAR
CENTER CAP, TOMBERLIN, 10" WHEEL
AXLE, SCHAFER, 3500 LB, 24.29:1
4" ROUND RED LED TAIL LIGHT(SMT) -A
*** NUT,7/16-20,C-LOCK,BG,YWZC
SCREW,1/2-13X3-1/4,HHCS,G2,ZC,P80X
SPACER
SCREW,3/8-16X2,CARR,G8 YWZC
SCREW,5/16-18X1-1/4"
NUT,3/8-16,L/N,GB,YWZC
*** SCREW,3/8-16X1 1/4
NUT, 5/16-18, NYLOK, G8, YLW ZINC
CLEVIS PIN,05/16"X1 1/2"
NUT, 3/4-16, FLG
NUT,M16X2 STEEL INSERT LOCK
NUT,7/8-14,F HEX,JAM,ZC
WASHER,7/8,REG-SPRG LOCK,ZC
NUT, 5/8-11 NYLOCK,ZINC
SCREW, 5/16-18 X 1, FSHCS
WASHER,.382X.750X.066,F/W,NYLON
SWITCH,PLUNGER,DELTA,NO,#6440-04
WASHER,.406X2.000X0.134,FLAT
PIN,COTTER,RUE-14 RING,ZC
SCREW,3/8-16X4-1/4,HHCS,G5,ZC
SCREW,5/16-18X2,HHCS,G5,BLKZC
NUT, 1-14 SHEX, G2, ZC
WASHER,1",FW,SS
SCREW, M6X25MM HHC
SCREW,M8-1.25X25MM,FSHCS,ZC
INSERT, ALS2-610-4.2, 6X1.0
INSERT,ALS4-5803.3 5X.8,YWZC

Parts Pricing Schedule

List Price
$14.67
$542.40
$29.40
$76.48
$275.44
$86.68
$86.68
$86.68
$11.20
$27.32
$12.44
$5.36
$18.24
$121.64
$15.92
$7,497.00
$58.00
$1.00
$1.24
$1.04
$3.44
$1.00
$1.00
$1.36
$1.00
$1.00
$14.64
$10.48
S2.44
$1.00
$1.00
$1.00
$1.00
$4.08
$1.84
$1.00
$1.00
$1.00
$4.36
$1.00
$1.00
$1.00
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=

SDVOB

Service Disabled Veteran Owned Business

Part #

CvG781434
CvG781440
CvG781442
CVG781456
CvG781458
CVG781473
CvG781478
CVG781495
CvG781502
CVG781504
CvG781580
CVG781594
CVG781595
CVG781596
CVvG781597
CVG781599
CvG781601
CVG781603
CvG781617
CVG781618
CvG781621
CVG781642
CVG781693
CVG781694
CvG781700
CvG781701
CvG781711
CVG781712
CvG781738
CVG781739
CvG781741
CVG781774
CVG781785
CVG781786
CvG781787
CVG781788
CvG781923
CVG781924
CvG781974
CVG781975
CvG781976
CvG781977
CvG781978
CvG781989

Page 180 of 194

Description
SCREW,7/16-20X3/4,HHCS,G5,YWZC
SCREW,M6-1.0X20MM,HHCS,ZC
SCREW,M10-1.5X140MM,HHCS,ZC
SCREW,M8X25,HHCS,ZC
SCREW,1/4-20,5/16X3/8,5SOC-SHR,ZC
*** SCREW,M10-1.5X50MM,HHCS,ZC
SCREW,M6-1.0X35MM,HHCS,ZC
NUT,M12X1.0,L/N,HEX,NYLOK,YWZC
PLUG, SQUARE, 1.5" X 11GA, BLACK
SCREW,1/4-20X1-1/2,HWH,T/C,TF,ZC
SWITCH,PLUNGER,DELTA,NC,6440-53
NUT,#4-40,5SQ-MACH,SS18-8
SCREW,#4-40X1-3/4,PPH,M/S,5518-8
WASHER,#4X.125X.250,F/W,5518-8
SPRING,COMPRESSION,.047X.343X1.5,2C
RIVNUT,10-24,LP,RIBBED,.020-.130,ZC
SCREW, 1/4-20X 1
SCREW,#10-24X1",PFH,BLKZC96
NUT,M5,L/N,KEP,C8,2C
SCREW,M5-.08X16MM,PPH,M/S,ZC
WASHER, LOCK, 5/16 STAINLESS STEEL
CAP PLUG, 3/8" BLACK
SCREW,5/16-18X5/8,HHCS,S518-8
NUT,5/16-18,FLG,L/N,SS18-8
PIN,HAIR CLIP,#13,SS
NUT,3/8-16,FLG L/N,S518-8
SCREW,10-16X3/4",POHSDS,MAGNI 525
SCREW,M6-1.0X8 MM, DIN798,PHMS,BLKZC
SCREW,5/16"-18X3/4",TSL,MS,18-8,S/S
SCREW,1/4-20X3/4,CARR,18-8 S/S
SPACER,.450X.680X.190
SCREW,#10-24X1.5,PFH,BLKMAX
NUT,5/16-18,FHEX,18-8 SS
SCREW,3/8-16X1,HHCS,18-8 SS
SCREW,5/16-18X1-1/2,CARR,18-8 SS
SCREW,3/8-16X1-3/4,HHCS,18-8 SS
SEAT BELT,2X48,2-TTH ALR,H2, CABLE
SCREW, 5/16-18 X 1-1/2, HHCS, G8,
BEARING,FLANGE,1"IDX1.250DX1/2
INSERT,3/8-16,YWZC
BEARING,BALL,1"IDX2"0D
SCREW, 3/4-10X4.25,HHCS,ZC
BEARING,FLANGE,.5"IDX5/8"0OD
LED LIGHT CLIP & RING

Parts Pricing Schedule

List Price

$1.00
$1.00
$2.68
$1.00
$1.62
$1.00
$1.00
$1.00
$1.32
$1.00
$6.08
$1.00
$1.00
$1.80
$5.28
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$2.88
$4.24
$1.00
$1.00
$1.16
$1.32

$52.72

$1.88
$9.80
$1.00

$36.92

$5.56
$2.00
$1.00

1/20/2019



EV Technical Services, LLC

=

SDVOB

Service Disabled Veteran Owned Business

Part #

CvG782001
CvG782003
CvG782009
CVG782024
CVG782025
CVG782037
CVG782045
CVvG782048
CVvG782058
CVG782080
CvG782081
CVG782086
CvG782092
CVG782096
CvG782097
CVG782098
CVvG782099
CVG782102
CvG782109
CvG782111
CvG782117
CVG782118
CvG782140
CvG782171
CVG782203
CVG782210
CvG782212
CVG782229
CVG782233
CVG782247
CVvG782298
CVG782300
CvG782318
CVG78232

CVvG782322
CVG782323
CvG782324
CVG782338
CvG782339
CVG782361
CVG782362
CvG782384
CVG782385
CvG782386

Page 181 of 194

Description
NUT, 1"-8,NYLON INS,JAM,ZC
WASHER,.750D,X.441D, NYLON, BLK
NUT,CINCH,FLOATING,1/4-20
NUT,3/4-10,GR5,HEX,ZC
WASHER,3/4,USS FLAT,ZC
*** SCREW,5/16-18X1,HHCS,G5,TRIBLK
*** NUT,5/16-18,CAGED, TRIBLK
SPACER,.345X.875X.250,F/W,P/M,TRIBL
SCREW,M6-1.0 X 30MM,HHCS,ZC
U-BOLT,.375-16X2-7/16",YWZC96
*** SCRW,5/16"-18X3,HHCS,GR5,YWZC96
*** NUT,5/16-18,NYLOK,G5,YWZC96
***¥ NUT,M12-1.50, NYLOK,YWZC96
*** WASHER,M8 DIN 125,STEEL,YWZC96
SCREW,M8-1.25X90MM,DIN 931,YWZC96
NUT,M8-1.25,L/N,NYLOCK,YWZC96
R-RING,1.125 EXTERNAL,PHOS
U BOLT,1/2-13,2.81X7.00
***NUTSERT,5/16-18X1.50-.312,YWZC96
SCREW,3/8-16X2,HHCS,GR8,YWZC96
RIVET,#10,3/16,AL,BH,BLIND
NUT,3/8-16,L/N, NYLOK,NE,G8,YWZC96
PLUG,NYLON,.625 DOME,BLACK
NUT,1/2-20,NTE,GR2,NYLON JAM,96YZ
SEAT BELT,2X48,2-TTH ALR,H2
CLAMP,3/8",STL TUBE,VINYL CUSHION
PLUG,NYLON,.75 DOME,BLACK
*** SCREW,12-14X1-1/2, PHSQ,ZINC
SCREW,10-16X1.25,HWH,T/S,ZC
SCREW,M12-1.75X30MM,HHCS,10.9,BLK M
SCREW,5/16-18X2,18-8 HHCS,SS
SPACER, .875"0DX.531"IDX.187",PM,ZC
SCREW,1/2-13X2,SCS,BLACK OX
WHITE LED MOD 60 AMENO
SCREW,1/2-20X4,SHCS,BLACK OXIDE
WASHER,FLANGED,FINISHING
CAP,FINISHING
NUT, 1/4-20, CAGE, .025-.063, 96BLK
NUT, 1/4-20, CAGE, .093-.126,96BLK
ROD END,1/2-20,RH THREAD
SCREW,1/2-13X5,HHCS,GR5,ZC
BODY,REAR, LOW-PROFILE, WHITE
BODY,REAR, LOW-PROFILE, RED
BODY,REAR, LOW-PROFILE, YELLOW

Parts Pricing Schedule

List Price

$4.44
$1.00
§7.52
$1.32
$1.00
$1.00
$1.00
$1.00
$1.00

$13.12

$1.00
$1.00
$1.00
$1.00
$2.08
$1.00
$1.00

$27.32

$1.00
$1.00
$1.00
$1.00
$1.00
$1.00

$50.56

$1.00
$1.00
$1.16
$1.32
$2.64
$1.08
$1.00
$1.24

$199.96

$4.16
$1.28
$1.00
$3.04
$2.32

$32.48

$4.68

$826.64
$915.96
$915.96

1/20/2019



EV Technical Services, LLC

=

SDVOB

Service Disabled Veteran Owned Business

Part #

CvG782411
CvG782419
CvG782446
CVG782470
CvG782478
CVG782493
CvG782494
CVG782533
CVvG782543
CVG782563
CVG782651
CVG782655
CVG782688
CVG782689
CVG782693
CVG782695
CVG782698
CVG782699
CvG782700
CVvG782701
CVvG782702
CVG782706
CvG782707
CVG782708
CvG782709
CVG782710
CvG782711
CVG782713
CvG782714
CVG782715
CvG782717
CVG782719
CvG782720
CVG782721
CVvG782722
CVG782723
CvG782724
CVG782725
CVvG782727
CVG782728
CvG782729
CvG782731
CVvG782735
CvG782736

Page 182 of 194

Description
COVER,SCREW 1/4-20 BLACK
PANEL,ACCESS,LOW PROF, R BOD, WHITE
SCREW,1/2-20X3.5,HHCS,G5,MAGNI 577
PIN, 3/8 X 3.50, CLEVIS, ZN
FITTING,TEE,1/8" NPT M, 3/16" F
SCREEN, SUCTION
NUT, 1"NPT, PLASTIC
PLUNGER,PULL RING,5/8-11X1.00,S/S
NUT,5/16-18,FLG,C-L/N,GF,575MAGNIWX
SCREW,M10X1.25X20MM 8.8 GRADE
SCREW,3/8-16X1-3/4,HHCS,G8, MAGNI
SCREW,3/8-16X.62,HH,SHR,NYLX, MAGNI
WASHER,M6X12MM,FLAT,GR A2,SS
NUT,M6-1.0M,NYLOCK,GR A2,SS
R-RING,31.5MM,EXT,DSH-34,BLK PHOS
UBOLT 1/2-13 X 5.25"IL X 2.81
SCREW, M12-1.5X70MM,HHCS,C10.9,M525
WASHER,M8 X16MM X1.60 MM,C10.9,M525
NUT,M8-1.25,L/N,NYLOCK,C10.9,M525
NUT,M12-1.5,L/N,NYLOCK,C10.9,M525
WASHER,M12X24MMX2.50MM,F/W,M525
WASHER,#10,L/W,SPLIT 18-8, S/S
SCREW,1/4-20X1.5,BSHCS,18-8,SS
SCREW,#10-32X0.75,BSHCS,18-8 SS
WASHER,M5,LW,SPLIT,A2 SS
NUT,CAGE,10-32,0.093-0.126, MAGNI525
SCREW,M5-0.8X16MM,BSHCS,A2,SS
SCREW,3/8-16X3,HHCS,18-8 SS
SCREW,5/16-18X2.5,HHCS,18-8 SS
SCREW,5/16-18X2,CARR,18-8 SS
SCREW,5/16-18X3,HHCS,18-8 SS
SCREW,1/4-201X1,BSHCS,18-8 SS
SCREW,5/16-18X1,HHCS,18-8 SS
SCREW,5/16-18X3/4,HHCS,18-8 SS
WASHER,#10X.438X.031,F/W, 18-8 SS
NUT,#10-32,NYLOCK NM,18-8 SS
SCREW,3/8-16X1.25,CARR,18-8 SS
SCREW,1/4-20X1.75,POH,18-8 SS
SCREW,M-8-1.25X16MM,HHCS,A2,SS
SCREW,#10-16X.50,PPH,18-8 SS
SCREW,10-24X.75,PPH,18-8 SS
WASHER,1/4X1 X.062,18-8 SS
SCREW,M6-10X40MM,HHCS,A2,SS
NUT,M10-10.5,NYLOCK,A2,SS

Parts Pricing Schedule

List Price
$1.00
$33.84
$4.12
$3.76
$9.60
$91.32
$8.92
$97.44
$1.00
$1.16
$1.00
$1.00
$1.00
$1.00
$1.12
$16.68
$1.92
$1.00
$1.00
$1.72
$1.28
$1.00
$1.00
$1.00
$1.00
$2.92
$1.00
$1.16
$1.00
$1.00
$1.04
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=

SDVOB

Service Disabled Veteran Owned Business

Part #

CvG782737
CvG782738
CvG782739
CvG78274

CvG782740
CVG782743
CvG782744
CvG782747
CvG782748
CvG782749
CvG782750
CVvG782751
CVG782752
CVG782753
CVG782755
CVG782756
CVG782757
CVG782761
CVG782762
CVG782763
CVG782766
CVG782769
CvG782770
CVG782771
CVvG782772
CVG782776
CvG782784
CVG782785
CvG782786
CVG782787
CvG782788
CVG782789
CvG782790
CVG782791
CVvG782792
CVG782795
CVvG782796
CVG782797
CVvG782798
CVG782799
CvG782800
CvG782801
CVvG782802
CvG782803

Page 183 of 194

Description
WASHER,FLAT,#6X.375X.031,18-8SS
NUT,#6-32,NYLOCK NM,18-8SS
NUT,1/2-13,NYLOCK NE,GE,MAGNI 525
24 LED CHROME STOP TAIL LIGHT
WASHER,FLAT,3/8 SAE,G8, MAGNI 525
SCREW,3/8-16X3.25,HHCS,G8,MAGNI 525
SCREW,#6-32X.5,BSHCS, 18-8SS
SCREW,5/16-18X2.5,BSHCS,18-8SS
SCREW,5/16-18X2.5,BSHCS,18-8SS
WASHER,7/16,H-SPLIT,L/W,MAGNI 525
SCREW,7-16-20X1,HHCS,G8,MAGNI 525
NUT,7/16-20,L/N,NYLOCK,NE,G8,M525
WASHER,7/16,SAE,F/W,G8, MAGNI 525
SCREW,7/16-20X2,HHCS,G8,MAGNI 525
SCREW,7/16-20X1.25,HHCS,G8,MAGNI525
SCREW,5/16-18X1,FSHCS,18-8SS
NUT,5/16-18,CAGED,.093-.126,MAG 525
NUT,ACORN,3/8-16,18-8SS
WASHER,1/2,H-SPLIT,L/W,MAGNI 525
SCREW,3/8-16X1.5,BSHSC,18-8 SS
NUT, 5/8-18,L/N,JAM,NYL,NTE,18-8,SS
SCREW,1/2-13X1-1/2 HHCS,G8,MAGNI525
SCREW,#6-32X3/8,PPH,18-8SS
NUT,5/16-18,CAGE,.177-.197, MAG 525
SCREW,1/2-20X4.25,HHSC,G5,,MAGNI525
WASHER,.562IDX1.3750D,FW,316SS
SCREW,1/4-20X.75,HHCS,18-8SS
SCREW,1/4-20X1.0,HHCS,18-8SS
SCREW,1/4-20X1.75,HHSC,18-8SS
SCREW,3/8-16X1.25,HHCS,18-8SS
SCREW,3/8-16-3.50,HHCS,18-8SS
SCREW,3/8-16X3.75,HHCS,18-8SS
NUT,5/16-24,JAM,18-8SS
SCREW,7/16-15X1.50,HHCS,18-8SS
SCREW,1/4-20X1.50,HHCS,18-8SS
SCREW,5/16-18X1.5,BSHCS,18-8 SS
SCREW,3/8-16X2,HHCS,18-8 SS
SCREW,1/4-20X2-1/2 TAP,316 SS
SCREW,7/16-20X3-1/2,HHCS,18-8 SS
SCREW,7/16-20X1-1/2,HHCS,18-8 SS
SCREW,5/16-18X1,PPHMS,18-8 SS
NUT,7/16-20,NYLOCK,NE,SS
NUT,1/2-13,HEX,18-8 SS
SCREW,1/4-20X1,CARR,18-8 SS

Parts Pricing Schedule

List Price
$1.00
$1.00
$2.05

$67.96
$1.28
$2.52
$1.00
$1.24
$1.00
$2.56
$3.85
$5.00
$2.52
$5.36
$3.12
$1.00
$1.16
$1.00
$1.00
$1.00
$8.52
$3.00
$1.00
$3.40
$6.20
$1.00
$1.00
$1.00
$1.00
$1.00
$1.36
$1.64
$1.00
$1.40
$1.00
$1.00
$1.00
$1.00
$3.84
$1.32
$1.00
$1.00
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=

SDVOB

Service Disabled Veteran Owned Business

Part #

CvG782804
CVvG782808
CvG782809
CVG782810
CvG782812
CVG782813
CvG782814
CVG782815
CvG782816
CvG782817
CvG782818
CvG782819
CvG782820
CVG782821
CVG782822
CVG782824
CVG782825
CVG782826
CVG782828
CVG782829
CvG782830
CVG782831
CVvG782832
CVG782833
CVvG782834
CVG782835
CvG782837
CVG782838
CvG782841
CVG782842
CVvG782843
CVG782845
CVG782852
CVG782853
CVG782856
CvG782858
CvG782859
CVG782861
CVG782865
CvG782870
CvG782879
CvG782880
CvG782883
CvG782884

Page 184 of 194

Description
SCREW,3/8-16X2,HHCS,18-8 SS
NUT,5/16-24,NYLOCK NE,18-8 SS
NUT,7/16-20,REV LOCK,18-8 SS
NUT,M8-1.25,NYLOCK, GR A2 SS
SCREW,10-24X1,PPHM,18-8 SS
SCREW,10-24X1,FCSHM,18-8 SS
SCREW,12-24X3/4,PPHM,18-8 SS
SCREW,12-14X1-1/2,5Q-PH, 510 SS
SCREW,6-32X5/8,PPHMS,18-8 SS
SCREW,5/16-18C2-1/2,PPHMS,18-8 SS
SCREW,M5-.08X12MM,HHCS,A4-70 SS
SCREW,M8-1.25X20MM,HHCS, A2-70 SS
WASHER,#8X.4380D,SAE F/W,18-8 SS
WASHER,1/2X1.3750D,F/W,ECOGUARD
SCREW,10-24X1-1/4,FCSH,18-8 SS
WASHER,M5X10MM OD,F/W,A2 SS
WASHER,M6,R-SPLIT, A2-SS
NUT,5/16-18,CAGE, .057-.092,MAG 525
NUTSERT,5/16-18, MAGNI 525
SCREW,10-12X5/8,PPH,MAGNI 525
SCREW,#10X3/4,PPHST,MAGNI 525
SCREW,5/16-18X1,HHCS,MAGNI 525
SCREW,5/16-18X2-1/2,HHCS,MAGNI 525
SCREW,M10-1.5X50MM,CL8.8, MAGNI 525
SCREW,5/16-18X7/8,HHSC,18-8 SS
NUT,1/4-28,LH HEX JAM,18-8 SS
SCREW,5/16-18X3/4,FSHCS,NYLX,M525
NUT,1/4-20,R L/N,18-8 SS
SCREW,5/16-18X1-1/4,HHCS, 18-8 SS
SCREW,1/4-20X1-1/2,PPHTC,410 SS
SCREW,1/4-20X1-1/4,PPHTC,410 SS
SCREW,5/16-18X1.25,FSHCS,18-8 SS
SCREW,1/4-20C1-1/2,PRHMS,18-8 SS
SCREW,1/4-20X1-5/8,HHCS,18-8 SS
SCREW,5/16-8X1-5/8,HHCS,18-8 SS
SCREW,5/16-18X1-3/4,PPH,18-8 SS
SCREW,5/16-18X3/4,CARR,18-855,BLKOX
WASHER,.375X.750X.062,F/W,BLK NYLON
CAP,SWITCH ACTUATOR,BLACK POLYPRO
SCREW,3/8-16X1-1/4,CARR,G8,MAGNI525
FITTING,MALE BRANCH TEE,1/8
HOLDER,DELTA SWITCH,BLACK POLYPRO
SCREW,4-40X.5,BSHCS,18-8 SS
NUT,4-40,L/N,NYLK,NM,18-8 SS

Parts Pricing Schedule

List Price

$1.28
$1.00
$1.00
$2.92
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.00
$1.76
$1.00
$2.96
$1.68
$1.28
$1.40
$1.00
$3.04
$3.16
$1.00
$1.00
$1.16
$1.00
$1.00
$1.12
$1.00
$1.00
$1.00
$1.00
$1.00
$1.08
$1.56
$1.00
$1.00
$4.12
$9.60
$1.00
$1.00
$1.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVvG782885
CVvG782908
CVvG782910
CVvG782911
CVG782924
CVG782925
CVG782936
CVG782937
CVG782952
CvG782953
CVG782960
CVvG782961
CVG782963
CvG782989
CVG782990
CvG782991
CVG782992
CvG783003
CVvG783008
CvG783015
CvG783018
CvG783019
CVvG783039
CvG783051
CvG783053
CvG783058
CvG783078
CvG783099
CvG80005
CvG80729
CVG82704-96
CVG82763-96
CVG82774-99
CVvG83034-93
CVvG83217-00
CVvG83299-99
CVG84117-92A
CvG84329
CvG8710
CvG87392
CvG87393
CvG89006-14
CVG897-LED
CvG9000001

Page 185 of 194

Description
SCREW,8-32X1,PFHMS,18-8 SS
CAPLUG,1.593X1,ROUND,BLACK
SCREW,3/8-16 X 2.5,CARRIAGE,18-8 SS
SCREW,3/8-16X4.25,HHCS,18-8 SS
SCREW,M6-10X16MM,PFH,A2 SS
SCREW,M6-1.0X.25MM,BSHCS,A2,SS
SCREW,1/4-20X2.5,HHCS,18-8 SS
SCREW,1/4-20X2.75,HHCS,18-8 SS
PIN,3/32X1-1/4,COTTER,18-8 SS
SCREW,5/16-18X2-1/2,CARR,18-8 SS
SCREW,M10-1.25X25MM,HHCS,A2-SS
WASHER,3/8,SPLIT,L/W,18-8 SS
SCREW,3/8-16X4,HHSC,G8, MAGNI525
SCREW,M10-1.5X30MM,HHCS,A2,SS
PIN,3/8X2.5,CLEVIS W/E-RING,18-8 SS
SCREW,5/16-18X1.75,FSHCS,18-8 SS
SCREW,1/4-20X.875,FSHCS.18-8 SS
SCREW,3/8-24X9,HHCS,G8, MAGNI 525
SCREW,3/8-16X2.75,HHSC,18-8 SS
SCREW,1/4-20X.625,HHSC,18-8 SS
RIVET,5/32X1/4,AB54A,DH,BLIND
MAGNET,1/2"SQX1/4"T,N42,CS HOLE,NEO
SCREW,8-32X.05,LFH, 18-8 SS
SCREW,5/16-18X1.75,CARR,18-8 SS
SCREW,5/16-18X3.5,HHCS,18-8 SS
SCREW,5/16-18 X 0.75,6PMS,18-8 SS
SCREW,3/8-16X4.5,HCS,G8,ECO
SCREW,M10-1.5X20MM,HHCS,A2,SS
BEZEL MARKER LIGHT SM OVAL
CHROME BEZEL 2"

OIL SEAL INPUT SHAFT

OIL SEAL AXLE SHAFT

GEARKIT

BEARING BALL

10.35 INPUT SHAFT

INPUT SHAFT ASSY

WIPER MOTOR BRACKET

CHROME BEZEL 4" GROMMET STYLE
SEVCON. CONTROLLER ASM

AMBER LED SIDE MARKER

RED LED SIDE MARKER

**% "p_580"" LONG PANEL ROOF"
FOLDING LED MIRROR SET

HDEA 3500LBS AXLE W/ 7 IN HYD. BRAK

Parts Pricing Schedule

List Price
$1.00
$3.88
$2.12
$3.88
$1.00
$1.00
$1.00
$1.00
$1.00
$1.12
$1.00
$1.00
$2.76
$1.00

$11.96
$1.04
$1.00
$11.70
$1.36
$1.00
$1.00
$3.64
$1.00
$1.00
$1.48
$1.04
$1.00
$1.00
$11.96
$11.80
$31.48
$41.48
$527.52
$16.08
$212.52
$156.36
$13.60
$19.80
$1,360.00
$22.80
$22.80
$609.04
$159.80
$7,497.00

1/20/2019



EV Technical Services, LLC

CVG9000008 *

=SDVORB

Service Disabled Veteran Owned Business

Part #
FRONT BODY. BASE

Parts Pricing Schedule

Description

Opt: TOMO2 CHAMPAGNE
Opt: TOMO4  GUNSMOKE GREY
Opt: TOMO5 ORANGE SINGE
Opt: TOMO6  APPLE GREEN
Opt: TOMO7  PRISTINE WHITE
Opt: TOMO8  PITCH BLACK
Opt: TOMO9 DAY BREAK YELLOW
Opt: TOM10 BLAZE RED
Opt: TOM11 DEEP BLUE
Opt: TOM14 MAT BLACK
Opt: TOM15  SILVER
CVG9000009 * CANOPY. BASE (E2)
Opt: TOMO2 CHAMPAGNE(E-2)
Opt: TOMO4  GUNSMOKE GREY (E-2)
Opt: TOMO5 ORANGE SINGE(E-2)
Opt: TOMO6  APPLE GREEN (E-2)
Opt: TOMO9 DAY BREAK YELLOW(E-2)
Opt: TOM10 BLAZE RED (E-2)
Opt: TOM11 DEEP BLUE (E-2)
CVG9000010 * CENTER HIGH MOUNT STOP LAMP ASSEMBL
Opt: TOMO2 CHAMPAGNE
Opt: TOMO4  GUNSMOKE GREY
Opt: TOMO5 ORANGE SINGE
Opt: TOMO6  APPLE GREEN
Opt: TOMO7  PRISTINE WHITE
Opt: TOMOS8  PITCH BLACK
Opt: TOM11 DEEP BLUE
Opt: TOM10 BLAZE RED
CVG9000011 * EXTENDED CANOPY KIT. BASE (E2)
Opt: TOM13  LOLLIPOP BLAZE RED (E2)
Opt: TOMO7  PRISTINE WHITE (E2)

CVG9000012 *

TRUNK . BASE

Opt: TOMO02 CHAMPAGNE
Opt: TOM04 GUNSMOKE GREY
Opt: TOMO5 ORANGE SINGE
Opt: TOMO6  APPLE GREEN
Opt: TOMO7  PRISTINE WHITE
Opt: TOMO8  PITCH BLACK
Opt: TOMOS DAY BREAK YELLOW
Opt: TOM10 BLAZE RED
Opt: TOM11 DEEP BLUE
CVG9000013 * REAR BODY. BASE
Opt: TOMO02 CHAMPAGNE

Page

186 of 194

List Price
$198.60
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$110.56
$110.56
$462.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$19.60
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$20.88
$848.76
$0.00
$213.08
$102.20
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$422.32
$0.00

1/20/2019



EV Technical Services, LLC

[ = Parts Pricing Schedule
Part # Description
Opt: TOMO04 GUNSMOKE GREY
Opt: TOMO5 ORANGE SINGE
Opt: TOMO6 APPLE GREEN
Opt: TOMO7  PRISTINE WHITE
Opt: TOMO8 PITCH BLACK
Opt: TOMO9 DAY BREAK YELLOW
Opt: TOM11 DEEP BLUE
Opt: TOM10 BLAZE RED
CVG9000014 * BACKREST. BLACK. BASE
Opt: 013B BLACK W/ GUNSMOKE GREY PIPING
Opt: 014B BLACK W/ GREEN PIPING
Opt: 015B BLACK W/ ORANGE PIPING
Opt: 012B BLACK W/ WHITE PIPING
CVG9000015 * FRONT SEAT BASE. BASE
Opt: 7142 BLUE BLACK (E4)
Opt: 7143 GREEN (E4)
Opt: 7144 GUNSMOKE GREY (E4)
Opt: 7145 RED (E4)
Opt: 7146 WHITE (E4)
Opt: 7147 ORANGE (E4)
Opt: 7148 BLACK (E4)
Opt: 7280 CHAMPAIGN (E4)
CVG9000016 * LE SEAT SET BLACK. BASE
Opt: 9003 BLACK W/RED WAVE. RED PIPING
Opt: 9004 BLACK W/LS WAVE. ORANGE PIPING. ORA
Opt: 9005 BLACK W/GREEN WAVE. GREEN PIPING
Opt: 9006 BLACK W/FREESTYLE WAVE. FREESTYLE P
Opt: 9009 BLACK W/BRONZE WAVE. BRONZE PIPING
Opt: 9012 BLACK W/YELLOW WAVE. YELLOW PIPING
Opt: 9013 BLACK W/LS WAVE. WHITE PIPING. WHIT
CVG9000017 * LUX BOTTOM & SEAT BACK W/ HEADBUMP
Opt: 018M CHAMPAGNE SS - SLATE OUTER W BUCK C
Opt: 019M GUN SMOKE SS - COAL OUTER W SLATE C
Opt: 9017M  BLACK SS - COAL OUTER W BUCK CENTER
CVvG9000018 * LUX BOTTOM & SEAT BACK W/ HEADBUMP
Opt: 9017 COAL W BUCK VELOCITY TUCK ..BLACK S
Opt: 9018 BUCK VELOCITY TUCK LAZY LIFE SELECT
Opt: 9019 COAL W STONE VELOCITY TUCK SILVER S
CVG9000019 * LUX BOTTOM & SEAT BACK W/ STD. - SE
Opt: 017A BLACK SS - COAL OUTER W BUCK CENTER
Opt: 018A CHAMPAGNE SS - SLATE OUTER W BUCK C
Opt: 019A GUN SMOKE SS - COAL OUTER WITH SLAT

CVG9000020 *
Opt:

Page 187 of 194

P-5 BNC BCK. BASE
3371 BLACK/PAC MIST

List Price
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.04

$28.40
$0.00
$0.00
$0.00
$188.44
$320.08
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.72
$900.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$392.00
$0.00
$0.00
$0.00
$1,424.00
$0.00
$0.00
$0.00
$480.00
$0.00
$0.00
$0.00
$84.32
$0.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
Opt:
Opt:
Opt:
Opt:
CVG9000021 *
Opt:
Opt:
Opt:
Opt:
CVG9000022 *
Opt:
Opt:
CVG9000023 *
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
CVG9000024 *
Opt:
Opt:
Opt:
CVG9000025 *
Opt:
Opt:
Opt:
CVG9000026 *
Opt:
Opt:
Opt:
Opt:
CVG9000027 *
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:
Opt:

Page 188 of 194

362

3358
8366
A300

362

3358
8366
A300

9007
9008

004R
005R
006R
008R
009R
014R
017R
018R

72BA
68BA
67BA

367B
368B
372B

6013
6014
6015
6012

010B
010C
010D
010E
010F
010G
010H
010J

010K

Description
CHARCOAL/HAWAIIAN RED
BLACK/MOONMISTY
MOONMISTY/MIDNIGHT SURF
BLACK SEA/BRUSH ALU SLVR
P-5 BNC BTM. BASE
CHARCOAL/HAWAIIAN RED
BLACK/MOONMISTY
MOONMISTY/MIDNIGHT SURF
BLACK SEA/BRSH ALU SLVR
PREM ASSY SET W/ HEAD BUMP
BLACK W/LS WAVE (NO..SEAM). LS WAVE
BLACK W/ROCKET WAVE (NO..SEAM). ROC
REUP: REAR SEAT SKIN TO MATCH
BLACK W/LS WAVE (NO..SEAM). ORANGE
BLACK W/ GREEN
BLACK W/FREESTYLE WAVE
BLACK W/ ROCKET WAVE
BLACK W/ BRONZE WAVE WITH BRONZE PI
BLACK W/ WHITE
BUCK VELOCITY AND COAL PIPING
SLATE OUTER W/ BUCK CENTER
SEAT BACK. BASE
CARNIVAL/DARK SUNTAN
SEA FROST GREEN/COASTAL SAN
DARK SUNTAN/SANDPOINTE
SEAT BTM. BASE
DARK SUNTAN/SANDPOINTE
SEA FROST GREEN/COASTAL SAN
CARNIVAL/DARK SUNTAN
SEAT. BASE
BLACK WITH GRUNSMOKE GREY PIPING
BLACK W/ GREEN PIPING
BLACK W/ ORANGE PIPING
BLACK W/ WHITE PIPING
REAR SEAT COVER SET. BASE
BLACK W/LS WAVE AND LS WAVE PIPING
BLACK W/LS WAVE AND ORANGE WAVE PIP

Parts Pricing Schedule

BLACK W/GREENWAVE AND GREEN WAVE PI
BLACK W/ROCKETWAVE AND ROCKET WAVE
BLACK W/LS WAVE AND WHITE WAVE PIPI
BLACKW/FREESTYLE WAVE AND FREESTYLE
BLACK W/BRONZEWAVE AND BRONZE WAVE
BLACK W/YELLOW WAVE AND YELLOW WAVE
WHISKEY/WHISKEY DOUBLE DIAMOND TUCK

List Price
$48.04
$50.72
$67.16

$200.08
$252.68
$0.00
$12.88
$29.64
$152.88
$900.00
$0.00
$0.00
$380.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$129.44
$0.00
$2.68
$4.56
$360.20
$0.00
$19.76
$247.00
$28.40
$0.00
$0.00
$0.00
$188.44
$312.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$386.44

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #

CVG9000028 *

Opt:

Opt:

Opt:

Opt:
CVG9000029 *

Opt:
CvG9000048
CvG9000049
CvG9000050
CvG9000051
CvG9000052
CVvG9000053
CvG9000054
CVvG9000055
CvG9000056
CvG9000057
CvG9000058
CVvG9000059
CvG9000060
CvG9000061
CvG9000062
CvG9000063
CvG9000064
CVvG9000065
CvG9000066
CvG9000067
CvG9000068
CvG9000071
CvG9000072
CvG9000074
CvG9000075
CvG9000076
CvG9000077
CvG9000078
CVG90003-90HS
CVG90004-90HS
CvG9029
CvG9031
CvG9o074
CcvG9087
CvG91884-06
CVvG91885-06
CVG9349

Page 189 of 194

Co-1
CO-2
Co-3
Cco-4

9021

Description
REAR SEAT COVER SET. BASE
BLACK W/RED WAVE AND RED PIPING
BLACK W/ LS WAVE AND ORANGE WAVE PI

BLACK W/ROCKET WAVE AND ROCKET WAVE

BLACK W/LS WAVE AND LS WAVE PIPING
UPGRADED SEAT. BASE

DARK GRAY & SHALE W/ CELL PHONE POC
E4 MIDDLE SEAT BACK EXTENSION
LESTER CHARGER
TROJAN 105 AGM BATTERY
POLY UTILITY BOX
THERMOPLASTIC RHOX UTILITY BOX
10" STEEL WHEEL (WHITE)
10" STEEL WHEEL (BLACK)
LESTER CHARGER DISPLAY
8 VOLT BATTERY
TABLET FOR PROGRAMING
TIRE & WHEEL 24*8 12" BLACK RIMS
TIRE/WHEEL 24*8 / 12" BLACK RIMS
WHEEL ASSY 12" / CTR CAP/ LUG NUTS
TIRE, 205/35R14C KR20A
TIRE, 215/40R12C KR20A
RFS BLK,BLK PLEAT, BLK STITCH
FLIP SEAT, REAR, BISCAYNE BUFF
TIRE, DURO DESERT A/T, 23X10-14
WHEEL FOR 9000067 TIRE
TIRE FOR 9000066 WHEEL,23-X10.00-14
TIRE, DURO DESERT 23X10-14
LESTER CORD
SEAT, LUXURY-GRAY/BLACK
FLOOR MAT P4
VAM-RUGGED, 12/48 FULL
VAM-RUGGED, 12/48 C2L
VAM-HD, C2L
VAM-RUGGED, 48V FULL
47MMX12MM SKF GROOVE
PREMIUM DEEP GROOVE
BEARING BALL .75 ID
INNER WHEEL BEARING
PISTON PIN BEARING
BEARING; 16128 HUB
L.H. SIDE MIRROR(SMT. SUV)
R.H. SIDE MIRROR(SMT. SUV)
OUTSIDE STORAGE COVER DELUXE GOLF

Parts Pricing Schedule

List Price

$312.00
$0.00
$0.00
$0.00
$0.00
$644.00
$0.00
$179.91
$707.20
$815.72
$596.00
$676.00
$54.00
$54.00
$60.00
$463.20
$525.00
$296.12
$296.12
$138.60
$158.20
$153.88
$536.00
$536.00
$249.80
$262.44
$237.36
$184.80
$48.72
$1,495.20
$210.00
$546.00
$546.00
$394.80
$546.00
$110.80
$37.20
$6.92
$7.92
$64.96
§27.16
$37.28
$37.28
$145.84

1/20/2019



EV Technical Services, LLC

= Parts Pricing Schedule

Part # Description List Price
CVG9474 POTENTIOMETER. MCOR.CC 04-UP $528.00
CVG96095-04 SPEEDOMETER $410.08
CVG9620 FUEL PICKUP ASSY. CHD 75-95 $22.00
CVvG9633 SCORECARD HOLDER EZ-GO 00 UP SUMMI $23.40
CVG99091 CHROME GRAB BAR $47.80
CVGAGV48S CONTROLLER $2,281.52
CVGARMCYV - 366 ARM COVER - MIDNIGHT BLUE NO HOLES $22.76
CVGARMCV-364 ARM COVER - SUNSET RED NO HOLES $34.88
CVGBAGRACK BAGRACK $25.00
CVGBCKT283283LH BCKT-BLACK/BLACK LH $572.16
CVGBCKT283283RH BCKT-BLACK/BLACK RH $614.68
CVGBCKT283357LH BCKT LH BLACK/COCONUT BROWN $516.00
CVGBCKT283357RH BCKT RH BLACK/COCONUT BROWN $516.24
CVGBCKT283358LH LH BLACK/MOON MISTY BCKT SEAT $590.44
CVGBCKT283358LHAR  LH BLACK/MOONMISTY BCKT SEAT 2 ARMS $638.44
CVGBCKT283358RH RH BLACK/MOON MISTY BCKT SEAT $590.44
CVGBCKT283362RH RIGHT HAND BUCKET SEATS. BLACK & HA $514.24
CVGBCKT283364LHAR LH BCKT BLACK/SUNSET RED 2 ARM $641.60
CVGBCKT283364RH RH BCKT BLACK/SUNSET RED $593.68
CVGBCKT283367LH BCKT LH BLACK/SANDPOINTE $502.76
CVGBCKT283367LHAR LH BCKT BLACK/SANDPOINTE 2 ARMS $508.80
CVGBCKT283367RH BCKT RH BLACK/SANDPOINTE $508.80
CVGBCKT283368LH BCKT LH BLACK/COASTAL SAND $516.20
CVGBCKT283368RH BCKT RH BLACK/COASTAL SAND $516.20
CVGBCKT283371LH BCKT LH BLACK / PACIFIC MIST $503.32
CVGBCKT283371RH BCKT RH BLACK/PACIFIC MIST $509.36
CVGBCKT2836627LH BCKT LH BLACK/SUNKISS YELLOW $708.80
CVGBCKT2836627RH BCKT RH BLACK/SUNKISS YELLOW $708.80
CVGBCKT283750LH BCKT LH BLACK/TROPICAL RED $724.60
CVGBCKT283750LHAR  BCKT LH BLACK/TROPICAL RED W/2ARMS $767.92
CVGBCKT283750RH BCKT RH BLACK/TROPICAL RED $713.60
CVGBCKT358366LH LH MOON MISTY/MIDNIGHT BLUE SEAT $598.72
CVGBCKT362371LH BCKT LH CARNIVAL/PACIFIC MIST $600.56
CVGBCKT362371RH BCKT RH CARNIVAL/PACFIC MIST $600.56
CVGBCKT3627718LHAR LH SUNSET RED/STORMY - 2 ARMS $770.72
CVGBCKT3627718RH  BCKT RH CARNIVAL/STORMY $738.00
CVGBCKT366368LH BCKT LH MIDNIGHT BLUE/COASTAL SAND $512.20
CVGBCKT366368RH BCKT RH MIDNIGHT BLUE/COASTAL SAND $516.20
CVGBCKT368362RH HAWIAAN RED/COASTAL SAND $689.60
CVGBCKT368369LHAR  LH BCKT CSTL SAND/SEAFROST 2 ARMS $704.72
CVGBCKT369367LH BCKT LH SEA FROST/SANDPOINTE $585.40
CVGBCKT369367RH RH BCKT SEA FROST/SANDPOINTE $585.40
CVGBCKT372415LH BCKT LH DARK SUNTAN/ VALENTINE $620.64
CVGBCKT372415RH BCKT RH DARK SUNTAN/VALENTINE $620.64
Page 190 of 194

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Busi

Part #
CVGBCKT6603363LH
CVGBCKT6603363RH
CVGBCKT6604200LH
CVGBCKT6604200RH
CVGBCKT6618371LH
CVGBCKT6618371RH
CVGBCKT6628368LH
CVGBCKT6628368RH
CVGBCKT732724LHAR
CVGBCKT732724RH
CVGBG-C48V-3
CVGBGP548
CVGBKCV364367BK
CVGBKCV364367BM
CVGBKCV364371BK
CVGBKCV364371BM
CVGBKCV366371BK
CVGBKCV366371BM
CVGBKCV368366SET
CVGCC-PREC
CVGCCAF
CVGCCOF
CVGCCSP
CVGCIG002
CVGCMATC-BURG
CVGCMATC-BWHEAT
CVGCMATC-SRAY
CVGCOOLER12PK
CVGCP804D
CVGCP804P
CVGCP805D
CVGCP805P
CVGCUSTOMENCE2
CVGE2935201
CVGE2RUENBLKBLK
CVGE2RUENJRDBLK
CVGEE-FRONTVAL
CVGEE-PCRUENC
CVGEE-PCSENC
CVGEE-TRUENC
CVGEE-TSENC
CVGEPSRDI
CVGFBLU1
CVGFEN-FLAIR

Page 191 of 194

ness

Description
LH BCKT BAHAMA/ULTRA WHITE
RH BCKT BAHAMA/ULTRA WHITE
TRA BLK SEA/ QUICKSILVER LH
TRA BLK SEA/QUICKSILVER RH
LH BCKT HAWAIIAN/ PACIFIC MIST
RH BCKT HAWAIIAN/PACIFIC MIST
BCKT HAWAIIAN/COASTAL SAND LH
BCKT HAWAIIAN/COASTAL SAND RH
LH TAHITI REEF/POLAR BRZ 2 ARMS
RH BCKT TAHITI REEF/POLAR BREEZE
BATTERY FILL TANK
BATTERY FILL KIT - P5
BCKT CVR SNST RED/SANDPOINT BACK
BCKT CVR SNST RED/SANDPOINT BTTM
BCKT CVR SNST RED/ PAC MST BACK
BCKT CVR SNST RED/ PAC MST BTTM
BCKT CVR MDNGHT SURF/PAC MIST BK
BCKT CVR MDNGHT SURF/PAC MIST BTM

BK CVR MOON MISTY/MIDNIGHT SURF SET

CLUB CAR PREC ROD J-HOOKS

CLUB CAR AIR FILTER

CLUB CAR OIL FILTER

CLUB CAR SPARK PLUG

CIGARETTE LIGHTER

FLOORMAT - BURGANDY/WINE
CARPET MATS - BUCKWHEAT

CARPET MATS - STINGRAY

12 PACK COOLER

BLACK DRIVER DASH DOOR

BLACK PASSENGER DASH DOOR

DK WOOD DRIVER DASH DOOR

DK WOOD PASSENGER DASH DOOR
CUSTOM ENC E2 M&M REAR SEAT
SEAT BELT (RETRACTAB

TOM E-2 MID NI BLK/ MID NI BLK EN

E2 2P TMB ENC JOCKEY RED/MDNT BLK
ELITE ENCLOSURES ..FRONT VALANCE
PARCAR ROLL UP..ELITE ENCLOSURES..
PARCAR SLIDE..ELITE ENCLOSURES..
TOMBERLIN ROLL UP..ELITE ENCLOSURES
TOMBERLIN SLIDE..ELITE ENCLOSURE ..
EAGLE PERFM SRIS REMOTE DSPLY INDTR
GRAVITY FILL. FEMALE ADAPTER..
FENDER FLAIR - FLAP SEAL

Parts Pricing Schedule

List Price
$715.20
$715.20
$580.00
$579.40
$622.28
$595.92
$626.16
$626.16
$695.08
$659.20

$80.64
S441.24
$146.84
$131.60
$135.04
$114.08
$105.16
$96.40
$121.08
$32.00
$15.96
$15.96
$7.40
$23.96
$69.84
$63.04
$63.04
$103.24
$104.24
$104.24
$106.00
$106.00
$495.96
$90.00
$1,331.64
$1,487.12
$180.00
$698.44
$539.72
$698.44
$1,196.92
$134.60
$36.68
$20.52

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVGFWM1
CVGGC2XHD

CVGGCBAGSOFTSTRAP

CVGGO4V-1
CVGH2

CVGH3
CVvGK24008B
CVGLB89-012A
CVGMBLU1

CVGMIDFLAP-P5

CVGNANKANG
CVGO9FBLU1-0

CVGO9MBLU1-0

CVGP1007004
CVGP1007015
CVGP1007182
CVGP1007200
CVGP1007215
CVGP1007221
CVGP1007227
CVGP1007236
CVGP1007238
CVGP1007309
CVGP1007312
CVGP1007339
CVGP1007559
CVGP1007579
CVGP1008104
CVGP1008105
CVGP1008158
CVGP1008218
CVGP1008252
CVGP1008258
CVGP1008270
CVGP1008540
CVGP1008600
CVGP5-TUBE

CVGP5MAT-BKWHEAT
CVGP5MAT-STINGRAY
CVGPAR1172-4620-
CVGPAR1224-4856-
CVGPPCENAQUA
CVGPPCENCHOCHI
CVGPPCENWHI23

Page 192 of 194

Description
FLOW INDICATOR
6V BATTERY
GROC BAG 2" WEB SOFT STRAP
18" GREEN LED LIGHT
HALOGEN BULB NEW
HALOGEN LIGHTBULB
24 CELLKIT
"MOTOR BRUSH (SET OF 4)..1 5/16"" X
GRAVITY FILL. MALE ADAPTER
PS5 - CLEAR MID-FLAP 4 PASS
175/50R13 72V ASI B/W NANKANG
"3/8"" FEMALE WATERING CONNECTOR"
"3/8"" MALE INSERT"
TERMINAL INSULATION CAP..(PREVIOUSL
TOW SWITCH
FIXED SEAT. HANDLE ASSEMBLY FOR MAN
COVER. DECORATIVE. MANUAL BRAKE
BATTERY CABLE. SHORT - PREVIOUSLY |
HORN
CHARGER RECEPTACLE..
LARGE RED INSULATION BOOT..(PREVIOU
SMALL INSULATION BOOT (RED)..(PREVI
ACCESS PANEL. MOTOR
INNER FENDER. PASSENGER..(PREVIOUSL
NUT. CAP. M8 (STAINLESS)
ADJUSTABLE PUSH ROD
SPRING (LONG). BRAKE SHOES
HEADLIGHT ASSEMBLY. DRIVER
HEADLIGHT ASSEMBLY. PASSENGER
CONTROLLER 48V. CURTIS. 500 AMP DC.
CANOPY. E2 PREVIOUSLY INSTALLED
GASKET. CENTER HIGH MOUNT STOP
FRONT BODY - PREVIOUSLY INSTALLED
LOCK. TRUNK. NO KEY
WHEEL STUD. REAR XRLE
1236 AC CONTROLLER CURTIS..(PREVIOU
CPC CROSS SUPPORT TUBE. ROOF
P5 FLOOR MAT - BUCKWHEAT
P5 FLOORMAT - STINGRAY
BENCH SEAT COVER-BEIGE/BEIGE
PSC COLLONADE JUNIPER/BLACK
FULL ENCL - AQUA
FULL ENCL CHOCOLATE CHIP
FULL ENCL - WHITE

Parts Pricing Schedule

List Price

$14.76
$364.12
$110.32
$87.80
$28.24
$11.80
$441.24
$177.52
$22.48
$278.04
$275.08
$36.68
$22.48
$1.00
$4.00
$18.40
$9.28
$5.00
$23.80
$15.72
$1.00
$1.00
$9.84
$31.00
$3.20
$9.24
$4.80
$20.32
$20.32
$897.40
$72.08
$6.00
$72.08
$10.60
$2.60
$1,132.00
$97.20
$70.64
$70.64
$271.60
$485.44
$460.00
$444.00
$444.00

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVGPPCWSCLRA2P
CVGPPCWSTINA2P
CVGR-5214
CVGRAKEHOLDER
CVGS035202BA

CVGS049047BAFLAT
CVGS283283BAFLAT

CVGS283283BFLAT
CVGS283283P5B
CVGS283283P5BA
CVGS283358P5B
CVGS283358P5BA
CVGS283364P5B
CVGS283364P5BA
CVGS283371BA
CVGS2834919P5B
CVGS2834919P5BA
CVGS2836629P5B
CVGS2836629P5BA
CVGS283721P5B
CVGS283721P5BA
CVGS283737P5B
CVGS283737P5BA
CVGS2837701P5B
CVGS2837701P5BA
CVGS357367P5B
CVGS357367P5BA
CVGS357368B
CVGS357368BA
CVGS358366BA
CVGS362363B
CVGS362363BA
CVGS364363B
CVGS364363BA
CVGS366358B
CVGS366358BA
CVGS366363B
CVGS366371B
CVGS366371BA
CVGS3674208B
CVGS3674920BA
CVGS369367P5B
CVGS369367P5BA
CVGS371362B

Page 193 of 194

Description
PARCAR CLEAR WINDSHIELD TAMPA G
PARCAR TINTED WINDSHIELD TAMPA G
PVC EXTR - WINDSHIELDS
RAKE HOLDER ALU
SEAT BCK-SABLE/SAND
ENSIGN BLUE - HAZE FLAT BACK
P4 BNC FLIP BCK BLACK/BLACK
P4 BNC FLIP BTM BLACK/BLACK
P-5 BNC BTM BLACK/BLACK
P-5 BNC BCK BLACK/BLACK
P-5 BNC BTM BLACK/MOONMISTY
P-5 BNC BCK BLACK/MOONMISTY
P-5 BNC BTM BLACK/SUNSET RED
P-5 BNC BCK BLACK/SUNSET RED
SEAT BACK BLACK/PACIFIC MIST
P5 BNC SEAT BTM BLACK SEA/ALMOND
P-5 BNC BCK BLK & ALMOND
P-5 BNC BTM BLK/TROPICAL PUNCH
P-5 BNC BCK BLK/TROPICAL PUNCH
P-5 BNC BTM BLACK/MOONBEAM
P-5 BNC BCK BLACK/MOONBEAM
P-5 BNC BTM BLACK SEA/CAJUN SPICE
P-5 BNC BCK BLACK SEA/CAJUN SPICE
P-5 BNC BTM BLACK & DOLPHIN
P-5 BNC BCK BLACK & DOLPHIN
P-5 SEAT BTM COCONUT BRK/SANDPOINT
P-5 SEAT BCK COCONUT BRK/SANDPOINT
SEAT BTM COCONUT BROWN/COASTAL SA
SEAT BCK COCONUT BROWN/COASTAL SA
SEAT BACK MOON MISTY/MIDNIGHT BLUE
BNC SEAT BTM-HAWAIIAN/ULTRA WHITE
BNC SEAT BCK-HAWAIIAN/ULTRA WHITE
SEAT BTM SUNSET RED/ULTRA WHITE
SEAT BACK SUNSET RED/ULTRA WHITE
SEAT BTM MIDNIGHT BLUE / MOON MISTY
SEAT BACK MIDNIGHT BLUE/MOON MISTY
SEAT BTM MIDNIGHT BLUE/ULTRA WHITE
SEAT BTM MIDNIGHT BLUE/ PACIFIC MIS
SEAT BACK MIDNIGHT BLUE/PACIFIC MIS
SEAT BOTM BNH-SANDPOINTE/IVORY
SEAT BAK BNH-SANDPOINTE/IVORY
P-5 BNC SEAT BTM SEA FROST/SANDPNTE
P-5 BNC SEAT BCK SEA FROST/SANDPNTE
SEAT BTM PACIFIC MIST/CARNIVAL

Parts Pricing Schedule

List Price
$351.60
$355.12

$13.36

$16.84

$87.36
$105.40
$152.64
$267.60
$221.28
$105.44
$265.56
$135.04
$263.60
$160.56
$107.28
$381.16
$291.64
$385.76
$234.28
$397.40
$234.28
$262.40
$133.44
$381.16
$291.64
$235.44
$133.64
$360.76
$123.60
$138.96
$409.64
$198.20
$315.20
$111.12
$442.40
$176.88
$383.44
$407.36
$154.52
$512.92
$310.04
$254.24
$149.68
$371.80

1/20/2019



EV Technical Services, LLC

=SDVORB

Service Disabled Veteran Owned Business

Part #
CVGS49024646B
CVGS560366BA
CVGS732724B
CVGS732724BA
CVGSC283371B
CVGSC366358B
CVGSEATCOVERS
CVGSLLP
CVGSTT-R10
CVGT-POS-116
CVGT106
CVGT125
CVGT1275
CVGT145
CVGT5807B
CVGT5807WG
CVGTIRE-12
CVGTM80
CVGTWAS
CvGU-USeV

CVGU320913-314020-
CVGUGS115204TOM

CVGUGS412408

CVGUGSBNCP4-412406
CVGUGST115104EBNC
CVGUGST91552567
CVGUGST91552567EBN

CVGUS2200
CVGUS8VGC XC
CVGUS8VGCHC XC
CVGV597-2
CVGVALANCE
CVGVALANCE-P5
CVGVB-TBB
CvGwo02Vv-1
CVGWO04V-1
CVGWAOQO2V-1
CVGY5P
CVGZAN-3101

Page 194 of 194

Description
CAPTAIN NAVY BOTTOMS
SEAT BACK YELLOW/MIDNIGHT BLUE
SEAT BTM TAHITI REEF/POLAR BREEZE
SEAT BCK TAHITI REEF/POLAR BREEZE
SEAT CVR BTM BLACK/PACIFIC MIST
COVER MIDNIGHT SURF/PACIFIC MIST
SEATCOVERS
*** LIC. PLATE
THIRD BRAKE LIGHT W/10FT WIRE
POINT OF SALES-TOMBERLIN.. BA
TROJAN T106 8V BATTERY
TROJAN T125
TROJAN T1275
TROJAN T145
BLK TOM BEVG TRAY
WOODGRAIN TOM BEVG TRAY
TOMBERLIN TIRES
12V HORN
8 INCH TIRE/8X7 STEEL CENT WHITE WH
USED 6V INTERSTATE BATTERY
P5 RNC GRN/BGE/STRAP/STTR BGE USD
LUX BNC SET TMB-BLACK & ACID SUN
ULT GLF SEATS-BLACK & CHARCOAL
UGS RS SUPRE SPORT BLK/CRIMSON
ELITE BNC TMB SET/BLK & SHCK THNDR
LXY BNC SET (TMB) EBONY & PASSION
ELITE BNC E4 SET/EBONY & PASSION
US BATTERY 2200
US BATTERY US8VGC XC
US BATTERY US8VGCHC XC
DRIVING LIGHT
VALANCE FOR ENCLOSUR
VALANCE FOR P5 ENCLOSURE
LOW PROFILE GOLF VALVE
9" WHITE LED LIGHT
18" WHITE LED LIGHT
AMBER LED 18" LIGHTS
YAMAHA SPARK PLUG
SEAT COVERS..ZANDER (IVORY)

Parts Pricing Schedule

List Price
$98.00
$121.76
$498.40
$269.96
$107.00
$139.96
$58.24
$60.00
$88.00
$664.00
$2.00
$487.88
$487.88
$611.88
$448.00
$448.00
$100.00
$27.96
$156.08
$179.00
$834.96
$4,100.00
$4,780.00
$1,700.00
$2,460.00
$4,100.00
$2,460.00
$402.00
$611.88
$611.88
$107.96
$176.20
$112.36
$15.56
$56.00
$80.00
$80.00
$7.40
$750.00

1/20/2019



